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������3 4� 
�E	����%����� �����7��� $�
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���� ����� �� %�
� ��
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��� $"�����#$� ���0������1
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� �� $� ����	�	 �����#$� 
� $"�
��� ���� �����������3
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������ &
;�
� ��
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����� �
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�����������1 �3�3 ��$� �
� $� C#�	 ������� �� 
	���0
%��� �� 
�� ����� 
������ Es ⊕ Ec ⊕ Eu �� ����� ��
�0C#�	� ����������1 �L
Es ��� 
��7���	���� ��������	 %�� $� 
,�����
�1 Eu ��� 
��7���	���� 
�0
$��	1 �� Ec ��� ������$1 �"���020
��� ����� ��������	 �
� Es �� ����� 
�$��	
�
� Eu3 H� ������ ���	���� �
� $�� C#�	� 
"
�� 
	���%������� %�����$$�0
���� �,%��#�$��
� ���� ������
�1 �� %��������� �� ������� ������S���� %��
%���
�#������ C13

�$� ��� ��������� �����	 $"���	���#�$��	 
�� C#�	� ���#$�� �� �����#$�� &
	���� 
���	 
� �,��-�� %�����$$����� �,%��#�$��
� 
� �$���� Cr1 �$ �8���� 
�
7�
�$$����� Fs ������� �
 C#�	 ���#$� �� 
� 7�
�$$����� Fu ������� �
 C#�	
�����#$�3 4� C#�	 ������$1 �
��� 2 $
�1 �"��� �� �	�	��$ %�� ���	���#$�3 H�
���
���� 
�� ��
�������� 
��� M+'1 ������� (3'N %�
� $� ������
����� �
� $�
���� 
� 
�������� 6 
� 
�E	����%������ ��#
������� ���0�,%��#�$��
�1 ��
%�����$$����� �,%��#�$��
�� ���� 
� C#�	 ���0���	���#$�3

���� $����
� $� 7�
�$$����� ������$ �8����1 �� � �� �	�	��$ 
�� 7���� 7��#$�

� ���#�$��	 ���
��
��$$�3 H� 
�� �
� $� 7�
�$$����� ������$ 
� f %�����$$�����
�,%��#�$��
� ��� �������������	� ��
��� �� %�
� ��
� 
�E	����%����� g C10
������1 $� C#�	 ������$ 
� g ��� ���	���#$�1 �� �"�$ �8���� 
� ���	����%�����
h 
� M �
� ������ $� 7�
�$$����� ������$ 
� f �
� $� 7�
�$$����� ������$ 
�
g1 
� ����� �
� h ◦ f ◦ h−1 ���� �����%� 2 g $� $��� 
�� 7�
�$$�� ������$��3
4� �	�
$��� %�����%�$ 
� M(�N ��� �
� �� 
� �,��-�� %�����$$����� �,%��#�0
$��
� � 
� 7�
�$$����� ������$ �8%����7 %�� %$��
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	����P1 �$���
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	���%������� 
����	� %�
�

�� 
,�����
� C8	� ��� 
�� 
	���%������� 

 C#�	 ������� �� 
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	���%������� 
����	� %������� %�� C10%���
�#����� 
� $� 
,��0
���
�1 �� �
� $�� C#�	� ���� ������
� 
��� $� ������� TM �� ������� ������S0
���� O���� M'�NP %�� %���
�#�����3 4�� C#�	� 
"
�� 
	���%������� 
����	�
�� ���� �	�	��$����� %�� ���	���#$��1 2 %��� $�� C#�	� �8��	��
8 $����
�

��7���	���� ������������ �
 
�$������3

��� ��
�����	� ������	�	
� 
�
����	�������	�

��� %��%��	�	 
"
� Cr0
�E	����%����� f ��� 
�� Cr0��#
��� �� �$$� %��0
����� %�� Cr0%���
�#����� 
� f 3 ��� �8��%$�� 
� 
�E	����%������ C10
��#
������� ��� �,%��#�$��
�� �� 	�	 ������
��� %�� =#����� �� ���$� M�N
�� 
�������� ≥ 41 %
�� ����� M��N �� 
�������� ≥ 33

����� �
��	���
��� ������
���

F� 
�������� 21 �$ �"��� %�� ����
 �� $�� 
�E	����%������ �,%��#�$��
��
���� 
����� �� ��%�$���� C11 ��%��
���1 �3 !�G��
�� � �8��#	 
� �
���� U

� Diff2(M2) ��$ �
� ��
� f 
��� 
� �	��

�$ 
� U � 
�� ��C���	 
� %
��� �


� ��
����3 4� %��%��	�	 
� %���	
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�� ��C���	 
� %
��� �
 
� ��
��� ���
�%%�$	� ���	���	� ��  �!�����3 ;�
� ������
��� ��� �8��%$�1 !�G��
�� �
	�

�	 $� 
,�����
� �
 ��������� 
�� ��������� �����$����3

"�#�
�
�� �$�$�$ ��� �
	"�	�� �������	� ��� 
�� ������������ ��� �����0
����� 
�� ����	�	� ���#$� �� �����#$� 
"
�� ��$$�3

4� �������� �����$��� ��� ��-� �����#$� �� %�
�0Q��� ����	� %�� 
�� %�����
%���
�#����� 
� $� 
,�����
�3  �%��
���1 !�G��
�� M�)1 �(N � 
	�����	 �
�
�
� $�� �
�7���� �� ��%�$���� C21 %�-� 
� ��
� 
�E	����%����� �
������� 
��
�������� �����$���1 �$ , � 
� �
���� U 
� 
�E	����%������ �� 
� �	��

�$
R ∈ U ��$� �
� ��
� g ∈ R %�	����� 
� %�	���-�� 
� !�G��
��3

�� �
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� M ��� ��
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�E	����%������ ��#
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	� 
� $� 7�U�� 
��� �� %�
����� �	%��
�� �
8 �������
��� 
� 
�����	 Cr3

4� �������
�� 7��#$� 
� 
�����	 C1 � 	�	 �����	� %�� �������1 K�� ��
5�� M'�N �� 
�������� (3 ��-� �	�������1 �3 �������� M)(N1 
��$����� $�� ���0
��
8 
� 5�� M+�N �� 	�

���� 
� ����-�� �������$� $� 
,�����
� 
��� $�

�������� ������$�1 $"� %��
�	� �� ��
�� 
��������3

*����+�� �$�$� &��� 
�
��'$ #��	������ ��� ��������������� ������
��
�� �� ���	������ ��� ��������������� 
�����
	� �	� �	���������	 �����
���	� ��	� ���� ������� ������	�� ��	� �
 ���	��	 ��� ��	�� �
	� Diff1(M)$

��� �����	�� �	������ $������� ��%	��� �
"
�� %��
�� 
� $� �������
�� 
�
;�$�� ��� �������#$� �� C13

F� )***1 F3 ;
��$� �� �3 ���#����� 
��� M�)N $"��� �����	 %�
� $�� �
�0
7���� & 
� 
�E	����%����� 
"
�� �
�7��� ���%���� %�
� Q��� �%%����	� ��
��%�$���� C1 ���� %�� 
�� 
�E	����%������ �,%��#�$��
��1 ���� %�� 
�� 
�E	�0
���%������ �
������� 
�� �������� �����$���3 ;�	������ $�� 
�
8 	��%��
%�����%�$�� 
� $�
� %��
��3 �$� ��� 
"�#��
 �����	 O4���� )3*3)P �
"�� 
�����

� $� 7�����
�� 
� $"�����#$� 
�� 
�E	����%������ ���� �������� �����$���1
�$ , � 
� �
���� 
���� 
� 
�E	����%������ g 
��� $� ���0������ Ω(g) �
���

�� 
	���%������� 
����	� ���0������$�3

�� �����
 �	�
$��� O��	��-�� �3P 
�� �
� �� f ��� 
� 
�E	����%�����
C2 �
� 
�� �
�7��� ���%���� �� �� T|ΛM = E ⊕ F ��� 
�� 
	���%�������

����	� �
0
���
� 
"
� ���%��� Λ ��������� %�
� f 1 �$��� Λ ��� $� �	
����

�������� 
"
� �����#$� �,%��#�$��
� �� 
"
� ���#�� C�� 
� ��
�#�� 7���	��
���%$�� Ci �����$����� �,%��#�$��
��1 ��$$�� �
� �
� $�� ������������ fpi|Ci

���� ����
�
	�� 2 
�� �������� ����������$$� Opi ��� $� %	���
� 
� $� ��
�#�
CiP3

H� �#����� 7���$����� $� �������
�� 
� 
�����	 C1 �� ���#����� ��� 
�
8
�	�
$����3 F� �����%����� ����� �	���
� �� 
�������� �
%	���
��1 �� %�
�
���
��$$����� 
	�2 �������� 2 ������� �
� $��� 
�� ��������� �����$���� �$
, � 
�� 
	���%�������� 
����	�� C��� �
� $� ���0������ O�
 �
� $�� �$�����
�����$����1 �
 $"�����#$� �	�
����� %�� ���V���P3

A�,���� ����� ������	 
�� �����	�� 
��� $� %��
�� 
� $� �������
�� 
�
;�$�� �� ��
�� 
�������� 9 ��%��
��� ���� �"� ������ 	�	 %
#$�	3 ���� M+�N1
43 5�� � �#���
 
�� �	�
$���� %�����$� ������
�#$��3 = %����� 
� �	�
$����
���	���
�� M+�N �� 

 $���� 
� �	$������ 
� 4��� O���� M(+NP1 �$ ������ �
� �	0
�	���
�����1 $��� 
�� 
,�����
�� �,%��#�$��
��1 
�� ��������� �����$����
�� 
�� �,�$�� �	�	��
����������$�1 $�� �����#�� ������
8 ���0�,%��#�$��
��
�
������� 
�� 
	���%������� %�����$$����� �,%��#�$��
� ���� 
� �
 
�
8
C#�	� ������
8 
� 
�������� 13



����� �� �����
�� '�

��� ���
����
� ����	
����	� 	� 
������
�

=���� 
"	������ $�� �	�
$���� %����%�
8 
� ����� ��-��1 �� ��%%�$$� $�� 
	0
C������� 
� C#�	�1 ���,�$�� $��	����� �� 
	���%�������� 
����	��3 H� 	���
�
$�� �$����� �����$���� �� $� ��	���� 
�  ��$�,1 �
��$� ��������$� �� 
,�����
�
C10�	�	���
�3

����� �������� �
���
	�� �� �����
��
�
��� ���
����

���� E = (E,Σ, π : E → Σ) 
� C#�	 ��������$ 
� 
�������� d �
0
���
�

"
�� #��� Σ1 �3�31 %�
� ��
� x ∈ Σ1 $� C#�� Ex = π−1(x) ��� 
� ��%���
��������$ 
� 
�������� d3 F� ��%������ $�� ��������� 
� M'+N �� M'(N1 �� 
��
�
"
� ��
%$� 
� #��������� A = (f : Σ → Σ, A : E → E) ��� 
� ���
���
��	�
��� �
 
������������ 
� E 1 �� �� ��
$����� �� $� 
�������� �
�����
����
�� &

E
A ��

π

��

E

π

��
Σ

f �� Σ

. O'3'P

�� %��� ��������	 (E , ‖.‖) ��� 
� C#�	 ��������$ ��$ �
� ����
� C#�� ���
�
�� 
"
�� �	����
� �
�$�
����� ‖.‖3 ;�
� ��
� C#�	 �
�$�
��� E �� ��
��
#�������� f 
� �� #��� Σ1 $"�����#$� 
�� ���,�$�� $��	����� �
 
���
� 
� $�

,�����
� f ��� �
�� 
� $� 
������� �
������ &

dist(A,B) = sup{‖A(u) − B(u)‖, ‖A−1(u) − B−1(u)‖ / u ∈ E , ‖u‖ = 1}.

�� ���,�$� $��	���� ��� 
�� ���	� �
� C > 0 �� %�
� ��
� �����
� 
�������
u ∈ E 1 �� � ‖A(u)‖, ‖A−1(u)‖ < C3

"�#�
�
�� �$�$�$ F���� 
���	 
� ���,�$� $��	���� A �
� 
� C#�	 �
�$�
��� E 1
�� �%%�$$� ������������	 ����	�� %�
� A ��
�� 
	���%������� A0����������
E = E1 ⊕ ... ⊕ E� �� ��
�0C#�	� ��������$� �	��C��� $� %��%��	�	 �
������ & �$
�8���� C > 0 �� 0 < λ < 1 ��$� �
� %�
� ����
� 1 ≤ i < �1 %�
� ��
� ��
%$�

� �����
�� 
�������� u, v ∈ Ei, Ei+1 �� ��
� n ∈ N1

‖fn(u)‖ < Cλn‖fn(v)‖.

H� 
�� �$��� �
� Ei ��� 
����	 %�� Ei+11 �� �� 	���� Ei ≺ Ei+13 �� 7�U��
	��
����1 �� $� 
	���%������� E = E1 ⊕ ... ⊕ E� ��� 
����	�1 �$��� %�
� ��
�
1 ≤ i < j ≤ �1 �� � Ei ≺ Ej 3 F� ������
����� 
�� ����%� 
� �T��� ���#$��1 ��
������ �
� ��
�� 
	���%������� 
����	� %������� %�� %���
�#����� �� �����
������S���� & %�
� ��
�� 7���$$� 
� ���������� V1, ...,V� 
�� C#�	� E1, ..., E�1
�$ �8���� ε > 0 ��$ �
� ��
� ���,�$� $��	���� B �	��C��� dist(A,B) < ε �
���

�� 
	���%������� 
����	� F1 ⊕ ... ⊕ F�1 �L Fi ∈ Vi1 %�
� ��
� i3



'+ ������� ��	
����


�� %$
� 
��� $� ��� %�����
$��� �L E ��� $"��%��� ������� 
"
�� ����	�	 M
��������� 2 
� ���%��� Σ1 �� �L A ��� $� 
�E	������$$� df 
"
� 
�E	����%�����

� M $������ ��������� $� ���%��� Σ1 �$��� O���� M'�1 ;��� )B)N1 %�� �8��%$�P
$�� ��
�0C#�	� Ei ���� ������
�3

H� 
�� �
"
� C#�	 ��������� F ��� ��
��� �
 �	��������	� ��	��
��� %��
A �� �� ��
$����� �"�$ �8���� C > 0 �� 0 < λ < 1 ��$� �
� %�
� ��
� �����
�

������� u ∈ F �� ��
� n ∈ N1 �� � ‖An(u)‖ ≤ C.λn3 H� 
�� �
"�$ ��� �	��
���
�
 �	��������	� ���
�� �"�$ ��� 
��7���	���� ��������	 %�� $� ���,�$� $��	����
������� A−13

"�#�
�
�� �$�$�$ F���� 
���	 
� ���,�$� $��	���� A �
� 
� C#�	 �
�$�
���
E 1 �� �%%�$$� �����������	 �
���������	� �
���������� %�
� A ��
�� 
�� 
	0
���%������� 
����	� E = Es ⊕ E1 ⊕ ...⊕ E� ⊕ Eu ��$$� �
� Es ��� ���#$� ��
Eu ��� �����#$� %�
� A3

F���� 
���	 
� C#�	 �
�$�
��� E ���� 
�� #��� ���%���� Σ1 �� 
�� 
	0
���%������� 
����	� E = E1 ⊕ ... ⊕ E� %�
� 
� ���,�$� $��	���� A1 
��
�������� 
�
���� 2 ����� 
	���%������� 
����	� ��� 
�� �	����
� ‖.‖∗ �
�
����
� C#�� 
� E ��$$� �
� %�
� ��
� 1 ≤ i < �1 %�
� ��
� �����
�� 
��������
u, v ∈ Ei, Ei+11 �� � ‖A(u)‖∗ < ‖A(v)‖∗3 �� A �
��� 
�� 
	���%�������
%�����$$����� �,%��#�$��
� E = Es ⊕ E1 ⊕ ... ⊕ E� ⊕ Eu1 $� �	����
� ‖.‖∗
, ��� 
�
���� �� �� ��
$����� �� �$$� ��� �
�%�	� 2 $� 
	���%������� 
���0
�	� ������%��
����1 �� �� %�
� ��
� �����
�� 
�������� u, v ∈ Es, Eu �� �
‖A(u)‖∗ < 1 �� ‖A(v)‖∗ > 13

�����  �	�� �!��� ���
���
��

H� 
�� �
"
�� 
	���%������� E = F ⊕ G ���������� %�
� 
� ���,�$�
$��	���� A ��� N �����	�� ��1 �%�-� N ��	�������1 $�� �����
�� 
� F ���� 
�
8
7��� %$
� 
�$��	�1 �
 
�
8 7��� ����� ��������	� �
� ��
8 
� E1 �"���020
���
�
� %�
� ��
� �����
�� 
�������� u, v ∈ F,G1 �� � ‖AN (u)‖ < 1/2‖AN (v)‖3
H� 
��� �
"
�� 
��������� ��� 
"�
���� %$
� 7��#$� �
� N ��� ����
3

,��
�-�� �$�$�$ &�
���� ����� ��%	����	' �� �	� ������������	 �	�
��
	��
��� N �����	��' ���� 	���� �
� �������	� M �����	�� ���� ���� M > N $

 ���� ������
� �"� ��%��
��� %�� $��
 $����
� $� �	����
� ‖.‖ ��� �
�%�	�
2 $� 
	���%������� 
����	�3

���� M)BN1 $� 
	C������ 
� 
	���%������� N 0
����	� 
�E-�� 
� ��$$� �
�
��
� ������ 
� 
����� 9 
�� 
	���%������� ��� N 0
����	� 
"�%�-� M)BN ��
�$$� ��� L0
����	� %�
� 
� ������� L < N 3 H� ����� �
� ��� 
�
8 
	C�������
���� 	�
���$�����1 
��� 
�� �������� ���
�� O���� $� ����$$���� '3�3'P3



����� �� �����
�� 'D

����� "��
��� �� 	���		����

��
���� ����	�
���

���� ����� �������1 r ≥ 1 �� M ��� 
�� ����	�	 ���%���� ������������3
���� f 
� 	$����� 
� Diffr(M)3 H� 
�� �
"
� ���%��� f 0��������� Λ ���
�
���������� �� �� ��
$����� �"�$ �8���� 
�� 
	���%������� ���������� TM|Λ =
Es ⊕ Eu �L $�� C#�	� Es �� Eu ���� ���%���������� ���#$� �� �����#$�3

�� %���� %	���
��
� P 
� f ��� 
�� ����� �� ��� ��#��� Orbf (P ) ��� �,0
%��#�$��
� �� $�� C#�	� ���#$� �� �����#$� ���� ��
� $�� 
�
8 ��� ������
83
4"�����#$� ���#$� W s(Orbf (P )) = {x ∈ M/dist(fn(P ),Orbf (P )) → 0} ��
$"�����#$� �����#$� W u(Orbf (P )) = {x ∈ M/dist(f−n(P ),Orbf (P )) → 0}
���� ��
� $�� 
�
8 
�� ����	�	� %$���	�� 
� �$���� Cr1 �� ���� �������� �
8
C#�	� Es �� Eu3

H� 
�� �
� 
�
8 %����� ��$$�� ���� �������	������	� ������ �� $� ����	�	
�����#$� 
� ����
� ���������� ����������$����� $� ����	�	 ���#$� 
� $"�
���3
 ��� 
	C��� 
�� ��$����� 
"	�
���$���� �
� $�� ��$$��3

"�#�
�
�� �$�$�$ 4� ��
��� �������	� H(Q, f) 
"
� %���� ��$$� Q 
"
�

�E	����%����� f ��� $� 7�����
�� 
� $"�����#$� 
�� %���� �,%��#�$��
��
�����$����
����� ��$�	� 2 Q3

;�� 
	C������ 
�� �$���� �����$��� �������� 
� ��
�0�����#$� 
���� 
�
%����� %	���
��
��1 �� 
� 7��� ��� 
��� $"�����#$� ���0������ 
� f 3 4� �$����
�����$��� 
"
�� ��$$� Q ��� ��%�$����
����� ���������� 9 �$$� %�
� Q��� 
	C���

� ����-�� 	�
���$���� ����� $� 7�����
�� 
� $"�����#$� 
�� �������������
����������� 
�� ����	�	� ���#$�� �� �����#$�� 
� Q O���� M��NP3

*����
� �� �����!

���� �� %������%��1 �� 
	���� #��-������ 
�� ������ 
� �	�
������ ��0
���

��� %��  ��$�, M)'N3 ��� �
��� (xn) ��� �%%�$	� ε�������������� %�
� 
�
ε > 01 �� �� ��
$����� �� $� 
������� dist(f(xn), xn+1) ��� %$
� %����� �
� ε
%�
� ��
� n3 4"�����#$� �������	� �
� ��
(	�� R(f) ��� $"�����#$� 
�� %�����
x ��$� �
� %�
� ��
� ε > 0 �$ , � 
�� ε0%��

�0��#��� ��� �	

��� 2 
� ��
$
%����1 �� �$$��� 
� x 2 x3 H� 
	C��� 
�� ��$����� 
"	�
���$���� ∼ �
� R(f)

� $� 7�U�� �
������ & x ∼ y �� �� ��
$����� �� %�
� ��
� ε > 01 �$ �8���� 
��
ε0%��

�0��#��� �$$��� 
� x 2 y �� 
�� �
��� �$$��� 
� y 2 x3

4�� ��
���� �� �������	�� �
� ��
(	�� ���� $�� �$����� 
"	�
���$���� 
�
∼ 
��� R(f)3  ���� M ��� ���%����1 $"�����#$� �	�
����� %�� ���V��� ���
���%��� �� ��� ��
�1 �� ����
� �$���� 
� �	�
������ %�� ���V��� ��� ���%����3
4"�����#$� ��� ������ ��� �$�������� ������
 
��� $"�����#$� �	�
����� %��
���V���1 �� ����� ��
�� �$���� �����$��� ��� ����������1 ��
�� �$���� ����0
�$��� ��� 
��� 
�� �$���� 
� �	�
������ %�� ���V���3

�� �������� 
"
� ��%��� ��%�$����
� ��� 
�� ������������ 
	���#��#$�

"�
����� 
�����3 ��� %��%��	�	 
,�����
� P ��� 
��� Cr�"�	������ �� �$$�



'� ������� ��	
����


��� �����7���� %�� 
� �	��

�$ 
� $"�����#$� 
�� 
,�����
�� Cr3 H� 
�� 	��$�0
���� �
� Cr�"�	��������	� $� 
,�����
� �����7��� $� %��%��	�	 P3 ���� M'*N1
 3 ������� �� �3  �������� ��� �����	 �
� C10�	�	���
�����1 $�� �$����� 
�
�	�
������ %�� ���V��� ��� �%	���
��
�� �� $�� �$����� �����$���� ��W���
��� &

*����+�� �$�$� &.��
��
/ ��� 
�
��'$ )�
	� ��		�� �	� �
����� ����
�
��� M ' �� 
 
 �	 �������� HCR �
	� Diff1(M) �� ��������������� f ����
��� ��
��� ��
��� �������	� �� f ��� �	� ��
��� �� �������	�� �
� ��
(	��'
�� ������������	�' ��
��� ��
��� �� �������	�� �
� ��
(	�� ��� 	���� �
� �	�
��
��� �������	� ��� 
���������� *	� ��	���	� �
� �� ���	� ����������+$

 �������� M))N � �	������� �����	 �
� �	�	���
����� 
�� �$���� 
� �	0
�
������ %�� ���V��� ��� $����� 
� A�
�
��E 
"
�� �
��� 
"��#���� 
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 ���� %�
� $� ��	��-�� '3�3'1 �� ������$$� �
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�� %����� ����������

"��#���� %	���
��
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��� �� 
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� $� ���%$� 
	���	�
$� $��� 
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��
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� 
�� %����� ���������� 
"��#���� ��$$��1 ��
�
�� %�	������� ��� ��#����3  ��� �
���C� $� ������ 
� 
�E	����%����� ��$$� &

� �������������� ����� ��� 
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�E	����%����� f 
"
� C#�	 ��������$ �
0
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��� E �
 
���
� 
"
�� #��� C��� Σ O�� ���� �� C#�	 ����� 
�� ����	�	
������������ ��� �����8�P1 ��$ �
� f %���
�� �,�$��
����� $�� C#���1 �� $�
������� �
$$� 0E 

 C#�	 ��� $"��#��� 
"
�� ��$$�3 �� 
�E	����%����� ��$$� ���
N �����	� �� $� 
	���%������� �� $�� 
��������� ���#$� �� �����#$� 
� df �
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� $� ������� �
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��� %���
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"
� 
�E	����%����� ��$$� $��	����1 2 ��$�
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�
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��������3 H� ������ �$��� %�� �	�
������ �
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�������� 
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�
� �� 
� ��$ 
�E	����%����� ��$$� �"��� %�� �
@������� 7�������� 
����	1
�$��� 
�� %����� %���
�#����� ��	� 
�� �������� �����$���3

4� 
�������� 2 � 	�	 %��
�	� %�� ;
��$� ��
 ���#�����1 ��
� 
��
7���� 	�
���$����3 F� %$
� ����
� 
��������1 �� 	���� $� 
	���%�������
���#$�J�����#$� E = F ⊕ G3 Y
���� 2 ������� f �� f−11 �� %�
� �
%%�0
��� �
� $� 
�������� ���#$� F 
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≥ 23  ���� $�� ��$�
�� %��%��� ���� �	�$$��1 �$$� �������� 
� ��
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����������$ H ���������3  ���� $� 
��������� ����� $�� 
��������� ���#$�
�� �����#$� ��� 7��#$�1 �� �%%$��
� ������ $� $���� 
� M'(N1 
� ����� �
"�� ���
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�
8 ��� �
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� $� 
	���%������ H ⊕ G ��� 7��#$����� 
����	� %�
� f 1
� $� 
	���%������� F/H ⊕ G/H ��� 7��#$����� 
����	� %�
� $� 
�E	�0
���%����� $��	���� �
������ f/H3

���� $� %������ ���1 %�� �,%���-�� 
� �	�
������1 
�� %����� %���
�#�����

� $� ����������� f|H⊕G �
��� 
�� �������� �����$���3 H� ������ �$���
�
"�$$� %�
� Q��� 	���

� �� 
�� %����� %���
�#����� 
� f �
� %�	�������
�$�������� 
�� �������� �����$���3
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��� #���� �$ ��	 
����
 �$ 
���
��	
 �������
%

= 
�E�����%���� f ∈ Diffk(M)1 7�� ���� k ≥ 11 �� ���
 �� #� ��������
��

��
��� �7 ��, �����#�
���� 
�E�����%���� g �� ����
���� �� f ��� � ����0
����%���� h �7 M 3 5� ����$$ ���� � %����
�� %���� �7 %����
 p 7�� � 
�70
7�����%���� f �� �
�������� �7 ��� p0�� ������� �7 ��� 
��������� dfp ��� ��
�������$
� �7 ��

$
� ���3 �� �� � �
���� �7 �� ��� #��� �������$
�� �7 ��

$�
������� ���� ��� ��
 ���$$�� ���� ���3 �� ��� ��������1 =�
����� ��
 ;��0
������� M�N ��G � ������%��
���� #��G��� ���
��
��$ ���#�$��, ��
 �,%��#�$��
#������
��3 ��
��
1 ��� $���$ ���
��
��$ ���#�$��, �7 � 
,������ ���
�
 �
��

$� %���� ����� 7��� � A�������0K��#���� ������� O��� M('NP3

�� ��� ���$, ��8����1 �3?3 =����� M+N %����
 ��� ���
��
��$ ���#�$��, �7
��� ���
���� I�G �7 ���������� ���%��� ����7�$
� �7 �������� �
����
��3
A� ������$�/�
 ���� ���
$� MDN �� � G��$� �$��� �7 I�G� ��
 
�E�����%�����&
�� �	���� <�! �� � ���%��� ���������� ����7�$
 M �� � I�G G����
�
����
$����, 7�� G���� ��� ������� #
�
$� TM �%$��� ���� ����� �
%%$�������,
��������� #
�
$��&

• � ��
��� ��	���1 ���� ��1 � 
��7���$, ���������
 ���& ����� �� � ���$
�
�#�� T > 0 �
�� ���� ��� ����0T I�G ������$, ��������� ��, ���/���
������ �� ��1

• �� �	��
��� ��	���1 ���� ��1 � 
��7���$, �8%��
�
 ���& ����� �� � ���$
�
�#�� T > 0 �
�� ���� ��� ����0T I�G ������$, �8%��
� ��, ���/���
������ �� ��3

• � ���0
���������$ #
�
$� G���� �� ������� ���������
 ��� �8%��
�
1
��� ������ �7 �	���� ������������� �� 
�C��
 ����$��$,1 �������� ��� ����

#
�
$�3

 �����%�����$, �� ��1 �3 ���$� M�BN �8��#���
 � ��G �$��� �7 ���, ���%$�

,������$ �,����� ��G >��G� �� ��������
��1 G���� G��� %����� �� #�

)B
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���
��
��$$, ���#$�3 = %���� x �� 	�	�!
	����	" 7�� � 
�E�����%���� f �7
7�� ��, �����#�
����
 U �7 x1 ����� �� �� ������� n ≥ 1 �
�� ���� fn(U)
���������� U 3 = 
�E�����%���� �� ��$$�
 �����0���$�1 �7 ��� ���0G��
�����
��� Ω(f) O��� ��� �7 ��� ���0G��
����� %�����P �� ���%���
 �7 C����$, ���,
�,%��#�$�� %����
�� %�����1 ��
 �7 7�� ��, %��� �7 %����� �� Ω(f) ��� ���#$�
����7�$
 �7 ��� ��� ��
 ��� 
����#$� ����7�$
 �7 ��� ����� ��� �� ������$
%�������1 ���� ��1 ��� �G� ����7�$
� ���� ����������$, �� ��, ������������
%����3

����� -�� ��
�	���
� ����	�

���$� �����

��
 � ������$ ������ G���� ���$���� =����� ��
 �����0���$�

�E�����%�����3 = ���%��� ��������� ��� K 7�� � 
�E�����%���� f �� �
�
�������� �7 ��
 ��$, �7 ����� �� � �%$������ �7 ��� ������� #
�
$� ���������
 ��K
���� �G� �
%%$�������, #
�
$�� Es ��
 Eu1 ��������� #, ��� 
��������� df 1
�
�� ���� ��� ��� �� 
��7���$, ���������
 ��
 ��� ����� 
��7���$, �8%��
�

#, �� ������� �7 df 3 ;������$,1 ����� �8���� n ∈ N ��
 0 < λ < 1 �
�� ����
7�� ��, 
��� ������� u, v �� Es, Eu1 ‖dfn(u)‖ < λ−1 ��
 ‖dfn(v)‖ > λ3

= 
�E�����%���� �� �
�������� �� ����� � �7 ��� ���0G��
����� ��� ��
�,%��#�$�� ��
 �7 ��� ��� Per(f) �7 %����
�� %����� �7 f �� 
���� �� Ω(f)3
���$�"� �%�����$ �����%������� ������� �%%$��� �� ��, =8��� = 
�E��0
���%���� ��
 %����
�� � 
����%������� �7 ��� ���0G��
����� ��� ���� �

���� Ω(f) = Λ1 ∪ ... ∪ Λi �7 � C���� �
�#�� �7 %���G��� 
�������1 ���%���1
���$���
1 f 0���������1 ���������� ���� O� ��� �� ����������1 �7 �� �������� ����

���� ��#��P3 ��������1 ��� α0$���� ��� ��
 ω0$���� ��� �7 ����, ��#�� ���
���%������$, ��������
 �� ���� Λi3 �� %�����
$��1 �7 Ω(f) = M 1 ����� �� ��$,
��� #���� ��� ��
 f �� �� =����� 
�E�����%����3

=� �8��� = 
�E�����%���� �����C�� ��� 	���
��� ��	�����	 �7 ��
 ��$,
�7 ����� �� �� �,�$� �7 #���� %�����1 ���� ��1 �� �,�$�� ���
���� �7 #���� %�����1
�
�� ���� ��� 
����#$� ��� �7 ���� #���� %���� ���������� ��� ���#$� ��� �7 ���
��8�3 �� �����C�� ��� ����	" ��
	�����
���
 ��	�����	 �7 7�� ��, x, y �� ��� ���0
G��
����� ���1 ��� 
����#$� ����7�$
 �7 ��� ��� ��
 ��� 
����#$� ����7�$

�7 ��� ����� ��� ����������$3

.3 ;�$�� ��
 �3 ���$� �������
��
 �� M�DN ����

• =8��� = ��
 ������ ����������$��, ���
����� �� ��
���$��� �� ���
��
��$
���#�$��,1 ���� ��1 ����
���, �� ��, �����#�
���� 
�E�����%����3

• � 
�E�����%���� f ∈ Diffr(M) �� =8��� = ��
 	���
��� ��	�����	 �7
��
 ��$, �7 �� �� Ω0���#$�1 ���� ��1 7�� ��, �����#�
���� g1 ��� ������������
f|Ω(f) ��
 g|Ω(g) �� ��� ���%������ ���0G��
����� ���� ��� ����
���� #,
� ��������%����3

���� G�� ��$$�
 ��� ��
�����
 :�	�������3 ���$� M+)N ���G�
 ���� =8��� =
��
 	���
��� ��	�����	 ��%$��� Ω0���#�$��,3 ��##�� M�(N C��� ���G�
 ���� ��
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C2 ��%�$��,1 =8��� A ��
 ������ ����������$��, ��%$��� ���
��
��$ ���#�$��,1
���� ��#����� M��N ���G�
 �� �� C1 ��%�$��,3 �� ��� $��� ��������1 �����
�
��R	 M(BN ���%$���
 ��� %���7 ���� C1 ���
��
��$ ���#�$��, ��%$��� �,%��0
#�$����, ��
 ������ ����������$��,3 ��$,��� �� ��R	"� �������
��1 ;�$�� M��N
���G�
 ���� Ω0���#�$��, ��%$��� =8��� = ��
 ��0�,�$�3

�� G�� #�$����
 �� ��� ��8���� ���� ��� �,%��#�$�� 
�E�����%����� �7 �
���%��� ����7�$
 M G��� Cr 
���� �� ��� ��� �7 
�E�����%����� 7�� ����
r ≥ 13 �
� �� �
��>$, �%%����
 ���� ����� ��� �%�� ���� �7 ���0���
��
��$$,
���#$� 
�E�����%����� M+*N ��
 �7 ���0Ω0���#$� 
�E�����%����� M�N3

����� ��	�
�� ��
�	���
�
�� ��� '��.�	 ��	�� �� ����
�
��

�� ��
�� �� ��

, ��� �8������� ��
 #������
� �7 
�E�����%����� 7�� 7��� �,0
%��#�$����,1 A�����1 ;
��1 ��
# M(�N ��
 ����1 ;���� M'BN �����
���
 �
���
��

�
�������� �
�����1 ���� ��1 �
������� �� ��������� �%$������ �7 ��� �������
#
�
$� ���� � 
����� �
� Es ⊕ Ec ⊕ Eu �7 ����� �
##
�
$��1 G���� Es ��

��7���$, ���������
 #, ��� 
,������1 Eu 
��7���$, �8%��
�
1 ��
 Ec ��
������$1 �3�3 $��� ���������
 ���� Es ��
 $��� 
�$���
 ���� Eu3 �� �� ����$,
���G� ���� ��� #
�
$�� �7 � %�����$$, �,%��#�$�� �%$������ ��� ������
�
�1
%������ ��
 ���, ������
�
�$, #, C1 %���
�#������3

���� ����#$, ���, ���G�
 ��� �������#�$��, �7 ��� ���#$� ��
 
����#$�
#
�
$��3 ;������$,1 7�� � %�����$$, �,%��#�$�� Cr �,����1 ����� �8���� �
������ ���#$� 7�$������ Fs ���� �� ������� �� ��� ���#$� #
�
$� Es1 ��

�,��������$$, ����� �� � ������ 
����#$� 7�$������ Fu ���� �� ������� �� ���

����#$� #
�
$� Eu3 H� ��� ����� ���
1 �� ������$1 ��� ������$ #
�
$� ��
��� �������#$�3  $
�� ��� ����� �� M+'1 ������� (3'N �� #
�$
 
�E�����%�����
�� ��� 60
���������$ ���
� ���� ��� ��#
��$, ���0�,%��#�$��1 %�����$$, �,0
%��#�$�� G��� � ���0�������#$� ������$ #
�
$�3

�
�1 G��� � ������$ 7�$������ �8����1 G� ���� �� ������$ � G��> 7��� �7
���
��
��$ ���#�$��,3 H�� ��,� ���� � ������$ 7�$������ �7 � %�����$$, �,%��#�$��
f �� ���
��
��$$, ���#$� �7 7�� ��, ����#, C10
�E�����%���� g1 ��� ������$
#
�
$� �7 g �� �������#$� ��
 �7 ����� �� � ��������%���� h �7 M 1 ���� ���
�
��� ������$ 7�$������ �7 f �� ��� ������$ ��� �7 g1 �
�� ���� h ◦ f ◦ h−1 ��
�����%�� �� g �$��� ��� ������$ $�����3 ��� ���� ���
$� �7 M(�N �� ���� �7 �
%�����$$, �,%��#�$�� �,���� ��� � ������$ 7�$������ ���� �� %$��
�0�8%������1
���� �� �� ���
��
��$$, ���#$�3

����� /� ���
����� �
�
��
�(�

= G��>�� 7��� �7 �,%��#�$����, �� ��� ������ �7 ����	
��� �������	"3 �� G��
��
�%��
���$, �����

��
 #, 4��� M(+N ��
 ��R	 M(�N �� ����� G��>� �� ���
���#�$��, �������
��3 = 
�������
 �%$������ 7�� � ����� 
,������ �� � �%$������
�7 ��� ������� ����7�$
 ���� � 
����� �
� �7 ��������� �
##
�
$��1 �
�� ����
��� ������ �8%������ �� ���� #
�
$� �� 
��7���$, $��� O�� ��� ������ �������0
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���� �� 
��7���$, �������P ���� �� ��� ��8� #
�
$�3 = %������ 
�C������ ��
����� �� ������� )3(3'3

���� ���#�$��, �7 ����C�$
� ���
�
 ��� #
�
$��1 ��� ���G� ���� � 
��0
�����
 �%$������ %������� #, C10%���
�#����� �7 ��� 
,������1 ��
 ���� ���
#
�
$�� ��� ������
�
� �� TM ��
 ���, ������
�
�$, O��� M'�NP3 ��� #
�
$��
�7 � 
�������
 �%$������ ��� �� ������$ ��� �������#$�1 �8��%� ��� �8�����$
#
�
$�� �7 
��7���$, ����������� �� �8%��
���3

��� &	�����	
��� 
�
����	������ �	�� �����

= %��%���, �� � Cr 
�E�����%���� f �� ���
 �� #� *Cr�+������ �7 �� %�������
#, Cr0%���
�#������ �7 f 3 =#����� ��
 ���$� M�N �� 
�������� ≥ 41 ����
����� M��N �� 
�������� ≥ 3 #
�$� �8��%$�� �7 C10��#
�� ��� =8��� =

�E�����%�����3

����� ������
�
� �
��	���
���

�� 
�������� 21 �� �� ��� >��G� �7 =8��� = 
�E�����%����� ��� 
���� 7��
��� C1 ��%�$��,1 #
� �3 !�G��
�� ���G�
 ��� �8������� �7 �� �%�� �
#��� U
�7 Diff2(M2) �
�� ���� ��, f �� � ����

�$ �
#��� �7 U ��� �� ��C���� �
�#��
�7 ���>� �� ��
����3 ��� %��%���, �7 ������ ��C����$, ���, ���>� �� ��
����
�� ��$$�
  �!����� ���	���	�	3 �� #
�$
 ���� �8��%$�1 !�G��
�� ��

��

��� 
,������ �� ��� �����#�
����
 �7 �����$���� ����������3

"�#�
�
�� �$�$�$ = 3������	�� �
	"�	�
 �� � ���0���������� ������������
#��G��� ��� ���#$� ��
 
����#$� ����7�$
� �7 � ��

$� ��#��3

= �����$���� �������, �� ���, 
����#$� ��
 ��� #� #��>�� #, ��, �$����
%���
�#�����3 A�G����1 !�G��
�� M�)1 �(N ���G�
 ���� �$��� �� ��, C2


�E�����%���� f �7 � �
�7��� �
������� � �����$���� �������,1 ����� �� ��
�%�� ��� U �7 
�E�����%�����1 ��
 � ����

�$ �
#��� R ∈ U 1 �
�� ���� ����,
g ∈ R 
��%$�,� � !�G��
�� %���������3

=������ ���G%���� �� ��

, ���0�,%��#�$�� #�������� G�� ���� �7 ����0
�������,3 H�� ��,� ���� � 
,������ �� M �� ��
	������ �7 ��
 ��$, �7 ����� ��
� 
���� ��#�� �� M 3 �� G�� ��>�
 G������ ��#
�� �����������, ���������/�

=����� 
�E�����%�����3 ������$ �8��%$�� �7 �%�� ���� �7 ��#
��$, ������0
����1 ���0�,%��#�$�� 
�E�����%����� �%%����
 ���� �� 
��������� ≥ 33

=� � ������
���� �7 ��� ���
��
��$ ���#�$��, �7 ������$ 7�$�������1 M(�N
�#�����1 #, � C00%���
�#����� �7 �� =����� 
�E�����%���� �� ��� 7�
�0

���������$ ���
�1 � 
�E�����%���� ���� �� ��#
��$, ���������� ��
 ��� �G�
��

$�� �7 
�E����� ��
����3 �7 � �����#�
���� 
�E�����%���� G�� �,%��#�$��1
#, �����������,1 ��� 
���
� #���� %���� G�
$
 #� M 3 A�G���� ����� ��� ���
#� �G� %����
�� ��

$�� �7 
�E����� ��
���� �� � ���� #���� %����3 A����1 ����
�� � ��#
��$, ���0�,%��#�$�� 
�E�����%����3



����� �� �����
�� ((

�, 
�E����� �����
�1 ��R	 M(DN %����� ���� ���� C00%���
�#����� �7 ��
=����� 
�E�����%���� �� ��� �����0
���������$ ���
� �� �$�� ��#
��$, ����0
������ ��
 �
���� �G� ��

$� %����� �7 
�E����� ��
����3 ���� �8��%$� �� 7��
7��� �����$���� ���������� #
� �� �� ��� �$��
�� �7 � ��� �7 
�E�����%�����
���� ���� � ������
���������$ �,�$�&

"�#�
�
�� �$�$�$ = ����������	���	
� �
��� �� � %��� �7 ��

$� %����� �7

�E����� ��
����1 �
�� ���� ��� 
����#$� ����7�$
 �7 ��� ���������� ��� ���#$�
����7�$
 �7 ��� �����3

= ������
���������$ �,�$� �� �$�� �� 
����#$� %���������1 ��G����  3
������� ��
 43 ���/ M')N ���G�
 ���� �$��� �� � ��
�������� ' ������
����0
�����$ �,�$� O�3�3 ��� 
�E������ �7 ��
�8�� #��G��� ��� �G� ��

$�� �� 1P1 ���
�$��
�� �7 ��� 
�E�����%����� ���� %������ � ������
���������$ �,�$� ���
�����%�, ��������3

����� ���
�! ����
�� ��������	��

;�$�� %��%���
 �� ������������ ��#
������ �7 ���0�,%��#�$�� #������
� #,
$���$ 
�����, �7 �����$���� ���������� �� ������
���������$ �,�$��3 ���� ��
��� %
�%��� �7 ���

���%�	���� �$�$� &�
�
�8 Cr9����
�! 	��%�	����'$ =�� �	��	 �� �
����
����� ��������������' 
	� �������������� 
������	" 
 �������	�� �
	"�	�

�� 
 ����������	���	
� �
��� �� ��	�� �	 Diffr(M)$

= G��> ������� �7 ���� �������
�� ������� ���� ����� �� � 
�������, #�0
�G��� �����0���$� 
�E�����%����� ��
 
�E�����%����� ���� �
��� � ��0
���$���� ������������3

���%�	���� �$�$� &��
2 Cr9����
�! 	��%�	����'$ =�� ��� �� ������
��
�� �������������� 
	� ��� ��� �� �������������� ��
� 
���� 
 ���
�����	�� �	���������	' 
�� �!� ������	� ���	 ���� !���� �	��	 �� ��	�� �	
Diffr(M)$

�� 'B+D1 ;
�� M�'N ���G�
 ��� C10�$����� $����1 ���� ��1 �7 x �� � ��0
�
����� %���� 7�� � 
�E�����%���� f 1 ���� ����� �� �� ��#������$, ���$$ C10
%���
�#����� g �7 f 7�� G���� x �� � %����
�� %����3 �� ��� B*� A�,���� M((N
���G�
 ��� C10 ��������� 4����& 
�
�� ���� ���
������0$�>� ���
����� ��
��� ���#$� ��
 
����#$� ����7�$
� �7 � %��� �7 ��

$� %����� �7 � 
�E�����0
%���� f 1 �� ��#������$, ���$$ %���
�#����� �7 f ������� � �,�$� #��G��� �����
�G� ��

$��3

����� �G� $����� ��� �$$0��%������ �� %���
�# ��
 ������ ��

$� %����
��
%�����1 �����7��� �����$���� ����������1 ��
 ������
���������$ �,�$��3 ���,
��� ��� #���� �7 �$$ �8������ 
���$�%����� ��G��
� ��� C10
�����, �������
��3
A�G���� �� Cr0�$����� ��� ���������� $����� ��� >��G� 7�� r > 1& ���
Cr0
�����, �������
��� ���� �
� �7 ����� 7�� ��� ���� #����3
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��� G��> C10
�����, �������
�� G�� ���G� #, �������1 K�� ��
 5�� M'�N
�� 
�������� (3 ?��, ������$,1 �3 �������� M)(N1 
���� ��� G��>� �7 5�� M+�N
��
 �����

���� �� �������$ G�, �� ��

, ��� 
,������ �$��� ��� ������$
#
�
$��1 %����
 �� �� ��, 
��������&

*������ �$�$� &��� 
�
��'$ =�� ��� �� ��������
�� �������������� 
	�
��� ��� �� �������������� ��
� 
���� 
 �������	�� �	���������	' 
�� �!� ����
���	� ���	 ���� !���� �	��	 �� ��	�� �	 Diff1(M)$

������ �
������ �
����� ���� � %���7 �7 ��� C10
�����, �������
�� �����
#� �������#$�3

�� )***1 F3 ;
��$� ��
 �3 ���#����� �� M�)N ���G�
 ��� C10
�����, ���0
����
�� �7 ;�$�� 7�� �
�7����& � �
�7��� 
�E�����%���� ��� #� C1 �%%��8�0
����
 ������ #, =8��� = 
�E�����%����� �� #, 
�E�����%����� �
�������
� �����$���� �������,3 4�� 
� ���� ��� �G� ���� ���%� �7 ����� %���73 ���,
C��� ���G�
 O4���� )3*3)P ���� �� ��� ���%$�������, ��� �7 ��� �$��
�� �7
��� 
�E�����%����� G��� � �����$���� �������,1 ����� �� �� �%�� ��
 
����
��� �7 
�E�����%���� g G���� ���0G��
����� ��� Ω(g) �
���� � ���0������$

�������
 �%$������3

���� � �����
 ���
$� O������� �3P ��,� �7 f �� � C2 
�E�����%���� ��
� ���%��� �
�7��� ��
 �7 T|ΛM = E ⊕ F �� � 
�������
 �%$������ �#��� �
���%��� ��������� ��� Λ 7�� f 1 ���� Λ �� ��� 
������� 
���� �7 � �,%��#�$��
��� ��
 � C���� �
�#�� �7 %����
�� ���%$� �$���
 �
���� Ci ���� ��� �����$$,
�,%��#�$��1 ��
 �
�� ���� ��� ����������� fpi |Ci �� ����
���� �� �� ���������$
�������� Opi �� ��� %����
 �7 ��� �
��� CiP3

��� C10
�����, �������
�� �� 
�������� �G� �� ����$, �#�����
 ���#��0
��� ����� �G� ���
$��3 ;���$$�$��� ���� �����
1 ��� ���
��$ G�, �� ������

�������� �� C��� �� ���G ���� 7�� 7��� �����$���� ����������1 ����� ��� ����
���
�� 
�������
 �%$������� �� ��� ���0G��
����� ��� O�� �����0���
�����
���1 �� �����$���� �$�����P3

A�,���� �$����
 ���� #���>����
��� 7�� � %���7 �7 ��� C1 ;�$�� ������0
�
�� �� ������ 
���������1 ��G���� �� %�%�� ��� ,�� #��� ��$����
3 �� M+�N1 43
5�� ��
� ���� %������� ��G��
� ��1 �$����$, ���#����� %�����
� ���
$�� M+�N
��
 4���"� ��$������ $���� M(+N �� %���� ���� ��������$$,1 7�� 7��� �,%��#�$��

,������1 �����$���� ���������� ��
 ������
���������$ �,�$��1 ��� ������$
��� �,%��#�$�� ���� �
��� � %�����$$, �,%��#�$�� �%$������1 G��� ��� �� �G�
���0
���������$ ������$ #
�
$��3

��� #���� 
	�
����
� �

 
������
�

��7��� ������� ��� ���� ���
$�� �7 ���� ������1 G� ����$$ �$�������, 
�C��0
����� �� #
�
$��1 $����� ���,�$��1 ��
 
�������
 �%$�������3 5� �$�� 
�C��
�����$���� �$����� ��
 �������  ��$�,"� �����,1 �� ��%������ ���$� �� ��

,
C10������� 
,������3
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�(�

4�� E = (E,Σ, π : E → Σ) #� � 
�������� d $����� #
�
$� �#��� � #���
Σ1 ���� ��1 7�� �$$ x ∈ Σ1 ��� C#�� Ex = π−1(x) �#��� x �� � 
�������� d
������ �%���3 =� ����$��$, 
�C��
 �� M'+N ��
 M'(N1 G� ��, ���� � ��
%$� �7
#��������� A = (f : Σ → Σ, A : E → E) �� � ��	�
� ���
��� �� 
�����������
�� E �7 ��
 ��$, �71 7�� �$$ x ∈ Σ1 ��� ��% A ��

��� #, ����������� � ������
�%���� ������%���� 7��� ��� C#�� Ex �� Ef(x)1 ���� ��1 ��� 7�$$�G��� 
������
����
���&

E
A ��

π

��

E

π

��
Σ

f �� Σ

. O)3'P

= 
�������� d )�������
	 ��	��� (E , ‖.‖) �� � 
�������� d $����� #
�
$�
�
�� ���� ���� C#�� �� ��
�G�
 G��� � F
�$�
��� ������ ‖.‖3 ��� ��, F
0
�$�
��� #
�
$� E 1 7�� ��, #�������� f �� ��� #��� Σ1 G� ��
�G ��� ��� �7 $�����
���,�$�� �#��� ��� 
,������ f G��� ��� 7�$$�G��� 
�������&

dist(A,B) = sup{‖A(u) −B(u)‖, ‖A−1(u) − B−1(u)‖/u ∈ E , ‖u‖ = 1}.

5� ��, ���� � $����� ���,�$� �� ���	��� �
 C > 0 �7 ��
 ��$, �7 7�� ��, 
���
������ u ∈ E 1 G� ���� ‖A(u)‖, ‖A−1(u)‖ < C3

"�#�
�
�� �$�$�$ = ����	
��� �������	" 7�� � $����� ���,�$� A �� � F
�$�0

���� #
�
$� E �� �� A0��������� �%$������ E = E1 ⊕ ... ⊕ El �
�� ���� �����
�� C > 0 ��
 0 < λ < 1 �
�� ���� 7�� ��, 1 ≤ i < l1 7�� ��, %��� �7 
���
������� u, v ∈ Ei, Ei+11 7�� �$$ n ∈ N1 G� ���� ‖fn(u)‖ < Cλn‖fn(v)‖3

5� ���� ��, ���� Ei �� 
�������
 #, Ei+11 ��
 G���� Ei ≺ Ei+13 H#0
���
�$,1 �7 E = E1 ⊕ ... ⊕ El �� 
�������
1 ���� 7�� �$$ 1 ≤ i < j ≤ l1
G� ���� Ei ≺ Ej 3 ���
��� ���#$� ���� C�$
�1 ��� ���G� ���� � 
�������

�%$������ %������� #, %���
�#�����1 ��
 ������ ������
�
�$,& 7�� ��, 7���$, �7
�����#�
����
� V1, ...,Vl �7 ��� #
�
$�� E1, ..., El1 ����� �� ε > 0 �
�� ����
��, $����� ���,�$� B �� ���� dist(A,B) < ε1 �
���� � 
�������
 �%$������
F1 ⊕ ... ⊕ Fl1 G���� Fi ∈ Vi 7�� �$$ i3

��������1 �� ��� %�����
$�� ���� G���� E �� ��� ������� �%��� �7 � ����0
7�$
 M ���������
 �� � ���%��� ��� Σ1 ��
 A �� ��� 
��������� df �7 � 
�E��0
���%���� �7 M ���� $����� ��� ���%��� ��� Σ ���������1 ���� O��� M'�1 ;���
)B)N1 7�� ��������P ��� �
##
�
$�� Ei �7 TM|Σ ��� ������
�
�3

5� ��, ���� �� ��������� #
�
$� F �� ��
��� �� �	������
 ��	��
���� #,
A �7 ��
 ��$, �7 ����� �8��� C > 0 ��
 0 < λ < 1 �
�� ����1 7�� ��, 
���
������ u ∈ F 1 7�� �$$ n ∈ N1 G� ���� ‖An(u)‖ ≤ C.λn3 5� ��, ���� �� ��
�	��
��� �� �	������
 ���
	��� �7 �� �� 
��7���$, ���������
 #, ��� ��������
$����� ���,�$� A−13
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"�#�
�
�� �$�$�$ = �
���
��
 �
�������� �������	" 7�� � $����� ���,�$� A ��
E �� � 
�������
 �%$������ E = Es ⊕E1 ⊕ ...⊕El ⊕Eu �
�� ���� Es �� ���#$�
��
 Eu �� 
����#$� 7�� A3

K���� � F
�$�
��� #
�
$� E G��� ���%��� #��� Σ1 ��
 � 
�������

�%$������ E = E1 ⊕ ... ⊕ El 7�� � $����� ���,�$� A1 �� 
�
���� ������ 7��
���� 
�������
 �%$������ �� � ������ ‖.‖∗ �� ���� C#�� �7 E �
�� ���� 7�� �$$
1 ≤ i < l1 7�� �$$ 
��� ������� u, v ∈ Ei, Ei+11 G� ���� ‖A(u)‖∗ < ‖A(v)‖∗3 �7
A �
���� � %�����$$, �,%��#�$�� �%$������ E = Es⊕E1⊕...⊕El⊕Eu1 ��� ������
‖.‖∗ �� 
�
���� �� �� �7 ��
 ��$, �7 �� �� �
�%��
 �� ��� ������%��
��� 
�������

�%$������1 ��
 �7 7�� �$$ 
��� ������� u, v ∈ Es, Eu G� ���� ‖A(u)‖∗ < 1 ��

‖A(v)‖∗ > 13

����� 0�	��(�� �� ���
���
��

5� ��, ���� �� ��������� �%$������ E = F ⊕ G 7�� � $����� ���,�$� A �� N �
����	
��� �71 �7��� N ����������1 ��� ������� �7 F ��� �G��� ���� 
�$���
1 ��
�G��� $��� ���������
 ���� ����� �7 E1 ���� ��1 7�� ��, 
��� ������� u, v ∈ F,G1
G� ���� ‖AN (u)‖ < 1/2‖AN (v)‖3 �����7���1 ��� ������� N ��1 ��� G��>��
��� 
��������� ��3

,��
�2 �$�$�$ �������	" �� ��
� ��%	����	' �� 
	 �	�
��
	� �������	" �� N �
����	
���' �� �� 	�� 	�����
���
 M �����	
���' ��� 
�� M > N $

A�G����1 ���� �����> �� �

�����
 �7 ��� ������ ‖.‖ �� �
�%��
 �� ���

�������
 �%$������3 �� M)BN1 ��� 
�C������ �7 �� N 0
�������
 �%$������ 
�70
7��� 7��� ��� ��� G� ���� ����9 ����$,1 � �%$������ �� N 0
�������
 �����
���
�� M)BN �7 �� �� L0
�������
 7�� ���� L < N 3 5� G�$$ ��� ���� ����� �G� 
�70
�������� ��� ��
���$���1 �� ���� �8���� O���  ���$$��, )3�3)P3

����� 1���� 	���		���� ���
���

:���	�
�
	 	�
����

�� ���� �������1 M �� � ���%��� ���������� ����7�$
 ��
 Diffr(M) �� ���
��� �7 Cr0
�E�����%����� �� M 1 7�� ���� r ≥ 13 4�� f #� � 
�E�����%����
�� Diffr(M)3 H�� ��,� ���� �� f 0��������� ���%��� ��� Λ �� �
��������1 �7
��
 ��$, �7 ����� �� �� ��������� �%$������ TM|Λ = Es ⊕ Eu G���� Es �� �
���#$� #
�
$� 7�� df ��
 Eu �� �� 
����#$� #
�
$�3

= %����
�� %���� P 7�� f �� � �
���� �7 ��� ��#�� Orbf (P ) �� �,%��#�$��
��
 ��� ���#$� ��
 
����#$� #
�
$�� ��� #��� ���0������$3 ��� ���#$� ���
W s(Orbf (P )) = {x ∈ M/dist(fn(P ),Orbf (P )) → 0} ��
 ��� 
����#$�
��� W u(Orbf (P )) = {x ∈ M/dist(f−n(P ),Orbf (P )) → 0} ��� #��� Cr

��#�

�
 ����7�$
� ���� ��� ������� �� ��� #
�
$�� Es ��
 Eu1 ���%������$,3
5� ��, ���� �G� ��

$� %����� ��� �������	��
��
 ���
��� �7 ��
 ��$, �7

��� 
����#$� ����7�$
 �7 ��� ��#�� �7 ��� ���������� ����������$, ��� ���#$�



����� �� �����
�� (D

����7�$
 �7 ��� ��#�� �7 ��� �����3 ���� 
�C��� �� ��
���$���� ��$����� ��
%����
�� ��

$� %�����3

"�#�
�
�� �$�$�$ ��� �������	�� ��
�� H(Q, f) �7 � ��

$� %���� Q �7
� 
�E�����%���� f �� ��� �$��
�� �7 ��� ��� �7 �,%��#�$�� %����� ���� ���
�����$�����$$, ��$���
 �� Q3

�, 
�C������ � �����$���� �$��� �������� � 
���� �
#��� �7 %����
�� %�����1
�����7��� �� �� �� ��� ���0G��
����� ��� �7 f 3 ��� �����$���� �$��� �7 Q ��
��%�$�����$$, ���������� ��
 ��� #� ��
���$���$, 
�C��
 �� ��� �$��
�� �7 ���
���������� ������������� �7 ��� ���#$� ��
 
����#$� ����7�$
� �7 Q O��� M��NP3

�����! *����!

5� #���I, 
�����#� � ���
������ ������ �����

��
 #,  ��$�, M)'N3 = ��0
�
���� (xn) �� �� ε������������� 7�� ���� ε > 0 �7 ��
 ��$, �7 ��� 
�������
dist(f(xn), xn+1) �� $��� ���� ε 7�� ���� n3 ��� ��
�	��������	� ��� R(f) ��
��� ��� �7 %����� x �
�� ����1 7�� �$$ ε > 01 ����� �� �� ε0%��

�0��#�� ����
�� ��� ��

��
 �� � ����$� %���� ��
 ���� ���� 7��� x �� x3 5� 
�C�� ��
��
���$���� ��$����� ∼ �� R(f) �� ��� 7�$$�G��� G�,& x ∼ y �7 ��
 ��$, �71
7�� �$$ ε > 01 ����� �� �� ε0%��

�0��#�� 7��� x �� y1 ��
 �� ε0%��

�0��#��
7��� y �� x3

��� ��
�	��������	� ��
���� ��� ��� ��
���$���� �$����� �7 ∼ �� R(f)3 ���
M �� ���%���1 ��� ����� ���
����� ��� �� ���%��� ��
 ��� ��%�,1 ��
 ����
����� ���
����� �$��� �� ���%���3  $���$,1 ��� ���0G��
����� ��� �� ��������

�� ��� �����0���
����� ���1 ��
 ����� � �����$���� �$��� �� ����������1 ����
�����$���� �$��� �� �� � �����0���
����� �$���3

= ������
� ������ �7 � ��%�$�����$ �%��� �� � ��
���#$� ������������ �7 
����
�%�� ����3 = 
,������$ %��%���, P �� Cr�"�	���� �7 �� �� �����C�
 #, � ����

�$
��� �7 
,������ 7�� ��� Cr0��%�$��,3 5� �$�� ��, ���� Cr�"�	����
��
1 ��� 
,0
������ �����C�� %��%���, P3 �� M'*N1  3 ������� ��
 �3  �������� ���G�
 ����
C10��������$$,1 ��� ���0�%����
�� ����� ���
����� �$����� ��
 ��� �����$����
�$����� ������
�&

*������ �$�$� &.��
��
/ ��� 
�
��'$ >���	 
 ����
�� �
	�����M ' �����
�� 
 ������
� ������ HCR �� Diff1(M) �� �������������� f ���� ��
� �
��
�������	�� ��
�� �� f �� 
 ��
�	��������	� ��
�� 
	� ��	������
' �
�� ��
�	�
�������	� ��
�� �� ������ 
�������� *���� 	�� ��	�
�	 
	
 �������� ���	�+ �� ��

 �������	�� ��
��$

 �������� M))N ������$, ���G�
 ���� ��������$$, � �����0���
����� �$��� ��
� A�
�
��E $���� �7 ��

$� ��#���3 !��� ���� ����� ���
$�� G��� �#�����

G��>��� �� ;
��"� �$����� $���� ��
 A�,����"� ���������� $���� ��
 ���
#� ���� �� ������$�/������ �7 ����9 ��
��
1 ������� )3(3� ��%$��� ��� C10
���������� $����1 ��
  ��������"� �$���$, ��%$��� ��� C10�$����� $����3
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4�� M #� � ���������� ���%��� ��������
 ����7�$
3 ���� ����� �� �
��������$ 
������� dist : TM × TM → R+ �� ��� ������� #
�
$� TM 3
= 
�E�����%���� f �� �� ε��������
���	 �� g 7�� ��� C1 ��%�$��,1 �7 ��

��$, �71 7�� ��, 
��� ������ v ∈ TM 1 G� ���� dist(df(v), dg(v)) ≤ ε ��

dist(df−1(v), dg−1(v)) ≤ ε3 K���� � �
#��� S �7 M 1 f �� � ������
���	 �� g
�	 S �7 f = g �
���
� S3

= $���� #, ����>� M)+N �$$�G� �� �8���
 � %���
�#����� �7 ��� 
���������
�7 � 
�E�����%���� �$��� � %����
�� ��#�� ���� � $���$ %���
�#����� �7 ���

�E�����%���� �� ��� G��$� ����7�$
3 5� ������� ��&

0���
 �$�$� &1�
�2�'$ #�� f �� 
 ������������� �	 
 ����
�� ?���
	�
	�
	 �
	����� M $ @�� 
	
 δ > 0 ����� �� ε > 0 ���� ��
� ��� �����!�	"
�����-

�� Σ �� 
 %	��� f ��	�
��
	� ���' 
	� �� A �� 
 ���
��� �	 TM|Σ !���
dist(A, df|Σ) < ε' ���	 ����� �� 
 δ��������
���	 g �� f �	 
	 
�����
���

��
�� 	��"��������� �� Σ ���� ��
� dg|Σ = A$

5��� ���� $����1 G� G�$$ ��

�� ��� %���
�#����� %��#$��� �� $�����
%���
�#����� ����3 �� G�$$ �$$�G �� G��> �� $����� ���,�$�� �� ��� %���7 �7
������� �3�3)1 ��
 �� G��> �� G��� G� G�$$ ��$$ $����� ��

$� 
�E�����0
%����� �� ��� %���7 �7 ������� �3'3(3 !��� ���� ����>�" $���� �� �%���C�
�� ��� C10��%�$��,3

��� ����	�	
� �$ '	�����

���� ������ ��������$$, ��

��� ��� $���$ 
,������ �7 
�E�����%����� �$���
%����
�� ��#���1 �� C�
 G��� #������
�� ��� #� �#�����
 #, ���$$ %���
�0
#������ �� �#����� �7 ���� 
�������
 �%$������� �$��� ���� ��#��3 ��� ���0
���
����� G�$$ #�1 ����� ������1 ������� 
���������� #��G��� !�G��
��
%���������� ��
 
�E�����%���� �
������� ���� 
�������
 #������
��1

���������� #��G��� �����$���� ���������� ��
 ���#$�J
����#$� 
�������

�%$�������3

��#�� 1��
��� ���	
��

��  ��%��� (1 G� ���G�� �� �$
 �
������ 7��� A�����1 ;
��1 ��
# M(�1 %���
�N �� �8������� �7 �
�%��
 ������� 7�� 
�������
 �%$�������3 �� G�� >��G�
���� � �,%��#�$�� �%$������ �
���� �� �
�%��
 ������3 5� ���� �� �
�$��� �7
� %���7 �7 ��&

4�� K #� � ���%��� ��������� ��� 7�� � 
�E�����%���� f 1 ��
 TM|K =
Es ⊕ Eu #� �� ��������� �,%��#�$�� �%$������ 7�� f 3 ����1 7�� ��, ������
u ∈ Es1 ‖dfn(u)‖ ��������� �8%�������$$, �� /��� �� n ���� �� ∞1 G���� ‖.‖
�� ��� ������$ ���������� ������ �� M 3
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H�� ��� ���� 
�C�� � ��G ������ ‖.‖s �� ��� #
�
$� Es �� ��� �
� �7
��� %
�� 7��G��
� �7 ��� ������$ ������ #, ��� %������� �������� �7 df 3  $���$,1
‖df(u)‖s < ‖u‖s 7�� ��, ���0/��� ������ u1 ����� ‖u‖s = ‖u‖ + ‖df(u)‖s3
�,��������$$,1 ��� 
�C��� � ������ ‖.‖u �� Eu �
�� ���� ‖df(u)‖u > ‖u‖u3
H�� ���� #
�$
� � ������ ‖.‖∗ �� M ���� ������
�� G��� ‖.‖s �� Es ��
 ‖.‖u

�� Eu9 ���� ������ �� �
�%��
 �� ��� �,%��#�$�� �%$������1 #, ������
�����3
=� �
�%��
 ���������� ���
��
�� G�
$
 #� �#�����
 ��>��� ��� ����� �7 ���
%
�� 7��G��
� �7 ��� ����� %��

�� �� M #, ��� �������� �7 df 3 ���� ������
��� ���� #� �������
 ��
 ������ �
�%��
3

A�����1 ;
�� ��
 ��
# ������
 ���� �� G��>�
 ����$��$, �� ��� ���� �7 �
�G�0#
�
$�� 
�������
 �%$������1 ��� �7 ��� #
�
$�� #���� ���0
���������$3
A�G���� �� %���7 G�� >��G� 7�� ������$ 
�������
 �%$�������1 �� %�����$$,
�,%��#�$�� �%$�������3 ���� �� G�, ���, ���
 �� ��>� � 
�E������ #��G���
"����
���� �����$ �,%��#�$����," ��
 "��$����� �����$ �,%��#�$����," M(�1
%��� (N3 ��� ��8� ������� %����
�� � ���%$��� ���G�� �� ����� �
������&
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��� �������, �� �� #
�$
 ���
�
���� #��G��� ��� #
�
$�� �7 ��� 
�������

�%$������1 ���� ��1 7
������� 7���K �� R+ ���� G�
$
 ������%��
 �� �

 �� ���

,������ ���0
���������$ #
�
$�� #��G��� ���� %��� �7 ������
���� #
�
$��
�7 ��� 
�������
 �%$������3 ���� ���� ����� %����
�� �� ���� #
�
$� � ������
���� �� �
�%��
 �� ��� 
��������� G��� ���%��� �� ��� �G� �����#�
����
��%������� O�� ���0
���������$ #
�
$��P3 5��� ��� ��%������� ��� %��%��$,
������1 ���� %����
�� �� �
�%��
 ������ 7�� ��� 
�������
 �%$������3

 �����
���$,1 7�� ��, 
�������
 �%$������1 ����� �� � ������ �� ��� #
�
$�
�
�� ���� N 0
��������� #��G��� � %��� �7 #
�
$�� ��%$��� L0
��������� 7��
��, L > N 3 ��� 7�$$�G��� ����$$��, ��� #� ����$, �#�����
 G����
� �
�%��

�������1 >��G��� ���� �
�� ������� �8��� ��$, ��>�� �� �$����$, ������3

������
�! �$�$�$ #�� f �� 
 ������������� �	 
 ����
�� �
	����� M $
=��	 ��� 
	
 L ∈ N' ����� ������ N ∈ N ���� ��
� �� 
	 �	�
��
	� �������	"
TM|K = E ⊕ F �	 
 ����
�� ��� K �� 	�� N ′�����	
��� ��� ���� N ′ > N '
���	 �� �� 	�� L′�����	
���' ��� 
�� L′ ≤ L$

����( 3 5� ������ #, ������
������3 �7 ��� ��������� �#��� �� ��� ��
�1 ����
G� ��� C�
 � ���
���� Kn1 � ���
���� Ln �7 �������� #��G��� 1 ��
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$��1 7�� �$$ ε > 01 �7 N �� ������� ���� ����
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� ��� ������ ‖.‖∗ �� ��
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%��%���, �7 �����$���� �$�����& ����� �G� %����
�� ��#��� P ��
 Q �� � ����0
�$���� �$���1 ����� ��� %����
�� %����� %������ ��#������$, �$��� �� P 1 ������7���
��#������$, �$��� �� Q1 ��
 �� ��9 �������� ��� �
�������� ����� ��� %����
��
%����� �%��
 �$��� �� P ��
 Q ��� #� ������1 �� ���� ��� 
��������� �$���
���� %����
�� ��#�� �� �$���������$, ���, �$��� �� ��� 
��������� �� Orb(P )1
��
 ���, �$��� �� ��� 
��������� �� Orb(Q) �� %������#�
 �������� �7 ����3
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$�� �7 ���� ������ �$$�G� �� �#���� � ������%��
���
���
$�1 G��>��� �$��� � ����$� ��#�� �7 � 
�E�����%���� f 3 ;������$,1 G� ���
��� 7�$$�G���&
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��	A�B������� �� f $

= ������
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�������� 21 ;
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 ���#����� M�)N %����
 ���� �7 ����� �� �� ���0
������$ 
�������
 �%$������ �� ��� ���0G��
����� ��� �7 � 
�E�����%���� f 1
���� �� ��#������$, ���$$ %���
�#����� ������� � �����$���� �������,3

5�� M+�N ������$���
 ���� ���
$� �� ������ 
���������3 A� ���G�
 ���� �7
7�� ���� ������� 1 ≤ i ≤ d1 ��� i0%��%����
�� ��� O��� ��� �7 %����� ���� ���
#� �
���
 ���� � ��

$� �7 ��
�8 i #, �� ��#������$, ���$$ C10%���
�#�����P

��� ��� �
��� � 
�������
 �%$������ �7 ��
�8 i1 ���� ����� �� �� ��#������$,
���$$ %���
�#����� ���� �
��� f �� �
��� � �����$���� �������,3 A�G����
��� ��

$� 7�� G���� ��� �����$���� �������, ���
�� ��, ���� #��� ������

�� ��� %���
�#����� ���� �� #
�$
�3 �������� ��� ��
�8 �7 ���� ��

$� ������
� %����� #� ������$$�
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��� ������ ���#$�J
����#$� ���0
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• �� ����� �� 
 ����	
��� �������	" ��� f �	 H(P, f)

TH(P,f)M = E ⊕ Ec
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 #, %���
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��� �$$ ��� �������$
�� �� ��� C��� ���
�� �� ����
���� ��
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�1 ���� ����>�" 4���� �$$�G� �� ���$�/� ���� %���
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�$ �� ��� �8%����
 %���
�#�����
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��%%��� ���� ��� $���� %����
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��� �8%������1 �$��� ��� ��#��3

5� 
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• ��, %���� x ∈ Σ �� %����
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• 7�� ��, p ∈ N1 ��� ��� �7 p0%����
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���	 �7 ��� ��$, ���� ��
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�� ���� 7�� �$$ ε > 01 ����� �� ��$,
� C���� ��� �7 %����� x ∈ Σ1 7�� G���� ����� �� � 
��� ������ u �#��� x
�����7,��� ‖A(u) − B(u)‖ ≥ ε3 ���� ��1 B �� ε0�$��� �� A �$���� ����,G����3
= %���
�#����� �7 � %���
�#����� �� � %���
�#�����3 ���� 
�C������ �%����

� ��� 
�� ��
 ���
$��� �7 �
$��%$� ε0� ��
 ��>�� ��� ���������� ��
 %���7�
�
�� $������3

5� ��G ��� ����� ��� ���� ���
$� �� ���,�$��&

*������ �$�$�$ #�� A �� 
 ���	��� �
�"� ������� ���
���$ =��	 �� A ��
�������
 !������ ����	
���	' ����� ������ 
 �������
���	 B �� A ���� ��
� ���

	
 x ∈ Σ' ��� %��� �����	 �
� Bp 
� x �
� 
�� ��"�	�
���� ��
�' !��� �
��
�������$

��)�� /���
�� �� ��� 
	��� �� -���	�� ��)��

5� C��� ��� ���� �� �� �
@����� �� ���G ���� G��� ��� ���� �,%�������1 �����
�� �� ��C���� �
#��� Σ′ ⊂ Σ �� G���� ���� %���
�#����� �7 A ��� � ���
��
��% G��� �$$ �������$
�� ���$1 G��� ���� ��

$
�3 5� %���� ���� ����� �� �
%���
�#����� B �7 A ���� �
��� �$$ ��� �������$
�� �� #� ���$ G��� 
�E�����
��

$�3

K���� � $����� ���,�$�1 G� ��$$ #

��	�� ��
����� 
� 
 ���	� x ∈ Σ
��� 
�E������ #��G��� ��� �������� ��
 ���$$��� 4,�%
��� �8%������ �7 ���
���,�$� �� ���� %����3 5� ��G ��, ������/� ��� 4,�%
��� 
������� �� ��
��C���� �
#��� �7 Σ3 ;������$, G� ������/� ��� ��!�� #

��	�� ��
����� �7
B1 ���� ��1 ��� ��C�
� �7 ��� �
�#��� ρ > 0 �
�� ���� ����� �� �� ��C����
�
#��� �7 Σ �7 %����� �� G���� ��� 4,�%
��� 
������� �7 B �� ������� ����
ρ3

5� ������ ���� �7 ��� $�G�� 4,�%
��� 
������� �7 � %���
�#����� B �7 A
�� 01 ���� G� C�
 �� ��C���� �
#��� Σ′ ⊂ Σ �� G���� ���� %���
�#����� �7 A
��� � ���
�� ��% G��� �$$ �������$
�� ���$1 G��� ���� ��

$
�1 G���� G�
$

����$

� ��� %���73 5� ��� $�7� �� C�
 �
�� � B3

�� 7���1 G� ���G ���� ����� �� � %���
�#����� B �7 A ���� ��� ���$ �����0
��$
�� G��� 
�E����� ��

$�1 ��
 �� ��C���� �
#��� Σ′ ⊂ Σ1 �
�� ���� ���
����������� B′ �� Σ′ �� �	������������1 ���� ��



����� �� �����
�� ��

• �� �
���� � #

��	�� ��
����� δ(B′)1 �3�3 7�� �$$ ε > 01 ����� �� ��$,
� C���� ��� �7 %���� x ∈ Σ′ �� G���� ��� 4,�%
��� 
������� 7�� B′ ��
�
���
� ��� �������$ [δ(B′) − ε, δ(B′) + ε]3

• �� ������/�� ��� $�G�� 4,�%
��� 
�������& ��, %���
�#����� �7 B′ ���
� $�G�� 4,�%
��� 
������� ������� ���� δ(B′)3

5� G�$$ ������ ���� A #���� ������$, G����
� 
���������1 �� �� ��� %��0
�
�#����� B1 ��
 �� �� ��� ����������� B′3 �� �� ��G �$���$, �
@����� �� ���G
���� �7 � ���,�$� �� �����%�����#$� ��
 �� ������$, G����
� 
���������1 ����
��� 4,�%
��� 
������� �� 03 ��� ��8� ������� ����� �� �
�� �7 ��� G�, G�
���G �� ��
 ��
� ����$

�� ��� �>���� �7 ��� %���7 �7 ������� )3�3'3

5� �
�����/� ��G1 #, ��

����� �� ��� 
�������� �7 ��� #
�
$�1 G�
�#���� ���� �� �����%�����#$� ���,�$� ������$, G����
� 
��������� ��� 4,�0
%
��� 
������� ��
�$ �� /���3 �� 
�������� 21 ��� �������
�� �7 �3 ��R	 M(�N
%����
� � %���73 =��
�� #, ������
������ ���� �� �����%�����#$� ���,�$� A
�� � #
�
$� E �7 
�������� ≥ 3 �� ������$, G����
� 
���������1 ��
 ��� 4,�0
%
��� 
������� > 03 5� C��� ���G ���� ����� �� �� ��C���� �
#��� Σ′ ⊂ Σ
��
 �� ��������� �%$������ E|Σ′ = F ⊕G �#��� Σ′ ���� �G� ���0������$ �
##
�0

$�� �
�� ���� ��� �������$
�� �� F ��� ���$$�� ���� �� G �#��� ���� %����
x ∈ Σ′1 ��
 ��� ������������ A|F ��
 A|G ��� ������$, G����
� 
���������3
���� ���� ��
 #, �����%�����#�$��,1 G� ��� ���� ��� 4,�%
��� 
������� �7
#��� A|G ��
 A|G �� /���3

����� ��� 
�������� �� ≥ 31 G� ��, ���
�� ���� dim(F ) ≥ 2 ��
 C�
 �
���0
���������$ ��������� �
##
�
$� H ⊂ F 3 =
�%���� � 4���� 7��� M'(N1
����� A �� ������$, G����
� 
���������1 G� ��� ����

• ������ ��� �%$������ H ⊕ G �� ��� 
�������
 7�� A1
• �� ��� �%$������ F/H ⊕G/H �� ��� 
�������
 7�� ��� �
������ ���,�$�

A/H3

5� C��$$, ���G ���� #��� ���� �
�������1 #, ��� ��

����� �,%�������1 �
��G %���
�#����� ���� ������$, 
�������� ��� $�G�� 4,�%
��� 
������� �7 A1
G���� ������
���� �����%�����#�$��,3 YF�3

��" �(	��� �$ ��	 ����$ �$ )�	��	� �����

,��
�2 �$�$�$ �� !� 
���
�
 !
�	�� �	 ������	 C$8$C' ��� ��%	����	 !� �
A�
��� N �����	
���	 �	 ��� ������ =������� 6$7$8 
	� 6$7$8 �� ���"���
 ������	�
���� ��� ��%	����	 !� ���� �	��� 	�!$ 3�!����' �
 :�����
�
 C$;$C' ���
������� ��
� !� !��� 
���
��
 ���! ������� ��� ������� ��
� !� 
		��	���$

��� %���7 �7 ������� �3'3( ��
��$, 7�$$�G� ��� ���� ���%�1 #
� 

� ��
�
�� ���� ��������$ 
�@�
$���� ��
 ��� ���
 �7 �#���
�� �������$��,1 G� 
�
��� �
������� �� ����3
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=� 7�� ������� )3�3' G� G�$$ G��> �� ���$$ �����#�
����
� �7 %����
��
��#���1 ��G���� G� ���
 ���� %������ ��7�������� ���� ��� 
��������� �� ���
%����
�� ��#��3 ���� �� G�, ��� ���,�$� ���$ �7 M'+N G�$$ ��� 
�����$, �%%$,
����3

5� G�$$ %���
�# �� ���$$ �����#�
����
� �7 %����
�� ��

$� ��#���1 %��0
������� ����� ��#���3 ���� ��������� ��� ������ �7 ��

$� 
�E�����%�����&
� �
���� ������������� �� � 
�E�����%���� f �� � $����� F
�$�
��� #
�
$�
E ���� � C���� #��� Σ OG� ��� ���� #
�
$� �� � ���0��������
 ������0
���� ����7�$
P1 �
�� ���� f 
��� � �,�$�� %���
������ �7 ��� C#���1 ��
 ���
/���0������� 0E �� ��� ��#�� �7 � ��

$� %����3 = ��

$� 
�E�����%���� ��
N �����	
��� �7 ��� �%$������ ���� ��� ���#$� ��
 
����#$� 
��������� �7 df
�#��� ��� /���0������� �� N 0
�������
3

5� G��� �� ���G ���� �7 � ��

$� 
�E�����%���� ��� %����
 ����� ���
��1
��
 �7 �� �� ��� 
�������
 ���
��1 ���� G� ��� %���
�# �� �� �� ��#������$,
���$$ �����#�
����
 �7 ��� /���0������� �� �#���� � �����$���� �������, ��0
$���
 �� ��� /���0�������3 ��� ���� G�, �� �� ��� %���7 �7 ������� )3�3'1
G� ��� ���� �7 ��� %����
 �� �����1 ���� � ���$$ %���
�#����� �7 ��� ���,$�
df|0E �#��� ��� /���0������� ��� ���$ �������$
�� G��� %���G��� 
������� ��
0

$�3 =���� 7��� ����>�" 4����1 G� 
�

�� ���� �7 ��� %����
 �7 � ��

$�

�E�����%���� f �� ����� ���
�� ���� ����� �� � ���$$ ��

$�0%���
�#�����
�7 f ���� ��� ���$ �������$
�� G��� %���G��� 
������� ��

$�3

�, ������� %���
�#����� G� $������/� $���$$, ��
 ��

�� 
� �� ��

,��� �
��

$� 
�E�����%���� ���� �� $�����1 ��
 ��� ���$ �������$
�� G��� %���G���

������� ��

$�3 5� G�$$ %���� #, ��

����� �� ��� 
�������� �7 ��� #
�
$�1
���� �7 �
�� � $����� ��

$� 
�E�����%���� �� ��� ������$, ���
�� 
�������
1
���� � ���$$ %���
�#����� �
��� �� �� �
��� � �����$���� �������,3

��������� 2 G�� %����
1 �$#��� ��� �� ���� 7���1 #, ;
��$� ��
 ���0
#�����3 �� ������� 
��������1 $�� E = F ⊕G #� ��� ���#$�J
����#$� �%$������3
H�� ��, ���
�� ���� ��� ���#$� 
�������� F �7 ��� $����� f ��� 
��������
≥ 23 =� ��� �������$
�� ��� ���$1 �� �������� � ���0
���������$ ��������� �
#0
#
�
$� H3 ����� ��� 
��������� #��G��� ��� ���#$� ��
 
����#$� 
���������
�� G��>1 G� 
�� ����� ��� $���� 7��� M'(N1 ��
 ��� ����

• ������ ��� �%$������ H ⊕ G �� G��>$, 
�������
 7�� f 1

• �� ��� �%$������ F/H⊕G/H �� G��>$, 
�������
 7�� ��� �
������ $�����

�E�����%���� f/H3

�� ��� C��� ����1 ��� ��

����� �,%������� %����
�� � ���$$ %���
�#����� �7
��� ����������� f|H⊕G ���� �
���� � �����$���� �������,3 5� G�$$ ���� ���G
���� �� ��� #� �8���
�
 �� � ���$$ %���
�#����� �7 f 1 G���� G�$$ �$�� �����$,
%������ � �����$���� �������,3

�� ��� �����
 ����1 ��� ��

����� �,%������� %����
�� � ���$$ %���
�#�0
���� �7 ��� �
������ f/H ���� �
���� � �����$���� �������,3 5� G�$$ $�7�
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�� �D

�� ���� � ���$$ %���
�#����� �7 f 1 ��
 ���G ���� �
�� � $�7� �$�� �
���� �
�����$���� �������,3

!����� ���� �� #��� ����� G� ���� � %����� �� ������$ �� ��� ��/� �7 ���
�����#�
����
 �7 0E �� G���� G� %���
�# f 3 !�������$���1 ����
������ #, �
��������,1 G� G�$$ ���
�� ���� ��� ��#�� �7 ��� �����$���� �������, �� �$���
�� 0E 1 ��
 ����>� �� � ��C��
 ����>� 4����1 G� C��$$, C�
 � %���
�#�����
�7 f �� � ���$$ �����#�
����
 �7 OE ���� ��� � �����$���� �������,3 YF�3
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��� #��� >��G� ��
 ���%$��� �8��%$�� �7 ������� 
,������$ �,����� ���

��7���$, �,%��#�$�� �,�����1 $�>� =����� 
�E�����%�����3 = 
�E�����0
%���� f �� � ���%��� ���������� ����7�$
 M �� ���
 �� #� �� �	����
������������� �7 ����� �8���� � �%$������ �7 ��� ������� #
�
$� TM ���� �G�
�
%%$�������,1 df 0��������� �
##
�
$��1 ��$$�
 ��� ��
��� ��
 ��� �	��
���
#
�
$�� ���� ��� 
��7���$, ���������
 ��
 �8%��
�
1 ���%������$,1 #, ��
������� �7 f 3 �7 ��� �,%��#�$�� �,����� ��� ��G G�$$ 
�
������
1 ���, 
,0
������$ �,����� ��� O��#
��$,P ��� �,%��#�$��1 �� ���� ������$ �
����� ����
����
 �� G��>�� ��� ������ �7 �,%��#�$����,1 �� ��
�� �� ������� ���� �7 ���
%��%������ �� � $����� �$��� �7 �,�����3

�� ���� �%����1 ����1 ;���� M'BN ��
 A�����1 ;
��1 ��
# M(�N �8���
�
 ���
������ �7 �,%��#�$�� 
�E�����%���� �� ���� �7 �
���
��
 �
�������� 
�E�����0
%����1 ���� ��1 �
������� �� ��������� �%$������ TM = Es ⊕Ec ⊕Eu1 G����
��� ���#$� #
�
$� Es �� 
��7���$, ���������
1 ��� 
����#$� ��� Eu �� 
��0
7���$, �8%��
�
1 ��
 ��� ������$ ��� Ec �� 
��7���$, $��� ���������
 O���%3
$��� �8%��
�
P ���� Es O���%3 EuP3 A�����1 ;
��1 ��
# ���G�
 ��� ���
�0
�
��$ ���#�$��, �7 ��� ������$ #
�
$� �7 � %�����$$, �,%��#�$�� 
�E�����%����
O
�
�� ���� �8��� �,%�������1 ��� M(�1 ������� D3'NP3

5��>��� �� ��� ���#�$��, �������
���1 4��� ��
 ��R	 M(�N G��� $�
 �� ���
7�$$�G��� ������$ ������ & � ����	
��� �������	" 7�� f �� � �%$������ �7 TM ����
�G� �
%%$�������, ��������� �
##
�
$�� �
�� ���� ����� �8���� �� ������� �7
df ���� 
��7���$, ��������� ���� O�� �8%��
� $���P ��� C��� �
##
�
$� ����
��� �����
 ���3 ���� ������ �� � >�, ���$ 7�� 
�
������
��� ���0�,%��#�$��
�,�����&

• �� 
�������� 21 ;
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%���� G��� � 
�������
 �%$������ ��, #� C10�%%������
 #, �,%��0
#�$�� ����1 ��
 
�E�����%����� G����
� 
�������
 �%$������ ��, #�
�%%������
 #, 
�E�����%����� �8��#����� � �����$���� �������,& ��
� ������
���� ��, 
�E�����%���� �7 � ���%��� �
�7��� ��� #� C10
�%%��8�����
 ������ #, �,%��#�$�� O=8��� =P 
�E�����%�����1 �� #,

�E�����%����� ���� �8��#�� � �����$���� �������, O���� G�� ������0
�
��
 #, ;�$��P3

• �� ��, 
��������1 �������1 ���/1 ;
��$� ���G�
 �� M'(N ���� � ��0
#
��$, ���������� ������� 
�E�����%���� �� Diff1(M)1 �
���� � ���0
������$ 
�������
 �%$������ 
�C��
 �� ��� G��$� M 3

=� ����$$�
 �#���1 7�� � �,%��#�$�� ��� K �7 � 
�E�����%���� f 1 ���
������� �� ��� ���#$� ��
 
����#$� #
�
$�� ��� 
��7���$, ���������
 ��
 �80
%��
�
1 ���%������$,1 #, ��� 
��������� dfn1 7�� ���� n > 03 ��� �,%��#�$��0
��, �7K 
��� ��� 
�%��
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��>� n = 13 =%%$,��� A�$���" ������� O��� M(�1 %��� '�NP1 G� �#���� ����
��, �,%��#�$�� ��� �
���� �� �
�%��
 ���������� ������3 5� G�$$ �
�%�
���� ������� �� ��� ���� �7 
�������
 #������
��1 �� ���G 4���� (3�3)3 ��
G�� ��>�
 �� M(�1 %��� �N �7 ����� �8����
 �� 
�
���� ������ ��� 
 ����	
���
�������	"1 ���� �� � ������ �
�� ���� df 
��7���$, ��������� ���� O�� �8%��
�
$���P ��� C��� �
##
�
$� ���� ��� �����
 ���1 �� ��� C��� ���������3

��� ��� �7 ���� %�%�� �� �� ���� � ���%$��� %������� ���G�� �� ���� �
��0
����1 %������ ���� �
�� �� �
�%��
 ������ �8���� 7�� ��, 
�������
 �%$������&
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 ����
�� �	�
��
	� ������ �� M ' ���� ��
� ��� ����������	 �� f �� K 
�����

 ����	
��� �������	" TM |K= E1 ⊕ E2 ⊕ · · · ⊕ Ed' !���� ��� ������� �	 Ei


�� �	������
 ���� ���
	��� ��
	 ����� �	 Ei+1 �
 dfn ��� ���� n > 0$ =��	
����� ������ 
 ?���
		�
	 ������ ‖.‖ �	 M *	�����
���
 �����
��	� �� ���
%��� ������+ 
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���� �� ��� ����	
��� �������	"- ����� ������ 
 ��	��
	�
0 < μ < 1 ���� ��
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 x ∈ K' 
	
 i ∈ {1, . . . , d − 1}' 
	� 
	
 �	��
������� u ∈ Ei

x' v ∈ Ei+1
x ' �	� �
� ‖df(u)‖ < μ.‖df(v)‖ $

���� ���
$� G�� �$���
, >��G� #, M(�N 7�� � 
�������
 �%$������ �� 2
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$��1 TM |K = E1 ⊕ E21 �
�� ���� dim(E1) = 1 �� dim(E2) = 13 �� �
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�����1 ���, ���G�
 ���� ��, �#��$
��$, �����$$, �,%��#�$�� �,����1 �
����
�� �
�%��
 ������1 #
� �� G�� ��� >��G� G������ �� G�� ��
� 7�� � ��$�����$,
�����$$, �,%��#�$�� �,����1 G���� ��1 G��� �
� 
�C�������1 � %�����$$, �,%��0
#�$�� �,����3 5� ���G�� #, ���G��� O��� ������� (3�3+P ���� �� �
�%��

������ �8���� 7�� ��, %�����$$, �,%��#�$�� �%$������1 ���� �� � ������ �
�%��

�� ��� ������%��
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 �
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�
$�� ��� 
��7���$, �8%��
�
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 �� ��� C��� �������3 ����$$,1 G�
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���G �� ������� (3� ��G �� �����%��� ����� ���
$�� 7��� 
�E�����%����� ��
I�G�3

�� ��
�� �� %������ ���� �$���$, ��� �
�� �7 ��� %���71 G� G�$$ C��� 7��
�1
�� ������� (3(1 �� 
�������
 �%$������� ���� �G� �
##
�
$��1 ���� �� ������0
��� ���%��� ��� �7 � 
�E�����%����3 ����1 G� G�$$ ���G ���� ����� �8����
�� �
�%��
 ����$�� 7�� ��, 
�������
 �%$������ ���� d #
�
$�� 7�� � C����

���������$ ������ #
�
$� �
�����%���� O��� ������� (3�3'P3

��� �	�
����
 �

 
������
�

��� � ���%���� A �7 �����
 ������ �%����1 
�C�� ��� 	��� ��
 ��� ��	��
��� 	��� �7 A&

‖A‖ = sup
‖u‖=1

‖A(u)‖, m(A) = inf
‖u‖=1

‖A(u)‖

5��� A �� �������#$�1 m(A) = ‖A−1‖−13 ��� � ������ #
�
$� E1 G� 
�����
#, Ex ��� C#�� �7 E �#��� � %���� x �7 ��� #���3 �7 A �� �� �
�����%����
�7 � ������ #
�
$� E G��� ���%��� #��� K1 ���� 7�� ��, %���� x �7 K1 G�

����� #, Ax ��� ����������� �7 A �� ��� C#�� Ex3 5� ��7�� ��� ���
�� �� M(�N
7�� 
�C�������3

5� ��, ���� � ���
���� �7 7
������� gn(x) : K → R ��	���"�� ����	�	�
��
��
 �� D��� �7 ����� �8���� %������� ��������� C ��
 μ < 1 �
�� ���� 7�� �$$
x ��
 n1

|gn(x)| ≤ Cμn.

K���� �� �
�����%���� A �7 � ������ #
�
$� E G��� ���%��� #��� K

E
A ��

π

��

E

π

��
K

f �� K

��
 � %������� ������
�
� 7
������ r : K → R1 G� 
����� #, Rn(x) ���
%��

��

Rn(x) =
n−1∏
i=0

r[f i(x)] = r(x)r[f(x)]...r[fn−1(x)]

"�#�
�
�� �$�$�$ = %������� ������
�
� 7
������ r : K → R ����	
��� A1
�7 ��� ���
���� �7 ������ x → ‖An

x‖/Rn(x) ��������� �8%�������$$, �� /���
�� n → ∞1 G���� An

x = An|Ex 3

�� ���� ���� G� G���� df|E ≺ r3 �,��������$$,1 G� ��, ���� r �� ����	
���
#,A ��
 G� G���� r ≺ A �7 ��
 ��$, �7 ��� ����� Rn/m(An) ���� �8%�������$$,
�� /��� �� n → ∞3 !����� ���� r ≺ A �� ��
���$��� �� A−1 ≺ 1/r3
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�
$� ���� � ���0
%��� #��� K1 ��
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��0
���%���� A1 G���� ��� Ei ��� ������ �
##
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���� G� ��, ���� �� �� � ����	
��� �������	" �71 7�� ���� ������� 0 < i < d1 ���
����� ‖An

|Ei‖/m(An
|Ei+1) ���
� �8%�������$$, �� /���1 �� n ���� �� ��C���,3

5� ���� G������ ‖An
|Ei‖/m(An

|Ei+1) 7�� ��� 7
������ x �→
‖An

|Ei
x
‖/m(An

|Ei+1
x

)3 �� ���� ����1 G� ��, ���� A|Ei �� ����	
��� #,

A|Ei+11 ��
 G� G���� A|Ei ≺ A|Ei+13 5� ����$$ ���� ��� �
##
�
$�� Ei ���
���������$, ������
�
� O��� M'�1 =%%��
�8 �N 7�� � %���7P3

,��
�2 �$�$�$ ��	�� ��� ��	���� 
	� 
������������ 
�� ��	��	����' 
	�
��� �
�� K �� ����
��' ��� ��%	����	� �� ����	
���	 
	� ����	
��� ������
��	" 
�� �	����	�
	� �� ��� @�	����$ =��� !� !��� �� 
���!�� �� ��
	"� ��
�����
��	� �������$

= ����$�� ‖.‖∗ �� 
�
���� �� ��� 
�������
 �%$������ �7 ��
 ��$, �71 7�� �$$
i < d1 G� ����

‖A|Ei‖∗
m∗(A|Ei+1)

< 1

G���� ‖.‖∗ ��
 m∗ ��� ��� ���� ��
 ��� �����
� ����1 G��� ���%��� �� ���
����$�� ‖.‖∗3 F�
���$���$,1 #, ���%������� �7 ��� #���1 ����� �8���� � ���$
�
�#�� 0 < C < 1 �
�� ����1 7�� ��, x ∈ K1 7�� ��, ���/��� 
��� �������
u ∈ Ei

x1 v ∈ Ei+1
x 1 G� ���� ‖A(u)‖∗ < C‖A(v)‖∗3

��� )+����

�	 �������
%�

4�� M #� � ���%��� ������ ����7�$
 ��
�G�
 G��� � ���������� ������
‖.‖1 $�� f #� � 
�E�����%���� �7 M ��
 $�� K #� �� ��������� ���%��� ���
�� M 3 5� G�$$ ���G ��� 7�$$�G���&

*������ �$�$�$ 2� TKM = E ⊕ F �� 
 ����	
��� �������	" ��� ��� ����
����������� f �	 ��� ����
�� K' ���	 ����� ������ 
 ������ ?���
		�
	
������ �	 M ��
� �� 
�
���� �� ��
� ����	
��� �������	"$

��� %���7 �������� �� #
�$
��� C��� � ���
�
��� 7�� ��� 
�������
 �%$������1
���� ��1 � %������� 7
������ r : K → R �
�� ���� G� ���� df|E ≺ r ≺ df|F 3
���� #, � 
�������
 ������� �7 A�$���" �������1 G� G�$$ #
�$
 �G� �������
‖.‖E ��
 ‖.‖F �� ��� #
�
$�� E ��
 F 1 �
�� ����1 7�� ��, x ∈ K1 7�� ��,

��� ������� u ∈ Ex ��
 v ∈ Fx1 G� ����

‖df(u)‖E < r(x) < ‖df(v)‖F .

����� ������� G�$$ ��

��1 
% �� %���
�#�����1 �� �
�%��
 ���������� ������
�� M 3



����� �� �����
�� �(

0���
 �$�$�$ � �!����	��� ����	
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����( 3 �� ��� 7�$$�G���1 G� C8 � 
�������
 �%$������ TKM = E⊕F 7�� ���

�E�����%���� f 3 ��� ���%$����,1 ��$$ df|E = A ��
 df|F = B3 �, �,%�������1
��� ����� ‖An‖/m(Bn) ���
� �8%�������$$, �� /���3 �� %�����
$��1 7�� N $����
���
��1 ��� 7
������ x �→ ‖AN

x ‖/m(BN
x ) �� ���$$�� ���� 1/23 �����7���1 7��

a > 1 > b �$��� ���
�� �� 11 G� ���� 7�� �$$ x �� K&

a‖AN
x ‖1/N < bm(BN

x )1/N .

A����1 4���� (3(3) ����� 7��� ��� 7�$$�G��� �$���3 �

��

� �$ �	
 ��	��	���� ��	����	 r : K → R ���� ��
� a.‖AN
x ‖1/N ≤

r(x) ≤ b.m(BN
x )1/N ���
�
��� ��� �������	"$

����( 3 ��� ��, ������� n > N 1 ��
 ���� 0 ≤ k ≤ N − 1 G� ��� G���� ���
������� An

x �� ��� ���%�������

Al
fk+mN (x) ◦ AmN

fk(x) ◦ Ak
x

7�� ���� �������� 0 ≤ l ≤ N − 1 ��
 m ≥ 03 ;������$,1 ��>� ��� ������� %���
�7 (n − k)/N 7�� m1 ��
 l = n − nM − k3 ������ #, c ��� 
%%�� #�
�
 �7
��� ����� �7 ��� i0�� 7��G��
 �� #��>G��
 �������� �7 A1 7�� i ≤ N &

c = sup
|i|≤N,y∈K

‖Ai
y‖.

�� �� C����1 �� K �� ���%���3 5� ���� ����

‖An
x‖ ≤ ‖Al

fk+nm(x)
‖
(∏m−1

i=0 ‖AN
fk+iN (x)

‖
)
‖Ak

x‖

‖An
x‖ ≤ c2

∏
j∈Jk

‖AN
fj(x)‖ (1)k

G���� Jk �� ��� ��� �7 �������� {k + iN, i = 0...m − 1}1 ���� �� ��� ��� �7
�������� �7 ��� 7��� k + iN ��
 ���%����
 #��G��� 0 ��
 n−N 3 H#���
�$,1
��� ���� Jk 7�� k = 0, ..., N − 11 ��� %���G��� 
������� ��
 ����� 
���� �� ���
�������$ {0, ..., n − N}3 A����1 ��>��� ��� %��

�� �7 ����
�$����� (1)k1 7��
k = 0, ..., N − 1 G� �#����

‖An
x‖N ≤ c2N

∏
j∈{0,...,n−N}

‖AN
fj(x)‖.

����� ‖AN
fj(x)‖−1 ≤ ‖A−N

fj+N (x)
‖ ≤ c1 G� ���

‖An
x‖N ≤ c2N cN

∏
j∈{0,...,n}

‖AN
fj(x)‖.
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��
�1 �� a‖AN
fj(x)

‖1/N ≤ r[f j(x)]1 G� ��� ����1 7�� ��, x ∈ K1

‖An
x‖ ≤ c3a−nRn(x),

G���� %������ ���� A ≺ r3 !����� ���� 1/b.‖B−N
x ‖ < 1/r(x)1 7�� �$$ x3 ��
�1

G� ���� ��� ���� G�, B−1 ≺ 1/r ��
 ���� r ≺ B3 ���� ��
� ��� %���7 �7
��� �$���1 ��
 ���� �7 4���� (3(3)3 �

5� ��G ���G ��� 7�$$�G��� 4���� OG���� ��� ���
�$$, #� ���� �� �
%�����
$�� ���� �7 4���� (3�3) �����
 #�$�GP&

0���
 �$�$�$ #�� r : K → R �� 
 �������� ��	����	 ��
� ���
�
��� ���
��	��	���� �������	" E ⊕ F ' ��
� �� df|E ≺ r ≺ df|F $ =��	 ����� ������ 

?���
		�
	 ������ ‖.‖∗ �	 M ��
� �� �
�%��
 �� ��� ����	
���	0 	
���
'
��� 
�� x ∈ K' ��� 
�� �	�� ������� u ∈ Ex' v ∈ Fx !� �
��-

‖df(u)‖∗ < r(x) < ‖df(v)‖∗
����( 3 5� 
�C�� �� E � ������ ‖.‖E #,

‖u‖2
E =

∞∑
n=0

‖dfn(u)‖2

[Rn(x)]2

7�� ��, u ∈ Ex1 G���� Rn(x) = r(x)...r[fn−1(x)] �� �#���3 �, 
���������1
���� �� � �
� �7 � �����$$, ���������� ������ �7 ������
�
� 7
�������9 �����7���
‖.‖E �� G�$$0
�C��
 ��
 ������
�
�3 =� � �
� �7 �
�
����� 7����1 ‖.‖2

E ��
� �
�
����� 7���1 ��
� ‖.‖E �� � A�$#������ ������ O�� ������ 7��� �� �����
%��

��P3 ��������1 G� ����&

‖df(u)‖2
E =

∞∑
n=0

‖dfn+1(u)‖2

[Rn(x)]2
=

∞∑
n=1

‖dfn(u)‖2

[Rn−1(x)]2
= r(x)2

∞∑
n=1

‖dfn(u)‖2

[Rn(x)]2

����� Rn−1(x) = Rn(x)/r(x)3 5� �#�����
 ‖df(u)‖2
E = r(x)2[‖u‖2

E − ‖u‖2]
G���� ‖u‖2 �� ��� C��� ���� �7 ��� ������ 
�C���� ‖u‖2

E 3 A����1 7�� ��,
���/��� u1 ‖df(u)‖E < r(x)‖u‖E 3 �% �� ������ f ���� f−1 ��
 r ���� 1/r1
G� C�
 ��� ���� G�, � A�$#������ ������ ‖.‖F �� F �
�� ����1 7�� �$$ ���/���
v �� F 1 r(x)‖v‖F < ‖df(v)‖F 3  ����
�� ��G ��� A�$#������ ������ ‖.‖∗ ��
TKM ���� �8���
� ‖.‖E ��
 ‖.‖F ��
 ���� ��>�� E ��
 F ���������$3 ��
�� ������
�
�1 ����� ‖.‖E ��
 ‖.‖F ���3

��� ����
�$��, ‖df(u)‖∗ < r(x) < ‖df(v)‖∗ ��$
� 7�� �$$ 
��� �������
u ∈ E1 v ∈ F �#��� ���� %���� x �7 ��� #��� K3 5� �8���
 ��� ������
‖.‖∗ �� ��� G��$� M 1 ��
 ������ �� ���� � ���������� ������ #, � ���$$
%���
�#�����1 �� ����1 #, ���%������� �7 K1 ��� ����
�$��, �� %�������
3 �

���� �������� G��� ��� �8������� �7 � ��%������ O4���� (3(3)P ��
� ���
%���7 �7 ������� (3(3'3
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*������ �$�$�$ #�� E �� 
 %	��� ����	���	
� E
	
�� ��	��� �	 
 ����
��
�
��' 
	� ��� A �� 
	 
����������� �� E$ 2� E = E1⊕...⊕Ed �� 
 ����	
���
�������	" ��� A' ���	 ����� �� 
 @�	���� ‖.‖∗ �	 E 
�
���� �� ��� ����	
���	'
��
� ��' ��� �
�� i = 1...d − 1' ��� 
	
 x ∈ K' !� �
��

‖A|Ei
x
‖∗ < m∗(A|Ei+1

x
).

@����������' �� ��� ���"�	
� ������ �	 E �� 3�������
	' ���	 ��� 
�
����
������ �
	 �� �����	 �� �� 
��� 3�������
	$

4�� F #� � ������ #
�
$� G��� ���%��� #��� K1 ��
 B #� �� �
�����0
%����

F
B ��

π

��

F

π

��
K

f �� K

.

���� G� ���� ���� 
�������
 ������� �7 A�$���" ������� O��� M(�1 %���
'�NP&

0���
 �$�$�$ #�� r, s : K → R �� �!� �������� ��	��	���� ��	����	� ����
��
� ��� ����	
���	 r ≺ B ≺ s 
	� ��� �	���
���
 r < s ���� �	 K$ =��	
����� �� 
 @�	���� ‖.‖∗ �	 F ��
� �� 
�
���� �� ��� ����	
���	' 	
���
' ���

	
 x ∈ K' ��� 
	
 u ∈ Fx \ {0}' !� �
��

r(x)‖u‖∗ < ‖B(u)‖∗ < s(x)‖u‖∗

����( 3 ��� �$$ u �� F 1 G� 
�C��

‖u‖2
∗ =

∞∑
n=1

R2
n[f−n(x)]‖B−n(u)‖2 +

∞∑
n=0

‖Bn(u)‖2

[Sn(x)]2

G���� ‖.‖ �� ��� �������$ ������ �� F 1 ��
 G���� Rn[f−n(y)] =
r(f−n(y))...r(f−1(y))1 Sn(y) = s(y)s(f(y))...s(fn−1(y)) �� #�7���3 ���$$ #,

���������1 ��� ������ �����$$, ��������� �� � ������
�
� 7
������3 ��
�
‖.‖∗ �� � G�$$0
�C��
 ����$��3 5� ����

‖B(u)‖2
∗ =

∞∑
n=1

R2
n[f−n+1(x)]‖B−n+1(u)‖2 +

∞∑
n=0

‖Bn+1(u)‖2

[Sn(f(x))]2

=
∞∑

n=0

R2
n+1[f

−n(x)]‖B−n(u)‖2 +
∞∑

n=1

‖Bn(u)‖2

[Sn−1(f(x))]2



�+ ������� ��	
����


��� G� ���� Rn+1[f−n(x)] = Rn[f−n(x)].r(x) ��
 Sn−1[f(x)] = Sn(x)/s(x)1
G� ���

‖B(u)‖2
∗ = [r(x)]2

∞∑
n=0

R2
n[f−n(x)]‖B−n(u)‖2 + [s(x)]2

∞∑
n=1

‖Bn(u)‖2

[Sn(x)]2

H� ��� ����� ���
1 G� ���� R0(x)‖B−0(v)‖ = ‖v‖ = ‖B0(v)‖/S0(x) �����
R0 ��
 S0 ��� ��%�, %��

��� ��
�$ �� 13 ��1 �� ��� �8%������� �7 ‖u‖2∗1 G�
��� ��>� ��� C��� ���� �7 ��� �����
 �
� �� ��� C��� �
�&

‖u‖2
∗ =

∞∑
n=0

R2
n[f−n(x)]‖B−n(u)‖2 +

∞∑
n=1

‖Bn(u)‖2

[Sn(x)]2

����$$,1 ����� r < s1 G� �#����1 7�� ��, ���/��� ������ u1 ��� ����
�$��,

[r(x)]2‖u‖2
∗ < ‖B(u)‖2

∗ < [s(x)]2‖u‖2
∗

��� ��
��� ���� �7 G���� ����$

�� ��� %���73 �

,��
�2 �$�$�$ 3
��	" �����	 ���� ��
��
��� ��	��������	' �� ‖.‖ �� 
 3������
��
	 ������' ���	 ‖.‖∗ �� ����� 
 3�������
	 ������$
����( �( *������ �$�$� 3 �, 
�C������1 ��� ������ ‖An

|Ei‖/m(An
|Ei+1)

�������� �8%�������$$, �� /���1 7�� ���� i1 �� n ���� �� ��C���,3 ��
� G� ���
C�
 �� ������� N �
�� ���� 7�� ���� i1 ��� ����� ‖AN

|Ei‖/m(AN
|Ei+1) �� ���$$��

���� 1/43 ��� %���7 �7 4���� (3(3) ���$$ G��>� G��� TM|K = E ⊕ F ��
��%$���
 #, ��� ������ #
�
$� Ei ⊕Ei+11 ��
 G��� df|K �� ��%$���
 #, ���
�
�����%���� A|Ei⊕Ei+1 3

 ����� ���� � 7���$, (ri)0<i<d �7 ������
�
� 7
������� �
�� ����
21/N‖AN

|Ei‖1/N < ri < 2−1/Nm(AN
|Ei+1)1/N 3 5� ���� ���� r1(x) < ... <

rd−1(x)1 7�� �$$ x ∈ K9 7
���������1 #,  $��� '1 G� ����

E1 ≺ r1 ≺ E2 ≺ ... ≺ rd−1 ≺ Ed.

�� ��
�� �� ���� �G�0��
�
 
���������� 7�� ��� �8�����$ #
�
$��1 G� ��,
�

 �G� 7
������� r0 ≺ E1 ��
 Ed ≺ rd1 G��� 0 < r0 < r1 ��
 rd−1 < rd3
5� ��G �%%$, 4���� (3�3) �� C�
 � ����$�� ‖.‖i �� ���� Ei ���� �� �
�%��

�� ��� 
��������� ri ≺ Ei+1 ≺ ri+13 ��C�� ��� ��G ������

‖u‖∗ =
√ ∑

i=1..d

‖pi(u)‖2
i ,

7�� �$$ u ∈ E1 G���� pi �� ��� %��������� �� Ei �$��� E1⊕...⊕Ei−1⊕Ei+1...⊕
Ed3 �� �� � ����$�� ���� �� �$���$, �
�%��
 �� ��� 
�������
 �%$������& 7�� ��,

��� ������� u ∈ Ei

x1 v ∈ Ei+1
x G� ���� ‖u‖∗ = ‖u‖i < ri(x) < ‖v‖i+1 = ‖v‖∗3

�



����� �� �����
�� �D

,��
�2 �$�$�$ 5�������
 �
 ��� �������� ���
�A' �� ��� ���"�	
� ������ ‖.‖
!
� 
 3�������
	 ������' ���	 ��� ������� ‖.‖i 
�� ��' 
	� ��� ������ ‖.‖∗ !�
����� �� ����� 
 3�������
	 ������$

=7��� ��������� ��� �
�%��
 A�$#������ ������1 G� �#���� ��� 7�$$�G���1
G���� �� � ��7���
$����� �7 ������� &

������
�! �$�$�$ #�� M �� 
 ?���
		�
	 �
	�����' K 
 ����
�� �	�
��
	�
��� ��� 
 ������������� f ' 
	� TKM = E1 ⊕ ...⊕Ed 
 ����	
��� �������	"
��� f 
���� K$ =��	 ����� ������ 
 ������ ?���
		�
	 ������ �	 M ��
� ��

�
���� �� ��$

��� �8������� �7 �� �
�%��
 ������ G�� ���G� 7�� 
�������� ��
 ���
���
����������$$, �,%��#�$�� �,����� O��� M(�N 7�� %���7� ��
 
�C�������P3
��� #���� �7 �$$ ������ #
�
$�� ��� ���$$ ���%���3 = 
�������
 �%$������
E = E1 ⊕ ... ⊕Ed 7�� �� �
�����%���� A �� �
���
��
 �
�������� �7 ��
 ��$,
�71 7�� ���� 1 ≤ k < k + 1 < l ≤ d1 ��� #
�
$�� Es = E1 ⊕ ... ⊕ Ek ��

Eu = El ⊕ ... ⊕ Ed ��� ���%������$, ���#$� ��
 
����#$�1 ���� �� ‖An

|Es‖ ��

‖A−n

|Eu‖ �������� �8%�������$$, �� /��� �� n ���� �� ��C���,3 5� ��, ���� �
������ ‖.‖∗ �� 
�
���� �� �
�� %�����$$, �,%��#�$�� �%$������1 �7 �� �� �
�%��

�� ��� 
�������
 �%$������1 ��
 �7 ‖A|Es‖ < 1 ��
 m(A|Eu) > 13

*������ �$�$�$ � �
���
��
 �
�������� �������	" �
� 
	 
�
���� ������$

����( 3 5� ���G �� �� ��� �����0#
�
$� ���� O�� �� ��� ���� �
�� 7�� ���
������$ ����P3  ����
�� � %�����$$, �,%��#�$�� �%$������ E = Es ⊕ Ec ⊕ Eu

G��� ���%��� #��� 7�� �� �
�����%���� A3 ���� ‖An
|Es‖ ��
 ‖A−n

|Eu‖ ���

�8%�������$$, �� /��� �� n ���� �� ��C���,3 ���� ��� ������
����� G� ����
�� ��� %���7 �7 4���� (3(3)1 G� ��� C�
 �G� 7
������� 0 < r < 1 < s �
��
����

A|Es ≺ r ≺ A|Ec ≺ s ≺ A|Eu.

5��� ���%��� �� ���� 
���������1 ��� ������ ‖.‖∗ %��

��
 �� ��� %���7 �7
������� (3�3' �� �
�%��
 �� ��� 
�������
 �%$������ ��
 �����C�� ‖A|Es‖ <
1 < m(A|Eu). A����1 �� �� �
�%��
 �� ��� %�����$$, �,%��#�$�� �%$������3 �

��� ����
��	
 �������
%� $�� -�+�

�� ���� �������1 G� #���I, ���G ���� ��� ���� ���
$�� �%%$, 7�� I�G�3 �� ���
7�$$�G���1 φ �� � I�G �� � ���%��� �
#��� K �7 � ���������� ����7�$
 M 3
= ����$�� ‖.‖∗ �� M �� 
�
���� �� � 
�������
 �%$������ TKM = E1⊕...⊕Ed

7�� φ1 �7 ��
 ��$, �71 7�� ��, %���� x ∈ K1 7�� �$$ 
��� ������� v,w �� ��, %���
Ei

x, Ei+1
x 1 G� ����

∀t > 0, ‖dφt(v)‖∗ < ‖dφt(w)‖∗,



�� ������� ��	
����


G���� dφt �� ��� 
��������� �7 ��� ����0t ��% �7 φ3 ��� �8������� �7 �
�%��

������� 7�� I�G� �� ��� � ��������7��G��
 ������
���� �7 �
� ���
$�� �� 
�70
7�����%�����3 =� #���1 �%%$,��� ��� 7����� ���
$�� G�
$
 %����
�1 7�� ����
ε > 01 � ������ ‖.‖∗ �
�� ���� ��� ����
�$��, �#��� ��$
� 7�� �$$ t > ε3 �� ���
�
�%��
 �������1 G� ���� �� �����%��� ��� ������ �7 ��%������ �� ��� I�G
����3

4�� E #� � �
##
�
$� �7 TKM 1 ��������� #, φ3 ��8 �G� ������$, %�������1
������
�
� 7
������� r, s : K → R3 ����1 7�� ��, x ∈ K1 7�� �$$ t ∈ R1 
�C��

Rt(x) = exp
(∫ t

0
ln[r(φu(x))].du

)
,

St(x) = exp
(∫ t

0
ln[s(φu(x))].du

)
.

��� ��, C8�
 x1 ��� 7
������� t �→ Rt(x) ��
 t �→ St(x) ��� C11 ��
 7�� �$$
���$ �
�#��� t, k1

Rt+k(x) = Rt(x).Rk[φt(x)], O(3'P

St+k(x) = Rt(x).Sk[φt(x)]. O(3)P

=��
�� ���� r < s1 ��
 ���� G� ���� ��� 
��������� ��$����� r ≺ dEφ ≺ s1
���� ��1 7�� �$$ x ∈ K1 7�� ��, ������ v ∈ Ex1 ��� �
�������� ‖dφt(v)‖/St(x)
��
 ‖dφt(v)‖/Rt(x) �� �8%�������$$, �� /���1 ���%������$,1 �� t ���� �� +∞1
��
 �� t ���� �� −∞3 ����1 
�C�� ��� ����$�� ‖.‖∗ �� E #,

‖v‖2
∗ =

∫ 0

−∞

‖dφt(v)‖2

Rt(x)2
.dt +

∫ ∞

0

‖dφt(v)‖2

St(x)2
.dt

7�� ��, x ∈ K1 7�� �$$ v ∈ Ex3

��

� �$ @�� 
	
 	�	D��� ������ v ∈ E 
���� 
	
 ���	� x ∈ K' ��� ������
‖.‖∗ �
���%��

∀k > 0, Rk(x).‖v‖∗ < ‖dφk(v)‖∗ < Sk(x).‖v‖∗.

���� ��1 ��� ������ ‖.‖∗ �� 
�
���� �� ��� 
��������� r ≺ dEφ ≺ s3

,��
�2 �$�$�$ =��� �� �����
 #���
 8$;$C ��� <�!�$

����( 3 =7��� � ������ �7 �����#$�1 G� ���&

‖dφk(v)‖2
∗ =

∫ k

−∞

‖dφt(v)‖2

R2
t−k ◦ φk(x)

.dt +
∫ +∞

k

‖dφt(v)‖2

S2
t−k ◦ φk(x)

.dt

= R2
k(x).

∫ k

−∞

‖dφt(v)‖2

R2
t (x)

.dt + S2
k(x).

∫ +∞

k

‖dφt(v)‖2

S2
t (x)

.dt,



����� �� �����
�� �B

#, 7���
$�� O(3'P ��
 O(3)P3 4�� θ(k) #� ��� �
������ S2
k(x)/R2

k(x)1 ��


�C�� ��� 7
������&

f : k �→ ‖dφk(v)‖2∗
R2

k(x)
=

∫ k

−∞

‖dφt(v)‖2

R2
t (x)

.dt + θ(k).
∫ +∞

k

‖dφt(v)‖2

S2
t (x)

.dt,

����� θ(k) = exp
(
2.

∫ k
0 ln s

r [φ
u(x)].du

)
1 ��
 s < r1 ��� 
��������� θ′ �� ������$,

%�������3 ��� 7
������ f �� �#���
�$, C11 ��
 ��� 
���������1 �7��� ����
��$�
$�����1 ��

f ′(k) = θ′(k).
∫ +∞

k

‖dφt(v)‖2

S2
t (x)

.dt.

A���� f ′ �� ������$, %�������1 ��
 f �� ������$, ����������3 ��� G� ���� f(0) =
‖v‖2∗/R2

0(x) = ‖v‖2∗1 ��� ����
�$��, f(k) > f(0) $��
� �� Rk(x)2.‖v‖2∗ <
‖dφk(v)‖2∗1 7�� �$$ k > 03 ��� ����
�$��, ‖dφk(v)‖2∗ < S2

k(x).‖v‖2∗ ����� ���
���� G�,1 �����
����� ���� ���� ��� 7
������ g :

(
k �→ ‖dφk(v)‖2∗/S2

k(x)
)
3

���� ����$

�� ��� %���7 �7 ��� �$���3 �

H� ��� ����� ���
1 ��, 
�������
 �%$������ 7�� � I�G ��� � ��%������3
4�� TKM = E ⊕ F #� � 
�������
 �%$������3 ��� ���%$����,1 Φ G�$$ 
�����
��� ����������� �7 dφ �� ��� #
�
$� E3 ��� ��������1 G� G�$$ G���� ‖Φt

x‖ 7��
��� ��8��
� ���� �7 ��� ����������� �7 dφ �� Ex3 ;������$,1 G� ������ ���
7�$$�G���&

��

� �$ =�� ��	����	 r =
(
x �→ a.‖ΦT

x ‖1/T
)
�� 
 ���
�
��� E ≺ r ≺ F ' ���

���� a > 1' 
	� ���� T �
�"� �	��"�$

,��
�2 �$�$�$ =��� �� #���
 8$8$C ��� <�!�0 ��� ����� �� ����
�
��� ����
�
 ���� �� ��
� �� :�
�� 7$

����( 3 ��8 � ���$ t > T 3 4�� m #� ��� $������ ������� �
�� ���� T +mT ≤ t3
��� ��, ���$ 0 ≤ κ ≤ T 1 G� 
����%��� Φt �� �#����1 7�� �$$ x ∈ K1

‖Φt
x‖ ≤ ‖Φλ

φκ+mT (x)‖.‖ΦT
φκ+(m−1)T (x)

‖...‖ΦT
φκ+T (x)‖.‖ΦT

φκ(x)‖.‖Φκ
x‖,

G���� λ > 0 �����C�� t = κ + mT + λ3 ������ #, c ��� 
%%�� #�
�

c = sup|τ |≤2T,y∈K ‖Φτ

y‖1 ��
 ��>� ��� $�������� �7 ��� ����
�$��,&

ln ‖Φt
x‖ ≤ 2 ln(c) + ln ‖ΦT

φκ+(m−1)T (x)
‖ + ... + ln ‖ΦT

φκ(x)‖.
���� ����
� 7�� �$$ 0 ≤ κ ≤ T 3 �����7��� G� ����&∫ T

0
ln ‖Φt

x‖.dκ ≤
∫ T

0
2. ln(c).dκ +

∫ T

0
ln ‖ΦT

φκ+(m−1)T (x)
‖.dκ + ... +

∫ T

0
ln ‖ΦT

φκ(x)‖.dκ

T. ln ‖Φt
x‖ ≤ 2T. ln(c) +

∫ mT

0
ln ‖ΦT

φu(x)‖.du

T. ln ‖Φt
x‖ ≤ 4T. ln(c) +

∫ t

0
ln ‖ΦT

φu(x)‖.du,



+* ������� ��	
����


����� 0 ≤ t − mT ≤ 2T 1 ��
 − ln ‖ΦT
y ‖ ≤ ln ‖Φ−T

y ‖ ≤ ln(c)3 ����1 
���
���
#, T 1 G� �#����

ln ‖Φt
x‖ ≤ ln(c4) +

∫ t

0
ln[a−1.r(φu(x))].du.

5������ ��� �8%�������$ 7���1 G� ��� ‖Φt
x‖ ≤ c4a−tRt(x)3 5���� ����� ����

Φ = dEφ ≺ r3 5� ��� $�7� �� ����> ���� r ≺ dF φ 7�� ���� T > 0 #�� ���
��1
��
 ���� a > 13 ���� �� 
��� ��� ���� G�, �� �� 4���� (3(3)3 �

 $���$,1 ��7������ ��� ���
�� �� ��� %���7 �7 ������� (3�3'1 I�G ��������
�7 4����� (3(3) ��
 (3�3) ��� �$$ ��� �����
����� G� ���
1 �� �����%��� ���
���
$�� �7 ������� (3� �� I�G�&

*������ �$�$�$ � ����	
��� *����$ �
���
��
 �
��������+ �������	" ��� 
 <�!
�	 
 ����
�� ������ �� 
 ?���
		�
	 �
	����� 
����� 
	 
�
���� ������$

�	2�������������3 � G�
$
 $�>� �� ����>  �������� ������� ��
 �,$����
 �������� 7�� �����
 ���
��� ��
 �����������3 �%����$ ����>� �� ��� ��7����
7�� ��� ����� ��$% �� G������3



������� �

�������� �����������

4�� �	�
$���� 	����	� 
��� �� ���%���� ��� 	�	 �#���
� �� ��$$�#������� ����
 �������� ������� �� ��	�-�� ?�����3 !�
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� F ≺L G$

"�#�
�
�� �$�$�$ = #�
�
�
 $����� ���,�$� A 
����� 
 ����	
��� �������	"
O�� ����	
��� ������������	P �7 ����� �8��� �G� ���������� ��������� �
##
�0

$�� F,G �
�� ���� E = F ⊕ G ��
 F ≺ G3

���� ������$$,1 7�� ��, F1, ..., Fk ��������� �
##
�
$�� �
�� ���� E =
F1 ⊕ · · · ⊕ Fk1 ��� 
����%������� �� ���
 ����	
��� �71 7�� ��, i ∈ {1, ..., k −
1}, Fi ≺ Fi+1& ��
��
1 M'(N %����� ����1 
�
�� ����� ���
�%�����1 ��� 
����0

%������� E =
(⊕i

1 Fj

)
⊕

(⊕k
i+1 Fj

)
�� 
�������
 7�� ��, i ∈ {1, ..., k − 1}3

5� ���$$ �$�� 
�� ��� 7�$$�G��� 4���� OM'(1 4���� �3�NP

0���
 �$�$�$ #�� A = (Σ, f, E,A) �� 
 ���	��� ��	�
� ���
��� 
	� 
�����
��
� E 
����� 
	 �	�
��
	� ������������	 E = F ⊕ G ⊕ H$ :�	����� ���



++ ������� ��	
����


������	� ���
��� A/G$ =�� ���������	 �	 E/G �� ��� �����	���� F 
	� H
�	����� 
	 �	�
��
	� ������������	 ��	���� �
 E/G = F/G ⊕ H/G$

������ ��
� !� �
�� ��� ����	
���	� F/G ≺ H/G 
	� G ≺ H' ���	 !�
�
�� (F ⊕ G) ≺ H$ �
�������
��
' !� "��-

(F ≺ G 
	� F/G ≺ H/G) =⇒ F ≺ (G ⊕ H).

#���� ��	
��
� ��������

5� ���$$ �����
�� $����� ���,�$�� ���� � �,���� (Σ, f) �����7,��� ��� 7�$$�G���
����� %��%������&

&��' Σ �� ��C����1

&��' ��, %���� x ∈ Σ �� %����
��1 ��
 G� ���$$ 
����� ��� %����
 #, p(x)1

&��' 7�� ��, ������� k > 01 ��� ��� �7 %����� x ∈ Σ �
�� ���� p(x) ≤ k ��
C����3

= �,���� ����7,��� (P2) �� � �������� �
����3 = �,���� (Σ, f) ����7,���
O;'P1 O;)P ��
 O;(P �� � �
�"� ������� �
����3 �� %�����
$��1 7�� ��, $����
%����
� �,���� (Σ, f) ��� ��� Σ �� ��
���#$�1 ��
 
% �� �� ��
�8����� �7 ���
��#���1 Σ ��� #� �����
�
 �� � ���
���� �7 %����
�� ��#��� G���� %����
� ���

�� ��C���,3 ��� ����������� �7 (Σ, f) �� ��, ��C���� ��������� �
#��� �7 Σ ��
������� $���� %����
� �,����3

4�� (Σ, f) #� � %����
�� �,����3 ��� ��, $����� ���,�$� A = (Σ, f, E,A)
��
 ��, x ∈ Σ G� 
�C��&

Mx,A = Ap(x)
x : Ex → Ex.

5� ���$$ 
�� ��� �#��
��
 �������� Mx G��� ����� �� �� ��#��
��, �� ���
�����
���
 ���,�$�3

"�#�
�
�� �$�$;$ 4�� A = (Σ, f, E,A) #� � $����� #�
�
�
 ���,�$� ���� ��
��C���� %����
�� �,����3

'3 5� ���$$ ��, ���� ��� ���,�$� A �� �������
 !������ ����	
��� ��������
�����	 O�� ��
���$���$, �������
 !������ ����	
���	P �7 ��� ��$, ������0
��� �
#���� Σ′1 �� ����������� �� G���� ��� ���,�$� �
���� � 
�������

�%$������1 ��� C����3

)3 =� ��������� �%$������ E = F ⊕G ���$$ #� ���
 �������
 	�� ����	
��� �7
��� ��$, ��������� �
#���� Σ′ �� ����������� �� G���� ��� �%$������ F ⊕G
�� 
�������
 ��� C����3

,��
�2 �$�$7$ 2� A �� �������
 !������ ����	
���	 
	� �� Σ′ ⊂ Σ �� 
	
�	%	��� f ��	�
��
	� ������' ���	 ��� ����������	 A|Σ′ �� 
��� �������
 !������
����	
���	$



����� �� �����
�� +D

0���
 �$�$�$ #�� A = (Σ, f, E,A) �� 
 ��	�
� ���	��� ���
��� ���� 
	
�	%	��� �������� �
����$

7$ #�� E = F ⊕ G �� 
	 �	�
��
	� �������	"' ���	-

• ������ ����� ������ 
	 �	%	��� �	�
��
	� ������ Σ′ ⊂ Σ ���� ��
�
��� �������	" �� �������
 	�� ����	
��� �	 ����������	 �� Σ′;

• �� ����� ������ 
 %	��� �	�
��
	� ������ Σ0 ⊂ Σ ���� ��
� ���
�������	" �� ����	
��� �	 ����������	 �� Σ \ Σ0$

C$ 2	 
	
 �
��' A ����%�� �	� �� ��� �����!�	" ����������-

• ������ ����� ������ 
	 �	%	��� �	�
��
	� ������ Σ′ ⊂ Σ ���� ��
� ���
���
��� �� �������
 !������ ����	
��� ������������	 �	 ����������	
�� Σ′;

• �� ����� ������ 
 �
������	 Σ = Σ0 ∪Σ1 · · · ∪Σk' !��� k < d' ����
��
�' ��� 
	
 i ∈ {0, ..., k} ��� ������� Σi 
�� f ��	�
��
	�' Σ0 ��

 %	��� ��� 
	� ��� ���
��� 
����� 
 ����	
��� ������������	 �	
����������	 �� �
�� Σi, i ≥ 1$

����(3

'3 4�� E = F ⊕ G #� �� ��������� �%$������3 ��� ��, ������� L ≥ 11 $��

� �����
�� ��� ��� ΣL �7 %����� x ∈ Σ �
�� ���� ��� ����������� �7 ���
���,�$� ���� ��� ��#�� �7 x ����C�� F ≺L G3 �7 ����� �8���� �� ������� L
�
�� ���� ��� Σ\ΣL �� C����1 ���� ��� �����
 ��������� ��$
�3 =��
��
���� 7�� ��, ������� L1 Σ \ΣL �� �� ��C���� ���1 ���� G� ��� ������
��
�� ��C���� ���
���� �7 %����� xn G��� 
�������� ��#��� �
�� ����1 7��
��, n1 xn #�$���� �� Σ −Σn3 ��� 
���� Σ′ �7 ��� ��#��� �7 ��� %�����
xn �����C�� ��� C��� ���������3

)3 =��
�� A �
���� �� 
�������
 �%$������ ��
 �����
��1 7�� ��, %���
�7 �������� (L ≥ 0, i ∈ {1, ..., d − 1})1 ��� ��� Σ(L,i) �7 %����� �
��
���� ��� ����������� �7 ��� ���,�$� ���� ��� ��#�� �7 x �
���� � �%$������
E = F ⊕ G ����7,��� F ≺L G ��
 dim(F ) = i3 �7 ����� �8���� ��
������� L �
�� ���� ��� ��� Σ \ ⋃d−1

i=1 Σ(L,i) �� C����1 ���� ��� �����


��������� ��$
�3 =��
�� ���� 7�� ��, ������� L1 Σ \ ⋃d−1
i=1 Σ(L,i) �� ��

��C���� ���1 ���� G� ��� ������
�� �� ��C���� ���
���� �7 %����� xn

G��� 
������� ��#��� �
�� ����1 7�� ��, n1 xn #�$���� �� Σ − ⋃
i Σ(n,i)3

��� 
���� Σ′ �7 ��� ��#��� �7 ��� %����� xn �����C�� ��� C��� ���������3

�



+� ������� ��	
����


#���# ��	��	���
���

"�#�
�
�� �$�$�<$

'3 4�� A = (Σ, f, E,A) #� � #�
�
�
 $����� ���,�$�3 ��� ��, ����� ε1 ��,
#�
�
�
 $����� ���,�$� B = (Σ, f, E,B) �
�� ���� ‖Ax − Bx‖ ≤ ε ��

‖A−1

x − B−1
x ‖ ≤ ε 7�� ��, x ∈ Σ �� �� ε��������
���	 �� A3

)3 4�� A = (Σ, f, E,A) #� � #�
�
�
 $����� ���,�$� ���� �� ��C���� %���0
�
�� �,����3 = $����� ���,�$� B = (Σ, f, E,B) �� � �������
���	 �� A
�71 7�� ��, ε > 01 ��� ��� {x ∈ Σ, ‖Ax − Bx‖ ≥ ε} �� C����3

,��
�2 �$�$��$

7$ �	
 ��	�
� ���
��� A ���� 
 %	��� *��	�� ��������+ �
���� (Σ, f) 
�����

 ����	
��� ������������	 �� 
	� �	�
 �� ����� ����� 
	 �	��"�� i ∈
{1, .., d − 1} 
	�' ��� 
	
 ���	� x ∈ Σ �!� ��
��� Fx 
	� Gx �	�
��
	�
�
 Mx !��� ����	���	 i' *�����������
 d − i'+ ���� ��
� ��� �������
�� 
	
 ��"�	�
��� �� ��� ����������	 Mx|Fx

�� �������
 ��
���� ��
	 ���
������� �� 
	
 ��"�	�
��� �� Mx|Gx

$

C$ �� 
 ��	�����	��' 
	
 ��	�
� ���
��� ���� 
 %	��� �
���� (Σ, f) !���
����	���	 "��
��� ��
	 3 
����� 
�����
���
 ��
�� �������
���	� ����
��
� ����� ������ 
 ������������	 �� ��� ��� Σ = Σ1 ∪ Σ2 �����
�	" ���
�!� �����!�	" 
�������	�- ��� ����������	 �� ��� ��	�
� ���
��� �� Σ1


����� 
 ����	
��� �������	" E = F1 ⊕ G1 !���� dim(F1) = 1' 
	�
��� ����������	 �� ��� ��	�
� ���
��� �� Σ2 
����� 
 ����	
��� �������	"
E = F2 ⊕ G2 !���� dim(F2) = 2$

���� ����� �����>� �8%$��� G�, G� ���$$ ���$��� C���� ��������� �
#����
�7 ��� �,���� �� �
� 7
����� ��

,3

,��
�2 �$�$��$ #�� (Σ, f) �� 
	 �	%	��� �������� �
����' 
	� A,B 
	� C
�� ����� ���	��� ��	�
� ���
���� �� ����	���	 d ���� (Σ, f)$ =��	 -

• �� B �� 
 �������
���	 �� A' ���	 A �� 
 �������
���	 �� B0
• �� B �� 
 �������
���	 �� A 
	� �� C �� 
 �������
���	 �� B' ���	 C �� 

�������
���	 �� A0

2	 ����� !����' ��� �� 
 �������
���	 ��� ��%	�� 
	 �����
��	�� ���
���	 �	
��� ��� �� ���	��� ���
���� ���� (Σ, f)$

,��
�2 �$�$��$ #�� A = (Σ, f, E,A) �� 
 ���	��� ��	�
� ���
��� ���� 
	
�	%	��� �������� �
���� 
	� ��� B �� 
 �������
���	 �� A$ =��	 ����� �� 

��
�
� ��	����	 α : Σ → R !��� ��� �����!�	" �������
-

• =���� �� 
 %	��� ������ Σ0 ⊂ Σ ���� ��
�' ��� 
�� x ∈ Σ \ Σ0 ���
�������	
	� �� ��� �
���� α(x).Bx �� ���
� �� ��� �������	
	� �� Ax0



����� �� �����
�� +B

• α(x) ��	���"�� �� 1 !��	 x → ∞' ��
� ��' ��� 
�� ε > 0 ��� ��� {x ∈
Σ | |α(x) − 1| > ε} �� %	���$

2	 �
������
�' ��� ���
��� C ��%	�� �
 Cx = α(x)Bx �� 
 �������
���	 �� ���
���
��� A$

K���� � #�
�
�
 $����� ���,�$� �
������� � 
�������
 �%$������1 M'(N
%����� ���� ��, ���$$ ���
�� %���
�#����� �7 ��� ���,�$� �
���� � 
���0
����
 �%$������ OG��� ���� 
�������� �7 ��� �
##
�
$��P3 ���� %������$,1
M'(N %����� ����&

0���
 �$�$��$ >���	 
	
 ����	���	 d' 
	
 �������� ��	��
	� K 
	�

	
 �	��"�� � > 0' ����� �� 
	 ε > 0 ���� ��
�' ��� 
	
 ��	�
� ���
���
A = (Σ, f, E,A) ���	��� �
 K' �� ����	���	 d' 
������	" 
	 ������	
���
�������	" F ≺� G' �	� �
� ��
�-


	
 ε��������
���	 B �� A 
����� 
 ����	
��� �������	" F ′ ≺ G′ !���
dim(F ′) = dim(F )$

������
�! �$�$��$ #�� A = (Σ, f, E,A) �� 
 ���	��� ��	�
� ���
��� ���� 
	
�	%	��� �������� �
����$ ������ A �� �������
 !������ ����	
��� �������	"$
=��	 
	
 �������
���	 �� A �� �������
 !������ ����	
��� �������	"$

����(3 5� ���
� #, ������
������& ���
�� ���� ����� �8���� � %���
�#�����
B �7A G���� ����������� �� �� ��C���� ��������� �
#��� Σ′ �
���� � 
�������

�%$������ E = F ⊕G3 ����� A �� #�
�
�
1 ��� $����� ���,�$� B �� #�
�
�
 #,
���� %������� �������� K3 ��8 � > 0 �
�� ���� F ≺� G3 �, 4���� �3)3'�1
����� �8���� �� ε > 0 �
�� ���� ��, ε0%���
�#����� �7 B �
���� � 
�������

�%$������3 �, 
�C������ �7 � %���
�#�����1 ����� �8���� � C���� ���������
�
#��� Σ0 �
�� ���� ��� ����������� �7 ��� $����� ���,�$� A �� ��� ��C���� ���
Σ′ \ Σ0 �� �� ε0%���
�#����� �7 B1 ����� �
���� � 
�������
 �%$������3 ����
������
���� ��� ���
�%���� ���� A �� ������$, G����
� 
�������
 �%$������3
�

#���) 0�������� �� ��� 	������ ��	 �
���	 ��������

*������ �$�$��$ �	
 ���	��� ��	�
� ���
��� A ���� 
 �
�"� ������� �
����

����� 
 �������
���	 B ���� ��
� ��� 
	
 ���	� x ∈ Σ' 
�� ��"�	�
���� ��
Mx,B 
�� ��
�' !��� �����������
 1 
	� ������	� ������$

=	���
�� �$�$�;$ @�� 
	
 x ∈ Σ' Λ(x,A) ��	���� ��� d����� (σ1, . . . , σd) ��
��� #

��	�� ����	�	�� �� x' ��	������� !��� �����������
 
	� �	 �	���
��	"
�����$ =�
� ��' �
�� σi �� �� ��� ����

σi =
log(|λi|)

p(x)
,

!���� λi �� 
	 ��"�	�
��� �� ��� �
���� Mx,A$



D* ������� ��	
����


=�� ����� �� =������ ;$C$79 !��� ���! ��
�' �	 ��� ��
����	� �� =����
��� ;$C$79' !� �
	 ������� ��
� Λ(x,B) − Λ(x,A) ∈ Rd ��	���"�� �� 0 ∈ Rd

!��	 p(x) "��� �� �	%	��
$

��� ���� ���
$� �� ���� ������� �� ��� 7�$$�G���&

*������ �$�$�7$ #�� A �� 
 ���	��� ��	�
� ���
��� ���� 
 �
�"� �������
�
����$ ������ ��
� A �� �������
 !������ ����	
��� ������������	$ =��	
����� ������ 
 �������
���	 B 
	� 
	 �	%	��� �	�
��
	� ������ Σ′ ���� ��
�'
��� 
	
 ���	� x ∈ Σ′' 
�� ��"�	�
���� �� Mx,B 
�� ��
�' !��� �
�� �������$

���� ���
$� ��� #� �������
 �� ��� 7�$$�G��� �������� �������&

������
�! �$�$��$ #�� A �� 
 ���	��� ��	�
� ���
��� ���� 
 �
�"� �������
�
����$ ������ ��
� A �� �������
 !������ ����	
��� ������������	$ =��	
����� ������ 
 �������
���	 B ���� ��
�' ��� 
	
 ���	� x ∈ Σ' 
�� ��"�	�
����
�� Mx,B 
�� ��
�' !��� �
�� �������$

4�� 
� %����  ���$$��, �3)3'B 
���� ������� �3)3'�&
����(3 ��� ��, ε > 01 $�� 
� 
����� #, Σε ��� ��� �7 %����� x ∈ Σ �
��
���� ����� �8���� �� ε0%���
�#����� B ���� ��� ��

��
 �,���� (Orb(x), f)
����7,���& 7�� ��, ������� k1 �$$ �������$
�� �7 Mfk(x),B ��� ���$1 G��� ����
��

$
�3

4�� 
� C��� �����> ���� Δε = Σ\Σε �� � C���� ���3 ��
��
1 �7 Δε G��� ��
��C���� ���1 G� ��
$
 �%%$, ������� �3)3'� �� ��� $����� ���,�$� A ���������

�� Δε1 G���� �� ������$, G����
� 
���������& �� ������
���� ��� 
�C������ �7
Δε3

5� ���$$ ��G 
�� ��� 7�$$�G��� 
����%�������

Σ = Δ1 ∪
(
Σ1 \ Σ1/2

) ∪ (
Σ1/2 \ Σ1/3

) · · · ∪ (
Σ1/n \ Σ1/(n+1)

) · · · ∪ (∩Σ1/n

)
.

4�� 
� �����
�� ��� $����� ���,�$� B 
�C��
 �� 7�$$�G�&

'3 Δ1 #���� � C���� ���1 ��� ����������� �7 B �� Δ1 ��� #� ��, ���,�$�
����7,��� Mx,B = Id 7�� ��, %���� x ∈ Δ19

)3 #, 
�C������1 7�� ��, ������� k1 ����� �8���� �� 1/k0%���
�#����� B �7
��� ����������� �7 A �� ��� ��� Σ1/k \ Σ1/(k+1) �
�� ���� 7�� ��, %����
x ∈ Σ1/k \Σ1/(k+1)1 Mx,B ��� �$$ �������$
�� ���$ G��� ���� ��

$
�9

(3 ����� A �����C�� ��� ����
���
 ��������� ���� ��� ��� ∩Σ1/n1 B ��� #�
��>�� ��
�$ �� A �� ����������� �� ��� ��� ∩Σ1/n3

��� ��� Σ1/n \ Σ1/(n+1) �� ���$

�
 �� Δ1/(n+1) G���� �� C����1 ����� ���
$����� ���,�$� B �� � %���
�#����� �7 A3 �
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 ����	���	 d' 
	
 �������� ��	��
	� K 
	�

	
 ε > 0' ����� ������ �!� �	��"��� � 
	� n ���� ��
�' 
	
 K����	��� ��	�
�
���
��� A !��� ����	���	 d ���� 
 �������� ����� !��� ������ "��
��� ��
	 n
�
���%�� �	� �� ��� �����!�	" �!� 
�������	�-

• ������ A 
����� 
	 ������	
��� �������	"0

• �� ����� ������ 
	 ε��������
���	 B �� A ���� ��
� Mx,B �
� 
�� ��"�	�
�
���� ��
� !��� �
�� �������$

����(3 =��
��1 ���
��� #, ������
������1 ���� ����$$��, �3)3)* �� G����&
����� �� d,K ��
 ε > 0 �
�� ����1 ����� ��, ������� n1 ����� �� � K0#�
�
�

$����� ���,�$� An G��� 
�������� d1 ���� � %����
�� ��#�� γn G��� %����

������� ���� n1 ����7,��� ��� �G� 7�$$�G��� %��%������&

• 7�� ����, k ≤ n1 An ��� �� k0
�������
 �%$������9

• ����� �� �� ε0%���
�#����� Ãn �7 An �
�� ����1 7�� xn ∈ γn1 ��� �����0
��$
�� �7 Mxn,Ãn

��� �$$ ���$ G��� ���� ��

$
�3

 ����
�� Σ =
⋃

n∈N
γn& ���� ��� �� � $���� %����
� �,����3 4�� A #�

��� $����� ���,�$� 
�C��
 ���� Σ1 �
�� ���� ��� ����������� �� γn �� An3 ���
���,�$� A �� � K0#�
�
�
 $����� ���,�$� G����1 #, ������
�����1 �� ������$,
G����
� 
���������& ��, ��������� ��� �� G���� A �
���� �� �0
�������


����%������� �� ���$

�
 ��

⋃�
n=0 γn ��
 ����� �� C����3 �
���������1 7��

��, %���
�#����� B �7 A1 ��� ��� �7 %����� x 7�� G���� ��� �����8 Mx,B

��� �$$ �������$
�� ���$ G��� ���� ��

$
� �� C����& ��� ���,�$� B �� O#,

�C������ �7 � %���
�#�����P �� ε0%���
�#����� �7 A �
� �7 � C���� ���3 ����
������
���� ������� �3)3'�1 ��
 ���� ������
������ ����$

�� ��� %���73 �

#���6 0�������� �� ��� 	������ ��	 �
$����	
�
���

= $���� �7 ����>� �� M)+N �$$�G� �� ���$�/� ��, ���$$ %���
�#����� �7 ���

��������� �7 � 
�E�����%���� �$��� � C���� ��� #, � C10%���
�#����� �7 ���

�E�����%����3 ���� ���#$�� 
� �� �������  ���$$��, �3)3)* 7�� 
�E�����0
%�����3

������
�! �$�$��$ #�� f : M → M �� 
 ������������� �� 
 ����
�� �
	�
�����' �	��!�� !��� 
 ?���
		�
	 ������ ‖ · ‖$ =��	 ��� 
	
 ε > 0 ����� 
��
�!� �	��"��� � 
	� n ���� ��
�' ��� 
	
 �������� ���	� x �� ������ p(x) ≥ n-

• ������ f 
����� 
	 ������	
��� �������	" 
��	" ��� ����� �� x0

• ��' ��� 
	
 	��"�������� U �� ��� ����� �� x' ����� ������ 
	 ε�
�������
���	 g �� f ��� ��� C1�������"
' ���	����	" !��� f ������� U

	� �	 ��� ����� �� x' 
	� ���� ��
� ��� ������	��
� Dgp(x)(x) �
� 
��
��"�	�
���� ��
� 
	� !��� �
�� �������$ =��� ������� �
	 �����������
�� �����	 ������	� ���� 1 �� ��
� ��� ����� �� x �� 
 ������ �� 
 ��	A
�� g$
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����


,��
�2 �$�$��$ 2	 �
��' ��� �
�� (�, n) "���	 �
 ��� �������	" ������ �	�

����	�� �	 ε 
	� �	 
	 ����� ���	� �� ‖Df‖$ =�� ������ ��	������� �����
!��� ��� �
�� (�, n) ��� 
 C1�	��"�������� �� f $

4�� f #� � 
�E�����%���� �� � ���%��� ����7�$
 M 3 4�� 
� ����$$
���� � %���� x ∈ M �� ��
�	��������	� �7 ����� �8��� %��

�0��#��� ��������
��
 ��
��� �� x G��� ��#������$, ���$$ �
�%�3 M'*N %����� ���� ��, �����0
���
����� %���� ��� #� �
���
 ���� � %����
�� %���� #, �� ��#������$, ���$$
C10%���
�#�����3

������
�! �$�$��$ #�� f �� 
 ������������� �	 
 ����
�� �
	�����$ =��	
��� 
	
 ε' ����� ����� 
 �
�� �� �	��"��� (�, n) ���� ��
� ��� 
	
 ��
�	��������	�
���	� x' �	� �� ��� �����!�	" �!� 
�������	� �����-

7$ ������ x ����	"� �� 
	 �	�
��
	� ����
�� ��� 
������	" 
	 ������	
���
�������	"0

C$ �� ����� �� 
	 ε��������
���	 g �� f *�	 ��� C1�������"
+ ��� !���� x ��

 �������� ��	A �� ������$

��� &���$ �$ )�	��	� �����"

#���� ��	��	���
��� �� ���������� ��� ����
��� �������

����
���
� ���� %������%�1 G� ���$$ 
����� #, A = (Σ, f, E,A) � K0
#�
�
�
 $����� ���,�$� ���� � ��C���� %����
�� �,����3 4�� F #� �� ���������
�
##
�
$� �7 E3 4�� 
� �����
�� �� ����������$ #���� �7 ������� �7 F ��

�� ����������$ #���� �7 ������� �7 F⊥& ���� %����
�� �� ����������$ #����
�7 ������� �� G���� G� ��� G���� A �� #$��>� �7 ��� 7���&(

AF C
0 A/F

)
,

G���� C �� #�
�
�
3 5� ��
� ��� ��� 7�$$�G��� �G� $�����&

0���
 �$�$�$ @�� 
	
 �������
���	 BF �� ��� �	����� ���
��� AF �����
������ 
 �������
���	 B �� A !��� ��� �����!�	" ����������-

• F �� �	�
��
	� �
 B0
• ��� �	����� ���
��� ���
�	�� �
 ����������	 �� B �� ��� �����	��� F ��
BF 0

• ��� ������	� ���
��� B/F ���	����� !��� A/F $ 2	 �
������
�' ��� ��"�	�
�
���� �� Mx,A 
�����
��� �� ��"�	������� ��� �� Fx ���
�	 �	��
	"��$
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0���
 �$�$�$ @�� 
	
 �������
���	 BF⊥ �� ��� ������	� ���
��� A/F ' �����
������ 
 �������
���	 B �� A !��� ��� �����!�	" ����������-

• F �� �	�
��
	� �
 B0

• ��� ������	� ���
��� �� B �
 F ���	����� !��� BF⊥0

• ��� �	����� ���
��� ���
�	�� �
 ����������	 �� B �� F ���	����� !��� AF $

"�#�
�
�� �$�$�$ 4�� E ��
 E′ #� �G� #
�
$�� �7 ���� 
�������� ���� �
�,���� (Σ, f)3 =�, ������ �7 #���� P 7��� E �� E′ O���� ��1 7�� ��, %����
x ∈ Σ1 Px ∈ GL(Ex, E′

x)P �� ���	��� #, K > 0 �7 ��
 ��$, �71 7�� ��, x ∈ Σ1
‖Px‖ ≤ K ��
 ‖P−1

x ‖ ≤ K3

5� ���� ��� ��� 7�$$�G��� �G� $�����&

0���
 �$�$�$ #�� E 
	� E′ �� �!� ��	���� �� �
�� ����	���	 ���� 

�
���� (Σ, f)' 
	� ��� P �� 
 ���	��� ��
	"� �� �
��� ���� E �� E′$ #�� B =
(Σ, f, E′, B) �� ��� ���	��� ��	�
� ���
��� ��%	�� �
 Bx = Pf(x) ◦ Ax ◦ P−1

x

��� 
	
 ���	� x ∈ Σ$ =��	 ��� �����!�	" �!� ��
����	�� ����-

• �� A 
����� 
 ����	
��� �������	"' ���	 �� ���� B0

• ��� 
	
 �������
���	 Ã �� A' ��� ��	�
� ���
��� B̃ ��%	�� �
 Pf(x) ◦Ãx ◦
P−1

x ��� 
	
 ���	� x ∈ Σ �� 
 �������
���	 �� B$

0���
 �$�$�$ #�� F 
	� G �� �!� �	�
��
	� �����	���� �� E !��� �����
�
�	���������	$ ������ ��
�' ��� 
	"�� F̂x, Gx �� ���	��� ���� ����! �
 

�	����� ��	��
	� ��� 
	
 ���	� x ∈ Σ$ =��	' ����� ������ 
 ���	��� ��
	"�
�� �
��� P : E → E ���� ��
� ��� �����	���� P (F ) 
	� P (G) 
�� �����"�	
�$
* ����� ��
� ��� �����	���� P (F ) 
	� P (G) 
�� 	�����
���
 �	�
��
	� �
 ���
��	�
� ���
��� B ���
�	�� �
 ��	��"
��	" A �
 P - Bx = Pf(x) ◦ Ax ◦ P−1

x ���

	
 ���	� x ∈ Σ$+

=� ��� #
�
$�� �7 � 
�������
 �%$������ ���� ����� ���$�� #�
�
�
 7���
#�$�G1 ��� 
�

��� 7��� ��� %�����
� $����&

������
�! �$�$�$ #�� A �� 
 ���	��� ��	�
� ���
��� 
������	" 
 ����	
���
�������	" E = F ⊕ G$ =��	' �� �� 
 ��
	"� �� �
���' !� �
	 
����� ���
����	
��� ������������	 �� �� �����"�	
�' ���� !� �
	 !���� A �	 ����A� ��
��� ����- (

AF 0
0 AG

)
.
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#���� ������� �� �
����
�� 2

������
�
�� �$�$;$ #�� A �� 
 K����	��� ��	�
� ���
��� �� ����	���	 2
���� 
 �
�"� ������� �
����$ =���� ������ 
 �������
���	 B �� A ���� ��
�'
��� 
	
 ���	� x ∈ Σ' Mx,B �
� 
�� ��"�	�
���� ��
� �� �����������
 1' 
	�
������	� �������$

@����������' ��� #

��	�� ����	�	�� �� B �
	 �� �����	 
�����
���
 �����
�� ����� �� A$

���� �� � ������
���� �7 M'*1 $���� +3+N G���� �� �������
 #�$�G&

0���
 �$�$7$ @�� 
	
 ε > 0' ����� ������ N(ε) ≥ 1 ���� ��
�' ��� 
	

�	��"�� n ≥ N(ε) 
	� 
	
 %	��� �����	�� A0, ..., An �� �����	�� �	 SL(2,R)'
����� ������ 
 �����	�� α0, ..., αn �	 ]− ε, ε[ ���� ��
� ��� �����!�	" 
�������	
�����-

��� 
	
 i ∈ {0, ..., n} �� !� ��	��� �
 Bi = Rαi ◦Ai ��� ����������	 �� Ai

!��� ��� ���
���	 Rαi �� 
	"�� αi' ���	 ��� �
���� Bn ◦ Bn−1 ◦ · · · ◦ B0 �
�
��
� ��"�	�
����$

4�� 
� 
�

�� ��� %���7 �7 ;��%������� �3(3D&
����(3 4�� A #� � K0#�
�
�
 $����� ���,�$� �7 
�������� 2 ���� � $����
%����
� �,���� (Σ, f)3 ����� ������ ����1 �7 � �����8 �� GL(2,R) ��� � ���$
�������$
�1 ���� ����� �� �� ��#������$, ���$$ %���
�#����� �7 ���� �����8
���� ��� �G� ���$ �������$
�� �7 �
$��%$����, 1 G��� 
�E����� ��

$�3 �� G�
�
�� ���
 �� #
�$
 � %���
�#����� �7 A �
�� ���� ��� �������� Mx,B ���� ��
$���� ��� ���$ �������$
� O�7 ��

$
� ��#������$, �$��� �� ��� ��

$� �7 ���
�������$
�� �7 Mx,AP3

 ����
�� Σ1 ⊂ Σ ��� ��� �7 %����� x 7�� G���� ��� �����8 Mx,A ��� �
%��� �7 ���%$�8 O���0���$P ����
����
 �������$
��3 �7 Σ1 �� C����1 G� ���

��� O�� �
@��� �� 
�C�� B �� Σ11 �
�� ���� Mx,B1 x ∈ Σ1 �� ��� ��������,
�����7�������� G���� ����� �� ��� ��

$
� �7 ��� ���%$�8 �������$
� �7Mx,A3

=��
�� ��G ���� Σ1 �� ��C����3 ��8 � ���
���� εn 
��������� �� 0 ��

�����
�� ��� ���� Γn = {x ∈ Σ1 | p(x) ≥ N(εn)}3 =� Σ �� � $���� %����
�
�,����1 ��� ���%$����� �7 ���� Γn �� C����3

,��
�2 �$�$�$ =���� �� 
 �����	�� δn ��	���"�	" �� 0 ���� ��
�' ��� 
	
 α ∈
[−εn, εn] 
	� 
	
 �
���� A ∈ GL(2,R) !��� ‖A‖ < K �	� �
� ‖A−B‖ < δn

!���� B = Rα ◦ A$

��� ��, x ∈ Γn \ Γn+11 4���� �3(3� ����� � ���
���� (αi)1 i =
0, . . . , p(x) − 11 G��� |αi| ≤ εn �
�� ���� ��� �����8

∏p(x)−1
0 Rαi ◦ A(f i(x))

��� � ���$ �������$
�3 ��C�� B �� ��� ��#�� �7 x #,

Bf i(x) = Rt(x)·αi
◦ A(f i(x))



����� �� �����
�� D�

G���� t(x) �� ��� ��C�
� �7 ��� t ∈]0, 1] �
�� ���� ��� �����8
∏p(x)−1

0 Rt·αi ◦
A(f i(x)) ��� � ���$ �������$
�3 ���� t(x) ∈]0, 1]1 ��
 Mx,B ��� � ���$ �����0
��$
� �7 �
$��%$����, 2 ��
 G���� ��

$
� ������
�� G��� ��� ��

$
� �7 ���
�������$
� �7 Mx,A3

���� �����> �3(3B ��%$��� ���� ��� ���,�$� B 
�C��
 ���� G�, ��⋃
n(Γn \ Γn+1) �� � %���
�#����� �7 A9 �������� �� (Γn)n �� � 
���������

���
���� ��

⋂

Γn = ∅1 ��� ���� ���� Γ0 =
⋃

n(Γn \Γn+1)3 ����$$, Σ1 \Γ0 ��
C����1 �� ���� ��� ��� ���%$��� ���� %���
�#����� �� � %���
�#����� �7 A ��
Σ1& 
�C�� B �� ��� C���� ��� Σ1 \ Γ0 �� ��� ���� G�, �� G��� Σ1 �� C����3
5� ���%$��� ���� %���
�#����� �� Σ #, 
�C���� Bx = Ax 7�� x /∈ Σ11 ��
�
�#������� ��� ����
���
 %���
�#�����3 �

#���� �	��� �� -���	�� #����6 ��� 0����
�� #����7

5� %�����
 #, ��

����� �� ��� 
�������� d �7 ��� ���,�$�3 ��� ���� d = 1
�� ������$ ��
 d = 2 �� ��$��
 #, ;��%������� �3(3D3

=��
�� ��� ���
$� �� ��
� 7�� ��, d′ < d1 ��
 �����
�� � #�
�
�
 ���,�$�
A �7 
�������� d ���� � $���� %����
� �,���� (Σ, f)3 !����� ����1 7�� ��,
d > 11 ��, $����� ������%���� �7 Rd �
���� �� ��������� 20%$���3 =� �

����� ������
����1 ��, $����� ���,�$� �7 
�������� d ���� (Σ, f) �
���� ��
��������� �
##
�
$� F �7 
�������� 23 =%%$,��� ��� ��

����� ���
�%����
�� ��� ��

��
 ���,�$� AF ��
 �� ��� �
������ ���,�$� A/F 1 G� �#���� ���
%���
�#������ BF �7 AF ��
 BF⊥ �7 A/F 3 4����� �3(3' ��
 �3(3) ���
��
���� ��� �8������� �7 � %���
�#����� B �7 A ��

���� ��� ���,�$� BF �� F
��
 G���� �
������ B/F �� BF⊥ 3 !����� ����1 7�� ��, x1 �$$ �������$
��
�7 Mx,B ��� ���$1 ��
 ���� �� ��#������$, ���$$ �

������$ %���
�#����� ���
��>� ����� ��

$� %���G��� 
�������3

��� &���$ �$ )�	��	� �����.

#�#�� ���
���, �
�����	

4�� A = (Σ, f, E,A) #� � #�
�
�
 $����� ���,�$� ���� � $���� %����
� �,����3
��C�� ��� #

��	�� ��
����� �7 x ∈ Σ #,&

δ(x,A) = max
{ | log(|λ1|) − log(|λ2|)|

p(x)
, λi ∈ �%��(Mx)

}
,

�3�3 ��� 
�E������ #��G��� ��� $������ ��
 ��� ���$$��� 4,�%
��� �8%�����
�7 x 7�� ��� ���,�$� A3 5� ���$$ 
�� ��� �������� δ(x) G������� ����� �� ��
��#��
��, �� ��� �����
���
 ���,�$�3



D+ ������� ��	
����


5� ���� 
����� #, δ+(A) O��� ����� #

��	�� ��
����� �� AP ��
 δ−(A)
O��� ��!�� #

��	�� ��
�����P ��� 
%%�� ��
 ��� $�G�� $����1 ���%������$,1
�7 ��� δ(x) 7�� x ∈ Σ3

0���
 �$�$�$ #�� (Σ, f) �� 
 �
�"� ������� �
���� 
	� A 
 ���	��� ��	�
�
���
��� ���� ��
� δ−(A) = 0$ =��	 ����� ������ 
 �������
���	 B �� A 
	� 
	
�	%	��� �	�
��
	� ������ Σ′ ���� ��
�' ��� 
	
 ���	� x ∈ Σ′' 
�� ��"�	�
����
�� Mx,B 
�� ��
�' !��� �
�� �������$

����(3 ����� ������� �3)3'+ ��
 ����$�
� �3)3'D1 ��� #
�$
� � %���
�#�����
A′ �7 A �
�� ���� δ−(A′) = 0 ��
 �
�� ����1 7�� ��, x ∈ Σ1 �$$ �������$
��
�7 Mx,A′ ��� ���$1 G��� �
$��%$����, 11 ��
 
�E����� ��

$�3 5� ��� ����
������1 7�� ��, x ∈ Σ1 �� ����������$ #���� bx �7 ���� C#�� Ex �
�� ����
���� $����� ��% A′

x ��� �� 
%%�� ������
$�� �����8 �� ���� #����3
=� δ−(A′) = 01 ����� �� ���� ��C���� ��������� �
#��� Σ′ ⊂ Σ �
�� ����

limx→∞ δ(x,A′) = 0 O���� ��1 7�� ��, ε > 01 ��� ��� {x ∈ Σ′ | δ(x,A′) > ε}
�� C����P3 ��� ��, x ∈ Σ′ G� �����
�� Cx : Ex → Ex ��� $����� ��% G����
�����8 �� ��� #���� bx �� ��� 
������$ �����8 (αi) G���� αi > 0 ����C��&

α
p(x)
i =

|detMx,A′ | 1d
|λi|

G���� λi ��� i�� �������$
� �7 Mx,A′ 3 ����� δ(x) ��������� �� 0 �� p(x)
���� �� ∞ 7�� x ∈ Σ′1 ��� �����8 Cx ��������� �� ��� �
�����, �����83

��C�� ��G B #,&

• Bx = Ax �7 x /∈ Σ′9

• Bx = Ax ◦ Cx �7 x ∈ Σ′3

��� $����� ���,�$� B �� � %���
�#����� �7 A ��
1 7�� ��, x ∈ Σ′1 �$$
�������$
�� �7 Mx,B ��� ���$ ��
 ���� ��� ���� ��

$
�3 �

K���� � #�
�
�
 ���,�$� A ���� � $���� %����
� �,���� (Σ, f)1 G� 
�C��
��� ��	��
� #

��	�� ��
����� �� A1 
�����
 #, δmin(A)1 �� ��� ��C�
�
�7 ��� δ−(B) 7�� �$$ %���
�#����� B �7 A3

,��
�2 �$�$�$ 2� Σ′ ⊂ Σ �� 
	 �	%	��� �	�
��
	� ������' ���	 ��� #

��	��
��
����� �� ��� ���������� ���
��� A|Σ′ ����%��- δmin(A|Σ′) ≥ δmin(A)$

0���
 �$�$�$ =���� �� 
 �������
���	 B �� A ���� ��
� δ−(B) = δmin(A).
@����������' B �
	 �� �����	 �� ��
�' ��� 
	
 x ∈ Σ' 
�� ��"�	�
���� �� Mx,B


�� ��
�' !��� �����������
 1 
	� !��� ������	� ������$

����(3 ��� ��, ������� n > 0 ����� �� � %���
�#����� Bn �7 A �
�� ����
δ−(Bn) < δmin + 1

n 3 ����1 #, 
�C������ �7 δ−(Bn) ��
 �7 � %���
�#����� �7



����� �� �����
�� DD

A1 7�� ��, n > 0 ����� �� �� ��C���� f 0��������� �
#��� Σn ⊂ Σ �
�� ����
��, x ∈ Σn ����C��&

δ(x) < δmin +
2
n

��
 |An − Bn| <
1
n

.

 ����� #, ��������� �� ��C���� ���
���� (xn)n ∈ ΣN �� 7�$$�G�3 ��8 x1 ∈ Σ13
H��� x1, . . . , xn ������1 ������ xn+1 ∈ Σn+1 \ ∪n

i=1Orb(xi)9 ���� �� %����#$�
#���
�� Σn+1 �� �� ��C���� ��� G������ ��� 
���� �7 ��� ��#��� �7 xi1 i ∈
{1, . . . , n} �� C����3

��C�� ��� %���
�#����� B �7 A �� 7�$$�G�&

• �7 x ∈ Σ #�$���� �� ��� ��#�� �7 xi1 7�� ���� ������� i ≥ 11 ����
Bx = Bi,x9

• �����G���1 Bx = Ax3

H�� ����$, ����C�� ���� ��� ��0
�C��
 $����� ���,�$� B �� � %���
�#����� �7
A ����7,��� δ−(B) = δmin(A)3 = ��G %���
�#����� �7 B ����� #, ����0
��� �3)3'+ ��
 ����$�
� �3)3'D �$$�G� �� �
�� �$$ �������$
�� ���� ���$ ����
G��� �
$��%$����, 11 
�E����� ��

$�1 G����
� ��
�7,��� δ−(B)3 �

,��
�2 �$�$�$ 2	 ��� ����� �� #���
 ;$;$8' ��	��� Σ′ = ∪n
i=1Orb(xi) 
	�

��� B′ �� ��� ����������	 �� B �� ��� �	%	��� �	�
��
	� ������ Σ′$ =��	

δ+(B′) = δ−(B′) = δmin(B′) = δmin(B).

���� �����> ��������� ��� 7�$$�G��� 
�C������

"�#�
�
�� �$�$�$ 4�� (Σ, f) #� � $���� %����
� �,����3 = #�
�
�
 $�����
���,�$� A ���� (Σ,f) �� ��$$�
 �	������������ �7 �� ����C�� #��� 7�$$�G���
���
�%�����&

'3 δ+(A) = δ−(A) = δmin(A)9

)3 7�� ��, x ∈ Σ1 �$$ �������$
�� �7 Mx,A ��� ���$1 G��� �
$��%$����, 1 ��


�E����� ��

$�3

�7 A �� �����%�����#$�1 G� 
����� #, δ(A) ��� #

��	�� ��
����� �� A

�C��
 #, δ(A) = δ+(A) = δ−(A) = δmin(A)3

,��
�2 �$�$�$ #�� A = (Σ, f, E,A) �� 
	 �	������������ ���	��� ��	�
�
���
��� ���� 
 �
�"� ������� �
���� (Σ, f)' 
	� ��� Γ ⊂ Σ �� 
	 �	�
��
	�
�	%	��� ������$ =��	 ��� ���������� ���
��� A|Γ �� �	������������$

������� �3)3'� �� ��G � ����$$��, �7 ��� 7�$$�G��� ���
$�&

*������ �$�$;$ #�� (Σ, f) �� 
 �
�"� ������� �
���� 
	� A 
 ���	��� ��	�
�
���
��� ���� (Σ, f)$ ������ ��
� A �� �	������������ 
	� �������
 !������
����	
���	$ =��	 δ(A) = 0$



D� ������� ��	
����


��� %���7 �7 ������� �3�3D �� ��� ��� �7 ��� ��8� ��������3 4�� 
� C���
%���� ������� �3)3'� 
���� ������� �3�3D&
����(3  ����
�� � #�
�
�
 $����� ���,�$� A ���� � $���� %����
� �,����
(Σ, f) ��
 ���
�� ���� A �� ������$, G����
� 
���������3 ���� 4���� �3�3(
��
 �����> �3�3� ���
�� ��� �8������� �7 � %���
�#����� B �7 A ��
 �7 ��
��C���� f 0��������� �
#��� Σ′ ⊂ Σ �
�� ���� ��� ����������� B′ = B|Σ′ ��
�����%�����#$�3  ���$$��, �3)3'� ��
 �����> �3)3� ��%$, ���� B′ �� ������$,
G����
� 
���������3

���� ������� �3�3D ������� ���� δ(B′) = 01 ��
 4���� �3�3' C��$$,
��%$��� ��� �8������� �7 � %���
�#����� C′ �7 B′ ��
 ��� �8������� �7 �� ��C����
��������� �
#��� Σ̃ ⊂ Σ′ �
�� ����1 7�� ��, %���� x ∈ Σ̃1 �$$ �������$
�� �7
Mx,C′ ��� ���$1 G��� ���� ��

$
�3 ��� ���,�$� C �� Σ 
�C��
 #, Cx = Ax

G��� x /∈ Σ̃1 ��
 Cx = C ′
x G��� x ∈ Σ̃1 �� � %���
�#����� �7 A �����7,��� ���

����$
���� �7 ������� �3)3'�3 �

,��
�2 �$�$7$ 2	 �
�� !� ������ ��
�' �� =������ ;$;$G ����� ��� d�
����	���	
� ���
����' ���	 =������ ;$C$7H 
��� ����� ��� d�����	���	
� ���
�
����$

5� ��� $�7� �� %���� ������� �3�3D3 5� ���
� #, ��

����� �� ��� 
�0
������� d �7 ��� ���,�$�3 5� ���$$ C��� %���� ���� 7�� ��, �����%�����#$�
���,�$� A = (Σ, f, E,A) ������$, G����
� 
���������1 ����� �8���� � �%$������
���� �G� ��������� �
##
�
$�� E = F ⊕ G �
�� ���� ��� ��

��
 ���,�$��
A|F ��
 A|G ��� #��� ������$, G����
� 
���������3

#�#�� 0
�
��
�( 
� ���������� ��	
���� '
����� ���
���
��

5� ��� �� ���� ������� �� %������ ��� 7�$$�G���&

������
�
�� �$�$�$ #�� A = (Σ, f, E,A) �� 
 ���	��� ��	�
� ���
��� �������

!������ ����	
���	 ���� 
 �
�"� ������� �
����$ ������ ��
�' ��� 
	
 x ∈ Σ'

�� ��"�	�
���� �� Mx 
�� ��
� !��� �����������
 1 
	� !��� ������	� �������$
=��	 ����� ������ 
	 �	�
��
	� �
������	 Σ = Σ1 ∪ · · · ∪ Σd−1 ���� ��
� ���

	
 i ∈ {1, . . . , d− 1}' ������ ��� ��� Σi �� ����
 �� ��� ��� Σi �� �	%	��� 
	�
�	 ���� �
��' ����� ������ 
	 �	�
��
	� ������������	 E = Fi ⊕ Gi ���� Σi

���� ��
�

• dim(Fi) = i0

• ��� �	����� ���
���� AFi 
	� AGi ���� Σi 
�� �������
 !������ ����	
�
���	0

• ��� 
	
 x ∈ Σi' ��� ������ �� ��� ��"�	�
���� �� Mx ��������	��	" ��
Fi 
�� �������
 ��
���� ��
	 ��� �	�� ��������	��	" �� Gi$

0���
 �$�$�<$ #�� A �� 
 ���	��� ��	�
� ���
��� ��%	�� ���� 
 �
�"� ���
����� �
���� (Σ, f)$ #�� E = F ⊕ G �� 
	 �	�
��
	� �������	" ���� ��
�



����� �� �����
�� DB

7$ ��� ���
���� �	����� �
 ����������	 AF 
	� AG 
�� �������
 !������ ����
�	
���	0

C$ ��� 
	
 x ∈ Σ' ��� ��"�	�
���� �� Mx ��������	��	" �� F 
�� �������

��
���� ��
	 ��� �	�� ��������	��	" �� G0

8$ ��� ������������	 E = F ⊕ G �� �������
 	�� ����	
���$

=��	 ��� ���
��� A �� �������
 !������ ����	
���	$

����(3 5� %�����
 #, ������
������3 4�� F ′ ⊕ G′ #� � 
�������
 �%$������
�� ���� ��C���� ��������� �
#��� Σ′ ⊂ Σ3 ���� ��� ��

$� �7 ��� �������$
��
������%��
��� �� F ′ ��� ������$, ���$$�� ���� ��� ���� ������%��
��� �� G′3
�7 dim(F ′) = dim(F ) O��
 ����� dim(G′) = dim(G)P ���� ��� �����
 ���
�0
���� �7 ��� $���� ��%$��� ���� F ′ = F ��
 G′ = G1 G���� �� �� ������
������
G��� ��� C��� ���
����� �7 ��� $����3

!��� ����

• ������ dim(F ′) > dim(F ) ��
 dim(G′) < dim(G)9

• �� dim(F ′) < dim(F ) ��
 dim(G′) > dim(G)3

���� ����� ��� �,�������3 5� ���$$ �����
�� ��� C��� ����3
=� ��� ��

$� �7 ��� �������$
�� ������%��
��� �� F ��� ������$, ���$$��

���� ��� ���� ������%��
��� �� G1 G� ��� ���� G′ ⊂ G ��
 F ⊂ F ′3 5�
��
� 
�

�� ���� F ′ �� ���������� �� G ��
 ���� G �
���� ��� 7�$$�G���

����%������� G = (F ′ ∩ G) ⊕ G′ ���� Σ′3 ���� �%$������ O���� ��� ��C����
�
#��� Σ′P �� 
�������
 #, ���
�%����1 G���� �� �� ������
������ G��� ���
���
�%���� �7 G #���� ������$, G����
� 
���������3 �

0���
 �$�$��$ #�� A �� 
 ��	�
� ���
��� ��%	�� ���� 
 �
�"� ������� �
����
(Σ, f)' 
	� E = E1 ⊕ · · · ⊕ Ek �� 
	 �	�
��
	� �������	" ���� ��
�-

7$ ��� 
	
 �	��"�� i' ��� ���
��� �	����� �
 ����������	 AEi �� �������
 !����
��� ����	
���	0

C$ ��� 
	
 �	��"�� i' ��� 
	
 ���	� x ∈ Σ' ��� ������ �� ��� ��"�	�
���� ��
Mx ��������	��	" �� Ei 
�� �������
 ��
���� ��
	 ��� �	�� ���������	��
�	" �� Ei+10

8$ ��� ���
��� A �� �������
 !������ ����	
���	$

@�� 
	
 i ∈ {1, . . . , k − 1} ��%	� Fi = Ei ⊕ Ei+1$ =��	 ����� ������ 
	
�	�
��
	� �
������	 Σ = Σ1 ∪ . . . ∪ Σk−1 ���� ��
�' ������ Σi �� 
 %	��� ���'
�� ��� �	����� ���
��� AFi �� �������
 !������ ����	
���	 ���� Σi$



�* ������� ��	
����


����(3 ��� ��, x ∈ Σ1 G� 
����� #, Li(x) ��� �������������� ���� O�7
�����> �3)3�P �7 ��� 
��������� �7 ��� �%$������ Fi = Ei ⊕ Ei+1 ���� ���
%����
�� ��#�� �7 x3 4�� ix ∈ {1, . . . , k − 1} #� �� ������� ������ �� ���� ���
�������������� ���� Lix(x) ���$�/�� ��� ��8��
� �7 {Li(x), i ∈ {1, . . . , k−1}3
!��� ���� ix ��� #� ������ �������� ���� ��� %����
�� ��#�� �7 x1 ����� ���
7
������ x �→ ix �� ��������� #, f 3

4�� Σi = {x ∈ Σ, ix = i}3 ���� Σ1 ∪ · · · ∪Σk−1 �� �� ��������� %��������
�7 Σ3  ����� i �
�� ���� Σi �� �� ��C���� ���3

��

� �$ =�� ������������	 Fi = Ei ⊕ Ei+1 �� �������
 	�� ����	
��� ����
Σi$

����(3 5� %�����
 #, ������
������3 =��
�� ��� 
����%������� Fi =
Ei ⊕ Ei+1 �� 
�������
 ���� �� ��C���� ��������� �
#��� Σ′

i ⊂ Σi3 �����
�8���� �� ������� L �
�� ���� Ei ≺L Ei+1 ���� Σ′

i3 ��� ��, x ∈ Σ′
i1 L ��

#, 
�C������ #����� ���� Li(x)3 =� ix = i1 G� ��� ���� Lj(x) ≤ L 7�� ��,
j ∈ {1, . . . , k−1}3 =� � ����$
����1 Ej ≺L Ej+1 7�� ��, j ���� Σ′

i1 ����� ���

����%������� E = E1 ⊕ · · · ⊕ Ek �� 
�������
 ���� Σ′1 G���� ������
����
��� ���
�%���� �7 A #���� ������$, G����
� 
���������3 �

!��� ����1 ����>� �� ��� %�����
� �$���1 ��� 
����%������� Fi = Ei ⊕
Ei+1 ���� Σi �����C�� �$$ ��� ���
�%����� �7 ��� $���� �3�3'*3 5� ��
� ���
���� AFi �� ������$, G����
� 
��������� ���� Σi1 G���� ����$

�� ��� %���7
�7 ��� $����3 �

5� ��� ��G ���
, �� %���� ;��%������� �3�3B3
����(3 5� ��� ����� �� ���G #, � 
��������� ��

����� ���
���� ����1 7��
��, k ∈ {2, . . . d}1 ����� �8���� �� ������� ik ��
 �� ��������� C���� %��������
Pk = {Σk

1 , . . . ,Σ
k
ik
} �7 Σ �
�� ���� 7�� ��, j ∈ {1, . . . , ik} ������ ��� ��� Σk

j ��
C����1 �� ��� ��� Σk

j �� ��C���� ��
 �� ���� ���� ����� �� �� ��������� �%$������
E = E1 ⊕ · · · ⊕ Ek �
�� ����

O;'P 7�� ��, � ∈ {1, . . . , k}1 ��� ��

��
 ���,�$� AE�
���� Σk

j �� ������$,
G����
� 
���������9

O;)P 7�� ��, � ∈ {1, . . . , k − 1} ��
 7�� ��, x ∈ Σk
j 1 ��� ��

$� �7 ���

�������$
�� �7 Mx ������%��
��� �� E� ��� ������$, ���$$�� ���� ���
���� ������%��
��� �� E�+19

O;(P ��� ���������
 ���,�$� A|Σk
j
�� ������$, G����
� 
���������3

��� k = d1 
����� #, E1, . . . , Ed ��� ���0
���������$ �
##
�
$�� �����0
�%��
���1 7�� ��, x ∈ Σ1 �� ��� ������%���� �7 Mx ��
���
 �� ��� ����������
G�, #, ��� ��

$� �7 ��� �������$
��3 ��� ������$ %�������� Σ = Σ ��
 ����
�%$������ �����7, �$$ ��� ���
���
 ���
������3

=��
�� ��� %��%������� ����C�
 7�� k + 13 4�� Σk+1
j ∈ Pk+1 #� ��� �7

��� �
#���� ����� #, ��� ��

����� ���
�%����3 �7 ���� �
#��� �� C����1 Σk+1
j



����� �� �����
�� �'

������� �� ��� %�������� Pk3 =��
�� Σk+1
j �� �� ��C���� ���3 ������ #,

E = E1⊕· · ·⊕Ek+1 ��� ������%��
��� ��������� �%$������3 =%%$,��� 4����
�3�3'' �� ��� ���������
 ���,�$� A|Σk+1

j
1 G� ��� � C���� ��������� %�������� �7

��� ��� Σk+1
j �� �
#���� Σ′ ����7,��� ��� 7�$$�G��� 
�������,&

• ������ ��� �
#��� Σ′ �� C����9

• �� ��� �
#��� Σ′ �� ��C���� ��
 ����� �� �� ������� i �
�� ���� ��� ��

��

���,�$� AEi⊕Ei+1 �� ������$, G����
� 
���������3 F�
�G ��� ���������

���,�$� �� Σ′ G��� ��� 
����%������� �� k �
##
�
$�� �#�����
 #, ����0
����� Ei �������� G��� Ei+1 �� ��� 
����%������� O�� k+1 �
##
�
$��P
���������
 �� Σk+1

j 3 �� ����� G��
�1 �7 F = Ei ⊕ Ei+11 ��� 
����%���0
���� ���������
 �� Σ′ �� E1 ⊕ · · · ⊕Ei−1 ⊕F ⊕Ei+2 ⊕ · · · ⊕Ek+13 ����
�%$������ �����C�� ��� ���
���
 ���
������3

K�������� �������� ��� %��������� #
�$� 7�� ���� Σk+1
j �� Pk+11 G� ��� ���

����
���
 %�������� Pk1 G���� ��
� ��� ��

����� ���
����3
5� ��
� ��� � %�������� P23 4�� 
� C��� 
����� #, Σ′

0 ��� 
���� �7 �$$
C���� �
#���� �7 ��� %�������� P23 H��� ���� ��C���� ��� �7 ��� %�������� P21
����� �� � �%$������ �7 E ���� �G� �
##
�
$�� E = E1 ⊕ E2 ����7,��� ���
���
������ O;'P1 O;)P ��
 O;(P3 ��� ��, ������� i ∈ {1, . . . , d−1}1 
����� #,
Σ′

i ��� 
���� �$$ ��C���� �
#���� �7 ��� %�������� P2 �
�� ���� dim(E1) = i3
 ����� �� ������� i0 ∈ {1, . . . , d− 1} �
�� ���� ��� ��� Σ′

i0
�� ��� ��%�,3

������ #, Σi0 ��� ��� Σ′
0 ∪ Σ′i0 ��
 �8���
 ��� �
##
�
$� E1 
�C��
 ����

Σ′
i0
�� Σ′

0 #, �����
����� ��� �
� �7 ��� C��� i0 ������%���� G��� ���$$��
��

$� �7 �������$
��3 5� ���� ����$

� ��� %���7 #, ��>��� Σi = Σ′

i 7��
��, ������� i �= i03 �

#�#�� ���	���
�( ��� ���
���, �
���	��5 
	��� �� -���2
	�� #�#�7

5� %�����
 #, ��

����� �� ��� 
�������� d �7 ��� ���,�$�3 5��� d = 21
��R	 OM(�NP ���
��� ��� �8������� �7 %���
�#������ �$��� ��#������$, $���
%����
�� ��#���1 G��� ���%$�8 �������$
�� �� ��� %����
3 =%%$,��� ;��%���0
���� �3(3D1 ����� �8���� � %���
�#����� G���� �������$
�� �� ��� %����
 ���
���$1 ��
 �7 ��

$� ��#������$, �$��� �� ��� ��

$
� �7 ��� ���%$�8 �������$0

��3 ���� ����$

�� ��� %���7 �7 ������� �3�3D �� ��� 20
���������$ ����3

=��
�� ��G ���� ������� �3�3D ��$
� 7�� ��, ���,�$� �7 
��������
������$, $��� ���� d3 5� G�$$ %���� ���� �� �$�� ��$
� 7�� d0
���������$
���,�$��3 !����� ���� ���� ��%$��� ���� ������� �3)3'� �$�� ��$
� 7�� d0

���������$ ���,�$�� O��� �����> �3�3�P3

 ����
�� � $���� %����
� �,���� (Σ, f) ��
 � #�
�
�
 d0
���������$
$����� ���,�$� A = (Σ, f, E,A) ���� �� �����%�����#$� ��
 ������$, G����
�

���������3 5� G�$$ ���G1 ���
��� #, ������
������1 ���� δ(A) = 03 =��
��



�) ������� ��	
����


O#, ������
������P ���� δ(A) > 03 !����� ���� ��, ���,�$� B �#�����
 #,
����������� �7 ��� ���,�$� A �� �� ��C���� �
#��� �7 Σ ����C�� ��� 7�$$�G���&

OA'P B �� �����%�����#$�9

OA)P B �� ������$, G����
� 
���������9

OA(P δ(B) = δ(A) > 03

;��%������� �3�3B ��%$��� ��� �8������� �7 �� ��C���� ��������� �
#��� Γ ⊂
Σ �
�� ���� ��� ���������
 ���,�$� B = A|Γ �
���� � O��� 
�������
P �%$������
E = F ⊕ G G��� ��� 7�$$�G��� %��%������&

OA�P ��� ��

��
 ���,�$� BF ��
 BG ��� ������$, G����
� 
���������9

OA�P 7�� ��, x ∈ Γ1 ��� ��

$� �7 ��� �������$
�� �7 Mx ������%��
��� �� F
��� ������$, ���$$�� ���� ��� ���� ������%��
��� �� G3

0���
 �$�$��$ F� �
��-

δ+(BF ) = δ+(BG) = 0.

����(3 5� %�����
 #, ������
������1 ���
���� O7�� ��������P ���� δ+(BF ) =
δ > 03 ����� �8���� �� ��C���� ��������� �
#��� Γ0 ⊂ Γ �
�� ����1 7�� ��,
%���� x ∈ Γ01 δ(x,BF ) > δ/23 ��� ���������
 ���,�$� (BF )|Γ0

�� ������$,
G����
� 
���������1 ��
 ��� 
�������� �� ������$, $��� ���� d3 ����1 ��� ��0


����� ���
�%���� �$$�G� �� �%%$, ������� �3)3'� �� ��� ���,�$� (BF )|Γ0

3

��
� ����� �� � %���
�#����� (̃BF )Γ0
�
�� ���� δ+

(
(̃BF )Γ0

)
= 03 �
�����0

����1 #, �����> �3)3'(1 G� ��� ���
�� ���� ���� %���
�#����� %�������� ���

���������� �7 ��� �����8 (BF )x 7�� ��, %���� x ∈ Γ03

5� ��� ��G �����
�� � %���
�#����� C �7 ��� ���,�$� A �
�� ����

• �
���
� Γ01 C ������
�� G��� A9

• �� Γ01 CF = (̃BF ) ��
 C/F = A/F 9

��

� �$ @�� 
	
 ���	� x ∈ Γ0'

δ(x, C) ≤ δ(x,A) − δ

2d
.

����(3 ����$$ ����

• ��� ��

$� �7 ��� �������$
�� �7 Mx,A ������%��
��� �� F ��� ������$,
���$$�� ���� ��� ���� ������%��
��� �� G9

• ��� �������$
�� �7 Mx,C ���������
 �� ������%���� �
���
� F ������
�
G��� ��� �������$
�� �7 Mx,A ���������
 �� G9



����� �� �����
�� �(

• ����� ��� �����
���
 %���
�#����� �7 ��� �����8 Ax %�������� ��� 
����0
������ �7 (AF )x1 ��� ��

$
� �7 ��� �������$
�� �7Mx,C ������%��
���
�� F �� ��
�$ �� ��� ��������� ������� �7 ��� ��

$� �7 ��� �������$
��
�7 Mx,A3

��� ��, ���,�$� D1 $�� 
� 
����� ��� ���$$��� ��
 ��� �������� 4,�%
���
�8%������ �7 � %���� x #,

σ+(x,D) = max
{ | log(|λ|)|

p(x)
, λ ∈ Spec (Mx,D)

}
��


σ−(x,D) = min
{ | log(|λ|)|

p(x)
, λ ∈ Spec (Mx,D)

}
.

��1 ��� 4,�%
��� 
������� �7 x �� δ(x,D) = σ+(x,D) − σ−(x,D)3
=� � ������
���� �7 ��� %�����
� �����>�1 7�� ��, x ∈ Γ01

σ+(x, C) = σ+(x,A) ��
 σ−(x, C) =
log(|det(Mx,AF

)|)
dim(F ).p(x)

.

��
�1 7�� ��, %���� x ∈ Γ01 δ(x,A) − δ(x, C) = σ−(x, C) − σ−(x,A)3 ��0
���� #, |λ1(x)| < . . . < |λdim(F )(x)| ��� ��

$� �7 ��� �������$
�� �7 Mx,A

������%��
��� �� F ��
 σi(x) = log(|λi(x)|)/p(x)3 5� ���� ��� ��� 7�$$�G���&

• σ−(x,A) = σ1(x)9

• σ−(x, C) =
Pdim(F )

k=1 σk(x)

dim(F ) 9

• σdim(F )(x) − σ1(x) > δ/2 ����� x ∈ Γ03

5� ���� ��� #, �� ���, ��$�
$
� ���� σ−(x, C) ≥ σ−(x,A) + δ
2. dim(F ) , ��
�

δ(x, C) ≤ δ(x,A) − δ
2d . �

����� Γ0 �� �� ��C���� ���1 G� 
�

�� 7��� ��� %����
��� �$��� ����
δ−(C) ≤ δ(A) − δ

2d G���� �� �� ������
������ G��� ��� ���
�%���� �7 �����0
%�����#�$��, �7 A3 ���� ����$

�� ��� %���7 �7 ��� 4����3 �

=� � 
����� ����$$��, G� ���&

������
�! �$�$��$ #�� F ′ ⊂ F 
	� G′ ⊂ G �� �	�
��
	� �����	���� ��%	��
���� 
	 �	%	��� �	�
��
	� ������ Γ′ ⊂ Γ$

=��	 ��� �	����� ���
��� (B|Γ′)F ′ 
	� (B|Γ′)G′ 
�� �������
 !������ �����
	
���	$ @���������� ��� ������	� ���
���� B/F 
	� B/G �����


δ+(B/F ) = δ+(B/G) = 0,

��	�� B/F 
	� B/G 
�� �������
 !������ ����	
���	 *
	� ��� �
�� ����� ���

	
 ���
��� �	����� �
 B/F �� B/G ���� 
	 �	%	��� �	�
��
	� ������+$
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����(3 4�� 
� ����� #, �G� ���, �������� ����� #, ��� 4,�%
��� 
�������&

• �7 � #�
�
�
 $����� ���,�$� C0 ���� � %����
�� �,���� �
���� � 
���0
����
 �%$������1 ���� δ−(C0) > 09

• �7 � #�
�
�
 $����� ���,�$� C ���� � %����
�� �,���� �� ��� ������$,
G����
� 
���������1 ���� �� �
���� � 
��������� �%$������ ���� ��
��C���� ��������� �
#�,����1 ����� �� ����C�� δ+(C) > 03

H� ��� ��� ���
1 4���� �3�3') ��%$��� ����1 �7 F ′ ⊂ F �� �� ��������� �
#0
#
�
$� ���� �� ��C���� ��������� �
#��� Γ′ ⊂ Γ1 ���� δ+((B|Γ′)F ′ ≤ δ+(BF ) =
01 �� ���� (B|Γ′)F ′ �� ������$, G����
� 
���������3

H� ��� ����� ���
1 7�� ��, x ∈ Γ1 ��� $����� ��% M(x,B/F ) ��
����
����
 �� M(x,BG)3 =� � ������
���� ���, #��� ���� ���� �%��0
��
�1 ��
� δ(x,B/F ) = δ(x,BG)3 ����$��$,1 δ(x,B/G) = δ(x,BF )3 A����
δ+(B/F ) = δ+(BG) = 0 ��
 δ+(B/G) = δ+(BF ) = 03 �

������
�
�� �$�$��$ #�� B �� 
 ��	�
� ���
��� ���� 
 �
�"� ������� �
����
(Γ ⊂ Σ, f) �
����
�	" ��� ���������� (H1), (H2), (H3), (H4) 
	� (H5)$
������ ��
� H ⊂ E �� 
 ������ B��	�
��
	� �����	��� ��	�
�	�	" F 
� 

������ �����	��� *�$�$ 0 � Fx � Hx � Ex ��� 
	
 x ∈ Γ+$ =��	 ��� �������	"
H = F ⊕ (G ∩ H) �� 
 ����	
��� �������	" ��� ��� ���
��� BH $

�����
��
' �� L ⊂ E �� 
 ������ B��	�
��
	� �����	��� ��	�
�	�	" G 
� 

������ �����	���' ���	 ��� �������	" L = (F ∩L)⊕G �� 
 ����	
��� �������	"
�� ��� ���
��� BL$

����(3 ��� �G� ���������� �7 ��� %��%������� #���� ���%$���$, �,������0
��$1 G� ���$$ �
�� %���� ��� C��� ���3 5� %�����
 #, ������
������& �����
��
� %��%�� B0��������� �
##
�
$� H ⊂ E ���������� F �� � %��%�� �
##
�
$�1
��
 ���
�� ���� ��� �%$������ H = F ⊕ (G ∩H) �� ��� 
�������
3 5� ���$$
������
��� ��� ���
�%���� (H1)3

=� ��� ��

$� �7 ��� �������$
�� �7 ��� �����8 M(x,B) ������%��
��� ��
F ��� ������$, ���$$�� ���� ��� ���� ������%��
��� ��G O�����1 ��G∩H)1 ����
�%$������ �� 
�������
 ���� ��, C���� �
#�,����3 ���� �����> �������� G���
��� ���
�%���� ���� ��� �%$������ H = F ⊕ (G∩H) �� ��� 
�������
 ��%$,1
#, 4���� �3)3B1 ��� �8������� �7 �� ��C���� ��������� �
#��� Γ′ ⊂ Γ ����
G���� ��� �%$������ �� ������$, ��� 
�������
3  ���$$��, �3�3'( ���� ������
���� ��� ���,�$�� (B|Γ′)F ��
 (B|Γ′)G∩H ��� �$�� ������$, G����
� 
���������&
G� ��7�� #, 4���� �3�3'* ���� ��� ���,�$� C = (B|Γ′)H �� ������$, G����
�

���������3

=� H �� � %��%�� �
##
�
$� �7 E1 ��� 
�������� �� ������$, ���$$�� ���� d3
��� ��

����� ���
�%���� ����� ��%$��� ���� ������� �3)3'� ��� #� �%%$��

�� C& ����� �� � %���
�#����� C̃ �7 C ���� �� ��C���� ��������� �
#��� Γ̃ ⊂ Γ′

�
�� ����1 7�� ��, x ∈ Γ̃1 �$$ �������$
�� �7 Mx,C̃ ���� ���� ��

$
�3 �
�0
��������1 �����> �3)3'( �$$�G� �� ���
�� ���� ���� %���
�#����� %��������
��� 
���������� 7�� ��, x ∈ Γ̃3



����� �� �����
�� ��

����� 4����� �3(3' ��
 �3(3)1 G� #
�$
 � %���
�#����� B̃ �7 B ����7,���
��� 7�$$�G��� %��%������&

'3 B̃ ������
�� G��� B �
� �7 Γ̃9

)3 B̃ $����� ��� �
##
�
$� H ���������9

(3 ��� �
������ ���,�$� (B̃)/H ������
�� G��� B/H9

�3 ��� ��

��
 ���,�$� (B̃|Γ̃)H �� C̃3
��� 7�$$�G��� $���� OG���� ������
���� ��� �����%�����#�$��, �7 BP G�$$

����$

� ��� %���7 �7 ��� %��%�������&

0���
 �$�$��$ δ−(B̃) < δ(B)$

����(3 !����� C��� ���� (G∩H)(x)1 #���� ��� ��

��
 �� 01 �������� �����0
������� �7 Mx,B 3 =� δ+(BF ) = δ+(BG) = 01 ��� ���

{x ∈ Γ, |δ(x,BH ) − δ(x,B)| ≥ ε}
�� C���� 7�� ��, ε > 03 =� � 
����� ������
����1 δ−(C) = δ+(C) = δ(B) =
δ > 03

 ����
�� ��� ���������� �7 ��� �8��������� �7 ��� 4,�%
��� �%����
� �7
x ∈ Γ̃1 
�
�� ��� %���
�#������ B → B̃3 ��� ��, x ∈ Γ̃&

• σ+(x, B̃) ≤ σ+(x,B)9

• σ−(x, B̃) = ��7
{

σ−(x, C̃), σ−(x,B/H)
}
3

!����� ���� σ+(x,B)−σ+(x,B/H) ��������� �� 0 G��� x ���
� �� ��C���,
#���
�� ���� 
�E������ ������%��
� �� 4,�%
��� �8%������ �7 B ���������

�� G ��
 δ+(BG) = 03 �� ��
�� �� %���� ��� $����1 G� ��� $�7� �� ����7,
����&

��

� �$

lim inf
x→∞

(
σ−(x, C̃) − σ−(x, C)

)
> 0.

��� 
���������� �7 Mx,C̃ ��
 Mx,C ��� ��
�$1 ��
 �$$ ��� �������$
�� �7
Mx,C̃ ���� ��� ���� ��

$
�1 �� ����

σ−(x, C̃) =
1

dim(H)
log |det(Mx,C)|

p(x)
.

���� 
���������� �� ��� %��

�� �7 ��� 
���������� �7Mx,BF
#, dim(H∩

G) = dim(H) − dim(F ) �������$
�� �7 Mx,B ������%��
��� �� G3 ��������1
��� 
�E������ �7 ��, 4,�%
��� �8%����� �7 Mx,BG

��
 ��, 4,�%
��� �8%�0
���� �7 Mx,BF

��������� �� δ �� x → ∞ O���� ��� #� 
�

��
 ����$, 7���
δ+(BF ) = δ+(BG) = 0 ��
 δ+(B) = δ−(B) = δ(B)P3 !�G G� ���&



�+ ������� ��	
����


lim
x→∞

(
σ−(x, C̃) − σ−(x, C)

)
=

(dim(H) − dim(F )) δ(B)
dim(H)

> 0 O�3'P

���� ��%$��� ��� �$��� ��
 ��
� ����$

�� ��� %���7� �7 ��� $���� ��
 �7
;��%������� �3�3'�3 � �

������
�
�� �$�$��$ #�� B �� 
 ��	�
� ���
��� ���� 
 �
�"� ������� �
����
(Γ ⊂ Σ, f) �
����
�	" ��� ���������� (H1), (H2), (H3), (H4) 
	� (H5)$
������ ��
� H ⊂ E �� 
 ������ B��	�
��
	� �����	��� ��	�
�	�	" F 
� 

������ �����	���$ =�� �������	" E = F ⊕ G �	����� �
 ���������	 
 	
���
�
�������	" E/H = F/H ⊕G/H �	 ��� ������	� ���
��� B/H$ =��� �������	" ��
���	 
 ����	
��� �������	" ��� ��� ���
��� BH $

�����
��
' �� L ⊂ G �� 
 ������ B��	�
��
	� �����	���' ���	 ��� �������	"
E/L = F/L ⊕ G/L �� 
 ����	
��� �������	" ��� ��� ���
��� B/L$

��� %���7 �7 ;��%������� �3�3'+ 7�$$�G� ��� ���� ���
���� �� ��� ��� �7
;��%������� �3�3'�1 �� G� �
�� ���� ��� �>���� �7 ��� %���73
����(3 5� %�����
 #, ������
������& �����
�� � %��%�� B0��������� �
##
�0

$� H ⊂ F ��
 ���
�� ���� ��� �%$������ E/H = F/H ⊕ G/H �� ��� 
���0
����
3 ����� 4���� �3�3')1 ��� ����C�� ���� δ+((BF )/H) = δ+((BG)/H) =
0 %������ ���� ��� �G� ���,�$�� (BF )/H ��
 (BG)/H ��� ������$, G����
�

���������3 =� ��� �%$������ E/H = F/H ⊕ G/H �� ��� 
�������
1 �����
�� �� ��C���� ��������� �
#��� Γ′ ⊂ Γ ���� G���� ��� �%$������ �� ������$,
��� 
�������
3 4���� �3�3'* ��%$��� ��G ���� ��� �
������ ���,�$� B/H ��
������$, G����
� 
��������� ���� Γ′3 =� ��� 
�������� �7 E/H �� ������$, $���
���� d ��� ��

����� �,%������� ������� ���� G� ��� �%%$, ������� �3)3'�
O��
 �����> �3)3'(P �� (B/H)|Γ′ & ����� �� �� ��C���� ��������� �
#��� Γ̃ ⊂ Γ′

��
 � %���
�#����� C̃ �7 (B/H)|Γ̃ O%��������� ��� 
����������P �
�� ����1 7��
��, x ∈ Γ̃1 �$$ �������$
�� �7 Mx,C̃ ���� ���� ��

$
�3 !�G1 
���� 4��0

��� �3(3' ��
 �3(3) G� #
�$
 � %���
�#����� B̃ �7 B ����7,��� ��� 7�$$�G���
%��%������&

'3 B̃ ������
�� G��� B �
���
� Γ̃9

)3 B̃ $����� ��� �
##
�
$� H ���������9

(3 ��� ��

��
 ���,�$� (B̃)H ������
�� G��� BH 9

�3 ��� �
������ ���,�$� (B̃)/H ������
�� G��� C̃ ���� Γ̃3

��� 7�$$�G��� $���� O������
������ ��� �����%�����#�$��, �7 BP ����� ���0
�$

�� ��� %���7 �7 ��� %��%�������&

0���
 �$�$�;$ δ−(B̃) < δ(B)$



����� �� �����
�� �D

��� %���7 �7 4���� �3�3'D 7�$$�G� �8���$, ��� %���7 �7 4���� �3�3'�
��
 G� $�� �� �� ��� ���
��3

�

5� ����$

� ��� %���7 �7 ������� �3�3D O��
 ����� �$�� �7 ����0
��� �3)3'�P#, %������ 4���� �3�3'� #�$�G G���� ������
���� ��� 7��� ����
B �� ������$, G����
� 
���������&
0���
 �$�$�7$ =�� �������	" E = F ⊕ G �� 
 ����	
��� �������	" ��� B
���� Γ$

����(3 =� d ≥ 31 ��� �7 ��� �G� �
##
�
$�� F �� G ��� 
�������� �������
���� 23 =��
�� 7�� �������� ���� dim(F ) ≥ 23

����$$ ����1 7�� x ∈ Γ1 �$$ ��� �������$
�� �7 M(x,B) ���� �
$��%$����,
���1 ��
 %���G��� 
������� ��

$�3 4�� F1 ⊂ F #� ��� ���0
���������$ �
#0
#
�
$� ������%��
��� �� ��� �������$
� �7 ���$$��� ��

$
�1 ��
 F2 ⊂ F #�
��� ��
�������� ��� �
##
�
$� 
������
 #, ��� dim(F )−1 ����� �����
����0
�����3 ����� �
##
�
$�� ��� �$���$, ��������� #, B1 ��
 G� ��� �� ���������
�%$������ F = F1 ⊕ F23

����1 ;��%������� �3�3'� �%%$��
 �� L = F2 ⊕ G ��%$��� ���� F2 ≺ G3
�
���������1 ;��%������� �3�3'+ �%%$��
 �� H = F2 ��%$��� ���� ��� �%$������
E/F2 = F/F2 ⊕ G/F2 �� 
�������
3 !����� ���� F/F2 �� ��� %��������� ��
E/F2 �7 ��� �
##
�
$� F11 ��
 ����� ������
�� G��� F1/F2 O�����
��� �� ���
��������� 
��
 �� 4���� �3)3+P3 !�G 4���� �3)3+ ������� ���� F1⊕F2 ≺ G1
���� �� F ≺ G3 �

��� /��	

�0

�� ��%%��� ���� �� ��� ���
$�� G� �����
 %�����
�$, O�����$� M'+NP1 ��� $����
%����
 �,%������� �� 
���������,3 =��
�$$, G� ���� ��� 7�$$�G��� �� ���,�$��&

������
�
�� �$�$�$ >���	 
	
 ����	���	 d 
	
 ������ p' 
	
 �������� ��	�
��
	�K 
	� 
	
 ε > 0' ����� ������ 
	 �	��"�� �p ���� ��
� ��� 
	
K����	���
��	�
� ���
��� A !��� ����	���	 d ���� 
 �������� ����� �� ������ p'

• ������ A 
����� 
	 �p�����	
��� �������	"0

• �� ����� ������ 
	 ε��������
���	 B �� A ���� ��
� ��� %��� �����	 �
�
�
� 
�� ��"�	�
���� ��
� !��� �
�� �������$

���� 7��� ����>�" 4���� ��
 ��� $���� %����
 ��������� �� ���,�$�
O ���$$��, �3)3)*P1 G� �#����

*������ �$�$�$ #�� f �� 
 ������������� �	 
 ����
�� ?���
		�
	 �
	�
�����$ =��	 ��� 
�� ε > 0' ����� �� 
	 �	��"�� N ���� ��
� ��� 
	
 ������� ���	�
x -
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• ������ f 
����� 
	 N �����	
��� �������	" �	 ��� ����� Orbf (x) �� x'

• �� ����� �� 
	 ε��������
���	 g �� f �	 
	 
�����
���
 ��
�� 	��"������
���� �� ��� ����� Orbf (x)' ��
� ��������� ��� ����� �� x' 
	� ���� ��
�
��� #

��	�� ����	�	�� �� g 
� x 
�� 
�� ���
�$

����( �( *������ �$�$� (��� ������
�
�� �$�$� 
�� �����9
�
�! �$�$�< 3 4�� f #� � 
�E�����%���� �7 Diff(M)3 4�� K > 0 #� �
#�
�
 7�� ��� ���,�$� df �� TM 1 ��
 $�� δ > 03 ��8 ε > 0 �� �� ����>�"
4���� )3(3+ G��� ���%��� �� δ ��
 ��� #�
�
 A = K3  ����� n, � ∈ N ��
��  ���$$��, �3)3)*1 G��� ���%��� �� K1 ε ��
 ��� 
�������� d �7 M 3 ��� �$$
p ≤ n1 ������ �p ∈ N �� �� ;��%������� �3�3'3

������ #, �0 ��� $���� ������ �
$��%$� �7 ��� �������� � ��
 �p1 7��
p = 1, ..., n& �7 x �� � %����
�� %���� �
�� ���� ��� ���,�$� df|Orbf (x) ��� ��
�00
�������
 �%$������1 �� ��� ������� ��, �0
�������
 �%$������1 ��� ��, �p0

�������
 �%$������3 ����1 7�� ��, %����
�� %���� x1 #, ;��%������� �3�3' O�7
x ��� %����
 $��� ���� nP ��
 #,  ���$$��, �3)3)* O�7 x ��� %����
 �������
���� nP1 ����� �� � $����� ���,�$� B �
�� ���� dist(df|Orbf (x),B) < ε ��
 B
��� �$$ 4,�%
��� �8%������ ��
�$3 ����>�" 4���� ����� � δ0%���
�#�����
g �7 f �� �� ��#������$, ���$$ �����#�
����
 �7 ��� ��#�� �7 x1 �
�� ����
��� ��#�� �7 x �� %�������
1 ��
 dg|Orbg(x) = B1 �����7��� dgp

|Orb(x) ��� ���$
�������$
�� G��� ��

$� �$$ ��
�$ ��
 
�E����� 7��� 13 �

����( �( ������
�
�� �$�$� 3 4�� K > 0 ��
 d, p ∈ N3 $�� A #� � ���,�$�
�� � #
�
$� E �� �� ��� �,%������� �7 ��� %��%�������3 4�� λ1 < ... < λk #�
��� ��

$� �7 ��� �������$
�� �7 ��� C��� ���
�� ��% Ap3 H�� C�
� � I��
E1 ⊂ E1 ⊂ ... ⊂ Ek = E �7 A ��������� �
##
�
$�� �7 E 1 �
�� ���� 7�� �$$ i1
��� ��

$� �7 ��� �������$
�� �7 Ap ���������
 �� Ei ��� λ1, ..., λi3

4�� F1 = E1 ��
 7�� 1 < i ≤ k $�� Fi #� ��� ���������$ #
�
$� �7 Ei−1

�� Ei3 5� ���� E = F1 ⊕ .... ⊕ Fk3 ���� ��� $����� ���,�$� B 
�C��
 #,
B(vi) = λk/λi.A(vi)1 7�� �$$ 1 < i ≤ k ��
 �$$ vi ∈ Fi1 ��� �$$ �������$
��
G��� ��

$
� ��
�$ �� λk3  $���$,1 7�� ��, ε > 01 ����� �8���� � ��������
δ > 1 
�%��
��� ��$, �� K,d, p O��
 εP �
�� ����1 �7 ��� ����� #��G��� ����
�7 ��� %���� λi+1, λi �� $��� ���� δ1 ���� B �� ε0�$��� �� A3

�����7���1 G� ��� 
��� �7 G� ���G ���� �7 ��� ����� #��G��� ���� %���
λi+1, λi �� ������� ���� δ1 ���� ����� �8���� � ������� N 
�%��
��� ��$, ��
K,d, p ��
 δ1 �
�� ���� ��� ���,$� A �
���� �� N 0
�������
 �%$������3

4�� 1 ≤ i < k ��
 �
%%��� ���� ��� ����� #��G��� λi ��
 λi+1 �� �������
���� δ3 5���� ���� ��� ��������� �%$������ E = F⊕G �
�� ���� ��� �����������
A|F ��� �$$ �������$
�� G��� ��

$� $��� �� ��
�$ �� λi1 ��
 A|G ��� �$$
�������$
�� G��� ��

$� ������� �� ��
�$ �� λi+13

��� ��% Ap
|F ��� ���� $��� ���� Kp1 ����� C�
��� �� ���������$ #����

�7 F �� G���� Ap
|F �� 
%%�� ������
$��1 G� ��� � �%$������ Ap

|F = D + N 1



����� �� �����
�� �B

G���� N �� ������$, 
%%�� ������
$�� ��
 ��� ���� $��� ���� Kp1 ��
 D ��

������$3

���� 7�� �$$ n ∈ N1 G� 
���$�% ��
 G���� Apn
|F = (D + N)n �� ��� �
� �7

%��

��� �7 ��� 7��� T1....Tn G���� Ti ∈ {D,N}1 ��
 N �%%���� $��� ����
d �����3 ����� ��� $��� ���� nd �7 ����� �����1 ��
 ��� ���� �7 �
�� � ����
T1....Tn �� $��� ����

max(‖N‖d, 1). max
i=n−d,...,n

‖Di‖ = Kd.(λn−d
i + λn

i ).

�����7���1 ��� ���� �7 Apn
|F �� $��� ���� (nK)d.(λn−d

i + λn
i )3 !����� ����

λi �� #��G��� K−p ��
 Kp3 A����1 7�� ��, α > 11 ����� �� �� ������� nα


�%��
��� ��$, �� K,d, p ��
 α1 �
�� ���� 7�� ��, 
��� ������ u �� F 1 G�
���� ‖Ap.nα(u)‖ ≤ α.λi

nα 3
�,��������$$,1 ����� �� �� ������� mα 
�%��
��� ��$, �� K,d, p ��
 α1

�
�� ���� 7�� ��, 
��� ������ v �� G1 G� ���� ‖Ap.mα(v)‖ ≥ α−1.λi+1
mα 3

��>� α < δ1/3 ��
 � � �
$��%$� �7 nαmα �
�� ���� δ�/3 > 23 ��� �������
N = �p 
�%��
� ��$, �� K,d, p ��
 δ1 ��
 ��� �%$������ E = F ⊕ G �� N 0

�������
 7�� A3 ����1 �� ����
���
1 ��
� ��� %���7 �7 ;��%������� �3�3'3
�
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=� ��������� ��� Σ 7�� � 
�E�����%���� �7 � ���%��� ����7�$
 �� �
��������
�7 ��
 ��$, �7 ��� ������� #
�
$� TMΣ �#��� S �%$��� ���� �G� ���������
#
�
$��1 ��� C��� #���� 
��7���$, ���������
 #, �� ������� �7 ��� 
�E�����0
%����1 ��
 ��� ����� 
��7���$, �8%��
�
3 = �,%��#�$�� 
�E�����%���� G�$$
#� � 
�E�����%���� �
�� ���� ��� �����0���
����� ��� O��� M)'NP1 �� �,%��#�$��3
���� �� ��
���$��� �� #���� =8��� = ��
 �����7,��� ��� 	� �
��� ��	�����	3
.3;�$�� ��
 �3���$� �������
��
 �� M�DN ����

• =8��� = ��
 	� �
��� ��	�����	 �� ��
���$��� �� Ω0���#�$��,1 ���� ��1
����
���, �� ��, �����#�
���� 
�E�����%����1 #, ����������� �� ��0
�%������ ���0G��
����� ��� OG���� ��%%��� ���� �� #� ��� ����� ���
�0
���� ���P3

• =8��� = ��
 ������ ����������$��, ���
����� �� ��
���$��� �� ���
��
��$
���#�$��,1 ���� ��1 ����
���, �� ��, �����#�
���� 
�E�����%����3

���$� M+)N ���G�
 ���� =8��� = ��
 	� �
��� ��	�����	 ��%$��� Ω0���#�$��,3
��##�� M�(N C��� ���G�
 ���� �� C2 ��%�$��,1 =8��� A ��
 ������ ��������0
��$��, ��%$��� ���
��
��$ ���#�$��,1 ���� ��#����� M��N ���G�
 �� �� C1 ��%�$0
��,3 �� ��� $��� ��������1 �����
� ��R	 M(BN ���%$���
 ��� %���7 ���� C1

���
��
��$ ���#�$��, ��%$��� �,%��#�$����, ��
 ������ ����������$��,3 ��$,���
�� ��R	"� �������
��1 ;�$�� M��N ���G�
 ���� Ω0���#�$��, ��%$��� �,%��#�$��0
��,3 �� G�� #�$����
 �� ��� ��8���� ���� ��� �,%��#�$�� 
�E�����%����� �7 �
���%��� ����7�$
 M G��� Cr 
���� �� ��� ��� �7 
�E�����%����� 7�� ����
r ≥ 13 �
� ���� �� �%%����
 ���� ����� G�� �%�� ���� �7 ���0���
��
��$$, ���0
#$� 
�E�����%����� M+*N ��
 �7 ���0Ω0���#$� 
�E�����%����� M�N3 �
�� �80
��%$�� ��G �#�
�
1 �� 
�������� ≥ 2 7�� C2 ��%�$��,1 ��
 �� 
�������� ≥ 3
7�� C1 ��%�$��,3 ;�$�� %��%���
 �� ������������ ��#
������ �7 ���0�,%��#�$��
#������
� #, $���$ 
�����, �7 �G� �,%� �7 #�7
��������&

B'



B) ������� ��	
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• �����$���� ����������1 ���� ��1 �������, #��G��� ��� ���#$� ��
 
����0
#$� ����7�$
� �7 � %����
�� ��

$� %���� O��#��P1

• ������
���������$ �,�$��1 ���� �� � %��� �7 ��

$� %����� �7 
�E����� ��0

�8 O
�������� �7 ��� 
����#$� ����7�$
P �
�� ���� ��� 
����#$� ���0
�7�$
 �7 ��� ���������� ��� ���#$� ����7�$
 �7 ��� �����3

���� �� ��� %
�%��� �7 ���

���%�	���� �$�$� &�
�
�8 Cr9����
�! 	��%�	����'$ =�� �	��	 �� �
����
����� ��������������' 
	� �������������� 
������	" 
 �������	�� �
	"�	�

�� 
 ����������	���	
� �
��� �� ��	�� �	 Diffr(M)$

�� ��
�� �� ��

, 
,������ �G�, 7��� �,%��#�$�� #������
��1 � G��>
7��� �7 �,%��#�$����, G�� ������
& $�� f #� � 
�E�����%���� �� � ���%���
����7�$
1 K � ���%��� ��������� ���1 ��
 $�� TM|K = E⊕F #� �� ���������
�%$������ �7 ��� ������� #
�
$� ���������
 �� K1 7�� ��� 
��������� df 3 5�
��, ���� ���� �%$������ �� ����	
��� �7 ��
�8 dim(F ) �7 ���� ������� �7 df

��7���$, ��������� ���� O�� �8%��
� $���P ��� C��� #
�
$� ���� ��� �����

���3

��� �8������ ���
$�� �� C1 ��%�$��,1 ��
 ������ 
���$�%����� ���%���
��%� 7�� � %���7 �7 ��� C10
�����, �������
��3 A�G���� �� �
�� ���$� �� ���
 $����� 4���� ��
 ����>�" 4���� �8��� �� Cr ��%�$��, 7�� r > 13 �� ���
7�$$�G���1 G� G�$$ G��> �8�$
����$, �� C10��%�$��,3

�� � ���
�
#���>��� %�%��1 F3 ;
��$� ��
 �3 ���#����� �� M�)N ���G�

��� C1 
�����, �������
�� �7 ;�$�� 7�� �
�7����& � �
�7��� 
�E�����%����
��� #� C1 �%%��8�����
 ������ #, =8��� = 
�E�����%����� �� #, 
�E��0
���%����� �
������� � �����$���� �������,3 =� � C��� ���%1 ���, %����

���� ����� � 
�E�����%���� f ��
 ε > 01 �7 ��� �,%��#�$�� �%$������ �$���
� %����
�� ��#�� �7 f �� ��� 
�������
 ���
�� ���� � C1 ε0%���
�#����� �7
f ������� � �����$���� �������, ���������
 �� ���� ���� ��#��3 ��
��$,1
���, 7�$$�G � �������
� �7 ��R	 M(�N �� ������ � ���$$ ���$� #��G��� ���
�G� �����
��������� #, � %���
#����� �7 ��� 
���������1 ��
� Z#������� ����Z
#��� ����7�$
� O��� M'�1 %��� '()N 7�� � �
�����/��� %���
��P3 = �����

%���
�#����� �$����$, %
���� ��� �7 ��� ����7�$
� �� ���� ��� ����� �� ����
%����3

A�,���� �$����
 ���� #���>����
��� 7�� � %���7 �7 ��� C1 ;�$�� ������0
�
�� �� ������ 
���������1 ��G���� �� %�%�� ��� ,�� #��� ��$����
3 �� M+�N1 43
5�� ��
� ���� ����������� %������� ��G��
� ��1 %������ ���� 7�� � ��������$

�E�����%���� 7�� 7��� �,%��#�$�� 
,������1 7��� �����$���� ����������
��
 7��� ������
���������$ �,�$��1 ��� ������$ ��� �,%��#�$�� ���� �
��� �
%�����$$, �,%��#�$�� �%$������1 G��� ��� �� �G� ���0
���������$ ������$ #
�0

$��3

= G��> ;�$�� �������
�� ��,� ���� ����� �� � 
���� �%�� �
#��� �7 
�E��0
���%���� ���� ��� ������ �����0���$�1 �� �
��� � �����$���� ������������3



����� �� �����
�� B(

�� G�� ���G� #, �������1 K�� ��
 5�� M'�N �� 
�������� (3 ?��, ������$,1
�3 �������� M)(N1 
���� ��� G��>� �7 5�� M+�N ��
 �����

���� �� �������$
G�, �� ��

, ��� 
,������ �$��� ��� ������$ #
�
$��1 %����
 ��� G��> ;�$��
�������
�� �� ��, 
��������&

*������ �$�$�$ =�� ��� �� ��������
�� �������������� 
	� ��� ��� ��
�������������� ��
� 
���� 
 �������	�� �
	"�	�
' 
�� �!� ������	� ���	
���� !���� �	��	 �� ��	�� �	 Diff1(M)$

�� %���� ��� ���� ���
$�� �7 M+�N1 5�� �$����$, ���#���
 4���"� ��$������
$���� O��� M(+NP ��
 ��� ���� ������� �7 � %�����
� %�%�� M+�1 ������� =N1
G���� �� � ������$�/����� �7 ;
��$� ��
 ���#�����"� C��� ���% �7 ����� %���73
;������$,1 5�� ���G�
 ���� �7 7�� ���� ������� 1 ≤ i ≤ d1 ��� i0%��%����
�� ���
O��� ��� �7 %����� ���� ��� #� �
���
 ���� � ��

$� �7 ��
�8 i #, �� ��#������$,
���$$ C10%���
�#�����P 
��� ��� �
��� � 
�������
 �%$������ �7 ��
�8 i1 ����
����� �� �� ��#������$, ���$$ %���
�#����� ���� �
��� f �� �
��� � �����$����
�������,3 A�G���� �� ������� ��� ��

$� 7�� G���� ��� �����$���� �������,
���
�� ��, ���� ��� �8����
 #�7��� ��� %���
�#�����3 �������� ��� ��
�8 �7
���� ��

$� ������ � %����� #� ������$$�
3

H�� ��� �7 ���� %�%�� �� �� �

���� ����� 
�
��$,��� �
�������3 5� G�$$
���G ���� �7 �$��� � ��

$� %���� G��� ����� %����
1 ��� �%$������ #��G���
��� ���#$� ��
 
����#$� 
��������� �� ��� ������$, ���
�� 
�������
1 ����
��� ��� C10%���
�# ��� 
,������ �� �� ��#������$, ���$$ �����#�
����
 �7
��� ��#��1 %��������� ��� ��#�� �7 ���� ��

$�1 ��
 ��� ��
�81 ��
 �������� �
�����$���� �������, ��$���
 �� ��3

= 
�E�����%���� f �7 M �� ���	��� �
 � �7 ��� 
���������� df ��
 df−1

���� ����� $��� ���� A1 ���� ��1 7�� ��, 
��� ������ v ∈ TM 1 G� ����
‖df(v)‖, ‖df−1(v)‖ ≤ A3 �� ������� �3)3( G� ��
�G Diff1(M) G��� � ������
��������$$, ���������
 �� ��� ���������� ���
��
�� �7 M 9 G� ��, ���� g ��
�� ε��������
���	 �7 f �7 ��� 
������� �� f �� $��� ���� ε3

4�� N ∈ N3 5� ��, ���� � ��

$� %���� Q 7�� � 
�E�����%���� f
�� N �����	
���1 �7 7�� ���� 0 ≤ n ≤ N 1 7�� �$$ 
��� ������� u ��
 v
�#��� x1 ������� �� ��� ���#$� ��
 
����#$� ����7�$
�1 ���%������$,1 G� ����
‖dfn(u)‖ < 1/2‖dfn(v)‖3 = �������	�� �
	"�	�
 ��$���
 �� Q �� � %���� ��
G���� ��� ���#$� ��
 
����#$� ����7�$
� �7 Q ��������� ���0����������$,3 5�
��G ��� ����� �
� C��� ���
$�1 G���� %������� 5��"� ���&

*������ �$�$�$ @�� A > 0' ε > 0 
	� 
	 �	��"�� d ≥ 2$ =���� ������
�!� �	��"��� Nd, P > 0 ���� ��
�' �� f �� 
 ������������� ���	��� �
 A
�	 
 d�����	���	
� ?���
		�
	 �
	�����' 
	� Q �� 
 �
���� ���	� �� ������
p > P ' 	�� Nd�����	
���'

���	 ����� ������ 
	 ε��������
���	 �� f �	 
	 
�����
���
 ��
�� 	��"������
���� U �� ��� ����� �� Q' ��
� ��������� ��� ����� �� Q 
	� ��� �	���' 
	�
���
��� 
 �������	�� �
	"�	�
 ���
��� �� Q �	 U $



B� ������� ��	
����


�� %�����
$��1 �7 U �� ���$$ ���
��1 ��� �������, G�$$ #� #��G��� ���
���#$� ��
 
����#$� ����7�$
� �7 � ���� %���� �7 ��� ��#�� �7 Q3 ��������1
��� ��� ��> ���� ��� ��
�8 �7 Q �� %�������
3 ���� �� G��� ;
��$� ��

���#����� ���G�
 �� 
�������� d = 29 G� G�$$ ���G �� 7�� d ≥ 3 �� ������� �3(
#, ��

����� �� ��� 
��������3 �� ��%%��� ���� ��� �������
� G� 
�� ��
�
�%��#$� �� ���� ���� ���������� �
�� �� %��������� � C���� ��� �� ���
������ ���#$�J
����#$� ����7�$
�3 ������� �3'3( ��� #� ���%$���
 ��&

*������ �$�$�$ @�� A > 0' ε > 0 
	� 
	 �	��"�� d ≥ 2$ =���� ������
�!� �	��"��� Nd, P > 0 ���� ��
�' �� f �� 
 ������������� ���	��� �
 A
�	 
 d�����	���	
� ?���
		�
	 �
	�����' 
	� Q �� 
 �
���� ���	� �� ������
p > P ' 	�� Nd�����	
���'

���	 ��� 
	
 %	��� ��� Γ �� ��� �
	�����' ����� ������ 
	 ε��������
���	 ��
f �	 
	 
�����
���
 ��
�� 	��"��������� U �� ��� ����� �� Q' ��
� ���������
��� ����� �� Q' ���
��� 
 �������	�� �
	"�	�
 ���
��� �� Q �	 U ' 
	� ����
��
� �� x ∈ Γ !
� �	 ���� ����	" ��
��� �� �	��
��� �
	����� �� Q' ���	 ��
������ ���$

4�� 
� �8%$��� ��� $��� G��
� �7 ���� ���������& �� ������� +3' G� G�$$
�����

�� ��� ������ �7 I��0���C�
������ 7�� � C���� ��� Γ3 ��� I��0
���C�
������ �7 Γ G��� ���%��� �� � 
,������ �� ��� %���� �7 ��7�������� ����
��$$� 7�� ���� x ∈ Γ G��� �� ��� 
�������� �7 ��� ��������� ���#$�J
����#$�
����7�$
 O�7 ��,P ���� �������� x3 5� G�$$ ��, ���� ��� I��0���C�
������
�7 Γ �� %�������
 #, � %���
�#����� �71 7�� ��, x ∈ Γ1 ��� 
�������� �7 ���
��������� ���#$�J
����#$� ����7�$
 O�7 ��,P ���� �������� x �� %�������
 ��

�������
3 �� ����� G��
�1 �7 x �� �� ���� ����� ���#$� ����7�$
1 �� G�$$
���, �� ��3 5��� ���� �������$��,1 ������� +3'3' ��,� ���� G� ��� �%%$,
������� �3'3( %��������� ��� I��0���C�
������ �7 ��, C���� ��� Γ �7 ���
����7�$
3

������
�! �$�$�$ 2� ��� �������	�� ��
�� H(P, f) �� 
 �
���� ���	� P ��� f
���� 	�� 
���� 
 ����	
��� �������	" �� �
�� �	��� 
� P ' ���	 ����� �� 
	

�����
���
 ��
�� �������
���	 �� f ��
� ���
��� 
 �������	�� �
	"�	�
 ���
���
�� P $

=$���
�� ��� C��� ������� �� � %�����
$�� ���� �7 ��� �����
1 G� G�$$
���G ���� ��%�����$, 7�� ��� ���
��"� �����������1 >��%��� �� ���
 ���� ���
�>�$���� �7 ��� %���7 �7 ��� �����
 �� ���� �7 ��� C���3 ;���
�#��� �� � ���$$
�����#�
����
 �7 Q �� ��
���$��� �� %���
�#��� �
���� �������������� O���
������� �3)3'P3 5� G�$$ ���G O��� ��

����� ;��%�������1 ������� +3�P ����
�� �� �
@����� �� %���� ��� �������� 7�� $����� �,�$�� 
�E�����%����1 �
��
���� ��� �������$
�� �$��� ��� ��#�� ��� �$$ ���$ ��
 %���G��� 
�������3 ����
G�$$ �$$�G �� �������� �� �� ��������� #
�
$�1 �� �� �� �� ��� �
������ #, ��1
�� ��

�� 
��������3

�� ���� ���%���1 G� 7��
� �� ��� %���7 �7 ������� �3'3(3 ��� %���7 �7
������� +3'3'1 �$���
�� �� �� #���
 �� ���� �7 ������� �3'3(1 �� �
�� ����



����� �� �����
�� B�

��������$ ��
 G�$$ #� 
��� ��  ��%��� +3

��� 1������
� �

 ��	����
���	�

)���� ����
� �
$����	
�
�� ��� ������ �
$����	
�
��� ��
� ,����	 ������

4�� E = (E,Σ, π : E → Σ) #� � 
�������� d $����� #
�
$� �#��� � #���
Σ1 ���� ��1 7�� �$$ x ∈ Σ1 ��� C#�� Ex = π−1(x) �#��� x �� � 
�������� d
������ �%���3 =� ����$��$, 
�C��
 �� M'+N ��
 M'(N1 G� ��, ���� � ��
%$� �7
#��������� A = (f : Σ → Σ, A : E → E) �� � ��	�
� ���
��� �� 
�����������
�� E 1 �7 ��
 ��$, �71 7�� �$$ x ∈ Σ1 ��� ��% A ��

��� #, ����������� � ������
�%���� ������%���� 7��� ��� C#�� Ex �� Ef(x)1 ���� ��1 ��� 7�$$�G��� 
������
����
���&

E
A ��

π

��

E

π

��
Σ

f �� Σ

. O�3'P

5� G�$$ �����
�� ��� %�����
$�� ���� �7 �
���� 
������������1 ���� ��1
�
�����%����� A = (f,A) �� #
�
$�� G���� #��� Σ �� C���� ��
 �
�� ����
f �� � �,�$�� %���
������ �7 Σ3 �� ��� 7�$$�G���1 �$$ #
�
$�� �7 ��� 7���
{1, ..., p} × Rd G�$$ #� ��
�G�
1 C#�� #, C#��1 G��� ��� ��������$ F
�$�
���
������ ‖.‖1 ��
 ��
� G�$$ #� ���G�
 #��� �� ���������� ����7�$
� ��
 ������
#
�
$�� �#��� ��� #��� {1, ..., p}3 5� G�$$ 
����� #, 0E ��� ������$ �
##
�
$�
{1, ..., p} × {0} �7 � #
�
$� E = {1, ..., p} × Rd3

"�#�
�
�� �$�$�$ = 
�E�����%���� f �� � #
�
$� E = {1, .., p} × Rd G�$$
#� ���
 �� #� � �
���� ������������� �	 E �7 7�� �$$ 0 < i < p1 G� ����
f(i, 0) = f(i + 1, 0) ��
 f(p, 0) = (1, 0)3

5� ��, ���� p �� ��� ������ �7 �
�� � �,�$�� 
�E�����%����3 5� ��, ����
� �,�$�� 
�E�����%���� �� � #
�
$� E �� � ��	�
� *�
����+ ������������� �7
�������� �� �� � $����� ���,�$�3

"�#�
�
�� �$�$�$ = �,�$�� 
�E�����%���� �� � #
�
$� E = {1, .., p} × Rd

G�$$ #� ���
 �� #� � �
���� ������������� �	 E �7 ��� ��#�� 0E �7 ��� %����
(1, 0) �� � ��

$� 7�� f 1 �3�3 ��� 
��������� dfp(1, 0) ��� �������$
�� �7 ��

$�
���$$�� ��
 ������� ���� 11 #
� ���� ��
�$ �� 13

5� ��, ���� � ��
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�
$� E �� � ��	�
� �
���� �7
�������� �� �� $�����3 K���� � ��

$� 
�E�����%���� f �� E 1 G� 
����� #,
W s(f) O���%3 W u(f)P ��� ���#$� O���%3 
����#$�P ����7�$
 �7 f �� E 1 ���� ��
��� ��� �7 %����� x ∈ E �
�� ���� ��� ���� ‖fn(x)‖ O���%3 ‖f−n(x)‖P ����
�� 0 �� n ���� �� +∞3
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5� ��, ���� � ���$ �
�#�� λ �� �� �������$
� �7 � $����� ��

$� f �� E 1 �7
��
 ��$, �7 ����� �� � %���� x ∈ E �
�� ���� fp(x) = λ.x3 5� ��$$ ��"�	��	���

�����
��� �� λ ��� ��� �7 %����� x �
�� ���� fp(x) = λ.x9 �� �� �� ���������
�
##
�
$� �7 E 1 G��� �������� 
��������3 H#����� ���� � $����� �,�$�� 
�70
7�����%���� ����C�� �$$ ��� 
������$������� ��
 �������$������� %��%������ �7
��� $����� ��%�3

)���� +���	
��
���8 ����
���� �� ����
� �
$����	

����

K���� � �,�$�� 
�E�����%���� f �� E = {1, ..., p} × Rd ��
 �� ���������
�
##
�
$� F ⊂ E 7�� f 1 G� G�$$ ���
��$$, �����
�� ��� ����������� f|F �7 f
�� ��� #
�
$� F 3 ��� #
�
$� F �� ��������$$, ��
�G�
 G��� ��� ���������

F
�$�
��� ������1 ��
 f|F �� � �,�$�� 
�E�����%���� �7 ��� #
�
$� F 3 ����0
����1 �7 f �� � ��

$� 
�E�����%���� ��
 F ���������� #��� ��� �����������
��
 ��� �8%��
��� ����7�$
� �7 f 1 ���� f|F �� � ��

$� 
�E�����%����3

5���� F �� ��� %���G��� 
������� 
����
⊔p

i=1 Fi �7 ��� C#��� Fi ⊂ Ei =
{i}×Rd3 ��� ������ �%���� Fi ���� ���� 
�������� d′3 ��� �
������ �%����
Ei/Fi = {a + Fi, a ∈ Ei} ��� (d − d′)0
���������$1 ��
 ��������$$, ��
�G�

G��� � F
�$�
��� ������ ‖.‖′i 
�C��
 #, ‖a + Fi‖′i = ‖πi(a)‖9 G���� π �� ���
���������$ %��������� �7 a �� ��� ���������$ �%��� �7 Fi3 5� G�$$ 
����� #,
E/F ��� �
������ ������ #
�
$� 
�C��
 �� ��� 
������� 
����

⊔p
i=1 Ei/Fi3 =�

���� #�7���1 �� �� ��������$$, ��
�G�
 G��� � F
�$�
��� ������3
�7 f %�������� ��� 
��������� %���$$�$ �� � O���� ��1 7�� ��, i1 7�� ��,

a ∈ Ei1 f ��

��� � #�������� 7��� a + Fi �� f(a) + Fi+11 �7 i < p1 �� ��
f(a) + F11 �7 i = pP ���� ����� �8���� � 
���
� �,�$�� 
�E�����%���� f/F ��
��� �
������ #
�
$� �
�� ���� ��� 7�$$�G��� ���%� ����
���&

E f ��

π
��

E
π

��
E/F

f/F �� E/F

.

5� ��, ���� f �� � ���� �7 f/F 3 �7 F �������� ������� �$$ ��� ��������0
��� �����
���������1 ��� �$$ ��� �8%��
��� 
���������1 ���� f/F �� � ��

$�

�E�����%���� �7 E/F 3

)���� ��	��	���
��� 
� C1 ��
���(�

4�� M #� � ���������� ����7�$
1 ��� ���������$, ��������
 ��� ���%���3
 �$$ ‖.‖ ��� ���������� ������ �� TM 1 ��
 ∇ ��� ������%��
��� 4���0
 ����� ����������3 5� ����$$ ���� ��� ���������� ��

��� � 
������� �� ����
��������
 ���%����� �7 TM �� ��� 7�$$�G��� G�,& 7�� ��, %����� x, y �� �
���� ��������
 ���%����� �7 M 1 ��
 ��, ������� u ∈ TxM,v ∈ TyM G�

�C��

dist(u, v) = inf{‖v −∇γ(u)‖ + �(γ), γ ∈ Cxy}
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G���� Cxy �� ��� ��� �7 C1 �
���� ���� �� 7��� x �� y1 �(γ) �� ��� $�����
�7 ��� �
��� γ1 ��
 ∇γ(u) ∈ TyM �� ��� %���$$�$ �����%��� �7 ��� ������ u
�$��� γ #, ��� ���������� ∇3 5� �8���
 ��� 
������� �� G��$� TM 1 $������
dist(u, v) = +∞ �7 u ��
 v ��� ��� �� � ���� ��������
 ���%�����3 5���
���� 
�C������ �7 ��� 
�������1 ��� 7�$$�G��� ����
�$��, �� �#���
�&

∀A > 1,dist(A.u,A.v) ≤ A.dist(u, v). O�3)P

= 
�E�����%���� f �7 M G�$$ #� ���
 �� #� ���	��� �
 A > 11 �7 ��
 ��$,
�71 7�� ��, 
��� ������ v ∈ TM 1 G� ���� A−1 ≤ ‖df(v)‖ ≤ A3 ��C��

|f | = sup{‖df(v)‖, ‖df−1(v)‖/v ∈ TM, ‖v‖ = 1},
���� ��1 |f | �� ��� ���$$��� �
�#�� �
�� ���� f �� #�
�
�
 #, A3 5� ��, ����
f �� ���%$, ���	��� �7 ��
 ��$, �7 |f | < ∞3
,��
�2 �$�$�$ 2� f �� ���	��� �
 A' �� 
�� ��� ����������	 f|F 
	� ���
������	� f/F $

"�#�
�
�� �$�$�$ = 
�E�����%���� f �� �� ε��������
���	 �� g 7�� ���
C1 ��%�$��,1 �7 7�� ���� ε0 < ε1 7�� ��, 
��� ������ v ∈ TM 1 G� ����
dist(df(v), dg(v)) ≤ ε0 ��
 dist(df−1(v), dg−1(v)) ≤ ε03

��
� f �� �� ε0%���
�#����� �7 g �7 ��
 ��$, �7 f−1 �� �� ε0%���
�#�����
�7 g−13 �7 �������� g ������
�� G��� f �
���
� � ��� U 1 ���� G� ��, ���� g
�� �� ε��������
���	 �� f �	 U 3 !����� ���� G��� ��� 
�C������ G� ����1 �7
g �� �� ε0%���
�#����� �7 f �� � ���%��� ���1 ���� 7�� ���� ε′ < ε1 g �� ��
ε′0%���
�#����� �7 f 3 ����1 �������� G��� ��� 7�$$�G��� �����>1 G�$$ �$$�G ��
%���
�# �� ε0%���
�#����� �7 f ���� ������� ε0%���
�#����� �7 f 3

,��
�2 �$�$�$ 2� h �� 
	 η��������
���	 �� g' !���� �� 
	 ε��������
���	
�� f ���	 h �� 
	 (η + ε)��������
���	 �� f $ @�� 
	
 ε��������
���	 g �� f '
����� ������ ν > 0 ���� ��
� 
	
 ν��������
���	 �� g �� 
	 ε��������
���	 ��
f $ ��������' �� f �� ���	��� �
 A ���	 g �� ���	��� �
 A + ε' ��������
'
|g| ≤ |f | + ε$

)���# ��	��	���
��� �� ����
�9������ �
$����	
�
���

= ��% g �� � �
���� ε��������
���	 �7 � �,�$�� 
�E�����%���� f �7 ��� #
�
$�
E = {1, ..., p} = ×Rd �7 ��
 ��$, �7 �� �� #��� �� ε0%���
�#����� �7 f 1 ��
 �
�,�$�� 
�E�����%���� �� E 3 5� ��, ���� �� �� � �
���� ���
� ε��������
���	 �7
�������� ��� %���
�#����� �� ��$, $���$1 ���� ��1 g ������
�� G��� f �
���
�
� ���%��� ���3 5� 
�C�� ����$��$, �
���� ε��������
���	1 ��%$����� ��� G��

"�,�$��" #, "��

$�"3

!����� ���� �7 �G� $����� ��

$�� f ��
 g �� E ��� 
�E����� ���� ����� ��
�� ε 7�� G���� f �� �� ε0%���
�#����� �7 g3 ���� �� G�, G� 
�C�� �G� $�����
��

$�� f ��
 g �� #� ��	�
��
 ε������ �7 ��
 ��$, �71 7�� ��, %���� x ∈ E G���
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���� 11 G� ���� ‖f(x) − g(x)‖, ‖f−1(x)− g−1(x)‖ < ε3 F����
�$$,1 G� ��,
7����� ��� �
������� ��	�
��
3

5��� ���%����� �G� ���$$ C10%���
�#������1 � 4�%�����/ ������$ �7 ���

���������� �� ���
�
 �� ��>� �
�� ���� ��� %���
�#�
 ���%������� �� ���$$
� ���$$ %���
�#����� �7 ��� ������$ ���%�������3 A�G���� ���%$� ����������
��� #� ��
� �� ���, %�����
$�� �����&

,��
�2 �$�$�$ #�� f �� 
 ��	�
� *���� 	�����
���
 ���	���+ �
���� ���������
����� �	 
 ��	��� E' �� Φ �� 
 ������������� �� E ��
� �� 
	 ε��������
���	
�� IdE ' ���	 f ◦ Φ 
	� Φ ◦ f 
�� |f |ε��������
���	� �� f $

��������' �� 
 �
���� ������������� f �� ��	�
� �	 U 
	� Φ �� 
	 ε�
�������
���	 �� IdE �	 U ' ���	 f ◦ Φ �� 
	 |f |ε��������
���	 �� f �	 U $ 2�
f−1 �� ��	�
� �	 U ' �� Φ �� 
	 ε��������
���	 �� IdE �	 U ' ���	 Φ ◦ f �� 
	
|f |ε��������
���	 �� f �	 f−1(U)$

0���
 �$�$;$ #�� f �� 
 ��	�
� �
���� ������������� �	 
 ��	��� E' ��� g
�� 
 �
��� ε��������
���	 �� f ' 
	� φ �� 
	 η��������
���	 �� IdE $ =��	 g ◦ φ
�� 
	 ε + η.(|f | + ε)��������
���	 �� f $

����( 3 4�� u #� � 
��� ������ �7 ��� ������� #
�
$� TE 3 4�� v = dφ(u)3
5� ���� dist(v, u) ≤ η1 ��
 ‖v‖ ≤ 1 + η3 ����� f �� $�����1 G� ����
dist(df(v), df(u)) ≤ |f |.dist(u, v)3 �����7���

dist(dg ◦ φ(u), df(u)) ≤ dist(dg(v), df(v)) + dist(df(v), df(u))
≤ ε‖v‖ + |f |.dist(u, v)
≤ ε + η.(|f | + ε) O�3(P

 �������$,1 $�� v = dg−1(u)3 5� ���� ‖v‖ ≤ |g| ≤ |f | + ε3

dist(dφ−1 ◦ dg−1(u), df−1(u)) ≤ dist(dg−1(u), df−1(u)) + dist(dφ−1(v), v)
≤ ε + η.‖v‖
≤ ε + η.(|f | + ε)

A���� g ◦ φ �� �� ε + η.(|f | + ε)0%���
�#����� �7 f 3 �

5� �$�� ����� G����
� � %���7 ��� 7�$$�G��� 
��7
$

0���
 �$�$7$ #�� gk �� 
 �����	�� �� �������������� �	 
 �
	����� M
��
� ��	�� �� 
 ������������ f ��� ��� C1 ������"
$ #�� K �� 
 ����
�� 
	�
Φk �� 
 �����	�� �� �
���� �������
���	� �� IdM �	 K' ��
� ��	�� �� IdM ���
��� C1 ������"
$ =��	 gk ◦ Φk ��	�� �� f ��� ��� C1 ������"
$

=#�
� ����
������ � %���
�#����� �7 � $����� �,�$�� 
�E�����%���� #, �
��������,&

,��
�2 �$�$�$ #�� f �� 
 ��	�
� �
���� ������������� �	 
 ��	��� E' 
	�
g 
 �
���� ε��������
���	 �� f �	 
 ��� U $ =��	' ��� 
	
 ��
� 	����� λ > 1'
��� ������������� λ−1.g ◦ λ.IdE �� 
 �
���� ε��������
���	 �� f �	 λ−1.U $
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5� 
�C�� ��� C1 ���� �7 � ��% f 7��� � ���������� ����7�$
 M
�� ��� ������ #
�
$� E = {1, .., p} × Rd #, ‖f‖ = sup{‖f(x)‖, x ∈ M} +
sup{‖df(v)‖, v ∈ TM, ‖v‖ = 1}3 �� ��� %�����
$�� ���� G���� M = E 1 ���
������� #
�
$� TE ��� #� �
����C�
 �� � ������ #
�
$� {1, ..., p} ×Rd ×Rd3
���� ��

��� �� ���� C#�� � 
������� ���� ������
�� G��� ��� 
������� ����
G� 
�C��
 %�����
�$,3 4�� 
� ����� G����
� � %���7 �� �$�������, $����&

0���
 �$�$�<$ =���� ������ α > 0 ���� ��
�' ��� 
	
 0 < ε ≤ α' �� 
 �
�
ε̃ : E → E ��	�� �
�� %��� �� E �	�� ������' 
	� �
� C1 	��� ���� ��
	 ε' ���	
��� �
� IdE + ε̃ �� 
 ������������� 
	� �� 
 2ε��������
���	 �� ���	���
$

!����� ���� ������$$,1 G� ���� ��� 7�$$�G��� �������� ���������& �7 � ��%
�� �� ε0%���
�#����� �7 �
�����,1 G� ��� G���� �� �� � �
� Id + ε̃1 G���� ε̃ ���
C10���� $��� ���� ε3 ���� G� ���� ���� 
��7
$ ����$$��,&

������
�! �$�$��$ #�� f �� 
 ��	�
� �
���� ������������� �	 
 ��	��� E$
#�� g : E → E �� 
 �
� ���� ��
� ��� 
	
 x ∈ E' f(x) 
	� g(x) 
�� �	 ���
�
�� %��� *��
� ��' ��� �
� f − g �� ��%	��+' 
	� ���� ��
� ��� C1 	���
�� f − g �� ���� ��
	 ε = α/|f |$ =��	 g �� ������������� �� E 
	� �� 

2|f |2ε��������
���	 �� f $

����( 3 5� %
� ε̃ = f − g3 ���� f−1 ◦ g = f−1 ◦ (f + ε̃) = IdE + f−1 ◦ ε̃ #,
$�������, �7 f 3 ����
��1 ��� ��% f−1 ◦ ε̃ ��� C1 ���� ���$$�� ���� |f |ε ≤ α3
��
� 7��� 4���� �3)3'*1 f−1 ◦ g �� � 
�E�����%���� ��
 ���� %������$,
� 2|f |ε0%���
�#����� �7 IdE 3 �, �����> �3)3+1 g = f ◦ f−1 ◦ g �� � 2|f |2ε0
%���
�#����� �7 f 3 �

)���) �	��
�
��	� 
�	��	���
�� ��� �:����
�� ������
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�2�8 0���
 
�� ���� ���� ���	
�� ������)
�
�� ����
�

4�� Σ #� � �
#��� �7 � ����7�$
 M 3 ���� ����� �G� $����� ���,�$�� A ��

B �� TMΣ1 G� 
�C�� ��� 
������� #��G��� ���� �� #� ∞ �7 ���, 
� ��� $�7�
7��� ��� ���� 
,������ �� Σ1 �����G��� G� 
�C��

dist(A,B) = sup
v∈TMΣ,‖v‖=1,ι∈{−1,1}

(‖Aι(v) − Bι(v)‖).

5� ��, ���� �G� $����� ���,�$�� ��� ε������ �7 ��� 
������� 7��� ��� �� �������
�� ������$, $��� ���� ε3 5� C��� ����� G����
� � %���7 � ���, �$������$ $������/�0
���� $���� ���� %���
�#� � �,�$�� 
�E�����%���� �� #� ���
��
 $�����1 ����
��1 $����� �� � �����#�
����
 �7 ��� /���0������� 0E 3

0���
 �$�$��$ #�� f �� 
 �
���� �������������� �	 
 ��	��� E$ =��	
��� 
�� ε > 0' ����� �� 
 �
���� ε��������
���	 �� f �	 
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���
 ��
��
	��"��������� �� 0E ��
� �� ���
��
 ��	�
�' !��� �
�� �����
���� 
� f 
����
0E ' ��
� �� dg0E = df0E $
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�� %�����
$�� �7 g �� � �,�$�� ε0%���
�#����� �7 f 1 ����� �� � �,�$�� ε0
%���
�#����� h �7 f ���� ��� ���� 
��������� �� g �#��� 0E 3 5� ����� ��G �
������� �7 ����>�" 4���� M)+1 $���� '3'N 7�� �,�$�� 
�E�����%�����&

0���
 �$�$�� &1�
�2�'$ #�� A > 0$ =��	 ��� 
�� δ > 0' ����� �� ε > 0
���� ��
� ��� �����!�	" �����- �� f �� 
 �
���� ������������� �	 
 ��	���
E' 
	� �� ���	��� �
 A$ 2� 
 ��	�
� ���
��� B �	 TE0E �� ε������ �� ���
�����
���� �� df ' ���	 ����� �� 
 �
���� δ��������
���	 g �� f �	 
	 
�����
���

��
�� 	��"��������� �� 0E ' ���� ��
� ��� �����
���� �� g 
���� 0E �� B$

5� 
�C�� ��� ��
�
� �7 � %��� (At)t∈[0,1] �7 ���,�$�� �� TMΣ ��

sup
t∈[0,1]

[dist(At,A0)].

�� ��� %�����
$�� ���� G���� ���� %���� �7 Σ �� � ���> 7�� f ��
 7�� A1 G�
G�
$
 $�>� �� >��G G��� ��� #���� �7 ���������� �7 ���� %���� 7�� g �� ���
���� �� 7�� f 3 ���� �� ��� %
�%��� �7 ��� 7�$$�G��� %��%�������&
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�
�� �$�$��$ #�� f �� 
 �
��� ������������� �� 
 ��	��� E' ����
��
� ��� ����� 0E �� 
 �
�������� ��	A ��� f $ #�� At, t ∈ [0, 1] �� 
 �
�� �� ��	�
�
���
���� �	 TE0E �� �
���� �������
 ���� ��
	 ε > 0' ��
� ��
��� 
� A0 = df0E

	� ���� ��
� ��� 
	
 t ∈ [0, 1]' ��� ����� 0E �� 
 ��	A ��� At$ =��	 ����� �� 

�
���� ε��������
���	 g �� f �	 
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���
 ��
�� 	��"��������� �� 0E ����
��
� dg0E = A1' 
	� ���� ��
� ��� �
��	 �� 
���
���	 �� 0E ��� g �� ��� �
��

� ��� f $

5� G�$$ 
�� ���� %��%������� �� 
�������� 2 �� �
�� ��� �������$
�� �7 �
���> �� #� ���$1 %��������� ��� I��0���C�
������ �7 ��� G��$� #���� �7 ������0
���� O��� ������� +3�3)P3
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 ����
�� *��� ��� ������"
 �� ���
����+ �
���
 ��
�
���� ��	�
� �������������� �	 E ���� ��
� 
	
 f ∈ F �� 
 ��	A$ =��	 �����
�� ν > 0 ���� ��
� 
	
 �
���� ν��������
���	 g �� 
	
 f ∈ F �� 
 �
��������
��	A !���� ��
��� �
	����� �� ��� !���� E$
����( 3 5� ��$, ���� � 7�G �$
��& #, ���%�������1 ����� �� �� ������� n ∈ N
�
�� ���� 7�� ��, f ∈ F 1 7�� ��, x ∈ E 1 ‖fn(x)‖ ≤ ‖x‖/23

���� #, ���%������� �7 F ��
 $�������, �7 ��� �$������1 ��� ���
�� ���
����> ���� 7�� ��, n ∈ N1 ����� �� ν > 0 �
�� ���� �7 g �� � �,�$�� ν0
%���
�#����� g �7 f ∈ F 1 ���� 7�� �$$ x ∈ E 1 ‖fn(x)−gn(x)‖ ≤ ‖x‖/33 �����
�G� ����
�$����� ���
�� ���� g �� � �,%��#�$�� ���> G���� ���#$� ����7�$
 ��
��� G��$� E 3 �

����( �( ������
�
�� �$�$�� 3 4�� f #� � $����� �,�$�� 
�E�����%����
�� E = {1, ..., p} × Rn1 ��
 $�� (At)t∈[0,1] #� � %��� �7 $����� ���,�$�� �� ��
��� �,%������� �7 ��� %��%�������3 ��
�1 7�� ���� � < ε1 7�� �$$ t ∈ [0, 1]1 G�
���� dist(A0,At) < �3  ����� 0 < δ < ε − �3
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 �
���� �������
���	 g �� f ' ���� ��
� dg0E = A1'
��� �
��	 �� 
���
����	 ���	" ��� !���� E' 
	� ���� ��
� ��� 
�� x ∈ E' ���
�����
����� dgx 
	� dfx' ���	 
� ��	�
� �
�� ���� Rn �� Rn' 
�� � + δ������
*��
� �� ‖dgx − dfx‖, ‖dg−1

g(x) − df−1
f(x)‖ < � + δ+$

����� �8���� A > 0 �
�� ���� 7�� �$$ t1 ��� $����� �,�$�� 
�E�����%����
ft ���� �
����C�� �� At �� #�
�
�
 #, A3  ����� ε > 0 �� �� 4���� �3)3'(
G��� ���%��� �� A ��
 δ3 ��� 7���$, �7 $����� ���,�$�� (At) �� ���%���1
�����7��� G� ��� �%%$, 4���� �3)3'� ��
 C�
 0 < ν < ε �
�� ���� ��,
�,�$�� ν0%���
�#����� g �7 ��, ft �� � �,%��#�$�� ���> G���� ���#$� ����7�$

�� ��� G��$� E 1 G���� ft �� ��� $����� �,�$�� 
�E�����%���� ���� �
����C�� ��
At3

4�� 0 = t0 < t1 < ... < tk = 1 #� � ���
���� �
�� ���� dist(Ati ,Ati+1) <
ν1 7�� �$$ 0 ≤ i < k3 ���� #, 4���� �3)3'(1 G� C�
 � ���
���� (gi)i=1,...,k

�7 
�E�����%����� �7 0E �
�� ���� 7�� �$$ 0 ≤ i < k1 gi+1 �� � �,�$�� δ0
%���
�#����� �7 fti �� � #�
�
�
 ������
����
 Ui+1 �7 0E 1 G��� ��
�$0
��, �7 
���������� dgi+1 = dfti+1 �#��� 0E 3 5� ��, �%%$, $������/�����
$���� �3)3') �� �
%%��� �������� ���� ��� gi ��� $���$$, $�����1 ���� ��
$����� �� � �����#�
����
 Vi �7 0E 3 �� ����� G��
�1 gi ������
�� $���$$, G���
fti 3

����$$ ���� ���� gi �� � ν0%���
�#����� �7 � $����� �,�$�� 
�E�����%����
ft1 7�� ���� t ∈ [0, 1]1 ��
 #, 4���� �3)3'�1 gi �� � ���> G���� ���#$� ����7�$

�� ��� G��$� E 3 ���� �����> �3)3B1 G� ��, ����
���� ���� �7 ��� gi #, �
���������� ��������,1 ��
 �
%%��� ���� Ui+1 ⊂ gi(Vi)3 5� C� �
��������$,
����� k %���
�#������ ��������1 �� �#���� � $���$ �,�$�� %���
�#����� g �7 f
���� ������
�� G��� fk �� �� �����#�
����
 �7 0E 1 ��
 G���� ���#$� ����7�$

�� ��� G��$� E 3

!��� C��$$, ���� 7�� �$$ x ∈ E 1 ��� 
��������� dgx �� ��
�$ �� ��� 
�����0
���� �7 ���� gi �#��� x1 G���� �� ν0�$��� �� ��� 
��������� �7 fti 3 �����
dist(Ati ,A0 ≡ df) ≤ �1 ��
 ν < δ1 G� ��� ���� ��� 
���������� dgx ��
 dfx1
���� �� $����� ��%� 7��� Rn �� Rn1 ��� � + δ < ε0�$���3 ���� ��
� ��� %���7
�7 ���  $���3

5� ��, ����� ����
���� g #, � ��������,1 ��
 �
%%��� ���� g �� �
%���
�#����� �7 f �� �� ��#������$, ���$$ �����#�
����
3 =%%$,��� ��� ����
��$
� ������� �� ��� ����$
����� �7 ��� �$���1 G� �#���� ���� G��� �
�� �
g ������
� G��� f �
���
� � �
@�����$, ���$$ �����#�
����
 �7 0E 1 �� �� ��
ε0%���
�#����� �7 f 3 5���� ��
� ��� %���7 �7 ;��%������� �3)3'�3 �

��C�� ��� ��% (ε,A) �→ ηε,A 7��� (R+∗)2 �� R+∗ #, ηε,A =
min{α/3A, ε/6A2 , ε}3 A��� 7�$$�G� � $���� �� �
�� � %���
�#����� �7 �
��

$� 
�E�����%���� �� � $���$ %���
�#�����1 %��������� ��� 
,������ �7
��� ������$ %���
�#����� �� � �����#�
����
 �7 ��� /��� ������� 0E 3

0���
 �$�$�� &0�	
�
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�
��'$ #�� ε > 0' ��� f �� ��	�
� �
���� ������
�������� �	 
 ��	��� E = {1, ..., p} × Rd' 
	� U �� 
 	��"��������� �� 0E $
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=��	 ����� �� 
 ���	��� 	��"��������� V �� 0E ���� ��
� �� g �� 
 �
����
ηε,|f |��������
���	 �� f ' ����� �� 
 �
��� ε��������
���	 h �� f ��
� ���	�����
!��� g �	 U 
	� !��� f ' ������� V$ ,�������
 h !����� 
� φ.g + ψ.f !����
φ + ψ �� 
 �
������	 �	�� �	 E$

5� ������ ���� V ��$, 
�%��
� �� U 1 ε ��
 f 1 ��� �� g3
����( 3 �� ������� ��������1 G� %
� η = ηε,A3 4�� φ + ψ = 1 #� � 
���
%�������� �� E 1 �
�� ���� ψ = 1 �� U ��
 ψ = 0 �
���
� � #�
�
�
 �����0
#�
����
 V �7 0E 3 5� ������ ��� ��� V ��
 ��� 
��� %�������� �� ���� ���

��������� �7 φ O�����7��� ���� �7 ψP ��� 
��������� $��� ���� 13

4�� g #� � �,�$�� ηε,|f |0%���
�#����� �7 f 3 ��C�� ��� ��% h �� E #,
h(x) = φ(x).f(x)+ψ(x).g(x)3 ��� �$$ x ∈ E 1 G� ���� f(x)−h(x) = ψ(x).(f−
g)(x) = ψ(x)(f − g)(y)3 ��
� ��� 
������� ‖f(x)− h(x)‖ #��G��� f(x) ��

h(x) �� $��� ���� ψ(x).η ≤ η3 5� ��$�
$��� ��� 
���������&

d(f − h) = dψ.(f − g) + ψ(df − dg)

��
 ��� ����$��$, ���� ‖dx(f − h)‖ < 2.η1 ����� ‖dxψ‖ ≤ 13 A���� ��� ��%
f − h ��� C10���� �����$�, $��� ���� 3η3 5� ����$$ ���� η = ηε,|f | < α/3|f |3
5� �%%$,  ���$$��, �3)3''1 ��
 �#���� ���� h �� � 
�E�����%���� �� E ��
 �
6|f |2η0%���
�#����� �7 f 3 A���� 7�� ��, �,�$�� ηε,|f |0%���
�#����� g �7 f 1 G�
7�
�
 � �,�$�� ε0%���
�#����� h �7 f �� V ���� ������
�� G��� g �� U 3 5����
��
� ��� %���7 �7 ��� $����3 �

>?����
�� 
�� 0
(�
�� 0���
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�� ��� 7�$$�G���1 f �� � $����� �,�$�� 
�E�����%���� ��
 H �� ���������
�
##
�
$�3 �� ���� ������� G� ���G �� G��� �8���� �� �� %����#$� �� �8���

� %���
�#����� �7 ��� ����������� f|H 1 �� �� $�7� � %���
#����� �7 ��� �
������
f/H ���� � %���
�#����� �7 f 3
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 ��	�
� �
���� ������������� �	 

��	��� E = {1, ..., p}' ��
� 
����� 
	 �	�
��
	� ��	��� H 
	� ��� ε < α/|f |$
2� g′ �� 
 �
���� ε��������
���	 �� ��� ����������	 f|H ' ���	 ����� ������ 
 �
����
|f |ε��������
���	 g �� f ��
� ����	�� g′' ��
� �� g|H = g′' 
	� ���� ��
� ���
������	�� g/H 
	� f/H 
�� ��%	�� 
	� ���
�$

�� ��� 7�$$�G��� G� ���
��$$, �
����7, E/H G��� ��� ���������$ #
�
$� D
�7 H �� E 1 ��
� ��� ��������$ %��������� π : E → E/H G�$$ #� ��� ���������$
%��������� πD �� D3 ����
�� πH G�$$ #� ��� ���������$ %��������� �� ���
#
�
$� H3

����( 3 ��C�� ��� ��% g = f ◦πD +g′◦πH �� E 3 5� ���� f = f ◦πD +f|H ◦
πH 1 �����7��� f−g �� 
�C��
 ��
 f−g = (f|H −g′)◦πH 3 ����� ��� 
���������
�7 πH ��� ���� 11 ��
 f|H − g′ ��� C10���� $��� ���� ε1 f − g ��� C10����
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�7 E ��
 � 2|f |2ε0%���
�#����� �7 f 3 ��� 
�E�����%���� g �$���$, ������
��
G��� g′ #, ����������� �� H ��
 ���� �� ��� �
������ #, H3 H#���
�$, g ����
�� E/H1 ���� �� �� D1 �� f 
���3 �� ����� G��
� f/H = g/H3 �

��C�� νε,|f | = min{α/|f |, ηε,|f |
2|f |2 }3 5��� 4���� �3)3'+1 G� ��� ��� 7�$$�G0
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 ���������&
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 ��	�
� �
���� ������������� �	 
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	 �	�
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 �
���� ���
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νε,|f |��������
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 �
���� ���
� ε�
�������
���	 g �� f ��
� ����	�� g′ *�$�$ g|H = g′+' 
	� ���� ��
� ��� ������	��
g/H 
	� f/H 
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����( 3 =%%$, �
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α/|f |$ 2� g′ �� 
 �
���� ε��������
���	 �� ��� ������	� �
���� �������������
f/H �	 E/H' ���	 ����� ������ 
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���� 2|f |2ε��������
���	 g �� f ��
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π
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E
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E/H

g′ �� E/H

. O�3�P

��������' g �
	 �� �����	 ���� ��
�' ��� 
�� x ∈ E/H' ��� ι = ±1' ��
f/Hι(x) = g/Hι(x) ���	 f ι = gι �	 ��� 
I	� ��
�� x + H$

,��
�2 �$�$�<$ �� 
 ��	�����	��' ��� ������������� g �
	 �� �����	 ��
��
� �� ��� ���� x' ��� 
�� n ∈ ιN' !� �
�� f/Hn(x) = g/Hn(x)' ���	 ��� 
��
n ∈ ιN !� �
�� fn = gn �	 ��� 
I	� ��
�� x + H$

2	 �
������
�' �
 ����������	 �� H' gn = fn ��� 
	
 �	��"�� n$

��� $��� ��������� G�$$ #� 
��7
$ �� %��������� �����$���� ��$������1 ��
����7, ���� � �,�$�� 
�E�����%���� �� C��$, I��0���C�
������ ���%������
O
�C��
 �� ������� +3)3)P3

����( 3 5� 
�C�� ��� ��% g : E → E #, g = g′ ◦ πD + πH ◦ f 3 5� $�� ���
���
�� ������ ����

f = πD ◦ f ◦ πD + πH ◦ f O�3�P

= f/H ◦ πD + πH ◦ f O�3+P

�����7��� f − g �� 
�C��
 ��
 G� ���� f − g = (f/H − g′) ◦ πD3 ����� ���

��������� �7 πD ��� ���� 11 ��
 ��� C10���� �7 f/H − g′ �� $��� ���� ε1
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��� C10���� �7 f − g �� $��� ���� ε3 A����1 7���  ���$$��, �3)3''1 g �� �

�E�����%���� �7 E ��
 �� � 2|f |2ε0%���
�#����� �7 f 3

5� ���� πD ◦ g = πD ◦ g′ ◦ πD + πD ◦ πH ◦ f = g′ ◦ πD3 A����1 g �� � $�7�
�7 g′3

5� ��� $�7� �� ����7, ��� $��� ��������� �7 ��� $����& �7 x ∈ E/H �����C��
f/H(x) = g/H(x)1 ���� �� πD ◦ f|D = g′1 ���� g|x+H = g′(x) + πH ◦ f|x+H =
πD ◦ f(x) + πH ◦ f|x+H 3 ����� H �� ��������� #, f 1 G���� �� $�����1 G�
���� f(x + H) = f(x) + H ��
 πD ◦ f|x+H = πD ◦ f(x)3 5� C��$$, ���
g|x+H = πD ◦ f|x+H + πH ◦ f|x+H = f|x+H 3 �7 f/H−1(x) = g/H−1(x) = y1
��
� f/H(y) = g/H(y) ��
 g|y+H = f|y+H 1 ��� ����� �7 G���� �� x + H3
A���� g−1

|x+H = f−1
|x+H 3 ���� ��
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4�� f #� � 
�E�����%���� �7 � ���������� ����7�$
 M 1 ��
 K � ���%���
��������� �
#��� �7 M 3 5� 
����� #, Es(f|K)1 ��� ��
��� ��	��� �7 f|K 1 ����
��1 ��� ��� �7 ������� v ∈ TM|K �7 ��� ������� #
�
$� ���������
 �� K1 �
��
���� ‖dfn(v)‖ ���� �� /��� �� n ���
� �� ��C���,3 5� 
����� #, Eu(f|K) ���
�	��
��� ��	��� �7 f|K1 ���� ��1 ��� ���#$� #
�
$� �7 f−1

|K 3 = ��������� #
�
$�
E �� �	������
 ��	��
���	" 7�� f �7 ��
 ��$, �7 ����� �8���� N > 0 �
�� ����
7�� ��, v ∈ Es1 ‖dfN (v)‖ < 1/23 �� �� �	������
 ���
	��	" �7 ��
 ��$, �7 ��
�� 
��7���$, ����������� 7�� ��� ������� 
,������3

"�#�
�
�� �$�$��$ 5� ��, ���� �� ��������� ���%��� ��� K 7�� f �� �
�
�������� ��� �7 TM|K = Es ⊕ Eu1 �7 Es �� 
��7���$, ���������
 ��
 �7 Eu

�� 
��7���$, �8%��
�
3

4�� 
� 
�C�� ��� ������ �7 
�������
 �%$������1 G���� �� � G��> 7��� �7
�,%��#�$����,3

"�#�
�
�� �$�$��$ =� ��������� �%$������ TM|K = E ⊕ F �7 ��� �������
#
�
$� ���������
 �� K 7�� f 1 �� � ����	
��� �������	" �7 ����� �8���� N �
��
����1 7�� ��, %���� x ∈ M 1 7�� ��, 
��� ������� u ∈ Ex1 v ∈ Fx �#��� x1 G�
���� dfN(u) < 1/2.dfN (v)3

5� G�$$ ��, ���� � �%$������ �� M �����	
��� �7 ��
 ��$, �7 ����� �8���� �
%������� ������� N ≤ M ���� �����C�� ��� �#��� ���
�����3 ���� �� � �$����$,

�E����� 
�C������ 7��� ���� �7 M'(N ��
 M'+N3 = 
��7
$ ������
���� �7 ����
���, 
�C������ �� ���� �7 � �%$������ �� ��� N 0
�������
 ���� �� �� ��� N ′0

�������
 7�� ��, %������� ������� N ′ ≤ N 3

4�� Q #� � %����
�� ��

$� %���� 7�� f 1 
����� #, Orbf (Q) ��� ��#��1 ��

#, TM|Orbf (Q) = Es(Q) ⊕ Eu(Q) ��� �,%��#�$�� �%$������ �$��� ��� ��#��3
5� ��$$ �� �� N �����	
��� �
���� �7 ��
 ��$, �7 ��� �%$������ Es(Q)⊕Eu(Q)



����� �� �����
�� '*�

�� N 0
�������
3 �� ���� �����$�1 G� 
����� #, W s(Q) ��
 W u(Q) ��� ���#$�
��
 
����#$� ����7�$
� �7 ��� ��#�� �7 Q1 ���� �� ��� ��� �7 %����� x �
��
���� ��� 
������� dist(fn(x),Orbf (x)) ���� �� 0 �� n ���� �� +∞J−∞3 =
�������	�� �	���������	 7�� � ��

$� Q �� �� ������������ #��G��� ��� ���#$�
��
 
����#$� ����7�$
� �7 ��� ��#�� �$��G���� ���� �� Q3

"�#�
�
�� �$�$��$ = �����$���� ������������ x 7�� � ��

$� Q �� ��$$�
 �
�������	�� �
	"�	�
 �7 ��� ������������ �7 ��� ������� �%���� TxW s(Q) ��

TxW u(Q) �� ��� ��

��
 �� x3 �, � 
�������� ���
����1 ���� �� ��
���$���
�� ��,��� ���� ��� ���#$� ��
 
����#$� ����7�$
� �7 Orb(Q) 
� ��� ���������
����������$, �� x3

�� ���� ����1 G� ��, ���� x �� � �����$���� �������, ���
��� �� ��� �
����
Q3 �7 �� �%�� �����#�
����
 U �7 ��� ��#�� Orbf (Q) �7 Q �������� ��� ��#��
�7 x1 ���� G� ��, ���� x �� � �������	�� �
	"�	�
 ���
��� �� Q �	 U 3

�� %�����
$��1 G� ��, ���� � �,�$�� 
�E�����%���� f �� � #
�
$� E =
{1, .., p}×Rd �� �� N �����	
��� �
���� �	 E �7 ��
 ��$, �7 ��� %����
�� %����
(0, 0)1 G���� ��#�� �� ��� /��� ������� 0E 1 �� N 0
�������
3 5� 
����� #,
W s(f) ��
 W u(f) ��� ���#$� ��
 
����#$� ����7�$
� �7 ��� ��#�� 0E 7�� f 3
5� ��, ���� ��� ��

$� f 
����� 
 �������	�� �	���������	 O���%3 �������	��
�
	"�	�
P �7 ��� ��

$� %���� (1, 0) �
���� � �����$���� ������������ O���%3
�����$���� �������,P3

��� &���$ �$ )�	��	� �����

��� ��� ��>� �7 ���
�#�$��,1 G� C��� %������ � %���7 ������� �3'3(1 �$���
��
�� �� � G��> ������� �7 ������� +3'3'3 ���� G�$$ �$$�G �� �����

�� �$���$,
��� ���$� G� G�$$ 
�� 7�� ��� %���7 �7 ������� +3'3'3

)���� +�����
�� �� ��� ����	��

 $���$,1 �������� $���$ ������ ���
�
 ���� %���� �7 ��� ��#�� �7 Q1 ����0
��� �3'3( ��� #� ��
���$���$, �����
 �� ����� �7 ��

$� 
�E�����%�����&

*������ �$�$�$ @�� A > 0' ε > 0 
	� 
	 �	��"�� d ≤ 2$ =���� ������ �!�
�	��"��� Nd, P > 0 ���� ��
�' �� f �� 
 �
���� ������������� �	 
 ��	���
E = {1, ..., p} × Rd 
	� �
���%��-

• ��� ������������� f �� ���	��� �
 A'

• ��� ������ p �� "��
��� ��
	 P '

• ��� �
���� f �� 	�� Nd�����	
���'

���	 ����� ������ 
 �
���� ε��������
���	 �� f �	 
	 
�����
���
 ��
�� 	��"��
�������� �� ��� D����������	 0E ��
� 
����� 
 �������	�� �
	"�	�
 �	 U $
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����


5��� ��� 7�$$�G��� %��%�������1 ��� %��#$�� ��� #� ��

��
 �� ���G
������� �3(3' �� ��� ���� G���� f �� $���$$, $�����1 ���� �� $����� �� � �����0
#�
����
 �7 0E 1 ��
 dfp

0E ��� ���$ �������$
�� G��� %���G��� 
������� ��

$�3

������
�
�� �$�$� &,���	�
�� ������
�
��'$ @�� ε > 0 
	� A > 0 
	�

	 �	��"�� d > 0$ =��	 ����� �� 
	 �	��"�� P > 0 ���� ��
�' ��� 
	
 p > P '
��� �����!�	" �����-

�� 
 �
���� ������������� f �	 E = {1, ..., p}×Rd �� ���	��� �
 A' ���	
����� ������ 
 ���
��
 ��	�
� �
���� ε��������
���	 g �� f �	 
	 
�����
���

��
�� 	��"��������� �� 0E ' ���� ��
� dgp

0E �
� ��
� ��"�	�
���� !��� �
��!���
�����	�� ������$

5� ��� ������� M'+1 ������� )3'N �� 7�$$�G�&

*������ �$�$�$ @�� ε > 0' A > 0 
	� 
	 �	��"�� d > 0$ =��	 ����� �� 
	
�	��"�� P > 0 ���� ��
�' ��� 
	
 p > P ' ��� �����!�	" �����-

�� 
 �
���� ������������� f �	 E = {1, ..., p} × Rd �� ���	��� �
 A'
���	 ����� ������ 
	 ε��������
���	 B �� ��� �����
���� df0E ���� ��
� ��� p���
����
�� Bp �� B �
� ��
� ��"�	�
���� !��� �
��!��� �����	�� ������$
����( �( ������
�
�� �$�$� 3 =%%$, �
��������$, ������� �3(3(1 ����>�"
4���� �3)3'(1 ��
 C��$$, $������/� $���$$, #, 4���� �3)3')3 �

5� ����$$ ���� G� 
�C��
 � 
�E�����%���� �� #� � ���
� %���
�#�����
�7 �������1 �7 ���, ������
� �
���
� � ���%��� ���3 5� G�$$ ���G ��G ����
;��%������� �3(3) ��

��� 
� �� ���G ��� 7�$$�G��� %��%�������&

������
�
�� �$�$�$ @�� A > 0' ε > 0 
	� d ≥ 2$ =���� ������ 
	 �	��"��
Nd > 0 ���� ��
�' �� f �� 
 ��	�
� �
���� �	 
 ��	��� E = {1, ..., p}×Rd' 
	�
�
���%��-

• ��� ������������� f �� ���	��� �
 A'

• ��� �
���� f �� 	�� Nd�����	
���'

• �� �
� ��
� ��"�	�
����$
=��	 ����� ������ 
 �
���� ���
� ε��������
���	 �� f ��
� 
����� 
 �������	��
�
	"�	�
$

,��
�2 �$�$�$ � �
���� ������������� f �� ���	��� �
 A 
	� 	�� Nd�
����	
��� �� 
	� �	�
 �� ��� �
���� ������������� f−1 �� ���	��� �
 A

	� 	�� Nd�����	
���$ E������ 
 �
���� ������������� g �� 
 ���
� ε�
�������
���	 �� f ��
� 
����� 
 �������	�� �
	"�	�
' �� 
	� �	�
 �� g−1 ��

 ���
� ε��������
���	 �� f−1 ��
� 
����� 
 �������	�� �
	"�	�
$

=��� ���!�	" ��
� ��� ��	������	� �� ��� ����������	 ���� ��� f �� ������

��	� �� ���!�	" ��
� ���
 ���� ��� f−1$ =��� !��� 
���! �� �� ��
	"� f �	��
f−1 �	 ��� ����� �� ��$
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���� %��%������� �� ��� ���� %��� �7 ��� %���7 �7 ������� �3'3(1 �� G�$$
#� ���G�
 #, ��

����� �� ��� 
�������� d �� ������� �3(3)3 ��� 7�$$�G���
�����>1 G���� ���%$������ �����> �3)3B1 ��,� ���� ���� G� ���� � ��

$�
$���$ %���
�#����� ���� �����C�� ��� ����$
����� �7 ��� %��%�������1 G� ����
� ��

$� $���$ %���
�#����� �� �� ��#������$, ���$$ �����#�
����
 �7 0E ����
�����C�� ��� ���� ����$
�����3

,��
�2 �$�$�$ ������ ��
� g �� 
 �
���� ε��������
���	 �� ��� ��	�
� �
����
f �	 
 ���	��� ��� U ' ��
� 
����� 
 �������	�� �
	"�	�
 �	 U ' ��
� ��' ���
����� �� ��� �
	"�	�
 �� �	 U $ =��	' ��� 
�� λ > 1' ��� ��	��"
���	 �
 λ.Id
�� g' gλ = λ−1.g ◦ λ.Id' �� 
 �
���� ε��������
���	 ��
� 
����� 
 �������	��
�
	"�	�
 �	 λ−1.U $

3�	��' f �
� 
 �
���� ε��������
���	 �	 
	 
�����
���
 ��
�� 	��"������
���� U ��
� 
����� 
 �������	�� �
	"�	�
 �	 ��$

5� ������� M'+1 4���� )3'�N1 G���� ��,� ���� ��, %���
�#����� �7 �
���,�$� ���� �
���� � 
�������
 �%$������ ���$$ �
���� � 
�������
 �%$������3

0���
 �$�$;$ @�� 
	
 A > 0 
	� 
	
 �	��"��� d ≥ 2' N > 0' ����� ��
ν > 0 
	� 
	 �	��"�� M > 0 ���� ��
� �� A �� 
 ��	�
� ���
��� ���	��� �
 A
�	 
 d�����	���	
� ��	��� E' 
	� E = F ⊕G �� 
	 N �����	
��� �������	" ���
A' ���	 ��� 
	
 ν��������
���	 B �� A' ����� �� 
 *�	����+ �	�
��
	� �������	"
E = F ′ ⊕ G′ ��� B ��
� �� M �����	
���' 
	� ���� ��
� dim(F ′) = dim(F )$

5� ���� ���� ��� ��������7��G��
 ����$$��,&

������
�! �$�$7$ @�� 
	
 A > 0 
	� 
	
 �	��"��� d ≥ 2' N > 0' ����� ��
ν > 0 
	� 
	 �	��"�� M > 0 ���� ��
� �� g �� 
 �
���� ������������� �	
E = {1, ..., p} × Rd ��
� �� ���	��� �
 A 
	� N �����	
���' ���	 
	
 �
����
ν��������
���	 f �� g �� �
�� �	��� 
� g' �� M �����	
���$

,��
�2 �$�$�$ =�� ��	��
�������� �� ���� ������
�
 �� ��� �����!�	"- ��� 
	

A > 0 
	� 
	
 �	��"��� d ≥ 2 
	� N > 0' ����� ������ 
	 �	��"�� M > 0 
	�

 ��
� 	����� ν > 0 ���� ��
� "���	 
 �
���� f ��
� �� 	�� M �����	
���'

	
 �
���� ν��������
���	 g �� f �� �
�� �	��� 
� f �� 	�� N �����	
���$

����( �( *������ �$�$� (��� ������
�
��� �$�$� 
�� �$�$� 3 ��8
A > 01 ε > 01 �� ������� d ≥ 23 =%%$, ;��%������� �3(3� G��� ��� #�
�

A+ε/21 G��� ε = ε/2 ��
 G��� 
�������� d �� C�
 ��� ������%��
��� �������
Nd3 !�G ������ ��
 C8 M > 0 ��
 0 < ν < ε/2 �� �����> �3(3B �$$�G� ��

� 7�� N = Nd3 ���� �%%$, ;��%������� �3(3) 7�� �
� ������ ν ��
 A1 ��
C�
 ��� ������%��
��� ������� P03

4�� f #� � d0
���������$ ��

$� #�
�
�
 #, A ���� �� ��� M 0
�������
1
G��� %����
 ������� ���� P03 �, ;��%������� �3(3)1 ����� �8���� � $���$$, $�����
��

$� ν0%���
�#����� g �7 f �� �� ��#������$, ���$$ �%�� �����#�
����
 U
�7 0E ���� ��� %���G��� 
������� ���$ �������$
��3 �, �����> �3(3B1 g ��



'*� ������� ��	
����


��� Nd0
�������
3  �$$ ĝ ��� $����� ��

$� ���� ������
�� G��� g �� �� �%��
������
����
 V �7 0E 3 ��� $����� ��

$� ĝ �� #�
�
�
 #, A+ν ≤ A+ε/21 ���
���$ �������$
�� ��
 �� ��� Nd0
�������
3 �����7���1 #, ;��%������� �3(3�1
����� �8���� � ��

$� $���$ ε/20%���
�#����� ĥ �7 ĝ ���� �
���� � �����$����
�������, �� � %���� x3

�, �����> �3(3+1 7�� ��, �����#�
����
 W �7 ��� /��� ������� 0E 1 ���
��

$� ĥ ��� #� ������ �� ���� �� �� � ε/20%���
�#����� �7 ĝ �� W1 ��
 ��
���� W �������� ��� ��#�� Orbbh(x) �7 ��� �������, x3  ����� W �� ���� ���
�$��
�� �� �� V3

���� 
�C�� h �� #� ��� ��

$� ���� ������
�� G��� g �
���
�W1 ��
 G���
ĥ �� W O��
 �� 7��� �� V1 ����� ĥ ��
 g ������
� �� V \ WP3 ��� g �� ��
ε/20%���
#����� �7 f �� U 1 ��
 h �� �� ε/2 %���
�#����� �7 g �� W ⊂ U 1 G�
���� ���� h �� �� ε0%���
�#����� �7 f �� U 3 ����$$,1 �� h ��
 ĥ ������
� ��
W1 G���� �������� ��� ��#�� �7 ��� �����$���� �������, x �7 ĥ1 x �� �$�� �
�����$���� �������, 7�� h �� W3 ���� ����$

�� ��� %���7 �7 ��� �������3
�

)���� �	��� �� �	�
��
�
�� )���#

�� ��� 7�$$�G���1 G� G�$$ ��$, G��> �� #
�
$��J����7�$
� �7 ��� 7��� E =
{1, ..., p} ×Rd1 ��
�G�
 G��� ��� ��������$ F
�$�
��� ������3 5� G�$$ ���G
;��%������� �3(3� #, ��

����� �� ��� 
�������� d �7 ��� #
�
$� E 3 5� C���
#���I, 
�����#� ��� ���
��
�� �7 ��� 
������������3

=2��	� �( ��� ����(

5� �������� ��� ��

����� %������ �� 
�������� d = 21 ����>� �� � �����
���
���� #, ;
��$� ��
 ���#����� �� M�)N3 �� 
�������� d ≥ 31 G� G����
��� �,%��#�$�� �%$������& E = F ⊕ G1 G���� F �� ��� ���#$� �%��� ��
 G ���

����#$� ���3 �, �����> �3(3�1 G� ��, ��%$��� f #, f−1 ��
 ���
�� ����
F ��� 
�������� ≥ 23

��8 � ���0������$ ��������� �%��� H ⊂ F 1 G��� dim(H) = 13 ���� 4����
�3(3'*1 �7 ��� ��

$� �� ��� ������$, ���
�� 
�������
1 �3�3 �7 ��� �%$������
E = F ⊕ G �� ��� Nd0
�������
 7�� Nd $����1 ���� ��� �7 ��� 7�$$�G���
���
������ ���
��&

• ��� �%$������ E′ = H ⊕ G �� ��� ������$, ���
�� 
�������
 7�� ���
����������� �7 f �� E′ �� ����1 #, ��

����� �,%�������1 G� ��� C�
 �
��

$� $���$ ε0%���
�#����� �7 f|E′ ���� ��� � �����$���� �������,3

• ��� �%$������ F/H⊕G/H �7 ��� �
������ #
�
$� E/H �� ��� 
�������

���
�� 7�� ��� �
������ $����� ��

$� f/H �� ����1 #, ��

����� �,0
%������� G� ��� C�
 � ��

$� $���$ ε0%���
�#����� �7 f/H ���� �
����
� �����$���� �������,3
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�� ��� C��� ����1 #,  ���$$��, �3)3'� G� ��� �8���
 ��� �,�$� $���$ ���$$
%���
�#����� �7 f|E′ �� � �,�$� $���$ ���$$ %���
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��� �����$���� �������, �7 g ��� #� ���� �� ��1 ��
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A����1 G� ��� 
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�1 7�� ���� 2 ≤ d′ ≤ d − 11 �� ������� Nd′

���� ����C�� ��� 7�$$�G��� ���
������&

7�� ��, $����� ��

$� f �7 � #
�
$� {1, ..., p} × Rd′ �
�� ����

• �� �� #�
�
�
 #, A ��
 ��� Nd′0
�������
1



''* ������� ��	
����
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y = x + v G���� v �� � ������ �� H1 G� ���� ‖gk(x) − gk(y)‖ ≤ ‖x − y‖/33

�����7���1 ����� g �� C11 7�� ��, C > 0 ����� �� � �����#�
����
 U �7 0E/H

�
�� ���� �7 x ∈ π−1(U) ��� ���� ������� ���� C1 ���� ‖gk(x)‖ ≤ ‖x‖/23
5� ����$$ ���� (g/H)k[π(x)] = π[gk(x)]1 #, ����
���� 
������ �3�3

��
� 7�� k ������� ���� ���� N ∈ N1 gk(x) #�$���� �� π−1(U)3 �����7���
7�� ��, k ≥ N 1 ‖gk+1(x)‖ ≤ ‖gk(x)‖/2 �7 ‖gk(x)‖ ≥ C3 ���� %����� ����
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����#$� ����7�$
 W u(R) �7 R ���������� ��� ���#$�
����7�$
 W s(S) �7 S1 ��
 ��� 
����#$� ����7�$
 W u(S) ���������� ��� ���#$�
����7�$
W s(R)3 5� G�$$ ���G �� ���� ���%��� ����1 G��� ��� ���� �,%�������
�� �� ������� �3'3(1 �� �� %����#$� �� ������ � �����$���� �������, �� � ��

$�1
%��������� � C���� �
�#�� �7 �,�$�� ����$���� ��� ��

$�3 ;������$,&

*������ �$�$�$ @�� A > 0' ε > 0 
	� 
	 �	��"�� d ≥ 2$ =���� ������ �!�
�	��"��� Nd, P > 0 ���� ��
�' �� f �� 
 ������������� �	 
 d�����	���	
�
?���
		�
	 �
	�����' 
	� Q 
 �������� �
���� ���	�' ��
� �
����
-

• ��� ������������� f �� ������
 ���	��� �
 A'

• ��� �
���� Q �
� ������ p "��
��� ��
	 P 
	� �� 	�� Nd�����	
���'

���	 ��� 
	
 %	��� ��� Σ �� �
���� ���	�� ��
� ���� 
 �
��� !��� Q' �����
������ 
	 ε��������
���	 �� f �	 
	 
�����
���
 ��
�� 	��"��������� U �� ���

''(



''� ������� ��	
����


����� �� Q' ��
� ��������� ��� ����� �� Q' ��
� ���
��� 
 �������	�� �
	"�	�

���
��� �� Q �	 U ' 
	� ���� ��
� Q ����� ����� 
 �
��� !��� �
�� �� ��� ���	��
�� Σ$

= ���� %������ ���
$� �� %����#$�9 G� �����

�� � 7�G 
�C������� ��

���������3 4�� R #� � ��

$� %���� G��� %����
 p1 7�� � 
�E�����%���� f
�� � d0
���������$ ���������� ����7�$
 M3 5� 
����� #, Specf (R) ���
�%����
� �7 dfp(R)1 ���� �� ��� d0
%$� (λ1, ..., λd) �7 ��� �������$
�� �7 dfp(R)
��
���
 G��� �
$��%$����,1 G���� ��� λi ��� ��
���
 #, ���������� ��

$�& 7��
���� 1 ≤ i < d1 |λi| ≤ |λi+1|3

�7 |λi| < min(|λi+1|, 1)1 G� 
����� #, W s,i
f (R) ��� ��� �7 %����� x �7 M

�
�� ����1 7�� ��, ���$ �
�#�� λ > |λi|1 G� ���� dist(fpn(x),Orbf (R)) =
o(λn)1 �� n ���� �� ��C���,3 ���� ��� �� �� i0
���������$ C10�
#����7�$
 �7
W s

f (R)3 5� ��$$ �� ��� i�����	���	
� ����	" ��
��� �
	����� �7 Orbf (R) 7�� f 3
��� �����������1 G� 
�C�� ��� 00
���������$ ������ ����7�$
 �� #� ��� ��#��
�7 R3 �� ���%$�7, ��� ����������1 �7 7�� ���� ������� i1 ��� i0
���������$
������ ���#$� ����7�$
 �7 R 
��� ��� �8���1 ���� G� $�� W s,i

f (R) = ∅3 4�� ���
�������� i1 < ... < ik #� ��� 
��������� 7�� G���� ����� �8���� � ������ ���#$�
����7�$
3 ���� G� ���� W s,i1

f (R) ⊂ W s,i2
f (R) ⊂ ... ⊂ W s,ik

f R = W s
f (R)3

5� ��$$ ���� 7���$, �7 ����7�$
�1 ��� ��
��� <
" �7 R 7�� f 3
�,��������$$,1 �7 �� �8����1 G� 
����� #, W u,i

f (R) ��
 ��$$ i�����	���	
�
����	" �	��
��� �
	����� �7 Orbf (R) 7�� f 1 ��� i0
���������$ ������ ���#$�
����7�$
 �7 Orbf (R) 7�� f−11 ��
 G� 
�C�� ����$��$, ��� �	��
��� <
"3 ���
��, %���� x ∈ M 1 G� 
�C�� ��� <
"��
�� �� x 7�� ��� ��

$� R �7 f �� #� ���
%��� (sx, ux) 
�C��
 #,

sx = inf{i ∈ N/x ∈ W s,i
f (R)}, ux = inf{i ∈ N/x ∈ W u,i

f (R)},
G��� ��� ���������� inf ∅ = +∞3
,��
�2 �$�$�$ #�� x �� �� <
"��
�� (sx, ux)' 
	� i, j �� 
 ���� ��
� i ≥ sx'

	� j ≥ ux$ =��	 �� W s,i

f 
	� W u,j
f �����' 
	 
�����
���
 ��
�� �������
���	

�� f �	 
	 
�����
���
 ��
�� 	��"�������� �� x �	���
��� ��� <
"��
�� �� x
���� (sx, ux) �� (i, j)$

5� G�$$ ��, ���� � %���
�#����� g �7 f ���� %�������� ��� ��#�� �7 ���
��

$� R1 �������� ��� <
"���	%"��
���	 �7 � C���� ��� Γ 7�� f �7 ��
 ��$, �71
7�� ��, x ∈ Γ1 �� %�������� �� 
�������� ��� I��0�,%� �7 x 7�� R1 G���� �����
����&

x ∈ W s,i
f (R) =⇒ x ∈ W s,i

g (R). O+3'P

x ∈ W u,i
f (R) =⇒ x ∈ W u,i

g (R). O+3)P

�� ��� 7�$$�G���1 G� G�$$ ��> 7�� ���� ���� %��������� �,�$�� �� �� ����0
��� +3'3'3 ��� ��, C8�
 C���� ��� Γ1 G� G��� �� C�
 � %���
�#����� ����
������� � ��������� �������,1 ��
 ���%���� ��� I��0���C�
������ �7 Γ3 5�
����� �� %������$,&
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*������ �$�$�$ @�� A > 0' ε > 0 
	� 
	 �	��"�� d ≥ 2$ =���� ������ �!�
�	��"��� Nd, P > 0 ���� ��
�' �� Q �� 
 �������� �
���� ���	� ��� 
 ���������
����� f �	 
 d�����	���	
� ?���
		�
	 �
	����� M' ��
� �
����
-

• ��� ������������� f �� ������
 ���	��� �
 A'

• ��� �
���� Q �
� ������ p "��
��� ��
	 P 
	� �� 	�� Nd�����	
���'

���	 ��� 
	
 %	��� ������ Γ �� M' ����� ������ 
	 ε��������
���	 �� f �	

	 
�����
���
 ��
�� 	��"��������� U �� ��� ����� �� Q' ��
� ��������� ���
����� �� Q' ���
��� 
 �������	�� �
	"�	�
 ���
��� �� Q �	 U ' 
	� �������� ���
<
"���	%"��
���	 �� Γ$

��� 7�$$�G��� �����> G�$$ �$$�G �� ��%$��� f #, f−1 �� ��� %���7� O���
������� +3�3)P3

,��
�2 �$�$�$ g �� 
 �
���� ε��������
���	 �� f ��
� �������� ��� <
"�
��	%"��
���	 �� Γ ��� f ' �� 
	� �	�
 �� g−1 �� 
 �
���� ε��������
���	 ��
f−1 ��
� �������� ��� <
"���	%"��
���	 �� Γ ��� f−1$

!�G G� ���G ���� ���%������ I��0���C�
������ �$$�G� �� %������� �,�$��&

����( �( *������ �$�$�/ (��� *������ �$�$� 3 4�� Q #� � ��

$�
7�� � 
�E�����%���� f 1 ��
 $�� Σ = {R1, ..., Rk} #� � C���� ��� �7 ��

$�� �7
f ���� 7��� ���� � �,�$� G��� Q3 �
%%��� C��� ���� Q �� ��� �� Σ3 ������
#, si O���%������$, uiP ��� �7 ��� ������������� #��G��� W s(Ri) ��
 W u(Q)
O���%������$, #��G��� W u(Ri) ��
 W s(Q)P3 ��� 
���� K = {fn(si), n ∈
N, 1 ≤ i ≤ k}∪ {f−n(ui), n ∈ N, 1 ≤ i ≤ k}∪Σ �� �$���$, � ���%��� ��� ����

��� ��� ��������� ��� ��#�� �7 Q3 ��8 � �����#�
����
 U �7 Orbf (Q) ����

��� ��� ��������� K3 �������� +3'3' ��
 +3'3( ���� ��� ���� �,%�������3

��
�� ����� �,%�������1 #, ������� +3'3(1 G� C�
 � %���
�#����� g �7 f
�� U ���� ������� � �����$���� �������, ��$���
 �� Q �� U 1 ��
 ���%���� ���
I��0���C�
������ �7 Γ = {si, ui, 1 ≤ i ≤ k}3 ��� U 
��� ��� ��������� K1 G�
���� ���� Q ��
 ��, Ri ���$$ 7��� � �,�$�3 A���� ���� %���
�#����� �����C��
��� ���$
���� �7 ������� +3'3'3 �7 Q �� �� Σ1 ���� �� �
���� � �����$����
������������ �� � %���� x1 ���� �

 �� Γ ��� %���� x ��
 �%%$, ������� +3'3(
�� %�����
�$,3 ���� ��� %���� x G�$$ ���$$ #� � �����$���� %����1 ��
 Q G�$$
���$$ 7��� � �,�$� G��� ����$73 ��� ����$
����� �7 ������� +3'3' ��� �����C�
3
�

�7 f �� � ��

$� 
�E�����%���� �� � #
�
$� E 1 ����1 #, �� �#
�� �7
��������1 G� ��$$ i�����	���	
� ����	" ��
��� �
	����� �� f ��
 
����� #,
W s,i(f) ��� i0
���������$ ������ ���#$� ����7�$
 �7 ��� ��#�� 0E �7 (0, 1) 7��
f 3 H7 ��
��� G� 
�� ��� �,��������$ ���������1 ��%$����� ���#$� #, 
����#$�
��
 s #, u3 5� ��� ������� ������� +3'3( �� ����� �7 ��

$� 
�E�����%�����&



''+ ������� ��	
����


*������ �$�$�$ @�� A > 0' ε > 0 
	� 
	 �	��"�� d ≥ 2$ =���� �����
�!� �	��"��� Nd, P > 0 ���� ��
�' �� f �� 
 �
���� ������������� �	 E =
{1, ..., p} × Rd ��
� �
���%��-

• ��� ������������� f �� ���	��� �
 A'

• ��� ������ p �� "��
��� ��
	 P '

• ��� �
���� f �� 	�� Nd�����	
���'

���	 ��� 
	
 %	��� ������ Γ �� E' ����� ������ 
 �
���� ε��������
���	 �� f �	

	 
�����
���
 ��
�� 	��"��������� U �� ��� D��� ������	 OE ' ��
� 
����� 

�������	�� �
	"�	�
 �	 U ' 
	� ��
� �������� ��� <
"���	%"��
���	 �� Γ$

K���� � ��

$� 
�E�����%���� f �� E 1 ��
 � C���� ��� Γ �� E 1 G� G�$$

����� #, Γs ��� �
#��� �7 %����� �7 Γ ���� #�$��� �� ��� ���#$� ����7�$

�7 f 1 ��
 Γu ��� �
#��� �7 %����� ���� #�$��� �� ��� 
����#$� ���3 �� �
�
%���7� G� ��, ���� �� 
� �
��������$, ���, I��0���C�
������0���%������
%���
�#����� �7 � ��

$� 
�E�����%���� f 3 !����� ���� ���� Γs O���%3 ΓuP ��
� �
#��� �7 ��� ���#$� O���%3 
����#$�P ����7�$
 �7 ��, ��

$� %���
�#�����
�7 f ���� ���%���� ��� I��0���C�
������ �7 Γ3

,��
�2 �$�$�$ ��	�� ��� ���	�� �� Γ ��
� 
�� 	�� �	 ��� ��
��� �� �	��
���
�
	������ �� f �� 	�� 
���
� �	 ��� ��	������	� �� ��� �������' �� !��� ��
�	��"� �� ���! �� ��� 
	
 %	��� ������ Γ �� ��� �	��	 W s

f ∪W u
f ' ��
� ��' ����

��
� Γ = Γs ∪ Γu$ E������' �� �� ���
��
 ��I���	� �� ���! �� !��	 ����� ��
	� �
�� {x, y} �	 Γ ���� ��
� x �� 
	 ����
�� �� y �
 f $ =��� �� !�
� !� !���
������� �	 
�� ��� �����!�	"' �� �
�� ���
����	' ���	 �� 	�� ��	���	��$

5� G�$$ ����� �����
���#$, ��

�� ��� %��#$��1 �
�%���� ��� $����� G�

��
 �� ������� �3(3 A�G���� �
�� ���� G��> G�$$ #� ���
�
 ����3

"�� )	��
���� 
	�
����
� �

 �	����

6���� ;���	��
<�� �
(���
	���
��� ��� �
(�����
�����

4�� A #� � $����� ������%���� �7 � ������ �%���3 5� ��, ���� �� ���������
�%��� Eλ �� � "�	��
��D�� ��"�	��������	 G��� �������$
� λ ∈ C1 7�� A1 �7 ��

��$, �7 ��� �7 ��� �G� 7�$$�G��� ���
������ ���
��&

• ��� �%��� Eλ ��� 
�������� ���1 λ �� � ���$ �
�#��1 ��
 A ��

��� �
��������, �7 ����� λ �� Eλ3

• ��� �%��� Eλ ��� 
�������� �G�1 λ �� ��� � ���$ �
�#��1 ��
 A ��
����
���� �� � ����$��

� �7 ����� λ �� ���� �%���3



����� �� �����
�� ''D

5� ��$$ ������ ����������� ��, $����� ������%���� A �7 � ������ �%���
E ���� �
���� �� ��������� �%$������ E = Eλ1 ⊕ ... ⊕ Eλl

1 G���� ��� λi ���
���%$�8 �
�#��� G��� ��

$� 
�E����� 7��� 1 �
�� ���� |λ1| < |λ2| < ... <
|λl|1 ��
 ���� Eλi

�� � ������$�/�
 ������%��� 7�� A3 5� ��$$ "��� �������	"
7�� � ���%$� ������%���� A ��� �%$������ E = Eλ1 ⊕ ... ⊕ Eλl

����
�� G����
G� ��� ��� ���%$����, �7 A3

5� ��, ���� � �,�$�� 
�E�����%���� f �� E = {1, ..., p}×Rd ��� � ������
�����
���� �7 ��
 ��$, �7 dfp ��

��� � ���%$� ������%���� �� ���� C#�� �7 E 3
5� ��$$ "��� �������	" 7�� f ��� �%$������ E = Eλ1 ⊕ ... ⊕ Eλl

����
�� G����
G� ��� ��� ���%$����, �7 dfp3 4�� f #� ��G � $����� �,�$�� 
�E�����%����
�� E 3 5� ��, ���� �� ��������� #
�
$� �� �� ��"�	��	��� �� ��"�	��������	 �7
��
 ��$, �7 ����� �� λ ∈ R �
�� ����1 7�� ��, %���� x �� ��� #
�
$�1 G� ����
fp(x) = λ.x3 ���� G� ��, ���� λ �� ��� �������$
� �7 ���� �����
��������3

�� ��� 7�$$�G��� ��� �
���# ���
��
 G�$$ ���� "�� � �����#�
����
 �7 0E "3
4�� f #� � �,�$�� 
�E�����%���� �� E ���� ��� � ���%$� 
��������� ��
 ��
$���$$, $�����3 ���� ��� ������$�/�
 �����
��������� Eλi

�7 ��� $���$$, $�����
f %����
� $���$ ����7�$
� W loc

λi
���� ��� ��������� #, f �7 ���#$�1 �� #, f−1

�7 
����#$�3 ��� 
���� Wλi
�7 ��� �������� �������� �7 W loc

λi
�7 |λi| < 11

�� %������� �������� �7 |λi| > 11 �� �� ��������� ��#�

�
 ����7�$
 G����
G� G�$$ ��$$ "�	��
��D�� ��"�	�
	����� �� f ���������
 �� ��� �������$
� λi3
H#���
�$,1 ��� ������$�/�
 ���������7�$
 Wλi

�� 
���
�$, 
�C��
 ��
 ��,
%���� x �� �� ��
� 
% O#, %������� �������� �7 |λi| < 11 �� �������� �$��P �� ���
������$�/�
 �����
�������� Eλi

�7 ��� $���$$, $����� f 3

,��
�2 �$�$�$ �	 ��"�	�
	����� �
� 	� �
	
���
� ��
	�	" 
	� ����	��
�	 ��� ��	�
��D
���	 �	� �������$ F� �	�������� ��
� 	����	 �	�
 ��� ��	���
	��	��$

4�� f #� � $����� �,�$�� 
�E�����%���� �� E = {1, ..., p} × Rd G��� �
���%$� 
���������3 ��8 �������� 1 ≤ i < l �
�� ���� 0 < |λi+1| < 13  �$$ d1

��
 d2 ��� 
��������� �7 Eλ1 ⊕ ...⊕Eλi
��
 Eλ1 ⊕ ...⊕Eλi+1

3 5� ����$$ ���
7�$$�G��� �$������$ ���
$��&

������
�
�� �$�$�$ =�� d2�����	���	
� ��
��� �
	����� �� f �� ��%	�� 
	�

����� 
 ����	���	 d1 ����	" ��
��� ����
���	 F ' ���� ��
� ��� 
	
 �
�� ��
���	�� x 
	� y �	 ��� �
�� ��
�' !� �
�� dist(fpn(x), fpn(y)) = O(|λi|n)$
2� �������� f �� ���
��
 ��	�
�' ���	 ��� "�	��
��D�� ��"�	�
	����� Wλi+1

�	�
�������� ��
	�������
' ��
���
 �	��' �
�� �� ��� ��
��� �� F $ @�	
��
' ��� 
	

���	� x ∈ Wλi+1

\0E ' ����� �� 
 ��	��
	� C ���� ��
� ��� 
	
 n "��
� �	��"�'
dist(0E , fpn(x)) = C.|λi+1|n$

,��
�2 �$�$�$ =�� ������ ������������ �� Rd 
�� 
	 ���	 ��	�� ������
�� GL(R, d)$ =�� ������ ������������ !��� ��
� ��"�	�
���� ���� 
	 ���	
��	�� ������ �� ��� ��� �� ������������ !��� ��
� ��"�	�
����$



''� ������� ��	
����


6���� ������ ����

��� ��� 4	��� =�(2	��
���
�( 
�	��	2
���
���

A��� G� �����

�� � %��%���, �� ��� �������$
�� �7 � $����� ��

$� ����
G�$$ �$$�G $���$�/�
 ����������& 
�
�� ���� ���
������1 7��� � ��

$� $���$
%���
�#����� ���� ���%���� ��� I��0���C�
������ �7 � ��� Γ1 G� G�$$ ��� ��

$�
%���
�#������ �� ��#������$, ���$$ �����#�
����
� �7 0E ���� ���%��� ���
���C�
������ �7 Γ ��
 ��� $���$$, 
,������$$, ����
���� �� ��� �������$3
��
�1 G� G�$$ %���$$�$ �����> �3(3+1 ��
 ���%$����� �� �� ����� ��� I��0
���C�
������ ���
��������3

5� ��, ���� � C���� ��� �7 ���%$�8 �
�#��� {λi, 1 ≤ i ≤ l} ���� �
�����	 �������� λ1 �7 ��
 ��$, �71 7�� ��, i ∈ I1 ����� �� �� ������� ni �
��
���� λni

i = λ3 =� ��#������$, ���$$ %���
�#����� �7 ��, C���� ��� {λi, 1 ≤ i ≤
l} �
��� ���� �7 ��� ���
����� θi = arg(λi) �� #� �������
��#$� �� π ��

���� �7 ��� $��������� log |λi| �� #� � ���/��� �������$ �
�#��3 A����1 ��
��#������$, ���$$ %���
�#����� �
��� ���� ��� �� ���� � ���$ ������ �
$��%$�
λ > 11 G���� �$$�G� ��� 7�$$�G��� �����>&

,��
�2 �$�$�$ =�� ����������� �� Rd ���� ��
� ����� ��"�	�
���� �
�� 

�����	 �������� λ > 1' 
�� ��	�� �	 GL(R, d)$ =�� ������������ ��
� �
��
��
� ��"�	�
���� !��� 
 �����	 �������� λ > 1 ���� 
 ��	�� ������ �� ���
��� �� ������������ !��� ��
� ��"�	�
����$

�� �#��
�� ����������1 G� ��, ��, ���� � �
��� ������������� f �
�

 �����	 �������� λ �7 λ �� � ������ �
$��%$� �7 ��� �������$
�� �7 ���
������%���� dfp

0E 3 4�� f #� � $����� �,�$�� 
�E�����%����1 $�� Γ ⊂ E #� �
C���� ���3 ���� G� G�$$ ��, ���� � %���
�#����� g �7 f %���
 �������� ���
<
"���	%"��
���	 �� Γ �7 ��
 ��$, �7

• �� ���%���� ��� I��0���C�
������ �7 Γ1

• gn ������
�� G��� fn �� Γu1 ��
 g−n ������
�� G��� f−n �� Γs1 7�� �$$
n ∈ N3

4�� H #� � �
##
�
$� �7 E 3 �� ��� 7�$$�G���1 π G�$$ 
����� ��� ��������$
%��������� 7��� E �� E/H1 Γ/H G�$$ 
����� ��� %��������� π(Γ) �7 ��� ���
Γ1 ��
 Γ|H ��� ������������ Γ∩H3 5� ��, G���� Γ + H 7�� π−1(Γ/H)3 5�
��, ���� � %���
�#����� g �7 f C��$, ���%���� ��� I��0���C�
������ �7 Γ ��
��� ������	� �
 H �7 ��
 ��$, �7

• g ��
 f �� �� ��� �
������ #, H

• g/H ���%���� ��� I��0���C�
������ �7 Γ/H 7�� f/H

• gn ������
�� G��� fn �� Γu+H1 ��
 g−n ������
�� G��� f−n �� Γs+H1
7�� �$$ n ∈ N3



����� �� �����
�� ''B

H7 ��
���1 ��,��� ���� g C��$, ���%���� ��� I��0���C�
������ �7 Γ1 �����0
�%��
� �� ��,��� ���� g C��$, ���%���� ��� I��0���C�
������ �7 Γ �� ���
�
������ #, ��� ������$ �
##
�
$� 0E 3 ��� 7�$$�G��� 7
�
������$ �����>
������%��
� �� �����> �3(3+&

,��
�2 �$�$�$ #�� f �� 
 ��	�
� �
��� !��� 
 ������ �����
����' 
	� 
 ����
��	 �������� λ > 1$ #�� H �� 
 *�

�� �����
�+ �����	��� �� 0E ' 
	� Γ ��

 %	��� ������ �� ��� "�	��
��D�� ��"�	��������	� �� f $ #�� g �� 
 �
��� ε�
�������
���	 �� f �	 U ��
� %���
 �������� ��� <
"���	%"��
���	 �� Γ *�� ���
������	� �
 H+$ =��	' ��� 
	
 �������� �	��"�� n' ��� �
��� �������������
gλk = λ−k.g ◦ λk.IdE �� 
 �
��� ε��������
���	 �� f ��
� %���
 �������� ���
<
"���	%"��
���	 �� Γ *�� ��� ������	� �
 H+$

"�� &	���������
 &���������
�2 ���
�$�������
�

���� �	��	�� -�%���
�%������


5� G�$$ ����� �� ���� ������� �G� ��������$ %��%�������� ���� G�$$ 
�����#� ���0
���$ ����
������� 
�
�� G���� I��0���C�
������ ���%������ %���
�#������
��� %����#$�3 ���� %������$,1 ����� � �,�$�� %���
�#�����1 �� � 7���$, �7
�,�$�� %���
�#������ �7 � �,�$�� 
�E�����%���� f �� E 1 G� G�$$ ���� ����
���
������ 
�
�� G���� ����� �� � ���$$ ��
 $���$ �,�$�� %��
�#����� �7 f
���� %�������� ���� 
,������$ 7���
��� �7 ��� ������$ �,�$�� %���
�#������
O�
�� �� $���$ #������
� ���
�
 0E 1 $���$ $�������,1 �����$���� �������,1 333P
��
 ���� ���%���� ��� I��0���C�
������ �7 � C8�
 C���� ��� �7 %����� �7 E 3

��� C��� ��� G�$$ #� 
��7
$ �� $������/� $���$$, �� �� %���
�# ��� 
�����0
���� �7 f 1 ���%������ ��� I��0���C�
������ �7 � C���� ��� O��� %���7� �7 4��0
��� +3�3' ��
 +3�3)P3 ��� %���7 �� %���%���
 
���$ ������� +3(3'3

������
�
�� �$�$�$ #�� f �� 
 �
���� ������������� �	 
 ��	��� E =
{1, ..., p} × Rd$ #�� Uk �� 
 �����	�� �� 	��"���������� �� 0E ��
� ��	��
�� 0E ��� ��� 3
������ ������"
' 
	� gk 
 �����	�� �� �
���� �������
���	� ��
f �	 Uk ��
� ��	���"�� �� f ��� ��� C1�������"
$ #�� Γ �� 
 %	��� ������ ��
E$ =��	 ��� 
	
 ε > 0' ��� 
	
 k "��
� �	��"�' ����� ������ 
	 ε��������
���	
g �� f �	 
	 
�����
���
 ��
�� 	��"��������� �� 0E ' ��
� ���	����� !��� gk �	

 	��"��������� �� 0E ' 
	� ��
� �������� ��� <
"���	%"��
���	 �� Γ$

��� �����
 %��%������� G�$$ �$$�G1 
�
�� ���� ���
������1 �� %�������
��� I��0���C�
������ G��� � %���
�#����� �7 f �� 
��� #, ��

����� �� ���

��������1 $�7���� � %���
�#����� �7 � �
������ f/H �7 f #, �� ���������
#
�
$�1 �� �8���
��� � %���
�#����� �7 ��� ����������� f|H �7 f 3 ��� ����1 H
���
� �� #� ������$&

"�#�
�
�� �$�$�$ 5� ��, ���� � �,�$�� 
�E�����%���� f �7 E = {1, ..., p}×
Rd �
���� � ��	��
� ��	��� H �7 f ���� �� ��� �
������ #, H O�� %�����
$�� H
�� ���������P1 ��
 �7 ��� �������$
�� �7 f|H ��� ������$, G��>�� ���� ��� �����



')* ������� ��	
����


�������$
�� �7 f 3 ;������$,1 7�� ��, �������$
� λ �7 ��� �
������ ���,�$�
dfp/H0E 1 7�� ��, �������$
� μ �7 ��� ���������
 ���,�$� dfp

|H 1 G� ����

|λ|, |μ| ≤ 1 ⇒ |μ| < |λ| O+3(P

|λ|, |μ| ≥ 1 ⇒ |μ| > |λ| O+3�P

A��� �� C��� �� 
�7����$ �
�$��� �7 ��� %��%�������& �7 � ���$$ %���
�#�0
���� g �7 � $����� �,$�� 
�E�����%���� f 0 #��� �
������� � ������$ #
�
$�
H 0 C��$, ���%���� ��� I��0���C�
������ �7 Γ #, ����������� �� H ��
 �� ���
�
������ #, H1 ���� G� ��� C�
 � ���$$ %���
�#����� �7 f �� �� ��#������$,
���$$ �����#�
����
 �7 0E 1 ���� ���%���� ��� I��0���C�
������ �7 ��� G��$�
Γ1 ��
 ���� ��� $���$$, ��� ���� 
,������$ 7���
��� �� g3

!�G G� ����� �� %������$,1 ��
 G�$$ %���� �� �� ������� +3(3)3 5� �����

���� ��� ����������� Γ|H �� Γ ∩ H ��
 ���� (ε,A) �→ ηε,A G�� 
�C��
 ��
4���� �3)3'+3

������
�
�� �$�$�$ #�� ε > 0$ #�� f �� 
 ��	�
� �
���� ������������� �	 E
!��� 
 ������ �����
���� 
	� 
 �����	 �������� λ > 1' Γ 
 %	��� ��� �	 ���
�	��	 �� ��� "�	��
��D�� ��"�	��������	� �� f ' 
	� g 
 �
���� ηε,|f |��������
���	
�� f $ 2� H �� 
 ��	��
� ��	��� ��� ���� f 
	� g ���� ��
�

• g|H %���
 �������� ��� <
"���	%"��
���	 �� Γ|H ��� f|H'

• g %���
 �������� ��� <
"���	%"��
���	 �� Γ \ H ��� f ' �� ��� ������	�
�
 H$

=��	 ��� 
	
 ���	��� ��� B �� E' ����� �� 
 �
���� ε��������
���	 h �	 
	

�����
���
 ��
�� 	��"��������� �� 0E ' ��
� �������� ��� <
"���	%"��
���	 ��
Γ' 
	� ���� ��
� g|B = γ.h ◦ γ−1.IdB ��� ���� γ > 0$

�� %�����
$��1 h ��� #� 7�
�
 �� #� ����
���� �� g �� � #�
�
�
 �����0
#�
����
 �7 0E 1 �����7��� �� �����7, dh0E = dg0E 3 ����
��1 �7 g ��� � ����0
�$���� �������, �� � %���� x1 �7 G� ������ B �� ������� ��� O#�
�
�
P ��#��
�7 x �� ��� ��������1 h G�$$ �$�� �
��� � �����$���� �������,3

6���� �	��� �� �	�
��
�
�� 6����

5� ����$$1 G����
� � %���71 ����� 7�$>$��� $�����3 ��� �G� C��� ��� ��
���0
$���3

0���
 �$�$�$ #�� xk �� 
 �����	�� �� ���	�� �	 Rn ��
� ��	�� �� x$ =��	
��� 
	
 	��"��������� U �� x' ��� 
	
 ε > 0' ��� k "��
� �	��"�' ����� ������

	 ε��������
���	 �� Idn �	 U ��
� ��	�� x �	 xk$

0���
 �$�$�$ @�� 
	
 ε > 0' ����� �� 
 �
��� r ���� ��
�' �� x 
	� y 
��
�!� ���	�� �	 
	 ���	 ��� U �� Rn !��� ��
����� ��
���� ��
	 1' �� !� �
��

dist(x, y)
dist(x, E \ U)

< r,



����� �� �����
�� ')'

���	 ����� �� 
	 ε��������
���	 �� Idn �	 U ��
� ��	�� x �	 y$

0���
 �$�$�$ #�� gk �� 
 �����	�� �� �������������� ��
� ��	���"�� ��

 ������������� f ��� ��� C1�������"
$ #�� P �� 
 �������� �
���� ���	�
��� f $ 2� ��� i�����	���	
� ����	" ��
��� �
	����� W s,i(f) �� f ������' ��� k
"��
� �	��"�' �� 
��� ������ ��� gk' 
	� ��� �����	�� W s,i(gk) C1���	���"��
�� W s,i(f) �	 ��� ����
���$ ��������' ��� 
	
 ���	� x ∈ W s,i(f)' ����� ��

 �����	�� xk ∈ W s,i(gk) ���� ��
� ��� �����	�� sup{dist[fn(x), gn

k (xk)], n ∈
N} ��	�� �� D��� 
� k "��� �� ∞$

H7 ��
���1 ��� �,��������$ ��������� ��$
� 7�� ��� ������ 
����#$� ���0
�7�$
�3

5� ���
 ��G ���� 
�C������� ��
 ���������3 4�� f #� � �,�$�� 
�E�����0
%���� ��
 gk #� � ���
���� �7 �,�$�� 
�E�����%�����3 4�� Δ = Δs ∪Δu #�
� C���� ��� �� ��� 
���� �7 ��� ���#$� ��
 
����#$� ����7�$
� �7 f �
�� ����
�� %���� �7 Δ �� �� ������� �7 ������� #, f 3 �� �$$ k ∈ N1 �� �$$ x ∈ Δ1 G�
��������� � %���� xk �7 E 3 $�� Δk = {xk, x ∈ Δ}3 5� ��, ���� ��� ���
����
(gk,Δk) 
�������
��� ��� <
"���	%"��
���	 �7 (f,Δ) �7 ��
 ��$, �7

• 7�� �$$ x ∈ Δs1 ��� ���
���� (gn
k (xk))n∈N

��������� �� ��� ���
����
(fn(x))n ∈ N �� k ���� �� +∞1 ���� ��

sup{dist[fn(x), gn
k (xk)], n ∈ N} →k→∞ 0

• 7�� �$$ x ∈ Δu1 ��� ���
����
(
g−n
k (xk)

)
n∈N

��������� �� ��� ���
����
(f−n(x))n ∈ N �� k ���� �� +∞1 ���� ��

sup{dist[f−n(x), g−n
k (xk)], n ∈ N} →k→∞ 0

• ��� �$$ k ∈ N1 ��� I��0�,%� �7 xk 7�� gk �� $��� �� ��
�$ �� ��� I��0�,%�
�7 x 7�� f 3

5� G�$$ 
����� #, Δu
k OΔ

s
kP ��� ��� �7 �
�� %����� xk ∈ Δk ���� ��� �� ���

���#$� O
����#$�P ����7�$
 �7 gk3 !����� ���� 4���� +3(3+ ������� ���� �7 f
�� � �,�$�� 
�E�����%���� ��
 Δ �� � C���� ��� �� Δs∪Δu1 �7 gk �� � ���
����
�7 �,�$�� 
�E�����%����� ���� ��������� �� f �� Diff1(M)1 ���� ����� �� �
���
����Δk �
�� ���� (gk,Δk) �%%��8������ ��� I��0���C�
������ �7 (f,Δ)3
5� ��G ����� ��� 7�$$�G��� ��������$ $����&

0���
 �$�$;$ 2� 
 �����	�� (gk,Δk) 
�������
��� ��� <
"���	%"��
���	
�� (f,Δ)' ���	 ��� 
	
 	��"��������� W �� Λ = Δs ∪ f−1(Δu)' ����� �� 

�����	�� Φk �� �������
���	� �� IdE �	 W' ��
� ��	�� �� IdE �	 Diff1(E)'

	� ���� ��
� ��� k "��
� �	��"� gk ◦Φk �������� ��� <
"���	%"��
���	 �� Δ
��� f $



')) ������� ��	
����


����( 3 5��� ��� ���� �������� �� %�����
�$,1 G� G���� Δ = {xk, x ∈ Δ}3
��� gk ◦ Φk �� ���%��� ��� I��0���C�
������ �7 Δ 7�� f 1 �� �
@��� ����

• Φk ���
 x �� xk1 7�� �$$ x ∈ Δs ��
 ���
 g−1
k (xk) �� g−1

k (x)1 7�� �$$
x ∈ Δu1

• �� #� �
�����, #, ����������� �� ��� %������� �������� Is
k = ∪n≥1g

n
k (Δs

k)1
��� �������� �������� Iu

k = ∪n≥2g
−n
k (Δu

k)1 ��
 �� � �����#�
����
 �7
0E 3

��
��
1 ��� %������� ��#�� �7 ��, x ∈ Δs #, �
�� gk ◦ Φk ������
�� �7��� ���
C��� ������� G��� ��� %������� ��#�� �7 xk #, gk3 ��� 
�E�����%���� gk ◦ Φk

������
�� G��� gk �� � �����#�
����
 �7 0E 1 �����7��� x ��� ���� I��0�,%�
7�� gk ◦ Φk �� xk 7�� gk1 G���� �� $��� �� ��
�$ �� ��� I��0�,%� �7 x 7�� f 3
��
� gk ◦ Φk ���%���� ��� I��0���C�
������ �7 Δs 7�� f 3 ��� 
����#$� ����
�� �,��������$3

!�G G� ���� �� ���G ���� ����� � �����#�
����
 W �7 Λ1 ��
 ε > 01
7�� k ����� ���
��1 G� ��� C�
 �� ε0%���
�#����� Φk �7 IdE �� W ����
�����C�� ����� ���
������3 �, �,%�������1 ��� ���
���� Is

k ��������� �� Is =
∪n≥1f

n(Δs)1 ��
 ��� ���
���� Iu
k ��������� �� Iu = ∪n≥2f

−n(Δu)1 7�� ���
A�
�
��E ��%�$��,3 ��
� ��� �����
� 
������� 7��� Λ �� Ik = Is

k ∪ Iu
k

O���� �� ��� ��C�
� �7 ��� 
�������� dist(x, y) G���� x ∈ Λ ��
 y ∈ IkP ����
�� ��� �����
� 
������� ρ 7��� Λ �� I ∪ 0E 3 5� ���� ρ > 0 ����� G� %
�
�
���$��� 
�
�� ��� ���
������ ����� #, �����> +3'3+3

4�� W #� � 
���� �7 �$���
 #�$$� Wx �7 ��
�
� $��� ���� ρ/21 �������
 ��
x �7 x ∈ Δs ��
 �������
 �� f−1(x) �7 x ∈ Δu3 �� �� 
������� 7��� 0E 1 ��
 7��
k ����� ���
��1 W 
��� ��� ��������� Is

k ��� Iu
k 3 A����1 � %���
�#����� Φk

�� W �����C�� ��� �����
 ���� 7�� k ����� ���
��3
��� 
�������� dist(x, xk)1 dist(g−1

k (x), f−1(x)) ��
 dist(g−1
k (xk), f−1(x))

�� �� /��� �� k ���� �� ∞3 5� ��� �%%$, 4���� +3(3� �� ���� Wx ��
 C�
1
7�� ��, k ����� ���
��1 �� ε0%���
�#����� �7 IdE �� W ���� ���
� x �� xk

��
 g−1
k (xk) �� g−1

k (x)3 ���� ��
� ��� %���7 �7 ��� $����3 �

����( �( ������
�
�� �$�$� 3 ��8 f 1 Γ ��
 ��� ���
����� Uk ��
 gk

�� �� ��� �,%������� �7 ��� $����3 �, �����> +3'3+1 G� ���
�� ���� Γ =
Γs ∪ Γu1 ��
 ���� ����� �� �� %���� �7 Γ ���� �� �� ������� �7 ������� #, f 3
��8 ε > 0 ��
 �� �%�� �����#�
����
 U �7 0E 3 ��� ���� l ∈ N1 ��� ���
Λ = f l(Γs) ∪ f−l−1(Γu) �� � �
#��� �7 U 3 ��C�� Δ = f l(Γs) ∪ f−l(Γu)3

4�� W #� � ���%��� �����#�
����
 �7 Λ �� U ���� 
��� ��� ��������� 0E 3
�, 4���� +3(3+1 ����� �� � ���
���� Δk �
�� ���� (gk,Δk) �%%��8������
��� I��0���C�
������ �7 (f,Δ)3 5� �%%$, 4���� +3(3D ��
 C�
 � ���
����
Φk �7 �,�$�� %���
#������ �7 IdE �� W ���� ���
� �� IdE �� Diff1(E) ��

�
�� ����1 7�� k ����� ���
��1 gk ◦ Φk ���%���� ��� I��0���C�
������ �7 Δ
7�� f 3 ��� ��, k ∈ N1 gk ◦ Φk �� � �,�$�� 
�E�����%���� ���� ������
�� G���
gk �
���
� W1 �����7��� ������
�� G��� f �
���
� W ∪ Uk3



����� �� �����
�� ')(

���� 4���� �3)3�1 ��� ���
���� gk ◦ Φk ��������� �� f 7�� ��� C10
��%�$��,3 �����7���1 7�� k ����� ���
��1 gk ◦ Φk �� � �,�$�� ε0%���
�#�����
�7 f �� W ∪ Uk ���� ���%���� ��� I��0���C�
������ �7 Δ 7�� f 3  ����� W
�� ���� �� 
��� ��� ��������� ��� ���� f i(Γs) 7�� i = 0, ..., l − 11 ��
 f j(Γu)
7�� j = −l, ..., 0 ��
 ������ k ����� ���
�� �� ���� Uk 
��� ��� ���������
����� ���� ����3 ����1 7�� k ����� ���
��1 g = gk ◦ Φk ���%���� ��� I��0
���C�
������ �7 Γ 7�� f 3 5� 7�
�
 7�� k ����� ���
�� �� ε0%���
�#����� g �7
f �� U ���� ���%���� ��� I��0���C�
������ �7 f 1 ��
 ���� ������
�� G��� gk

�� � �����#�
����
 �7 0E O����� ��� ���%��� ��� W 
��� ��� ��������� 0EP3
���� ��
� ��� %���7 �7 ;��%������� +3(3'3 �

6���� �	��� �� �	�
��
�
�� 6����

0���
 �$�$7$ #�� H �� 
 ��	��
� ��	��� ��� 
 �
���� ������������� f ��
E$ 2� ��� i�����	���	
� ����	" ��
��� �
	����� W s,i(f/H) �� f/H ������' ��

��� ������ ��� f 
	� ��� �
	�	��
� ���������	 π : E → E/H �	����� 
 ������
�������� ���� W s,i(f) �	 W s,i(f/H)$ 2� ��� i�����	���	
� ����	" �	��
���
�
	����� W u,i(f/H) �� f/H ������' ���	 �� ������ ��� f 
	� π �	����� 

������������� ���� W u,i(f) �	 W u,i(f/H)$

����( 3 �
%%��� ���� ��� i0
���������$ ������ ���#$� ����7�$
 W s,i(f/H)
�7 f/H �8����3 ���� G� G���� ��� ���
���� λ1, ..., λk �7 ��� �������$
�� �7
f/H1 ��
���
 G��� �
$��%$����,1 ��
 ��
���
 #, ���������� ��

$� O�7 ��
���
k ≥ iP3 5� ���� |λi| < 11 ��
 �7 k > i1 ����� �� � ��% #��G��� ��� i0�� ��
 ���
(i+1)0�� �������$
�1 ���� ��1 |λi| < |λi+1|3 ����� H �� ������$1 ��� �������$
��
�7 f/H ��� ������$, �������� ���� ����� �7 f|H 1 �����7��� ��� i0�� �������$
�
�7 f �� �$�� λi ��
 ����� �� � ��% #��G��� �� ��
 ��� ��8� �������$
�3 A����
f ��� �� i0
���������$ ������ ���#$� ����7�$
3

��� ��, x ∈ W s,i(f)1 ��
 7�� ��, λ > |λi|1 G� ���� ‖fn(x)‖ = o(λn)3
����� π �� � %���������1 ‖f/Hn ◦π(x)‖ = ‖π ◦fn(x)‖ = o(λn)3 ��
� f/H(x)
�� �� ��� i0
���������$ ������ ���#$� ����7�$
 �7 f/H3 ��� #
�
$� H ��
$���$$, ���������� �� W s,i(f) �� 0E 1 ����� ��� �������$
�� �7 f|H ��� ������$,
G��>�� ���� λi3 ;������$,1 G� C�
 � �����#�
����
 U �7 0E �� ��� $���$
W s,i(f)1 �� G���� ��� C#��� �7 ��� 7��� x + H ���� W s,i(f) ����������$,3
����� 7�� �$$ n ∈ N1 f−n ���
� ��� C#��� x + H �� ������1 ��
 W s,i(f) ��
����$71 ��� C#��� x + H ���� W s,i(f) ����������$, �� ��� %�������� f−n(U)3
��� 
���� �7 ����� �� W s,i(f)3 A���� ��� %��������� π : E → E/H 
�C��� ��
��������� πi 7��� W s,i(f) �� ��� �����3

5� ��� $�7� �� ���G ���� ���� ��������� �� � #�������� 7��� W s,i(f) ��
W s,i(f/H)3 ����� πi �� �� ��������� ��
 ��� ����� �������� 0E 1 �����W s,i(f)
��
 W s,i(f/H) ���� ���� 
��������1 � �����#�
����
 U �7 0E �� W s,i(f)
�� ���� #��������$, #, πi �� � �����#�
����
 V �7 0E �� W s,i(f/H)3 5� ��,
������ U ��
 V �
�� ���� f(U) ⊂ U ��
 f/H(V) ⊂ V3 !��� ����1 ����� ���
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7�$$�G��� ���%� ����
���

E f ��

π
��

E
π

��
E/H

f/H �� E/H

O+3�P

G� ���� πi = f/H−n ◦ πi ◦ fn3 4�� πi,U #� ��� ����������� �7 πi �� U 3 ��
�� � #��������3 �����7���1 πi,f−n(U) = f/H−n ◦ πi,U ◦ fn �� � #�������� 7���
f−n(U) �� f/H−n(V)1 ��
 ������
�� G��� πi3 =� ��� ���
����� f−n(U) ��

f/H−n(V) �������� �� W s,i(f) ��
 W s,i(f/H)1 ���%������$,1 G� ��� ���� πi

�� � #�������� 7��� W s,i(f) �� W s,i(f/H)3  �����
���$,1 π ��

��� #, ��0
��������� � 
�E�����%���� 7��� W s,i(f) �� W s,i(f/H)3 ��� ������ 
����#$�
���� �� �,��������$3 �

������
�! �$�$�$ #�� H �� 
 ��	��
� ��	��� ��� 
 ��	�
� �
���� ���������
����� f �� E !��� 
 ������ �����
����$ #�� x ∈ E \ H �� �	 
 "�	��
��D��
��"�	��������	 �� f ' 
	� ��� (sx, ux) �� ��� <
"��
�� ��� f $ =��	

• ������ x �� �	 ��� ��
��� �
	����� �� f 
	� sx �= +∞$ =��	 f/H �
� 
	
sx�����	���	
� ����	" ��
��� �
	�����' 
	� ��� sx�����	���	
� ����	"
��
��� �
	����� �� f �� ��	� �	 �� �
 π ������������
��
$

• �� x �� �	 ��� �	��
��� �
	����� �� f 
	� ux �= +∞$ =��	 f/H �
� 

ux�����	���	
� ����	" ��
��� �
	�����' 
	� ��� ux�����	���	
� ����	"
�	��
��� �
	����� �� f �� ��	� �	 �� �
 π ������������
��
$

����( 3 4�� x ∈ E \H #� �� � ������$�/�
 �����
�������� �7 f ��
 $�� λx, λ̄x

#� ��� ������%��
��� �������$
�O�P Oλ ����� #� ���$P3 ����� f ��� ���%$�

���������1 |λx| �= 11 �����7��� x �� ������ �� ��� ���#$� ����7�$
 �� �� ���

����#$�3 �
%%��� �� �� �� ��� ���#$� O��%$��� f #, f−1 7�� ��� ����� ����P3
5� ����$$ ���� sx G�� 
�C��
 �� #� ∞ G��� x �� ��� �� ��, ������ ���#$�
����7�$
3 ���� sx �= ∞3 ����
��1 �� x /∈ H1 x �� ��� �� 0E ��
 sx > 03

���� G� ��� G���� ��� ���
���� �7 ��� sx C��� �������$
�� λ1, ..., λsx �7
f 1 ��
���
 G��� �
$��%$����,1 ��
 ��
���
 #, ���������� ��

$�3 !����� ����
λsx = λx �� λ̄x3 ����� H �� ������$ ��
 
��� ��� ������� x1 ��� �������$
��
�7 H ��� ������$, G��>�� ���� λsx 3 �����7���1 ��� ���
���� λ1, ..., λsx �� �$��
��� ���
���� �7 ��� sx C��� �������$
�� �7 f/H ��
���
 G��� �
$��%$����,3
���� ���G� ���� f/H �
���� �� sx0
���������$ ������ ���#$� ����7�$
3 5�
����$

� G��� 4���� +3(3�3 �

5� ��� ��G ���
, �� %���� ;��%������� +3(3(3 5� %
� �
���$��� 
�
��
��� �,%������� ��
 ���������1 G� 
�C�� Δ = Γ \ H1 Δs = (Γ \ H) ∩ W s(f)1
Δu = (Γ \H)∩W u(f)1 ��
 Λ = Δs ∪ f−1(Δu)3 �� ��� 7�$$�G���1 G� 
�����
ηε,|f | ���%$, #, η3 ��� �$$ k ∈ N1 G� 
�C�� gk = λ−k.g ◦ λk.IdE 3
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5� G�$$ ���G ��� %��%������� �� ����� ���%�& G� G�$$ C��� ���G ���� �����
�� � ���
���� Δk �7 C���� ���� �
�� ���� (gk,Δk) �%%��8������ ��� I��0
���C�
������ �7 (f,Δ)3 �, 4���� +3(3D1 7�� ��, �����#�
����
 W �7 Λ1
���� G�$$ %����
� � ���
���� Φk �7 �,�$�� %���
#������ �7 IdE ��W ���� ���
�
�� IdE �� Diff1(E) ��
 �
�� ����1 7�� k ����� ���
��1 ĝk = gk ◦ Φk C��$,
���%���� ��� I��0���C�
������ �7 Δ 7�� f 3 ���� G� G�$$ ����
���� ����� ĝk

#, � ��������, λ�.IdE 1 �� �#���� � %���
�#����� h �� �� ��#������$, ���$$
�����#�
����
 �7 0E 3  ������� k ��
 � ����� ���
��1 �
�� �� h G�$$ �����7,
��� ����$
����� �7 ��� %��%�������3

��

� �<$ =���� �� 
 �����	�� Δk �� %	��� ���� ���� ��
� (gk,Δk) 
�������
�
��� ��� <
"���	%"��
���	 �� (f,Δ)$

����( 3 4�� x ∈ Δs1 ���� �� �� ��� �� H1 ��
 #, ���
�%���� �� �� �� �
������$�/�
 �����
�������� �7 f 3 4�� (sx, ux) #� ��� I�� �,%� �7 x3 �����
x ∈ W s(f) \ 0E 1 G� ���� sx > 0 ��
 ux = 03 ����  ���$$��, +3(3B1 W s,sx(f)
%������� 
�E�����%����$$, #, π �� W s,sx(f/H)3 ��� I�� �,%� �7 x/H 7��
f/H �� ���$$�� ���� (sx, 0)3 ����� g/H C��$, ���%���� ��� I��0���C�
������
�7 Γ/H 7�� f/H1 #, �����> +3)3�1 x/H �� �� ��� j0
���������$ ������ ���#$�
����7�$
 �7 gk/H = λ−k.g/Hλk.IdE/H 1 7�� ���� 0 < j ≤ sx3

�, 4���� +3(3�1 ����� �8���� � 
���
� %���� x0 �� ��� j0
���������$
������ ���#$� ����7�$
 �7 g0 = g �
�� ���� x0/H = x/H3 �� %�����
$��1
��� I��0�,%� �7 x0 7�� g0 �� $��� �� ��
�$ �� ��� I��0�,%� �7 x 7�� f 3 5�
����$$ ���� λ �� � �
$��%$� �7 ��� �������$
� �7 x1 ��
� G� C�
 nx �
�� ����
f−nx(x) = λ.x3 5� $��

xk = g−k.nx
k (λ−k.x0).

��� I��0�,%� �7 x0 7�� g0 �� ��� I�� �,%� �7 λ−k.x0 7�� gk1 �����7��� �� �� ���
I��0�,%� �7 xk = g−k.nx

k (λ−k.x0) 7�� gk3
����� �� � ������ v ∈ H �
�� ���� x0 = x+ v3 ����� g C��$, ���%���� ���

I��0���C�
������ �7 Γ1 �� ��� �
������ #, H1 G� ���� g−n(x0) = f−n(x0) =
f−n(x)+f−n(v)3 ����� x �� �� � ���#$� �����
�������� �7 f 1 ��
 v �� � ������$

#
�
$� 7�� f 1 ��� ����� ‖f−n(v)‖
‖f−n(x)‖ = ‖g−n(x0)−f−n(x)‖

‖f−n(x)‖ ���� �� /��� �� n ���� ��

+∞3 ����� ��� 7���$, {gk(x0)− fk(x0)}k∈N �� #�
�
�
1 ��
 ‖f−n(x)‖ ����
�� ∞1 G� �#���� ����

supl≥−n ‖gl(x0) − f l(x)‖
‖f−n(x)‖

���� �� /��� �� n ���
� �� +∞3 ����
supl≥−k.nx

‖gl(x0) − f l(x)‖
‖f−k.nx(x)‖ = sup

l≥−k.nx

‖λ−k.gl(x0) − λ−k.f l(x)‖/‖x‖

���� �� /��� �� k ���� �� +∞3 !����� ���� ��� ��� {λ−k.f l(x), l ≥ −k.nx} ��
��� ��� �7 ��� %������� �������� �7 x #, f 3 ����
�� λ−k.gl(x0) = gl

k(λ
−k.x0)1
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�����7��� {λ−k.gl(x0), l ≥ −k.nx} �� ��� ��� �7 ��� %������� �������� �7 xk #,
gk3 ��
� G� �
�� ���� ���G� ���� ��� ���
���� (gk, {xk}) �%%��8������ ���
I��0���C�
������ �7 (f, {x})3

5� 
� ���� 7�� ��, x ∈ Δs1 ��
 �,��������$$, 7�� ��, x ∈ Δu& G�
7�
�
 � ���
���� Δk �7 C���� ���� �
�� ���� (gk,Δk) �%%��8������ ��� I��0
���C�
������ �7 (f,Δ)3 ���� ��
� ��� %���7 �7 ��� �$���3 �

��

� ��$ @�� 
	
 ���	��� ��� B' ��� 
	
 	��"��������� W �� Λ' !� �
	
����� 
	 ηε,|f |��������
���	 g′ �� f ��
� %���
 �������� ��� <
"���	%"��
���	
�� Γ ��� f ' 
	� ���� ��
� ���� ����������	 g′|B′ �� g′ �� ��	��"
�� �� g|B �
 

��������
$

����( 3 4�� B #� � #�
�
�
 ��� �� E 3 4�� W #� � �$���
 ������
����

�7 Λ ���� 
��� ��� ��������� H1 ��� ��, f−n(Δs) + H1 7�� n ≥ 11 ��� ��,
fn(Δu) + H1 7�� n ≥ 03

���� ��� %�����
� �$���1 G� C�
 � ���
���� Δk �7 ���� �
�� ���� ���
���
���� (gk,Δk) �%%��8������ ��� I��0���C�
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����( �( 0���
 �$�$� 3 5� �%%$, 4���� +3�3+ �� C�
 �� ��#������$,
���$$1 ��#������$, $���$1 �,�$�� %���
�#����� g �7 f ���� ��� ���� 
���������1
���� �� $���$$, $�����1 ��
 ���%���� ��� I��0���C�
������ �7 Γ3 4�� E =
Eλ1 ⊕ ... ⊕ Eλl

#� ��� ���
 �%$������ 7�� ��� $���$$, $����� g3
��8 ��G x ∈ Γs \ 0E ��
 $�� (ux, sx) #� ��� I��0�,%�1 ���� �� x �� ��

��� sx0
���������$ ������ ���#$� ����7�$
1 G��� sx > 03 ����� g �� $���$$,
$�����1 ���� ������ ���#$� ����7�$
 ������
�� $���$$, G��� Eλ1 ⊕ ... ⊕ Eλi

1
7�� ���� 1 ≤ i ≤ l3 �7 i = 11 �� ������
�� $���$$, G��� ��� ������$�/�

�����
�������� Eλ1 1 ��
� G��� ��� ������$�/�
 ���������7�$
 Wλ1 3 �����7���
��� sx0
���������$ ������ ���#$� ����7�$
 �� Wλ1 1 #, 
�C������1 ��
 x ��
�$���
, �� � ������$�/�
 ���������7�$
3

�7 ���� ����7�$
 �� ������� �� 0E �� ��� #
�
$� Eλ1 1 �� �� �� ��� ������$�/�

���������7�$
 Wλ1 3 ��
� x �� �� � ������$�/�
 ���������7�$
3 �7 ���1 ��� d20

���������$ ������ ���#$� ����7�$
 �� ������� �� 0E �� Eλ1 ⊕ ...⊕Eλi

⊕Eλi+1
1

7�� ���� i ≥ 13
5� G�$$ ��������� �� x � %���� x′ �� ��� 7�$$�G��� G�,& ;��%������� +3)3)

%����
�� � ������ ���#$� 7�$������ F �� ��� sx0
���������$ ������ ���#$� ���0
�7�$
1 �
�� ���� ��� $��7 ���� ���� ����
�� x1 ���������� ��� ������$�/�
 �����0
����7�$
 Wλi+1

�� � 
���
� %���� x′3 !����� ���� x′ �� ��� �� 0E 1 �����G���
x G�
$
 #� �� � �������� ���#$� ����7�$
 ���� ��� sx0
���������$1 G����



����� �� �����
�� '('

������
���� ���� (ux, sx) �� ��� I��0�,%� �7 x3 ���$$ 7��� ��� %��%�������1 G�
����

dist(gpn(x), gpn(x′)) = O(|λi|n) O+3+P

dist(0E , gpn(x′)) = C.|λi+1|n, O+3DP

7�� ���� �������� C1 ��
 �$$ n ����� ���
��3 ��� �$$ k ≤ 01 5� 
����� #, xn

O���%3 x′
nP ��� n0�� ������� �7 x O���%3 x′P #, g3 5� ��, %���
�# �$����$, g1

%��������� ��� 
��������� �7 g �$��� 0E ��
 ���%������ ��� I��0���C�
������
�7 Γ1 �� ��� ���� �7 x �= y ��� �G� %����� �7 Γ1 ����1 7�� �$$ �������� n,m ≥ 01
G� ���� x′

n �= y′m3
4�� Λs = 0E ∪ {xn, x ∈ Γ, n ∈ N} ∪ {x′

n, x ∈ Γ, n ∈ N}3 5� 
�C��
�,��������$$, ��� ��� Λu1 ��
 ��$$ Λ ��� 
���� �7 ����� �G� ����3 ����1
����>� �� ��
�$����� O+3+P ��
 O+3DP1 7�� ��, x ∈ Γ1 ��� �����

dist(xn, x′
n)

dist(x′
n,Λ \ {xn, x′

n})
���
� �� /��� �� n ���
� �� ��C���,3 ��C�� Λn = ∪x∈Γ{xn, x′

n}3 ����1 7��
n ����� ���
��1 G� ��� �%%$, 4���� +3(3� �� ���� %��� {xn, x′

n}3 ��
� G�
C�
 � ���$$ %���
�#����� Φ �7 IdE �� � ���$$ �����#�
����
 �7 Λn1 �
��
����

• 7�� �$$ x ∈ Γs1 7�� �$$ m �= n1 G� ���� Φ(xn) = x′
n1 Φ(xm) = xm1

Φ(x′
m) = x′

m1

• 7�� �$$ x ∈ Γu1 7�� �$$ m �= n1 G� ���� Φ(x′
n) = xn1 Φ(xm) = xm1

Φ(x′
m) = x′

m1

• ��� 
�E�����%���� Φ �� ��
�$ �� ��� �
�����, ��% �� � ���$$ �����0
#�
����
 �7 0E 3

�� ����� G��
�1 Φ %
���� ��� %����� �7 Γ �� ��� ������$�/�
 ���������7�$
� �7
g3 ��� ���%������� g ◦Φ �� � $���$$, $����� ���$$ %���
�#����� �7 g ���� ���
���� 
��������� �� g1 ��� %����� �7 Γ ��� �� ��� ������$�/�
 ���������7�$
�1
��
 �� ���%���� ��� I��0���C�
������ �7 g O���� $��� %���� ����� 7��� ���
7��� ���� xn ��
 x′

n ���� ���� I��0�,%� 7�� gP3
A���� g ◦ Φ �� � ���$$ %���
�#����� �7 f ���� �����C�� ��� ����� ����� �7

��� ����$
����� �7 4���� +3�3)3 ���� ����$

�� ��� %���7 �7 ��� $����3 �

6�#�� 0�
��
�( �� 	��� �
(��,�����5 
	��� �� ����� 6�#��

5� G�$$ %���� �� #, ��

����� �� ��� 
�������� d �7 E 3 5� ����� �� 
��������
d = 23 5� C��� ��7���
$��� M'*1 $���� +3+N3 �� ��� 7�$$�G��� Rβi


������
��� �������� �7 ���$� βi > 0 �� ��� C#�� {i} × R2 �7 Ep = {1, ..., p} × R23
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 ε > 0' ����� �� 
	 �	��"�� P '
���� ��
� ��� 
	
 p ≥ P ' 
	� 
	
 ��	�
� ���
��� f �� Ep' ����� �� 
 �����	��
β = β1, ..., βp !��� −ε ≤ βi ≤ ε' ��
� �
���%�� ��� �����!�	"-

2� !� ��	��� �
 Φβ ��� ������������� ��
� ���	����� !��� Rβi
�	 
	


%��� {i} × R2' ���	 ��� ��	�
� �
���� ������������� f ◦ Φβ �
� ��
� ��"�	�
�
����$

�� %�����
$��1 �7 f ��� ��� ���$ �������$
��1 $�� t0 ∈ [0, 1] #� ��� ���$$���
�
�� ���� f◦Φt0β ��� ���$ �������$
��1 G���� t0β �� ��� ���
���� t0β1, ..., t0βp3
���� f ◦ Φt0β ��� � ���$ 
�
#$� �������$
�1 ��
 f ◦ Φtβ1 7�� ��, t ∈ [0, t0[
��� ���%$�8 �������$
��9 ��� ��

$� �7 ����� �������$
�� ��� ��
�$ �� ���
��

$
� �7 ��� �������$
�� �7 f 1 #, %����������� �7 ��� 
����������3 !�����
C��$$, ���� ��� %��� �7 ���,�$�� 
�C��
 #, (f ◦Φtβ)t∈[0,t0] ��� ��
�
� ������$,
$��� ���� ε|f | ≤ ε.A3

����( �( 0���
 �$�$� 
� �
����
�� � 3 4�� ε = ε/A3 �� 
�������� d =
21 �7 ��� �������$
�� ��� ��� ���$1 ��� $����� �,�$�� 
�E�����%���� �� ������ �
���> �� � ��
���3 5� ���
�� �� �� � ���>1 ��� ��
��� ���� �� �,��������$3 �����
�� ��$, ��� ������$�/�
 ���������7�$
1 ��� 20
���������$ 
����#$� ����7�$
&
��� I��0�,%� �7 ���� %���� �7 Γ �� 23 �, 4���� +3�3D ��
 ��� ������� ����
7�$$�G�1 7�� A C8�
1 �7 p �� ����� ���
��1 G� C�
 � %��� At∈[0,1] �7 $�����
ε.A = ε �� ��� ��� �7 ���,�$�� �#��� 0E �
�� ���� A0 = df0E ��
 A1 ��� �
���$ 
�
#$� �������$
�3 ����$$,1 7�� �$$ t ∈ [0, 1] ��� �������$
�� �7 At ����
���� ��

$
� �� ��� �������$
�� �7 A01 ���� ��1 ������$, $��� ���� 13

��
�1 ��� At ��� �$$ ���>�3 5� ��� �%%$, ;��%������� �3)3'�1 ��
 �#����
� �,�$�� ε0%���
�#����� �7 f ���� ��� � ���$ 
�
#$� �������$
�1 G��� ��� ����
��

$
� �� ��� ������$ ���%$�8 �������$
��1 ��
 �
�� ���� ��� ���#$� ����7�$

�� ��� G��$� E 3 ��� I��0�,%� �7 ���� %���� �7 Γ �� ������ 1 �� 2& ��� I��0
���C�
������ �� ���%����
3 �

!�G d ≥ 3 ��
 G� ���
�� ���� 4���� +3�3( �� ���G� 7�� ��, 
��������
d′ < d3

��

� ��$ @�� 
�� ε > 0' A > 0' ����� �� 
	 �	��"�� P ���� ��
�' ��� 
	

�	��"�� p > P '

• ��� 
	
 ��	�
� �
���� ������������� f �	 ��� ��	��� E = {1, ..., p}×Rd'
!��� ������ �����
����' ���	��� �
 A' 
	� ���� ��
� ��� ��"�	�
����

���� 
 �����	 �������� λ > 1'

• ��� 
	
 %	��� ��� Γ �� ���	�� �	 ��� "�	��
��D�� ��"�	��
��� �� f '

!� �
	 %	� 
	 ε��������
���	 g �� f �	 
	 
�����
���
 ��
�� 	��"��������� ��
0E ��
� �������� ��� <
"���	%"��
���	 �� Γ' ��
� ��������� ��� �	� *�� ��
�+ ��
�!� *�� �������+ ��
����� ��"�	�
���� �	 �������' 
	� ��
� ���	� ��� �����
��"�	�
���� �� �� ��
�' ��������	" ����� ������$



����� �� �����
�� '((

����( 3 4�� ε > 0 ��
 A > 03 4�� η = ηε,A �� 
�C��
 7�� 4���� �3)3'+
��
 $�� νη,A #� �� 
�C��
 7��  ���$$��, �3)3'�3 ���� ��� ��

����� �,0
%�������1 ����� �8���� �� ������� P �
�� ����1 7�� ��, �������� p > P ��

0 < d′ < d1 7�� ��, $����� �,�$�� 
�E�����%���� f ′ �� E ′ = {1, ..., p} × Rd′

G��� ���%$� 
��������� ��
 #�
�
�
 #, A1 7�� ��, C���� ��� Γ′ �7 %����� ��
��� ������$�/�
 �����
��������� �7 f ′1 ����� �� � νη,A0%���
�#����� g′ �7 f ′ ��
�� ��#������$, ���$$ �����#�
����
 �7 0E ′ 1 ���� ��� ���$ �������$
��1 ����
%�������� ��� ��

$� �7 ��� �������$
�� �� ��� ��#�� 0E ′ 1 ��
 ���� ���%����
��� I��0���C�
������ �7 Γ′3

4�� f #� � $����� �,�$�� 
�E�����%���� �� E = {1, ..., p}×Rd1 G��� ���%$�

���������1 #�
�
�
 #, A1 ��
 �
�� ���� ��� �������$
�� �
��� � ������
�
$��%$� λ > 13 4�� E = Eλ1 ⊕ ... ⊕ Eλl

#� ��� ���
 �%$������ ���������
 ��
��� ���%$� $����� �
�����%���� f ��
 $�� Γ #� � C���� ��� �� Eλ1 ∪ ...∪Eλl

3
4�� H #� ��� ��������� �
##
�
$� Eλ2 ∪ ... ∪ Eλl

3
=%%$,��� ��� ��

����� �,%�������1 G� C�
 � $���$ νη,A0%���
�#����� ĝ′ �7

f|H �� �� ��#������$, ���$$ �����#�
����
 V �7 0H 1 ���� %�������� ��� ��

$�
�7 ��� �������$
�� �$��� ��� %����
�� ��#�� 0H 1 ���� ��� �$$ �������$
�� ���$1
��
 ���� ���%���� ��� I��0���C�
������ �7 Γ|H 3  ������� V ���$$ ���
��1
G� ��, �
%%��� ���� ĝ′ C��$, ���%���� ��� I��0���C�
������ �7 Γ|H 3

�, 
�C������1 ����� |f | ≤ A1 G� ���� νη,A ≤ νη,|f |9 ���� #,  ���$0
$��, �3)3'� ����� �8���� � $���$ η0%���
�#����� ĝ �7 f ���� �8���
� ĝ′1 ��
 �
��
���� ĝ/H = f/H3 ��
�1 ��� %���
�#����� ĝ �7 f %�������� ��� ��

$� �7 ���
�������$
��1 ��
 �
��� �$$ ��� �������$
�� �� #� ���$1 #
� %����#$, ��� �G�
���$$��� �� ��

$
�3 ����� ĝ �� � $���$ %���
�#����� �7 f ��
 ĝ/H = f/H
���%���� ��� I��0���C�
������ �7 Γ/H 7�� f/H1 7�� ���� ������� k �����
���
��1 ĝk = λ−k.ĝ ◦ λk.IdE �� �� (η = ηA,ε)0%���
�#����� �7 f ���� C��$,
���%���� ��� I��0���C�
������ �7 Γ \H �� ��� �
������ #, H3 5� ����$$ ����
����� |f | ≤ A1 G� ���� ηε,A ≤ ηε,|f | ≤ ε3

�� ����
 
�
#$� ��
�8���1 $�� g = ĝk1 ��
 g′ = ĝk |H 3 =$���
�� G� >��G
���� g ���%���� ��� I��0���C�
������ �7 Γ ∩ H 7�� f 1 �� 
��� � %����� ���
���%��� ���� �7 Γ \ H3 �G� ����� ��, ���
�&

• F����� |λ1| > 13 ���� ��, x ∈ E \ H �� �� ��� d0
���������$ 
����#$�
����7�$
 O��
 �� �� ����� ������ 
����#$� ����7�$
P1 �����7��� ��� I��0
�,%� (0, d) 7�� f 3 ��� I��0�,%� ��� ��$, #� 
�������
 #, ĝk3 A���� ĝk

���%���� ��� I��0���C�
������ �7 Γ 7�� f 1 G���� ����$

�� ��� ��

, �7
���� ����3

• H� |λ1| < 13 ���� H �� � ������$ #
�
$� 7�� f O��� ��C������ +3(3)P
��
 7�� g3 ������$$,1 ĝk |H = f|H C��$, ���%���� ��� I��0���C�
������
�7 Γ|H 7�� f|H 3 ����$$,1 #, ���
�%����1 Γ �� �� ��� 
���� �7 ��� ���0
���$�/�
 �����
��������� �7 f 3 =$$ ��� �,%������� �7 ;��%������� +3(3(
��� �����C�
& 7�� ��, #�
�
�
 �����#�
����
 B �7 0E 1 ����� �� �� ε0
%���
�#����� h �7 f �� �� ��#������$, ���$$ �����#�
����
 �7 0E 1 ����
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���%���� ��� I��0���C�
������ �7 Γ1 ��
 �� $���$$, ����
���� �� ĝkB #,
�� ��������, γ.IdE 3 �� %�����
$�� dh0E = dĝk0E = dĝ0E 1 ��
� ��� %��0
�
�#����� h �7 f %�������� ��� ��

$� �7 ��� �������$
�� ��
���
 G���
�
$��%$����,1 ��
 �
��� �$$ ��� �������$
�� �� #� ���$1 #
� %����#$, ���
�G� ���$$��� �� ��

$
�3

A���� G� ��� 
��� 7�� #��� �����3 ���� ��
� ��� %���7 �7 ��� �$���3 �

 ������� f ���� f−1 ��
 g ���� g−11 G� ��� �7 ��
��� ��� �,��������$
�$���&

��

� ��$ @�� 
�� ε > 0 
	� A > 0' ����� �� 
	 �	��"�� P ���� ��
�' ��� 
	

�	��"�� p > P '

• ��� 
	
 ��	�
� �
���� ������������� f �	 
 ��	��� E = {1, ..., p}×Rd'
!��� ������ �����
����' ���	��� �
 A' 
	� ���� ��
� ��� ��"�	�
����

���� 
 �����	 �������� λ > 1'

• ��� 
	
 %	��� ��� Γ �� ���	�� �	 ��� "�	��
��D�� ��"�	��
��� �� f '

!� �
	 %	� 
 ε��������
���	 g �� f �	 
	 
�����
���
 ��
�� 	��"��������� ��
0E ��
� �������� ��� <
"���	%"��
���	 �� Γ' ��
� ��������� ��� �	� *�� ��
�+
�� �!� *�� �������+ "��
���� ��"�	�
���� �	 �������' 
	� ��
� ���	� ��� �����
��"�	�
���� �� �� ��
� ��������	" ����� ������$

5� ���G �����$, ��G1 �%%$,��� ����� �G� �$���� ��� �7��� ��� �����1 G�
��� �$$ �������$
�� ���$&
����( �( 0���
 �$�$� 3 =%%$,  $��� ') �� %���
�# f ���� g3 !�����
���� �7 λ > 1 �� � ������ �
$��%$� 7�� ��� �������$
�� �7 f 1 �� �� � �
$��%$�
�7 ��� ��� �� �G� ���$$��� �������$
�� �7 g OG���� ��� %�������
P3 ����� g
��� %�������
 ��� ��

$� �7 ��� ����� �������$
��1 ���, �$$ ��� �7 ��� 7���
±|μ| G���� μ �� �� �������$
� �7 f 3 5� ���� ���� μk = λ = |μ|k1 7�� ����
k ∈ Z1 ����� λ �� � ���$ %������� �
�#��3 ��
� λ �� ����� � ������ �
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� �������� ��� <
"���	%"��
���	 �� Γ 
	� ���
��� 
 �������	�� �
	"�	�
 �	
V$

�� %���� ;��%������� +3�3(1 C��� �%%$, 4���� +3�3�1 $������/� $���$$, G���
4���� +3�3)1 ��
 �%%$, 4���� +3�3�3 = $�����, %���7 7�$$�G�1 �7 ���
�
3

����( �( 0���
 �$�$� (��� 0���
� �$�$� 
�� �$�$� 3 ��8 ε > 0
��
 A > 03 ���� 4���� +3�3� %����
�� θ > 0 G��� ���%��� �� ε0 = ε/2
��
 A0 = A + ε/23 4���� +3�3� %����
�� �G� �������� N2, P > 0 G���
���%��� �� A1 ε1 = ε/2 ��
 θ3 4�� f #� � $����� ��

$� 
�E�����%���� f ��
E = {1, ..., p} × R21 G��� p > P

• ���� �� #�
�
�
 #, A1

• �
�� ���� ��� �G� �
�� �������$
�� |λ| < 1/2 ��
 |μ| > 2 ���� �
������ �
$��%$� λ > 11

• ���� �� ��� N20
�������
1

���� #, 4���� +3�3�1 7�� ��, C���� ��� Γ �7 %����� �7 ��� �����
���������
�7 f 1 ����� �8���� � ��

$� ε/20%���
�#����� g �7 f �� �� ��#������$, ���$$
�����#�
����
 W �7 0E 1 ���� %�������� ��� �������$
�� �7 ��� 
���������1
���%���� ��� I��0���C�
������ �7 Γ1 ��
 �
�� ���� �� ���� %���� i ∈ {1, ..., p}1
��� �G� �����
��������� �7 dg �� ��� ������ ��>� �� ���$� ���$$�� ���� θ3 5�
��, �%%$, 4���� +3�3) ��
 ���
�� g �� $���$$, $�����3 4�� g̃ #� ��� $�����
��

$� �� G���� g �� ��
�$ �� � �����#�
����
 U �7 0E 3 5� ��, ������ Γ
���� Δ = gns(Γs)∪g−nu(Γu) ⊂ U 1 G���� ��� �������� ns, nu > 0 ��� �
�� ����
��, %������� ������� �7 x ∈ gns(Γs) ��
 ��, �������� ������� �7 x ∈ gns(Γs)
��� �� U 3

����1 �%%$, 4���� +3�3� �� g̃ OG���� �� #�
�
�
 #, A+ε/2 ��
 ��� ���0
#$� ��
 
����#$� �����
��������� ��>��� �� ���$� ���$$�� ���� θ ����G����P
�� C�
 �� ε/20%���
�#����� h̃ �7 g̃ �� �� ��#������$, ���$$ �����#�
����

V ���� %�������� ��� �������$
��1 ������� � �����$���� �������, �� V1 ��

���%���� ��� I��0���C�
������ �7 Δ3  ������� V �� #� ���$$ ���
��1 G�
C��$$, C�
 � ��

$� 
�E�����%���� h ���� ������
�� G��� h̃ �� U 1 ��
 G���
g �
���
� U O��
� �
���
� VP3 ���� G�$$ #� �� ε %���
�#����� �7 f �� W
OG���� G� ����$$ G�� ��#������$, ���$$P1 ���� %�������� ��� �������$
��1 ����
��� � �����$���� �������,1 ��
 ���%���� ��� I��0���C�
������ �7 Γ3 ����
����$

�� ��� %���7 �7 ��� �G� 
����������$ ����3 �



'�* ������� ��	
����


@)�

�
�� 
 ��
�� 
����3 ����( �( 0���
 �$�$�

!��
��$$,1 G� C��� ���G ���� ��� ��� %���
�# ��� 
��������� �7 f �� 0E ��
�#���� ����G���� � ���$$ ���$� #��G��� ��� �G� �����
���������3 5� ����$$
���� �� ������� �3)3( G� 
�C��
 �G� $����� ��

$�� f ��
 g �� #� $�����$,
ε0�$��� �7 ���, ��� ε0�$��� �� $����� ���,$��3 ��� 7�$$�G��� %���7 �� ������$,
���%���
 7��� �������
�� �7 M(�N ��
 M'(1 4���� (3�N1 7�� � %���
�� ����
�
�����/�� ��� %���71 ��� M'�1 %��� '()N3

0���
 �$�$�$ @�� 
�� ε > 0' A > 0' θ > 0' ����� 
�� �!� �	��"��� N2 > 0

	� P > 0 ���� ��
� ��� 
	
 ��	�
� �
���� f �	 {1, ..., p}×R2 ��
� �� ���	���
�
 A' ����� �� 
 ��	�
� �
���� g ε������ �� f ' ��
� �
� ��� �
�� ��"�	�
���� 
�
f ' ��
� ��������� �	� �� ��� ��"�	��������	� �� f ' 
	� ���� ��
� ����!����
��� 
	"�� ���!��	 ��� �!� ��"�	��������	� �� ��
���� ��
	 θ$

K���� � $����� ��

$� f �� E = {1, ..., p} × R2 ��
 ��� �����%��
���
�,%��#�$�� �%$������ F ⊕G3 ������ #, Pf � 
�E�����%���� �7 {1, ..., p}×R2

���� �� $�����1 ���#�$�/�� ���� C#��1 ��
 ���
� ����������$$, ��� #
�
$� F ��
{1, ..., p} × R × {0}1 ��
 ��� #
�
$� G �� {1, ..., p} × {0} × R3 ���� f⊥ =
Pf ◦f◦P−1

f �� � $����� ��

$� G���� ���#$� �����
�������� �� {1, ..., p}×R×{0}1
��
 
����#$� �����
�������� �� {1, ..., p}×{0}×R1 ��
 �� N 0
�������
 �7 ��

��$, f ��3  $���$,1 �7 f �� #�
�
�
 #, A1 ���� �� �� f⊥1 ��
 �7 ��� ���$��
#��G��� ��� ���#$� ��
 
����#$� �����
��������� �7 f �� #�
�
�
 7��� #�$�G
#, θ1 ���� Pf �� #�
�
�
 #, � �
�����, B(θ) G���� �� ��
���$��� �� θ−13

����( �( 0���
 �$�$� 3 ��8 ε > 01 A > 01 θ > 03 ����1 7��� ��� #�
�
�
A ��
 B(θ) �#���1 ����� ��� η > 0 ��
 β �
�� ����1 7�� ��, $����� ��

$� f
���� �� #�
�
�
 #, A G���� �����
��������� ��>� �� ���$� ������� ���� θ1
�7 g �� η0�$��� �� Pf ◦ f ◦ P−1

f 1 ���� P−1
f ◦ g ◦ Pf �� ε0�$��� �� f 9 �7 ��� ���$�

#��G��� ��� �����
��������� �7 g �� ���$$�� ���� β1 ���� ��� ���$� #��G���
��� �����
��������� �7 f �� ���$$�� ���� θ3

��
� �� �
@��� �� ���G ��� 7�$$�G���&

��

� ��$ @�� A, η, β > 0$ =���� 
�� �!� �	��"��� P,N > 0 ���� ��
� �� f
�� 
 ��	�
� �
���� �	 E = {1, ..., p} ×R2 *!��� p > P +' ��
� �� ���	��� �
 A'
��
� �� 	�� N �����	
���' !���� ��
��� ��	��� �� {1, ..., p} × R× {0}' !����
�	��
��� ��	��� �� {1, ..., p} × {0} × R'

���	 ����� �� 
 ��	�
� �
���� g' η������ �� f ��
� �� ���
� �� f �	 {1, ..., p}×
R×{0}' ��
� �
� �
�� ��"�	�
���� 
� f ' 
	� ���� ��
� ��� 
	"�� ���!��	 ���
��"�	��������	� �� g �� ����!���� ��
���� ��
	 β$

5� ��, ��%������ f #, � ���
���� �7 ��������

Ai =
(

ai 0
0 bi

)
, i = 1, ..., p

G���� Ai �� ��� �����8 �� ��� ��������$ #���� �7 ��� ��

��
 ��% f : Ei →
Ei+13



����� �� �����
�� '�'

�7 f �� ��� N 0
�������
1 ���� #, 
�C������1 �� �� ��� N ′ 
�������
 7��
��, N ′ < N 1 ��
� G� ��� ���
�� N < P/23 5� ����∏

i=1,...,p

ai <
∏

i=1,...,p

bi, O+3�P

��
 7�� ����� �� �� N 0
���������1 G� ��, ����
�8 ��� ���
���� Ai1 �� ����
2
∏

i=1,...,N ai ≥ ∏
i=1,...,N bi3 5���� ����
�8��� ����� �� C8 �� ������� j

��
 ������ ���� Ai �� A(i+j)[p]+11 G���� (i+ j)[p] �� ��� ���� �7 ��� �
�$�
���

������� �7 i + j #, p3

��C��

B1 =
(

1 μ
0 1

)
, Bi =

(
1 0
0 1 + μ

)
7�� i = 2, ..., N,

Bi =
(

1 0
0 (1 + μ)−1

)
7�� i = N + 1, ..., 2N − 1.

G���� μ > 0 �� ��� �������� ���$ �
�#�� �
�� ���� �7 � �����8 M �� #�
�
�

#, A1 ���� MB11 B1M ��
 MBi1 i = 2, ..., 2N −1 ��� η0�$��� �� M 3 ��� ��0
��� �7 ��� $��� R(0, 1) O�%����
 #, (0, 1)P �� ���� #, ��� �����8 B1 �� R(μ, 1)1
���� #, ����
�$��, +3� ��� %��

�� Ap...A2N + 1A2NA2n−1B2N−1...A1 �� �,0
%��#�$�� G��� ���#$� 
�������� R(1, 0) ��
 
����#$� R(0, 1)3 A���� ���� %��
0

�� ���
� ��� $��� R(μ, 1) �� � $��� R(ρ, 1) G��� |ρ| < μ3 ����$$, 
�C��

Bp =
(

1 −ρ
0 1

)
���� �����8 ���
� #��> R(ρ, 1) �� ��� $��� R(0, 1)3 4�� g #� ��� $�����
�,�$�� 
�E�����%���� �7 E G���� ��������$ ��%����������� �� ��� ���
����
A1B1, ...., A2N−1B2N−1, A2N , ..., BpAp3 ��� G�, G� ����� 0 < ρ < μ ���
���
���� g �� η �$��� �� f 3  $���$,1 gp ���
� ��� $��� {(1, 0)}×R �� ����$7 O��� ��#��
�� ���$$ ��� 
����#$� �����#
�
$�P3 ����
��1 �7 N �� ����� ���
��1 %������$,
������� ���� � �������� ���� 
�%��
� ��$, �� A ��
 β1 gN ���
� ��� $���
{1}× {0} ×R �� � $��� ���� ��>�� �� ���$� ���$$�� ���� β G��� {N + 1} ×
R×{0}3 !����� C��$$, ���� g = f �� {1, ..., p}×R×{0}1 ��
 ��� .���#����
�7 gp ��
 fp ��� ��
�$3 A���� ��� �������$
�� ��� %�������
3 ���� ��
� ���
%���7 �7 ��� �$���1 ��
 ���� �7 ��� $����3 �

!�G ���� 7�
�
 ��G �� %���
�# ��� 
��������� �� 0E �� �#���� ���$$
���$��1 G� ���� �� �8���
 ���� %���
#����� ���� � ��

$� %���
�#�����3 ����
�� �������
 #, ��� 7�$$�G���&

0���
 �$�$;$ #�� f �� 
 ��	�
� �
���� �� E$ #�� ε < α/4|f | !���� α �� ���
��	��
	� ��%	�� �	 #���
 6$C$7K$ #�� g �� 
 ��	�
� �
���� ��
� �� ��	�
��

ε������ �� f ' 
	� ���� ��
� f = g �	 
 �	������	���	
� �����	��� H$ =��	
����� �� 
 8|f |2ε��������
���	 h �� f ��
� "��� �� ��� ������	� �
 H' !���
f/H = g/H' ���� ��
� h = g �	 
 	��"��������� �� 0E 
	� h = f �������
��� ����� C1 = {x ∈ E/dist(x,H) < 1}$



'�) ������� ��	
����


����( 3 ��C�� � ��% h �� E #, h(x) = φ(x).f(x) + ψ(x).g(x)1 G����
φ + ψ = 1 �� � 
��� %�������� �� E �
�� ���� ψ(x) ��
 φ(x) ��$, 
�%��

�� ��� %��������� x/H1 ψ = 1 �� � ���$$ �����#�
����
 �7 H1 ��
 ψ = 0
�
���
� C13 �����7���1 ��� ��% h ���� �� ��� �
������ #, H1 ������
�� G���
g �� � �����#�
����
 �7 H ��
 G��� f �
���
� C13  $���$, ψ ��
 φ ��� #�
������ �� ���� 
���������� G��� ����� $��� ���� 23

�7 x /∈ C1 ���� f(x) = h(x) ��
 dxf = dxh3 �7 x �� �� C11 ���� G� ���
G���� x = xH + y G���� xH ∈ H ��
 y ��� ���� ���$$�� ���� 13 5� ����
f(x) − h(x) = ψ(x).(f − g)(x) = ψ(x)(f − g)(y)1 7�� f = g �� H3 ��
�
‖f(x) − h(x)‖ < 1.ε‖y‖ < ε3 5� ��$�
$��� ��� 
���������&

d(f − h) = dψ.(f − g) + ψ(df − dg)

��
 ��� ����$��$, ���� ‖dx(f − h)‖ ≤ 2ε + 1.ε3 A���� ��� ��% f − h ��� C10
���� $��� ���� 4ε < α/|f |3 ���� #, ����$$��, �3)3''1 h �� � 
�E�����%����1
%������$, � 8|f |2ε0%���
�#����� �7 f 3 �

����( �( 0���
 �$�$� 3 ��8 ε > 01 A > 0 ��
 θ > 03 4�� ε =
min

(
α/4|f |, ηε,|f |

8|f |2
)
3 ���� C8 �G� �������� N2 > 0 ��
 P > 0 �� 4���� +3�3+

���#$�� 
� �� 
�3 4�� f #� � $����� ��

$� ���� �� #�
�
�
 #, A1 ���� �� ���
N20
�������
1 ��
 �
�� ���� ��� �G� �������$
�� ���� � ������ �
$��%$�
λ > 13 4�� H #� ��� ���#$� �����
�������� �7 f 3 ���� ����� �� � $����� ��

$�
ĝ ���� �� $�����$, ε0�$��� �� f 1 ���� ������
�� G��� f �� F 1 ���� ��� ����
�������$
�� �� f 1 ��
 �
�� ���� ��� ���$� #��G��� ��� �G� �����
��������� �7
ĝ �� ����G���� ���$$�� ���� θ3

5� ���� ε ≤ α/4|f |1 ����� #, 4���� +3�3D ����� �� � 8|f |2ε0%���
�#�����1
�����7��� �� ηε,|f |0%���
�#����� �7 f ���� ���� �� ��� �
������ #, H1 G���
f/H = h/H1 �
�� ���� h = ĝ �� � �����#�
����
 �7 0E ��
 h = f �
���
�
��� ����% C1 = {x ∈ E/dist(x,H) < 1}3 4�� Γ #� � C���� ��� �7 %����� �7
��� �����
��������� �7 f 1 ��
 $�� γ > 1 #� �
�� ���� γ−1 �� ���$$�� ����
��� 
������� 7��� H �� Γu O�� ����� G��
� γ−1.C1 
��� ��� ��������� ΓuP3
���� ��� 
�E�����%���� h′ = γ−1.h ◦ γ.IdE ������
�� G��� f �
���
� C13
�����7���1 �� C��$, ���%���� ��� I��0���C�
������ �7 Γu 7�� f �� ��� �
������
#, H O������ ���� f/H = h′/HP3

H#���
�$,1 f|H = h′
|H #, ����������� �� H1 ��
� h′

|H C��$, ���%���� ���
I��0���C�
������ �7 Γ|H 7�� f|H 3 5� �%%$, ;��%������� +3(3( ��
 C�
 �� ε0
%���
�#����� g �7 f �� �� ��#������$, ���$$ �����#�
����
 �7 0E 1 ���� ���%����
��� I��0���C�
������ �7 Γ ��
 ���� �� $���$$, ����
���� �� h′1 �����7��� �� ĝ3
���� g ��� ���� �������$
�� �� f 1 ��
 ��� ���$� #��G��� ��� �����
���������
�� ����G���� ���$$�� ���� θ3 ���� ��
� ��� %���7 �7 4���� +3�3� �
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����	! (��� 
 ��
�� 
����3 ����( �(

0���
 �$�$�

H��� G� ���� � ���$$ ���$� #��G��� ��� �G� �����
���������1 G� ��� �
�%�
��� ���
���� �7 ;
��$� ��
 ���#����� �� %������� � C���� ��� Γ �� ��� ���#$�
��
 
����#$� ����7�$
� �7 f 3

��
�� ��� �,%������� �7 $���� +3�3�1 $�� Ds ��
 Du #� �G� ������ ��	�
�
��	�
� ���
�	�1 ���%������$,1 �7 ��� ���#$� ��
 
����#$� �����
��������� �7
f 1 ���� �� Ds G����� �� � 
���� ] − x,−|λs|.x] ∪ [|λs|.x, x[ �7 �G� �������$�1
G���� x �� � %���� �7 ��� ���#$� 
�������� ��
 λs ��� ������%��
��� �����0
��$
�1 ��
 Du G����� �� ]− |λu|.x,−x]∪ [x, |λu|.x[1 G���� x �� � %���� �7 ���

����#$� 
��������1 ��
 λu ��� ������%��
��� �������$
�3

5� �
%%��� �������� ���� 7�� ��, x ∈ Γs1 ����� �� � %������� �������
x′ = fk(x) �� Ds1 ��
 7�� ��, x ∈ Γu1 ����� �� � �������� ������� x′ = f−k(x)
�� Du3  �$$ Γ′ ��� 
���� �7 ����� x′3 �� �� �#���
�$, �
@����� �� C�
 g ����
���%���� ��� I��0���C�
������ �7 Γ′1 %����
�
 ���� g ������
�� G��� f �� �
���$$ ���
�� �����#�
����
 �7 0E 3 ���� ����1 G� ��� 
� �

,��
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���
 ��
�� U 	��"��������� �� 0E ' ��
� �� ���
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��
	��"��������� V ⊂ U �� 0E ' ��
� ��������� ��� <
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���� ��
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 �	��"�� k "��
��� ��
	 ���� K > 0' !� �
�� ��
� gk(Γs) 
	�
g−k(Γu) 
�� �	������ �	 �	����
�� �� ��� ���� [−ρ.x,−x] ∪ [x, ρ.x]' !���� x
�� �	 ��� ��
��� �� �	��
��� ��"�	��������	�$

����( 3 ��
�� ��� �,%������� �7 ��� $����1 $�� U #� � �����#�
����
 �7
0E 3 5� ��, ������ Γs ���� fn(Γs) ��
 Γu ���� f−n(Γu)1 �� �
%%��� ����
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5� G���� Ds =] − ys,−xs] ∪ [xs, ys[ ��
 Du =] − yu,−xu] ∪ [xu, yu[3
5� C�
 zs ∈ Ds ��
 zu ∈ Du �
�� ���� Γs ⊂] − zs,−xs] ∪ [xs, zs[ ��

Γu ⊂] − zu,−xu] ∪ [xu, zu[3  $���$,1 ����� �� � ���%��� #�8 Bs �� U 1 ����
���������� W s(f)∪W u(f) ���� [−zs,−xs]∪ [xs, zs]1 ��
 �
�� ���� ��� #�8��
|λs|k.Bs1 7�� k ∈ N1 ��� %���G��� 
�������3 =� � ������
����1 ����� #�8�� 
�
��� ������� 0E 3

��� �$$ η > 01 ����� �8���� � 
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� ��� ��� ]−
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�� ����1 7�� ��� ���������
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����� �� �� ������� (Φs)K(Γs) ⊂ [−ρ.xs,−xs] ∪ [xs, ρ.xs]3 4�� Ψs #� ���
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����#$� ����7�$
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�0
#����� g = f ◦ Ψs ◦Ψu �� U 1 ���� �����C�� �$$ ��� ����$
����� �7 ��� $����3
���� ����$
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 �� 4���� )3)3' �� M�)N3 ��� �
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�� � 7
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����� ��� � %��� �7 %����� x ��
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• U 
��� ��� ��������� ��� ��#�� �7 Γ1 ��� 0E 1

• �� ���������� ���� W u(f) ��
 W s(f) ���� �� �������$ ���� �� � �
#���
�7 � ���%$� 7
�
������$ 
����� �7 f 1

• ��� ����� dist(x,y)
dist(x,E\U) �� ���$$�� ���� r(θ)3

4�� u ∈ TxE ��
 v ∈ TyE #� ��� 
��� ������� %������� �� 0E 1 �����7���
������� �� ��� ���#$� ��
 
����#$� ����7�$
1 ���%������$,3 ���, ��>� ��
���$� θ3 �7 θ �� ���$$ ���
��1 r(θ) �� ���$$ ���
�� �� �%%$, 4���� +3�3''
��
 C�
 �� ε/|f |0%���
�#����� Ψ �7 IdE �� U ���� ���
� xs �� xu1 ��
 �
��
���� dΨ(u) = v3 ����1 ��� 
�E�����%���� g = f ◦Ψ �� � ��

$� %���
�#�����
�7 f �� U ���� %�������� ��� ��#��� �7 ���� %���� �7 Γ O�����7��� ���%���� ���
I��0���C�
������ �7 ΓP1 ���� ��� ��� ���� �������$
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�
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�#����� �7
f �� U 3 ��� �����#�
����
 V ⊃ U �7 0E ��
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 #� ������ ��#������$, ���$$3
�����7��� g ������� ��� ����$
����� �7 4���� +3�3�3 �
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=2��	� �( ��� ����(

���� �>���� ���
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 #� ���%���
 �� ���� �7 ��� %���7 �7 ;��%������� �3(3� O���
������� �3(3)P3 5� ����$, �
�%� �� �� ��� ���������� �7 I��0���C�
������
%�����������3 5� �������� ��� ��

����� %������ �� 
�������� d = 2& �� ��
���G� �� ������� +3�3' ���� G��� ��� �������$
�� ��� �
��1 ;
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 ���0
#�����"� ������
����� ��� #� 
��� %��������� ��� �������$
��1 ��
 �
�%��

�� ���%��� ��� I��0���C�
������ �7 � C���� ��� Γ3
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�������� d ≥ 31 G� G���� ��� �,%��#�$�� �%$������& E = F ⊕G1 G����
F �� ��� ���#$� #
�
$� �7 f ��
 G ��� 
����#$� ���3 �, �����> +3'3�1 G�
��� ���
�� �� �� ��� %���7 �7 ;��%������� �3(3� ���� F ��� 
�������� ≥ 23
5� ����$$ ���� f ��� ���$ �������$
�� G��� %���G��� 
������� ��

$�1 �����7���
F �%$��� ���� � 
����� �
� F1 ⊕ ... ⊕ Fk �7 �����
���������1 G���� F1 �� ���
��������� ���#$� �����
��������3  �$$ H ��� �
##
�
$� F2 ⊕ ... ⊕ Fd3 ����
4���� �3(3'*1 �7 ��� ��

$� �� ��� 
�������
 ���
�� ���� G� ���� ����� ���
���� 
�������,&

• ��� �%$������ E′ = H ⊕ G �� ��� 
�������
 ���
�� 7�� ��� �����������
�7 f �� E′ �� ����1 #, ��

����� �,%�������1 G� ��� C�
 � ��

$� ���$$0
%���
�#����� g′ �7 f|E′ �� �� ��#������$, ���$$ �����#�
����
 �7 0′E 1
���� ���%���� ��� I��0���C�
������ �7 Γ′ = Γ ∩ E′1 ���� %�������� ���
�������$
�� �7 ��� 
���������1 ��
 ���� �
���� � �����$���� �������,3



'�+ ������� ��	
����


• ��� �%$������ F/H ⊕ G/H �7 ��� �
������ #
�
$� E/H �� ��� 
��0
�����
 ���
�� 7�� ��� �
������ $����� ��
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���� �,%�������1 G� ��� C�
 � ��
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�#����� g′ �7 f/H
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����
 �7 0E/H 1 ���� ���%���� ��� I��0
���C�
������ �7 Γ/H = π(Γ)1 ���� %�������� ��� �������$
�� �7 ���

���������1 ��
 ���� �
���� � �����$���� �������,3
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�� ���� ��� �
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 ��
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�E�����%����
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������ �7 ��� ������
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�7 0E′ 1 G� ��� �%%$, ;��%������� +3(3(3
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�#����� g �7 f ���� ������
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���G�
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�� �7 Γ �� ��� � %����� ���%����
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;��%������� +3(3(3

��
�1 �� #��� ����� G� ��� �#���� � �,�$�� %���
�#����� �7 f �� �� ��0
#������$, ���$$ �����#�
����
1 ���� ���%���� ��� I��0���C�
������ �7 Γ1 ��

���� �� $���$$, ����
���� �� g �� �
�� � G�, ���� �� �$�� �
���� � �����$����
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 ���� ��� �������$
�� ��� %�������
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�����3 YF�3
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 �
%%��� ��G ���� ��� ������� �� ��
� 7�� ��, 
��������
2 ≤ d′ ≤ d − 13 ��8 A > 0 ��
 ε > 03 4�� ε > 0 #� $��� ���� νηε,A,A1 G����
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 ε O���� �� ��� ��
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�� ����
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 ��� �������$
�� ������
� G��� ����� �7 f 3
�, �,%�������1 g|E′ C��$, ���%���� ��� I��0���C�
������ �7 Γ|E′ 7�� f|E′1
��
 ����� g/E′ = f/E′1 g C��$, ���%���� ��� I��0���C�
������ �7 Γ \ E′ 7��
f 1 �� ��� �
������ #, E′3 ����� g|E′ ��� ��� ���� �������$
�� �� f|E′1 ��

g/E′ = f/E′1 E′ �� �$�� � ������$ #
�
$� 7�� g3 ����$$, η = ηε,A ≤ ηε,|f |3

4�� B #� � #�
�
�
 �����#�
����
 �7 0E ��
 ��� ��#�� �7 ��� �������,
�7 g3 5� ��� �%%$, ;��%������� +3(3( ��
 C�
 �� ε0%���
�#����� h �7 f ��
�� ��#������$, ���$$ �����#�
����
1 ���� ���%���� ��� I��0���C�
������ �7 Γ
7�� f ��
 �
�� ���� γ.h ◦ γ−1.IdB = g1 7�� ���� γ > 03 A���� h �$�� ��� �



����� �� �����
�� '�B

�����$���� �������, ��
 ��� ��� ���� �������$
�� �� f 3 ���� ��
� ��� %���7
�7 ;��%������� +3�3')3

*�� -���
��� 	
��3 ����( �( ������
�
�� �$�$��

4�� ε > 0 ��
 A > 03 4�� μ = min(ηε,A

2A2 , α/A)3 4�� f #� � $����� ��

$� ��
E = {1, ..., p}×Rd ���� �� #�
�
�
 #, A1 ��
 �
�� ���� ��� �������$
�� �
��� �
������ �
$��%$� λ > 13 4��H #� �� ��������� ������$ #
�
$� 7�� f 1 Γ � C����
��� �� ��� 
���� �7 ��� �����
��������� �7 f 1 ��
 g′ � ��

$� μ0%���
�#�����
�7 f/H ���� ��� � �����$���� �������,1 ���� %�������� ��� �������$
�� �7 ���

��������� �7 f/H1 ��
 C��$, ���%���� ��� I��0���C�
������ �7 Γ/H3

=� α/A < α/|f |1 G� ��� �%%$, 4���� �3)3'B ��
 C�
 � ��

$� 2A2μ0
%���
�#����� g �7 f ���� �� � $�7� �7 g′3 �, �����> �3)3)*1 ����� g/H C��$,
���%���� ��� I��0���C�
������ �7 Γ/H 7�� f/H1 g ��� #� ������ �� ���� ��
C��$, ���%���� ��� I��0���C�
������ �7 Γ 7�� f 1 �� ��� �
������ #, H1 ��

�� ���� g|H = f|H 3 ��
� ������$$, g|H C��$, ���%���� ��� I��0���C�
������
�7 Γ|H 7�� f|H 3 =� g/H ��
 f/H ���� ���� �������$
�� ��
 g|H = f|H 1 g
��� ���� �������$
�� �� f 1 ��
 H �� �$�� � ������$ #
�
$� 7�� g3 ����$$, G�
����$$ ���� 2A2μ ≤ ηε,A ≤ ηε,|f |& �$$ ��� �,%������� �7 ;��%������� +3(3( ���
�����C�
3

5� ���G�
 �� ������� �3(1 4���� �3(3'(1 ���� �7 g′ �
���� � �����$����
�������,1 �� 
��� g3 4�� B #� � �����#�
����
 �7 0E ��
 �7 ��� ��#��
�7 ���� �����$���� �������,3 5� �%%$, ;��%������� +3(3( ��
 C�
 �� ε0
%���
�#����� h �7 f �� �� ��#������$, ���$$ �����#�
����
1 ���� ���%���� ���
I��0���C�
������ �7 Γ 7�� f ��
 �
�� ���� γ.h◦γ−1.IdB = g1 7�� ���� γ > 03
A���� h �$�� ��� � �����$���� �������, ��
 ��� ��� ���� �������$
�� �� f 3
���� ��
� ��� %���7 �7 ;��%������� +3�3'(3

"�" 4�
�	��	
�	�

6�6�� ;���	�� 	������

5� ��, ���� �G� %����
�� ��

$� %����� ��� �������	��
��
 ���
��� �7 ��
 ��$,
�7 ��� 
����#$� ����7�$
 �7 ��� ��#�� �7 ��� ���������� ����������$, ��� ���#$�
����7�$
 �7 ��� ��#�� �7 ��� �����3 ����1 #, ��� λ0$���� O��� M�+1 ;��� �*N1
7�� ��������P1 �� �� ��
���$���� ��$�����3

"�#�
�
�� �$�$�$ 4�� Q #� � ��

$� %���� 7�� ���� 
�E�����%���� f 3 ���
�������	�� ��
�� H(Q, f) �7 Q �� ��� �$��
�� �7 ��� ��� �7 �,%��#�$�� %�����
���� ��� �����$�����$$, ��$���
 �� Q3

H�� �7 ��� ������
����� �7 ������� +3'3' ��

������
�! �$�$�$ #�� Q �� 
 �
���� ���	� ��� f !���� �������	�� ��
��
H(Q, f) �� 	�	������
� *	�� ������� �� ��� ����� �� Q+ 
	� ���� 	�� 
���� 




'�* ������� ��	
����


����	
��� �������	" �� �
�� �	��� 
� Q$ =��	' ����� �� 
	 
�����
���
 ��
��
�������
���	 g �� f ' ��
� ��������� ��� �
	
���� �	 
 	��"��������� �� Q'

	� ���� ��
� ����� �� 
 �������	�� �
	"�	�
 ���
��� �� Q$

5� ���
 C��� � 7�G %��$������, ���
$��3 5� ���G ���� �7 �G� ��

$�� ���
�����$�����$$, ��$���
1 ���� � �����$���� �������, ���������
 �� ��� �7 ����
��� #� �
���
 #, � ���$$ %���
�#����� ���� � �����$���� �������, ���������

�� ��� �����3

������
�
�� �$�$�$ #�� Q 
	� R �� �
���� ���	�� �� f ��
� 
�� �������	��
�
��
 ���
���$ 2� f 
����� 
 �������	�� �
	"�	�
 x 
�����
��� �� R' ���	 ���

	
 	��"��������� U �� x' ��� 
	
 ε > 0' ����� �� 
	 ε��������
���	 g �� f �	
U ' ��
� ��������� ��� �
���� Q 
	� ���� ��
� g 
����� 
 �������	�� �
	"�	�

���
��� �� Q$

5� ����� G����
� � %���7 � 7�$>$��� λ0$����0$�>�&

0���
 �$�$�$ #�� R �� 
 �
���� ��� 
 ������������� f �� �	��� i$ #��
x ∈ W u(R) 
	� y ∈ W s(R)' 
	� ��� D �� 
 i�����	���	
� C1����A ��	�����

� y 
	� ��
	������ �� W s(R) 
� y$ =��	 ��� 
	
 η > 0' ����� �� 
 ���	�
z ∈ D ���� ��
�' ��� ���� n0, n1 ∈ N' ��� 
	
 0 ≤ n ≤ n0' !� �
��

dist(fn(y), fn(z)) < η,

��� 
	
 n0 ≤ n ≤ n1' !� �
��

dist(fn(z), fn−n1(x)) < η,


	� ��� �
	"�	� ��
�� �� ��� ���A fn1(D) 
� fn1(z) �� η������ �� ��� �
	"�	�
��
�� �� W u(R) 
� x$

����( �( ������
�
�� �$�$� 3 ��
�� ��� �,%������� �7 ��� $����1 $�� a #�
� ���������� ������������ #��G��� W u(Q) ��
 W s(R)1 ��
 b #� � ����������
������������ #��G��� W s(Q) ��
 W u(R)3 4�� δ #� ��� �����
� 
�������
#��G��� x ��


Orbf (x) \ {x} ∪ Orbf (a) ∪ Orbf (b) ∪ Orb(Q) ∪ Orb(R).

4�� U #� � �����#�
����
 �7 x G��� 
������� $��� ���� δ/23
4�� Ds

a #� � #�$$ �� W u(Q) �������
 �� a1 ���$$ ���
�� �� ���� ���

������� #��G��� f−n(Ds

a) ��
 f−n(a) �� $��� ���� δ/21 7�� �$$ n ∈ N3 4��
η < δ/23 =%%$, ��� %�����
� $����1 ��
 C�
 z ∈ Ds

a �
�� ���� 7�� ����
n0, n1 ∈ N1 7�� ��, 0 ≤ n ≤ n0 G� ���� dist(fn(a), fn(z)) < η1 7�� ��,
n0 ≤ n ≤ n11 G� ���� dist(fn(z), fn−n1(x)) < η1 ��
 ������� �%��� �7 ���

��> fn1(Ds

a) �� fn1(a) �� η0�$��� �� ��� ������� �%��� �7 W u(R) �� x3
A����1 7�� �$$ η > 01 G� 7�
�
 � %���� xu �� W u(Q) �
�� ����

dist(x, xu) < η1 �
�� ���� TxuW u(Q) ��
 TxW u(R) ��� η0�$���1 ��
 7�� �$$



����� �� �����
�� '�'

n ∈ N1 dist(f−n(xu), x) �� ������� ���� δ/23 �,��������$$, G� C�
 � %����
xs �� W s(Q) �
�� ���� dist(x, xs) < η1 �
�� ���� TxsW s(Q) ��
 TxW s(R)
��� η0�$���1 ��
 7�� �$$ n ∈ N1 dist(fn(xs), x) �� ������� ���� δ/23

4�� HTx #� ��� ������������ �7 TxW u(R) ��
 TxW s(R)3 ����� �� �
�
#�%��� HT s

x �7 TxsW s(Q) ��
 � �
#�%��� HT u
x �7 TxuW u(Q) �
�� ����

#��� ��� η0�$��� �� HTx3 �7 Φ �� � %���
�#����� �7 IdM �� U ���� ���
� xu

�� xs ��
 HT u
x �� HT s

x 1 ���� g = f ◦Φ �� � %���
�#����� �7 f ���� �
���� �
�����$���� �������, �� xu3 ��>��� η ���$$ ���
��1 �
�� � Φ ��� #� 7�
�

�� #� �� ��#������$, ���$$ %���
�#����� �7 IdM �� #�
�
�
 U 3 �����7���1 #,
�����> �3)3�1 g ��� #� 7�
�
 �� #� ��#������$, �$��� �� f 3 �

5� ����$$ ��� 7�$$�G��� �$������$

0���
 �$�$�$ #�� f �� 
 ������������� �	 
 ����
�� �
	����� M !���
����	���	 d$ #�� gn �� 
 �����	�� �� �������������� ��
� ��	�� �� f �	
Diff1(M) 
	� Qn �� 
 �����	�� �� �������� ���	�� ��� f ' ���� ��
� ��� ���
���	�� �� ����� ������ Orb(Qn) ��	���"�� ��� ��� 3
������ ������"
 �� 

����
�� ��� K ��� f $ =��	 K �� �	�
��
	� ��� f $ �������� ����� �� 
 �����
	
��� �������	" �� �	��� i ��� f �	 K �� 
	� �	�
 ��' ��� ���� �	��"�� N > 0'
��� 
	
 n "��
� �	��"�' ����� �� 
	 �	�
��
	� �������	" �� �	��� i �� ��� �
	"�	�
��
�� 
��	" ��� ����� �� Qn ��
� �� N �����	
��� ��� gn$

5� ��G ��� ���
, 7�� ��� %���7 �7 ��� ����$$��,3
����( �( ������
�! �$�$� 3 5� ����$$ ���� �� � �����$���� �$��� H(P, f)1
����� �� � ���
���� Pn �7 ��

$� ��#��� �7 f 1 G��� ���� ��
�8 �� P 1 ����
���
� �� H(P, f) 7�� ��� A�
�
��E ��%�$��,3 ����� H(P, f) �� ��� ������$1
�� �� ��C����1 �����7��� ��� %����
 �7 ��� ���
����� Pn ���
� �� +∞3 ����
4���� +3+3�1 ����� �� � ���
���� Nn �� N ���� ���
� �� +∞ ��
 �
�� ����
��� ��������� �%$������ ���%���
 �7 ��� ���#$� ��
 
����#$� #
�
$�� �7 Pn ��
��� Nn0
�������
3 �����7��� G� ��� �%%$, ������� +3'3' �� Pn 7�� n �����
���
��1 ��
 ��� �,�$� �� 7���� G��� P & 7�� ��, ε > 01 7�� n ����� ���
��1
����� �� �� ε0%���
�#����� g �7 f �� �� ��#������$, ���$$ �����#�
����
 �7 Pn

���� ������� � �����$���� �������, �� Pn ��
 %�������� ��� �,�$� #��G���
P ��
 Pn3 �����7��� H(P, g) �������� Pn G���� �
���� � �����$���� ���0
����, ��$���
 �� ��3 ����$$,1 7��� ;��%������� +3+3(1 G� %���
�# ����� g ��
�� ��#������$, ���$$ �����#�
����
 �7 ��� �������, x 7�� Pn1 �� �#���� �
%���
�#����� h �7 f �
�� ���� ��� 
,������ �� %�������
 �� � �����#�
����

�7 Orbf (P ) ��
 �
�� ���� ����� �� � �����$���� �������, ���������
 �� ���
��

$� P 3 �

6�6�� ;���	
� 	������

4�� 
� ����$$ �����$, ���� 
�C������� 7���  ��$�,"� �����, M)'N3 4�� f #� �

�E�����%���� �7 � ����7�$
 M 3 = ���
���� (xn) �� �� ε������������� 7��
���� ε > 0 �7 ��
 ��$, �7 ��� 
������� dist(f(xn), xn+1) �� $��� ���� ε 7�� ����



'�) ������� ��	
����


n3 ��� ��
�	��������	� ��� R(f) �� ��� ��� �7 %����� x �
�� ���� 7�� �$$ ε > 0
����� �� �� ε0%��

�0��#�� ���� �� ��� ��

��
 �� � ����$� %���� ��
 ���� ����
7��� x �� x3 5� 
�C�� �� ��
���$���� ��$����� ∼ �� R(f) �� ��� 7�$$�G���
G�,& x ∼ y �7 ��
 ��$, �71 7�� �$$ ε > 01 ����� �� �� ε0%��

�0��#�� 7��� x ��
y1 ��
 �� ε0%��

�0��#�� 7��� y �� x3

��� ��
�	��������	� ��
���� ��� ��� ��
���$���� �$����� �7 ∼ �� R(f)3 �7
M �� ���%���1 ��� �����0���
����� ��� �� ��� ��%�,1 ��
 ��� �����0���
�����
�$����� ��� ���%���3

= ������
� ������ �7 � ��%�$�����$ �%��� �� � ��
���#$� ������������ �7 
����
�%�� ����3 = 
,������$ %��%���, P �� Ck�"�	���� �7 �� �� �����C�
 #, � ����

�$
��� �7 
,������ 7�� ��� Ck0��%�$��,3 5� �$�� ��, ���� Ck�"�	����
��
1 ��� 
,0
������ �����C�� %��%���, P3 �� M'*N1  3 ������� ��
 �3  �������� ���G�
 ����
C10��������$$,1 ��� ���0�%����
�� ����� ���
����� �$����� ��
 ��� �����$����
�$����� ������
�&

*������ �$�$� &.��
��
/ ��� 
�
��'$ >���	 
 ����
�� �
	�����M ' �����
�� 
 ������
� ������ HCR �� Diff1(M) �� �������������� f ���� ��
� �
��
�������	�� ��
�� �� f �� 
 ��
�	��������	� ��
�� 
	� ��	������
' �
�� ��
�	�
�������	� ��
�� �� ������ 
�������� *���� 	�� ��	�
�	 
	
 �������� ���	�+ �� ��

 �������	�� ��
��$

����
��1 G��� �3 =#
��
�1 43 �:�/ ��
 43 5�� M(N1 ���, ���G�
 ���
7�$$�G��� ���
$�&

*������ �$�$; &�)�����/ .��
��
/ ��� 
�
��/ "4
5/ A��'$ =���� �� 

������
� ������ I �� Diff1(M) �� �������������� f ���� ��
� 
	
 �������	��
��
�� H(p, f) ��	�
�	�	" �
�������� �
����� �� �	����� α 
	� β ��	�
�	� 

��	�� ������ �� �
����� �� �	��� τ ' ��� 
�� τ ∈ [α, β]$

 ���$$��, +3+3)1 ��
 ���� ���
$� ���� %�����$ ���G�� �� M(1  ������
�� 'N&

*������ �$�$7$ @�� ����
 C1�"�	���� ������������� f ' ��� H(P, f) �� 

�������	�� ��
�� ��	�
�	�	" �
����� �� �	����� α 
	� β' α < β$ =��	 ���
�����!�	" ��������
 �����-

• ������ ����� �� 
	 
�����
���
 ��
�� �������
���	 g �� f 
������	" 

�������	�� �
	"�	�
 
�����
��� �� ��� ��	��	�
���	 �� ���� �
���� ��
H(P, f)0

• �� ����� �� 
 ����	
��� �������	" ��� f �	 H(P, f)

TH(P,f)M = E ⊕ Ec
1 ⊕ .... ⊕ Ec

β−α ⊕ F,

!���� dim(E) = α 
	� �
�� Ec
i �� 1�����	���	
� 
	� 	�� �
��������$

A�G����1 G� 
� ��� >��G ,�� G������ E ��
 F ��� 
��7���$, ���������

��
 
��7���$, �8%��
�
 G��� α �� ������$ ��
 β ��8���$3 �� � ������
%��%����1 �3  �������� M))N ���G�
 ��� 7�$$�G���&



����� �� �����
�� '�(

*������ �$�$� &��� 
�
��'$ >���	 
 
 ����
�� �
	����� M ' ����� �� 

������
� ������ R2 �� Diff1(M) ���� ��
� ��� 
	
 f ∈ R2' ��� �
�� ��
�	
�������	� ��
�� C �� f ' ����� �� 
 �����	�� �� �������� ������ �� f ��
� ��	��
�� C ��� ��� 3
������ ������"
$

���$$1 �� �8%$����
 �� M(N1 7�� G� ���� �� %������ ��7�������� �� ��� ��
�8��
�7 ��� ��

$� %�����1 ���� �� ��� �
@����� �� ������$�/� ��� %�����
� 
�������,
�� �$$ ��� �����0���
����� �$�����3 ;������$,1 G��� ������� +3+3+ G� ���� ���

�������, ��$, 7�� ����� ���
�����0�$����� ���� ������� � %����
�� ��#��3



'�� ������� ��	
����




�
��
�������

M'N ./ �/ �/ ��
	� ��� '/ ����
1 ?����� ��
	�������
 
	� ������"��
�
����	" ��� C1�<�!�1 %��%���� ��;= OGGG3%��%����3��%�3#�P1 O)**'P3

M)N ./ �$�����0 #/ ������
0 ��� &/ #���
�
��1 >���
� ����	
��� ������
��	"� 
	� ��� C1  �!����� ���	���	�	1 ;���3 =���3 ����3 ���31 '(�
O)**+P1 %%3 )))B�))(D O�$��������P3

M(N ./ �$�����0 #/ ������
0 &/ #���
�
��0 �/ �1��0 ��� �/ -��1
,������� ���	�� 
	� �������	�� ��
����1 %��%���� �[ �(D1 ������
� ����0
	�����
� 
� ��
������ O������P1 O)**�P3

M�N �/ �$����� ��� &/ &��	�1  �	"�	������
 �� Ω���
�����
1 K$�#�$
=��$,���1 O'BD*P1 %%3 ���3

M�N �/ �/ �������� ��� �/ &/ "����2��
�1 �
������ "��������
*���	��+1 ��>$3 =��
3 !�
>3 ����1 '� O'B(DP1 %%3 )�D�)�*3

M+N �/ ������1 ?��"�	��� �� "������� <�!� �	 ����
�� ����
		�
	 �
	�
������ �� 	�"
���� ����
����$*�����
	+1 ��>$3 =��
3 !�
>3 ����1 '��
O'B+)P1 %%3 D*D�D*B3

MDN 1 >������� <�!� �	 ������ ����
		�
	 �
	������ �� 	�"
���� ����
�
����$ *�����
	+1 ��

, ���3 ����3 ���>$��31 B* O'B+DP3

M�N �/(#/ ������1 :��
���	 �� ��		����	� �	 ������"�� C1 ���� ��� <���
��� ����
���1 ��$3 ���3 ����3 ���1 (* O'BB�P1 %%3 ((��(++3

MBN 1 :��
���	 �� ��		����	� �	 ������"�� C11 F���
�� �����, ��
 �,0
������$ �,�����1 )' O)**'P1 %%3 ((B�(�'3

M'*N #/ ������
 ��� &/ #���
�
��1 ?������	�� �� "�	�������$1 ������3
����31 '�� O)**�P1 %%3 ((�'*�3

M''N #/ ������
 ��� �/ �
��1 :�		����	� ���������	�� �� "�	������� ���	�
�	%	��� �� ����� �� �� �������1 =���$�� �������C�
�� 
� $"\��$� !����$�
�
%	���
��1 �-�� �	���1 ���� () O'BBBP1 %%3 '(��'�*3

M')N 1 #��
� ��	���
 �� ����������	���	
� �
����$1 ;��%����1 O)**+P3

'��



'�+ ������� ��	
����


M'(N #/ ������
0 �/ �
��0 ���  / "�2�	�1 � C1�"�	���� ��������
 ���
��������������- !�
A ����� �� �
����������
 �� �	%	����
 �
	
 ��	A�
�� �������1 =��3 �7 ����31 '�� O)***P1 %%3 (����'�3

M'�N #/ ������
0 �/ �
��0 ��� �/ !
���1 &
	
���� E�
�	� L	�����
3
����������
1 �%������ ?��$��1 )**�3

M'�N #/ ������
0 &/ ���0 ��� �/ -��1 5	 ��� ������	�� �� 	�	������
�
�������	�� ��
����$1 ;��%����1 O)**�P3

M'+N #/ ������
0 �/ ������	��0 ��� +/ !
�
��1 ,������
���	� �� ���
�����
���� 
��	" �������� ������1 ;�	%
#$������� 
� $"���������	 
� ��
�0
�����1 O)**�P3

M'DN �/ ��3��1 �
������ �
	
���� ��� �
�������� <�!�1 =���3 .3 �����31
B� O'BD(P1 %%3 �)B���B3

M'�N �/ ��3�� ��� �/ ���		�1 =�� ��"���� �����
 �� 
���� 
 <�!�1 ��0
��������� ����31 )B O'BD�P1 %%3 '�'�'B(3

M'BN �/ ��
� ��� */ "��
�1 ,
���
��
 �
�������� �
	
���
� �
�����1 �/�3
=��
3 !�
>3 ����1 (� O'BD�P1 %%3 'DD�)')3

M)*N #/ #��$�		�0 #/ ����	��0 ��� �/ "��
4
��1 3������	�� ��
����
��� "�	���� C1 ������ %����1 O�� �%%���P1 O)***P3

M)'N #/ #��	�,1 2���
��� �	�
��
	� ���� 
	� ����� �	���1  ��� �������$
 ��7������ ������ �� �����������1 (� O'BD�P3

M))N &/ #���
�
��1 ,������� ������ 
	� ��
�	 ��
	������ ���� �� C1�
��������������1 %��%���� � (+�1 ������
� ����	�����
� 
� ��
������
O������P1 O)**�P3

M)(N 1 E���� �� �������	�� �	���������	�- 
 ����� ��� ��� ��	��
� �
	
��
��� �� �
���
��
 �
�������� �
�����1 %��%����1 O)**+P3

M)�N �/ '/ �1��0  / �/ "�2�	�0 ��� �/ ����1 ,
���
� �
����������
 
	�
������ ��
	�������
1 =��� ����31 '�( O'BBBP1 %%3 '��(3

M)�N #/ ����
��1 ,�������	��
 ��
	������ ������ %���� �	 ����������	���	
�
�
	������1 ;���3 �� �,������$ �,����� ��
 ��7
������� �����,1 '+*
O'B�DP1 %%3 �B��B3

M)+N '/ .���5�1  �����
�
 ��	�����	� ��� ��
�����
 �� ��������������1
������������ �7 ��� =3�3�1 '�� O=
�
�� 'BD'P1 %%3 (*)�(*�3

M)DN &/ ���1 � 	�����
�
 
	� ��I���	� ��	�����	 ��� ��� ������	�� �� ����
�	
��� �������	" !��� 
 "���	 �	���1 ����
� �� ����31 D O)**�P1 %%3 '�(�
'+�3



����� �� �����
�� '�D

M)�N �/ ����
	�1 #
�"� ����
���	 ���� ��� 
	���� <�!�1 ���
� ����31 '*
O'BB�P1 %%3 �B�''�3

M)BN �/ ������	��1 :��
���	 �� �
	"�	��� �������	��$1 F� %��%�������31
O)**+P3

M(*N '/ ���5����
��� ��� �/ -
		
���1 ��������
� ��
�����
 �� ����	D

���
�����1 ;
#$3 ����3 �AF�1 �* O'BDBP1 %%3 (*D�()*3

M('N �/ 6����	$	��� ��� �/ 7���51 � %��� ������ �	 �
	
����1  ��0
#��
�� ���������, ;����1 !�G 6��>1 )**(3 5��� � %������� �7 ������

���$�%�����3

M()N �/ 6�,���
1 :�		����	" �	�
��
	� �
	������ 
	� ��� �������	 �� ���
C1���
�����
 
	� Ω���
�����
 ��	�������� ��� <�!�1 =��3 �7 ����31 '��
O'BBDP1 %%3 �'�'(D3

M((N &/ 6�,���
1 =�� C1���		����	" ����
 
	� ��� ��
�����
 ��	������� ���
<�!�1 �]
��>����>�>��>,]
��� <]�>,]
��>
1 O'BB+P1 %%3 ''��'))3 4�G0

���������$ 
,������$ �,����� ��
 ��$���
 ��%��� O.�%�����P O<,���1
'BB�P3

M(�N �/ -/ 6
���� ��� &/ &��	�1 &�����	��
� ���
���	�' �
	
���
� �
��
����' 
	� ��	�
� 
�"���
1 =��
���� ;���� M= �
#��
���, �7 A����
��
����� .���������1 ;
#$������N1 !�G 6��>04��
��1 'BD�3 ;
�� ��
 =%0
%$��
 �����������1 ?�$3 +*3

M(�N �/ 6
���0 #/ "���0 ��� �/ &��$1 2	�
��
	� �
	������1 4���
��
!���� �� �����������1 ��( O'BDDP3

M(+N &/ �
��1 5	 ��� ��
�����
 ��	�������1  ������ =��3 �7 ����31 ' O'B�*P1
%%3 B�(*3

M(DN �/ ��8�1 :�	��������	� �� ��� ��
�����
 ��	�������1 ��%�$��,1 'D O'BD�P1
%%3 (�(�(B+3

M(�N �/ ��8�1 �	 ��"���� �����	" ����
1 =��3 �7 ����31 ''+ O'B�)P1
%%3 �*(���*3

M(BN 1 � ����� �� ��� C1���
�����
 ��	�������1 ����3 A�
��� F�

�� ���3
;
#$3 ����31 ++ O'B��P1 %%3 '+'�)'*3

M�*N #/ ����	��0 �/ "��
4
��0 ���  / "�2�	�1 5	 C1������� ��	"��
�
��
	������ ���� ��� ����������	���	
� <�!�1  3�3 =��
3 ���3 ;����1 ()+
O'BB�P1 %%3 �'��+3

M�'N #/ ����	��0 �/ "��
4
��0 ���  / "�2�	�1 ?����� ��
	������ ��	�
"��
� ���� ��� 3�<�!� 
�� �
���
��
 �
�������� 
���
����� �� ���������1 O��
�%%���P1 O)**)P3



'�� ������� ��	
����


M�)N &/  / ��3�����1  �	��	���
 �� 
���� A(a) �	 S21 �� K$�#�$ =��$,���
O;���3 �,�%��3 ;
�� ����31 ?�$3 ^�?1 ���>�$�,1  �$�731 'B+�P1 =���3
����3 ���31 ;����
����1 �3�31 'BD*1 %%3 'B'�)*)3

M�(N 1 &������������� !��� �	%	����
 �
	
 ��	A�1 ��%�$��,1 '( O'BD�P1
%%3 B�'�3

M��N 1 #������� �	 �
	
���
� �
�����1 �� �,������$ �,����� O 3�3�3F3
�
���� �����$1 ����������1 'BD�P1 ��$3 � �7 ;����3 ����31 ���>�_
���
������1 ����31 'B�*1 %%3 '�''�3

M��N '/ "�	
�1 5	 ��� C1�Ω���
�����
 ��	�������$1 ����3 A�
��� F�

�� ���3
;
#$3 ����31 ++ O'B��P1 %%3 )''�)'�3

M�+N '/ "�	
� ��� -/ �� ��	�1 >�������� =����
 �� &
	
���
� �
�����1
�%������ ?��$��1 'B�)3

M�DN '/ "�	
� ��� &/ &��	�1 ��������
� ��
�����
 ��������$1 K$�#�$ =��$,���
O=���3 ����3 ���31 ;����
����1 �3�3P1 O'BD*P1 %%3 ))(�)('3

M��N '/ "�	
� ��� ./ +�5���1 3
����������
 
	� ��	������ ��
���� �
	
��
��� 
� �������	�� ������
���	�1 ��$3 (�1  ��#��
�� ��

��� �� �
�����

�����������1 'BB(3

M�BN !/ "	
��1 5	 
 ��	������� ��� �� ��
��1 ��E3 ����������1 � O'BD)P1
%%3 )+)�)+�3

M�*N #/ "��� ��� #/ ��$
����1 =�� c1 �����	" ����
' �	�����	" �
����
��	�
	�1 F��3 �����, ��
 �,�3 �,��31 ( O'B�(P1 %%3 )+'�('�3

M�'N #/ #/ "���1 =�� �����	" ����
1 =���3 .3 ����31 �B O'B+DP1 %%3 B�+�
'**B3

M�)N  / "�2�	� ��� �/ &��$��
��1 3������	�� �
	"�	���� 
	� �
���������
��
 ��� ����
�� ��������������1 =��3 �7 ����31 ( O)***P1 %%3 B+'�'*)(3

M�(N '/ -/ ��$$
�1 5	 ��������
� ��
�����
$1 �
$$3 =���3 ����3 ���31 D+
O'BD*P1 %%3 D)(�D)+3

M��N #/ ��$
����1 ��������
� ��
�����
 �� C1���������������1 .3 ��E�������$
F�
������1 )) O'BD+P1 %%3 )��D(3

M��N 1 &
	
���
� �
����� - ��
�����
' �
������ &
	
���� 
	� :�
��
*����	� )�����	+1 ��

��� �� �
�����
 �����������1 'BB�3

M�+N �/ &��3����1 �������� �
����
������ ���� ��� ����	��� ��
������1
F����������� 
�� ��������1 A������1 ;����1 'B+'3

M�DN �/ &��$1 ��
������ "���
�� ��� �
������ �
	
������1 =��	����
�1 �+
O'BD�P3



����� �� �����
�� '�B

M��N #/ "/ &
���1 � 3�����	���	
� ���
�
����
�� ��
����1 ;���3 =���3
����3 ���31 (� O'BD)P1 %%3 +)B�+(*3

M�BN &/ &��	�1 5	 �
	
���
� �
�����1 ��$3 ���3 ���3 ��8����� O)P1 �
O'B+*P1 %%3 'B��'B�3

M+*N 1 ��������
��
 ��
��� �
����� 
�� 	�� ��	��1 =���3 .3 ����31 ��
O'B++P1 %%3 �B'��B+3

M+'N 1 &������������� !��� �
	
 �������� ���	��1 �
$$3 =�3 ����3 ���31
D( O'B+DP1 %%3 D�D��'D3

M+)N 1 =�� Ω���
�����
 �������$1 K$�#�$ =��$,��� O=���3 ����3 ���31
;����
����1 �3�3P1 O'BD*P1 %%3 )�B�)BD3

M+(N !/ �/ !/!/ �,5�� ��� �/ &�
	
�
5��1 5	 ��� 
���
�
	�� 
	� ������
���� �� ��� ����	D 
���
����1 ��>$3 =��
3 ��� ����1 )(� O'BDDP1 %%3 ((+�
((B3

M+�N �/ -��1 3������	�� �
	"�	���� 
	� ����	
��� �������	"�$1 !��$�������,1
'� O)**)P1 %%3 '����'�+B3

M+�N 1 >�	���� �������������� 
!

 ���� �������	�� �
	"�	���� 
	�
����������	���	
� �
����$1 �
$$3 ���/3 ����3 ���3 O!3�3P1 (� O)**�P1
%%3 �'B���)3


